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❧✛➩q♣✍r➇➆✇➃❅➜❅♦❂r➇♦❂➲✡♦q➅✇➙✝➃❅➦➄➫✇♦❂➻✛r➇➥❅➂➄♦q➅☞r➇➦❸➆✇➃ ↕ ➃❅➙✝➃❅➅ Ù ♦q➦ Ù ➂➄➠◗➃❅➅④♥✍♦✑➲✡➂➄➃❅➅④♥✍➘✽✼☞➥❅♦✳➃✩Ú→➃❅➥❅➅✇♦q➦✚✦q➩q➂➄➥❅♦ ✒ ➲✩➻✛➾❿➪ ✲ ➵Ï➃❅➦➄♦
r➇➵Ï♦q➂➄♦✂r➇♦✂➵✇♣✝♦ ✂✝➃✯♥✍♦✇➷

➂➄➂➄➂



� ✒✕✎✑✏✓✞✂✁ ✝✟✒

✄✆☎ ⑥Ï➎➏✈⑩❹❇➓ �✞✝✠✟✇❹ ✄

✡☞☛ ❹Ï⑥→①q❾❸③ ➎➏❹Ï➀✂➐✍✌☞➀➞③➔①q❹Ï➀ ✎
à❸➷➶ß ✏❸➂➄➙➛♥✍➃❅➠✫r➇➙✧➲ ↕ ➽Û❧ ➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏

à❸➷➶ßq➷➶ß ➤☞♠✇➅✇➆☞r➇➠◗➃❅➅④♥✍♦q➙✶➆✇♦✫➨❿➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦◗➨❿➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦❐➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏
à❸➷ à ➨ÑÓ⑤➃❅➂➶♥✍♦q➙✶➆✇➃✏➲✩r➇➅☞r➇➂➄➙✶➥❅♦q➠➧➽ ✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✶➾→➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✭➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✑

à❸➷ à❸➷➶ß ❧✛➠✟➟✇➂➄➃❅➅④♥✍➃❅➙✓➆✇➃✑➾❿♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦ ➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✒
à❸➷ á Ú✶➯❅➥❅➅✇➂➄➥➞r➇➙✓➆✇➃ ↕ ➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃❂➵☞r➇♣✍r◗➲✩r➇➅☞r➇➂➄➙✓➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷❲ß⑩à

à❸➷ á✦➷➶ß ✡✓➃❅➥❅➃❅➵✦♥✍♦q♣ ✡✧r✌☞➇➃ ➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷❲ß✓✏
à❸➷ ✏ ➽Û♦❸➆✇➃❅➦➄♦✩✖ ☎➇➙✝➂➄➥❅♦✂➆✇♦✴✏❸➂➄➙➛♥✍➃❅➠✫r●➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷❲ß✕✔

à❸➷ ✏✇➷➶ß ✡✓➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➜➞➝➇♦❊➽➚r②♥✍♣✝➂➄➥❅➂➭r➇➦ ➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷❲ß✖✑

✗ ➋❊❾④➎➏❾❸①✘✝✠✟✇❹✚✙ �→➒ ➎⑩③ �→➀✁�✛✌✇✈②③⑤❹ ✄✢✜
á✦➷➶ß ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➲✡♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦✭➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷❲ß✖✒
á✦➷ à ↕ ➃✯♥✍➃❅➥❅➜➞➝➇♦⑨➽Û♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦❯➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à❸ß
á✦➷ á ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➽Û♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✤✣✛♥✍➂➄➠◗♦ ➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚àqà
á✦➷ ✏ ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✷➽Û♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦ ✬ ➂➄➅✇➃➞r➇♣✝➃❅➙❯➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à➇á

á✦➷ ✏✇➷➶ß ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣ ↕ ➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣ ➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à✥✏
á✦➷ ✏✇➷ à ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣ ✬ ➂➄➅✇➃➞r➇♣✧➽✻➽✑✏✦➨✒➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à✦✑

✎❩⑦❊⑥✛✌☞➒➔③➔➀❅❾✻➓★❾✻➋❊❾❸➀❅❾❸➱➸❽❿❾❸⑥→↔★❹❻➓★❹Ï➀◗➋❊❾④➎➏❾❸①➇➎➏❹✕✈⑩❾❸➀✧✙ �→➒ ➎⑩③ �→➀✁�✛✌✇✈②③⑤❹ ✡★✜
✏✇➷➶ß ➲ ☎➇➦➄➥❅♠✇➦➄♦☎➆☞r✂➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✷➆✇➃✑➨❿♣✝♣✝♦✂➆✇➃ ✖✡➂➶♥❤➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à✦✒
✏✇➷ à ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➲✡♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦✭➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à✦✩

✏✇➷ à❸➷➶ß ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➲✡♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦★➃❅➠ ❧✛➠✟➟✇➂➄➃❅➅④♥✍➃❂❧✞✝✠✟❂➻ ➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à✦✩
✏✇➷ à❸➷ à ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➲✡♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦★➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫Û➾❿➦➭r➇➅✇♦ ➷✑➷✑➷❂➷✑➷✑➷ á④à
✏✇➷ à❸➷ á ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➲✡♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦★➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✫➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ á✦✏

✏✇➷ á ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣ ↕ ➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✭➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ á✘✔
✏✇➷ á✦➷➶ß ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣ ↕ ➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➃❅➠ ❧✛➠✟➟✇➂➄➃❅➅④♥✍➃❂❧✞✝✠✟❂➻❍➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ á✘✔

➂ Ù



�✂✁☎✄✝✆✟✞✡✠☞☛✌✁ ✍

✏✇➷ á✦➷ à ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣ ↕ ➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✴✡✧r➞Ö❸➦➄➃❅➂➄➩q➫ ➷✑➷✑➷✑➷❂➷✑➷✑➷ á✠✩
✏✇➷ á✦➷ á ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣ ↕ ➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦

➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
m
➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏④Þ

✏✇➷ á✦➷ ✏ ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣ ↕ ➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣★➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✑➃✩➽ ✵✇➦➶♥✍➂➄➵✇➦➄♦q➙
➾→➃❅♣✝➥❅♠✇♣✝➙✝♦q➙ ➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏➌à

✏✇➷ ✏ ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➽Û♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦☎➆✇➃✏➽Û➘➄➅✇➂➄➠◗♦☎➨❿♣✝♣✝♦ ✙✷♠☞r➇➆✇♣✥☎②♥✍➂➄➥❅♦◗➽Û➯❅➆✇➂➄♦✟➴✩➽✻➽✑✏✦➨ ➷✑➷✑➷❂➷✑➷✑➷ ✏ ✔
✏✇➷ ✏✇➷➶ß ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➽✻➽✑✏✦➨✱➃❅➠ ❧✛➠✟➟✇➂➄➃❅➅④♥✍➃❂❧✞✝✠✟❂➻ ➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏ ✔
✏✇➷ ✏✇➷ à ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➽✻➽✑✏✦➨✱➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫Û➾❿➦➭r➇➅✇♦❻➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏✏✎
✏✇➷ ✏✇➷ á ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➽✻➽✑✏✦➨✱➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✫➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏✘✒

✏✇➷ ✏✇➷ ✏ ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛➽✻➽✑✏✦➨✱➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❀➃✑➽ ✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✶➾→➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✭➷ ✏✘✩

✑☞☛ ❹Ï⑥→①④➒ �→➀ ✟✇❹ ✑★✗
✔❸➷➶ß ➲✡♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➜✪✍❸➃❅➙✧➤✖➂➄➅☞r➇➂➄➙ ➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✔➇á
✔❸➷ à❩Ú→♣✍r➇➟☞r➇➦➄➫✇♦q➙✓➤☞♠✦♥✍♠✇♣✝♦q➙✶➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✔✥✏



� ☛✍✔ ✏ ☎ ✝✟✞ ✁ ☛✜✁✄✂✟✂✆☎✄✔

à❸➷➶ß ↕ ➃❅➅✇➙✝➂➄➆☞r➇➆✇➃❂➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦★➆✇➃❂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r☎➆✇♦✂➙✝➂➄➅☞r➇➦❇r➇➅④♥✍➃❅➙✧➃❂➆✇➃❅➵Ï♦q➂➄➙✶➆✇♦✂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✇➷◗➷✑➷✑➷ ✔
à❸➷ à ➽Û♦❸➆✇➃❅➦➄♦☎➙✝➂➄➠◗➵✇➦➄➂✽✼☞➥➞r➇➆✇♦✟➆✇➃❂♠✇➠ ➥➞r➇➅☞r➇➦❇➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷❨➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✒
à❸➷ á ➾ ↕ ➤ ➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦☎➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
Ý❸➥❅♦q➠

Ω = 1
➷❙➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷❲ß⑩à

à❸➷ ✏ ↕ ➂➭r➇➩q♣✍r➇➠✫r✏➆✇➃❂♠✇➠ ♣✝➃❅➥❅➃❅➵✦♥✍♦q♣ ✡✓❧✷Õ❂➨✶➷➚➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷❲ß✓✏

á✦➷➶ß ➨❿➙➛♥✍♣✝♠✦♥✍♠✇♣✍r✂➆✇♦✂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✓➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷❲ß✖✩
á✦➷ à ➨❿➙➛♥✍♣✝♠✦♥✍♠✇♣✍r✂➆✇♦✂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣ ✦➇♥✍➂➄➠◗♦☎➵☞r➇♣✍r✟♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✍➝➇♦✂➙✝➘➄➅✇➥❅♣✝♦q➅☞r✦➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à➇á
á✦➷ á ➨❿➙➛♥✍♣✝♠✦♥✍♠✇♣✍r✂➆✇♦✂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✓➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅➷❇➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à✥✏
á✦➷ ✏ ➨❿➙➛♥✍♣✝♠✦♥✍♠✇♣✍r✂➆✇♦✂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✛➽✻➽✑✏✦➨ ➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✚à ✎

✏✇➷➶ß ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✟➆✇➃✂➃❅♣✝♣✝♦➚➆✇➃✂➟✇➂➶♥✑➵☞r➇♣✍r❀♦Û➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✑➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦❼➃❅➠ ➥➞r➇➅☞r➇➦❿❧✞✝✠✟❂➻✑➷
➾✖r➇♣✍r➇➠◗➃✯♥✍♣✝➂✚✘➞r➇➆☞r✑➵Ï➃❅➦➭r✏➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✏➥❅♣✝♠✣✘➞r➇➆☞r

ρ
➷❐➲✩r➇➙✝♦☎➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

Gp = 32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✑áqÞ

✏✇➷ à ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✟➆✇➃✂➃❅♣✝♣✝♦➚➆✇➃✂➟✇➂➶♥✑➵☞r➇♣✍r❀♦Û➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✑➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦❼➃❅➠ ➥➞r➇➅☞r➇➦❿❧✞✝✠✟❂➻✑➷
➲✡♠✇♣ Ù r➇➙✶➙✝➂➄➠✟♠✇➦➭r➇➆☞r➇➙❐➃✷♥✍➃✙✦q♣✝➂➄➥➞r➇➙✡➵☞r➇♣✍r➇➠◗➃✯♥✍♣✝➂✚✘➞r➇➆☞r➇➙✡➵Ï➃❅➦➄♦☎➩④r➇➅✇➫✇♦✟➆✇➃✳➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦

Gp

➷
➲✩r➇➙✝♦◗➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✖➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ á✦ß

✏✇➷ á ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✟➆✇➃✂➃❅♣✝♣✝♦➚➆✇➃✂➟✇➂➶♥✑➵☞r➇♣✍r❀♦Û➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✑➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦❼➃❅➠ ➥➞r➇➅☞r➇➦❿❧✞✝✠✟❂➻✑➷
➲✩r➇➙✝♦◗➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý✇➵☞r➇♣✍r➇➠◗➃✯♥✍♣✝➂✚✘➞r➇➆✇♦☎➵Ï➃❅➦➄♦☎➅✄✵✇➠◗➃❅♣✝♦◗➆✇➃❂♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷▲➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ á④à

✏✇➷ ✏ ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✖➆✇➃❼➃❅♣✝♣✝♦✓➆✇➃❼➟✇➂➶♥★➵☞r➇♣✍r✶♦✓➆✇➃✯♥✍➃❅➥✯♥✍♦q♣★➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦➌➃❅➠✚r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙❇❧✞✝✠✟❂➻
➃ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷❐➲✡♠✇♣ Ù r➇➙✓➙✝➂➄➠✟♠✇➦➭r➇➆☞r➇➙✩➃✳♥✍➃✙✦q♣✝➂➄➥➞r➇➙❅➷❐➲✩r➇➙✝♦◗➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

Gp = 32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✒á✦✏

✏✇➷ ✔ ✢✧➂➄➙➛♥✍♦q➩q♣✍r➇➠✫r◗➵☞r➇♣✍r✻ß➏Þ✦➷ ÞqÞqÞ⑨r➇➠◗♦q➙➛♥✍♣✍r➇➙✷➆✇➃☎♠✇➠✫r Ù r➇♣✝➂ ☎ Ù ➃❅➦Ñ➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
m
➷❂➾✖r➇♣✆☎➇➠◗➃✯♥✍♣✝♦q➙

m = 3
➃

Ω = 1
➷✰➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ á✘✔

✏✇➷ ✑ ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✡➆✇➃✓➃❅♣✝♣✝♦❂➆✇➃✓➟✇➂➶♥❼➵☞r➇♣✍r✳♦❂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❼➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦✕➃❅➠ ➥➞r➇➅☞r➇➦☞➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷❼➾✖r➇♣✍r➇➠◗➃✯♥✍♣✝➂✚✘➞r➇➆✇♦✂➵Ï➃❅➦➄♦☎➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦

m
➲✩r➇➙✝♦◗➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

Gp = 32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✏➷✑➷ á✠✑

✏✇➷ ✎ ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃➳➆✇➃❻➃❅♣✝♣✝♦❮➆✇➃➑➟✇➂➶♥▲➵☞r➇♣✍r✣♦❮➆✇➃✯♥✍➃❅➥✯♥✍♦q♣▲➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣➚➃❅➠ ➥➞r➇➅☞r➇➦
❧✞✝✠✟❂➻✑➷Ï➲✡♠✇♣ Ù r➇➙✓➙✝➂➄➠✟♠✇➦➭r➇➆☞r✟➃✷♥✍➃✙✦q♣✝➂➄➥➞r✦➷❐➲✩r➇➙✝♦◗➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

Gp = 32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✡➷✑➷✑➷ á✠✒

✏✇➷ ✒ ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✑➆✇➃☎➃❅♣✝♣✝♦❀➆✇➃☎➟✇➂➶♥✷➵☞r➇♣✍r⑨♦q➙✳➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙❂➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦❿➃☎➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦②➴
➅☞r➇➆✇♦q♣❂➃❅➠❤➥➞r➇➅☞r➇➦❿➥❅♦q➠❤➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✑✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷❊➲✡♠✇♣ Ù r➇➙✑➙✝➂➄➠✟♠✇➦➭r➇➆☞r➇➙❂➃✂♥✍➃✙✦q♣✝➂➄➥➞r➇➙❅➷
➲✩r➇➙✝♦◗➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

Gp = 32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✶➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏④Þ

Ù ➂



✏✇➷ ✩ ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃➳➆✇➃❻➃❅♣✝♣✝♦❮➆✇➃➑➟✇➂➶♥▲➵☞r➇♣✍r✣♦❮➆✇➃✯♥✍➃❅➥✯♥✍♦q♣▲➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣➚➃❅➠ ➥➞r➇➅☞r➇➦
➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷➚➾✖r➇♣✍r➇➠◗➃✯♥✍♣✝➂✚✘➞r➇➆✇♦✻➵Ï➃❅➦➄♦➚➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦

m
➷⑧➲✩r➇➙✝♦➳➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

Gp = 32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷❐➲✡♠✇♣ Ù r➇➙✶♥✍➃✙✦q♣✝➂➄➥➞r➇➙✶➃❂➙✝➂➄➠✟♠✇➦➭r➇➆☞r➇➙❅➷☎➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏➌à

✏✇➷➶ß➏Þ ↕ ➂➭r➇➩q♣✍r➇➠✫r✡➆✇➃❼♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫r✧➲ ↕ ➽Û❧✘➥❅♦q➠ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣★➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❇➃❼➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃
➆✇➃❂♦q♣✝➆✇➃❅➠

L
➷✫➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏④á

✏✇➷➶ßqß ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✡➆✇➃✶➃❅♣✝♣✝♦❂➆✇➃✓➟✇➂➶♥❿➵☞r➇♣✍r✳♦❂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❼➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣Ñ➃❅➠❲➥➞r➇➅☞r➇➂➄➙❿➥❅♦q➠
➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅✦♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✘➃❀➆✇➃❅➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃

L
♦q♠✣➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷✣➲✩r➇➙✝♦➸➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

Gp = 32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✰➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏✠✏

✏✇➷➶ß⑩à✱➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃➚➆✇➃▲➃❅♣✝♣✝♦ ➆✇➃➳➟✇➂➶♥❊➵☞r➇♣✍r❻♦ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❀➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣⑨➃❅➠❑➥➞r➇➅☞r➇➂➄➙
➥❅♦q➠❉➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅✦♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✘♦q♠✣➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➃Û➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✟➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙❅➷✒➲✩r➇➙✝♦

➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý
Gp = 32

➃
10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✟➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏✠✏

✏✇➷➶ß➏á ↕ ➂➶Ó⑤➃❅♣✝➃❅➅✇➜➞r✛➅✇♦✳➥✁☎➇➦➄➥❅♠✇➦➄♦✛➆☞r✛➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃❼➆✇➃✩➃❅♣✝♣✝♦✷➆✇➃✩➟✇➂➶♥Ñ➵☞r➇♣✍r✛♦✷➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❼➽✻➽✑✏✦➨⑧➃❅➠
➥➞r➇➅☞r➇➦ ❧✞✝✠✟❂➻✑➷✕➲✡♠✇♣ Ù r➇➙✓r➇➅☞r➇➦➄➘➶♥✍➂➄➥➞r❂➃❜➹✇r②♥✤r✟➃❂r➇➵✇♣✝♦➞➹✦➂➄➠✫r➇➆☞r✦➷❿➲✩r➇➙✝♦✂➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷ ✏✘✑

✏✇➷➶ß✓✏ ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃❊➆✇➃➚➃❅♣✝♣✝♦➸➆✇➃Û➟✇➂➶♥✫➵☞r➇♣✍r⑧♦q➙◗➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙❀➲✶➽➚➤✡Ý❐➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✂➃
➽✻➽✑✏✦➨✶Ý☞➃❅➠❞➥➞r➇➅☞r➇➦❙❧✞✝✠✟❂➻✑➷Ï➲✩r➇➙✝♦◗➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý

Gp = 32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷❊➷✑➷✑➷✑➷✑➷❂➷✑➷✑➷ ✏✏✎

✏✇➷➶ß✕✔✱➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃Ñ➆✇➃❼➃❅♣✝♣✝♦✧➆✇➃❐➟✇➂➶♥★➠◗➯❅➆✇➂➭r✶➵☞r➇♣✍r✓♦q➙★➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙❿➲✶➽➚➤✡Ý➏➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣
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➴ ✏❸➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✂➆✇➃❂➟✇➂➶♥✍➙✓➆✇➃❂➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✟➆✇♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦

Eb

➴✡➨❿➅✇➃❅♣✝➩q➂➭r☎➵Ï♦q♣✶➟✇➂➶♥

Eb/N0

➴✮✡✓➃❅➦➭r➇➜➞➝➇♦✂➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦

2F1

➴✡➤☞♠✇➅✇➜➞➝➇♦✂➫✇➂➄➵Ï➃❅♣✝➩q➃❅♦q➠◗➯✯♥✍♣✝➂➄➥➞r

f
➴❐Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r☎➃❅➠ ✢✧➃❅♣➛♥ ✘

fd

➴✡➤☞♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✂➆✇➃❂➆✇➃❅➙✝➦➄♦❸➥➞r➇➠◗➃❅➅④♥✍♦ ↕ ♦q➵✇➵✇➦➄➃❅♣

(∆f)c

➴✧✖✩r➇➅✇➆☞r✂➆✇➃❂➥❅♦❸➃❅♣✪✤❅➅✇➥❅➂➭r☎➆✇♦◗➥➞r➇➅☞r➇➦

Gmax

➴ ✟❂r➇➅✇➫✇♦☎➆✇➃❂➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃❂➠ ☎⑩➹✦➂➄➠◗♦

Gp

➴ ✟❂r➇➅✇➫✇♦✂➆✇➃❂➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦

hl

➴✡➾→➃❅➙✝♦✫➃❅➙➛♥✍➂➄➠✫r➇➆✇♦☎♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃✏r➇♦
l
➴ ➯❅➙✝➂➄➠◗♦☎➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦

IMAI

➴❐➼ ➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r◗➂➄➅④♥✍♣✍r➇➥❅➃❅➦➄♠✇➦➭r➇♣

K
➴✡➻ ✵✇➠◗➃❅♣✝♦✂➆✇➃❂♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✶➆✇♦◗➙✝➂➄➙➛♥✍➃❅➠✫r

K−1
Gp

➴✩➲✩r➇♣✝♣✝➃❅➩④r➇➠◗➃❅➅④♥✍♦✂➆✇♦◗➙✝➂➄➙➛♥✍➃❅➠✫r

L
➴✡➻ ✵✇➠◗➃❅♣✝♦✂➆✇➃❂➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✧♣✝➃❅➙✝♦q➦ Ù ➘ Ù ➃❅➂➄➙

m
➴✡➤✕r②♥✍♦q♣✶➆✇➃❂➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦◗➆☞r☎➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦✂➻✛r✌☞②r➇➩④r➇➠◗➂ ➷

n
➴✮✡✓♠✇➘➄➆✇♦◗r➇➆✇➂➶♥✍➂ Ù ♦☎➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦✂➟✇♣✍r➇➅✇➥❅♦

p(r)
➴✡➤☞♠✇➅✇➜➞➝➇♦◗➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃❂➆✇➃❂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆☞r Ù r➇♣✝➂ ☎ Ù ➃❅➦

r

pf

➴✡➾❿♠✇➦➄➙✝♦☎Ó⑤♦q♣✝➠✫r②♥✤r➇➆✇♦q♣

Pb

➴✡➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦◗➆✇➃❂➟✇➂➶♥
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Pbk

➴✡➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✷➆✇➃❂➃❅♣✝♣✝♦✂➆✇➃❂➟✇➂➶♥✓➠◗➯❅➆✇➂➭r✟➆✇♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦

P̂bk

➴✡➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✷➆✇➃❂➃❅♣✝♣✝♦✂➃❅➙➛♥✍➂➄➠✫r➇➆☞r☎r②♥✍♣✍r Ù ➯❅➙✧➆✇♦◗➠◗➯✯♥✍♦❸➆✇♦◗➽Û♦q➅④♥✍➃✏➲✩r➇♣✝➦➄♦

R
➴❐Ú✖r⑩➹✇r✂➆✇➃❂➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✟➃❅➠ ➟✇➂➶♥✍➙✤Ò②➙

R+
kk

➴
kk
➴ ➯❅➙✝➂➄➠◗♦☎➃❅➦➄➃❅➠◗➃❅➅④♥✍♦✂➆☞r✂➠✫r②♥✍♣✝➂✚✘✷➂➄➅ Ù ➃❅♣✝➙✍r✂➆☞r☎➠✫r②♥✍♣✝➂✚✘✷➆✇➃❂➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦

r
➴ ✦ ✎ ✕☎✔☎✔ ✰✂✄✌✢ ✬☛✬✎✤✭☞ ✕ ✰✾✒ ✡✧r ✘➞➝➇♦✂➃❅➅④♥✍♣✝➃✏➽Û❧✛➼✡➂➄➅④♥✍➃❅♣✝➥❅➃❅➦➄♠✇➦➭r➇♣✩➃✑r◗➽Û❧✛➼✩➂➄➅④♥✍♣✍r➇➥❅➃❅➦➄♠✇➦➭r➇♣ ✲

S
➴ ↕ ➃❅➅✇➙✝➂➄➆☞r➇➆✇➃❂➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦★➆✇➃❂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r☎➆✇♦✂➙✝➂➄➅☞r➇➦

sk

➴ ✏❸➃❅➪✷✶✣✤❅➅✇➥❅➂➭r◗➆✇➃❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✂➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦★➆✇♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦

sk,n

➴
n
➴ ➯❅➙✝➂➄➠◗♦☎➃❅➦➄➃❅➠◗➃❅➅④♥✍♦✂➆☞r✂➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✂➆✇➃❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✂➆✇♦

k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦

Tb

➴❐➼ ➅④♥✍➃❅♣ Ù r➇➦➄♦✂➆✇➃❂➆✇♠✇♣✍r➇➜➞➝➇♦◗➆✇➃❂♠✇➠ ➙✝➘➄➠✟➟Ï♦q➦➄♦

Tc

➴❐➼ ➅④♥✍➃❅♣ Ù r➇➦➄♦✂➆✇➃❂➆✇♠✇♣✍r➇➜➞➝➇♦✂➆✇➃❂♠✇➠ ✰ ✏✛✕ ✎

Tm

➴✡➨❿➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦☎♥✍➃❅➠◗➵Ï♦q♣✍r➇➦ ➆✇♦◗➥➞r➇➅☞r➇➦

W
➴✧✖✩r➇➅✇➆☞r✂➆✇➃✳Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✂➆✇♦✂➙✝➂➄➅☞r➇➦❙➃❅➙✝➵☞r➇➦➄➫☞r➇➆✇♦

α
➴ ✟❂r➇➅✇➫✇♦✂➆✇♦◗➥➞r➇➅☞r➇➦

γb

➴✮✡✓➃❅➦➭r➇➜➞➝➇♦☎➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦

γb

➴✮✡✓➃❅➦➭r➇➜➞➝➇♦☎➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✟➠◗➯❅➆✇➂➭r

γbe

➴✮✡✓➃❅➦➭r➇➜➞➝➇♦✂➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✟➃✯Ó⑤➃✯♥✍➂ Ù r

ηk

➴✡➨✻✼☞➥❅➂✚✤❅➅✇➥❅➂➭r✂r➇➙✝➙✝➂➄➅④♥ ✦➇♥✍➂➄➥➞r

λ
➴✩➲✡♦q➠◗➵✇♣✝➂➄➠◗➃❅➅④♥✍♦☎➆✇➃❂♦q➅✇➆☞r☎➆☞r✂➵Ï♦q♣➛♥✤r➇➆✇♦q♣✍r

µx

➴ ✺❐r➇➦➄♦q♣✩➠◗➯❅➆✇➂➄♦✂➆✇➃
x

ρij

➴❙➲✡♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✶➃❅➅④♥✍♣✝➃✡r✶➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✧➆✇➃❼➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✓➆✇♦✓♠✇➙✝♠✆☎➇♣✝➂➄♦
i
➃❐r✶➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✧➆✇➃❼➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦

➆✇♦✂♠✇➙✝♠✆☎➇♣✝➂➄♦
j

σ
➴ ↕ ➃❅➙ Ù ➂➄♦◗➵☞r➇➆✇♣✍➝➇♦✂➆✇♦✂♣✝♠✇➘➄➆✇♦

σ2
x

➴ ✺❐r➇♣✝➂ ☎➇➅✇➥❅➂➭r✟➆✇➃
x

τl

➴❐❧✩♥✍♣✍r➇➙✝♦◗♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃✏r➇♦
l
➴ ➯❅➙✝➂➄➠◗♦☎➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦

➹



υ
➴ ✺❼➃❅➦➄♦❸➥❅➂➄➆☞r➇➆✇➃✷♣✝➃❅➦➭r②♥✍➂ Ù r✟➃❅➅④♥✍♣✝➃✳♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣✶➃❂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣

Ψl

➴✡➤✕r➇➙✝➃✳♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃✏r➇♦
l
➴ ➯❅➙✝➂➄➠◗♦☎➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦

A
➴✩➽➚r②♥✍♣✝➂✚✘✳➆✇➃✑r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✡♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆☞r➇➙✩➵Ï➃❅➦➄♦q➙✶♠✇➙✝♠✆☎➇♣✝➂➄♦q➙

b
➴ ✺❼➃✯♥✍♦q♣✓➆✇➃❂➟✇➂➶♥✍➙✩♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙

G
➴✩➽➚r②♥✍♣✝➂✚✘✳➆☞r➇➙✓➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✧➆✇➃❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✂➆✇♦q➙✓♠✇➙✝♠✆☎➇♣✝➂➄♦q➙

M
➴✩➽➚r②♥✍♣✝➂✚✘✳➆✇♦✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✷➽✻➽✑✏✦➨

n
➴ ✺❼➃✯♥✍♦q♣✓♣✝♠✇➘➄➆✇♦☎❧✞✝✠✟❂➻

R
➴➛➽➚r②♥✍♣✝➂✚✘✳➆✇➃❂➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦☎➆☞r➇➙✓➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✧➆✇➃✑➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦

y
➴✹✺❼➃✯♥✍♦q♣✶➥❅♦q➠◗➵Ï♦q➙➛♥✍♦✂➵Ï➃❅➦➄♦q➙✶➙✝➂➄➅☞r➇➂➄➙✶➡✂➙✍r➇➘➄➆☞r✟➆✇♦ ✼☞➦➶♥✍♣✝♦☎➥➞r➇➙✍r➇➆✇♦

z
➴ ✺❼➃✯♥✍♦q♣✶➥❅♦q➠◗➵Ï♦q➙➛♥✍♦✂➵Ï➃❅➦➄♦q➙✶➙✝➂➄➅☞r➇➂➄➙✶➡✂➙✍r➇➘➄➆☞r✟➆✇♦◗➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦

➹✦➂



� ☎✁�✄✂ ✏ ✂ ✁ ✒ ☎

✆ ✎✑✏✓✂ ✒ ✝ ✂✞✝✠✟ ✒

❧✛➙✖➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜✪✍❸➃❅➙✖➠ ✦ Ù ➃❅➂➄➙✖➃❜➹✦➵Ï➃❅♣✝➂➄➠◗➃❅➅④♥✤r➇➠✰r➇➦➶♥✤r➇➙★♥✤r⑩➹✇r➇➙Ñ➆✇➃✡➥❅♣✝➃❅➙✝➥❅➂➄➠◗➃❅➅④♥✍♦✳➃✡➃❅➙✝➙✍r✷➃❅➦➄➃ Ù r➇➆☞r✛➆✇➃❅➠✫r➇➅✇➆☞r
➵Ï➃❅➦➄♦q➙❼➙✝➃❅♣ Ù ➂➄➜❅♦q➙✡♣✝➃❅➪➌♠✇➃❅♣✡♦✟r➇♠✇➠◗➃❅➅④♥✍♦✏➆☞r✑➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃✓➆✇♦q➙✡➙✝➂➄➙➛♥✍➃❅➠✫r➇➙❐➆✇➃✧➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦✇➷✖❧✒➙✝♦q➦➄♠✇➜➞➝➇♦✏➠✫r➇➂➄➙
➙✝➂➄➠◗➵✇➦➄➃❅➙◗➙✝➃❅♣✝➂➭r⑧➆✇➂➄➙✝➵Ï♦q➅✇➂➄➟✇➂➄➦➄➂✚✘➞r➇♣✟➠✫r➇➂➄➙◗➟☞r➇➅✇➆☞r➸➆✇➃ÛÓ⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➑➵☞r➇♣✍r⑧➃❅➙✝➙✝➃❅➙❊➙✝➃❅♣ Ù ➂➄➜❅♦q➙❅Ý✓➠✫r➇➙✫♦➸➃❅➙✝➵Ï➃❅➥✯♥✍♣✝♦
➃❅➦➄➃✯♥✍♣✝♦q➠✫r➇➩q➅✇➯✯♥✍➂➄➥❅♦Û➯⑨♠✇➠❤♣✝➃❅➥❅♠✇♣✝➙✝♦➳➦➄➂➄➠◗➂➶♥✤r➇➆✇♦✇Ý❇♦✻➪➌♠☞r➇➦✡➃❅➅✇➥❅♦q➅④♥✍♣✍r⑩➴ ➙✝➃⑨➥❅♦q➅✇➩q➃❅➙➛♥✍➂➄♦q➅☞r➇➆✇♦☛✡ ß✌☞ ➷➚❧✶➆✇➃❅➠✫r➇➂➄➙❅Ý❿r➇➙
➟☞r➇➅✇➆☞r➇➙✂➆✇➃❊Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➳♣✝➃❅➙✝➃❅♣ Ù r➇➆☞r➇➙◗➵☞r➇♣✍r▲♦q➙☎➙✝➃❅♣ Ù ➂➄➜❅♦q➙◗➆✇➃❀➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦▲➙✝➃❅➠ ✼☞♦➳➆✇➃❀Ú→➃❅♣✝➥❅➃❅➂➄♣✍r ✟✳➃❜➴
♣✍r➇➜➞➝➇♦ ✒ á ✟ ✲ ♥ ✤❅➠❞r➇➦➄➥➞r➇➅✇➜➞r➇➆✇♦✂➵✇♣✝➃❅➜❅♦q➙✓➃❜➹❸♥✍♣✝➃❅➠✫r➇➠◗➃❅➅④♥✍➃✑r➇➦➶♥✍♦q➙❅➷❿➺✓♥✍➂➄➦➄➂✚✘➞r➇♣✡➃ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃✏r➇➙✩Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙
➆✇➂➄➙✝➵Ï♦q➅✇➘ Ù ➃❅➂➄➙❅Ý✦♥✍♦q♣✝➅✇♦q♠❸➴ ➙✝➃➇Ý☞➃❅➅④♥✤➝➇♦✇Ý✇➂➄➠◗➵✇♣✝➃❅➙✝➥❅➂➄➅✇➆✇➘ Ù ➃❅➦ ➷

❧✛➙❊♥✍➯❅➥❅➅✇➂➄➥➞r➇➙Û➆✇➃▲♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✍➝➇♦✘➆✇➂➄➩q➂➶♥✤r➇➦✛➆✇♦q➙❀➙✝➂➄➙➛♥✍➃❅➠✫r➇➙❀➆✇➃ ✏❸➃❅➩q♠✇➅✇➆☞r ✟✳➃❅♣✍r➇➜➞➝➇♦ ✒ à✳✟ ✲ ✂✥☎❻➫☞r Ù ➂➭r➇➠
➙✝♠✇➵Ï➃❅♣✍r➇➆✇♦✂♦q➙✶➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✶➆✇➃✷♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✍➝➇♦✂r➇➅☞r➇➦✚✦q➩q➂➄➥➞r✑➆✇➃❂➾❿♣✝➂➄➠◗➃❅➂➄♣✍r✶✟✳➃❅♣✍r➇➜➞➝➇♦ ✒ ß ✟ ✲ Ý✦➅✇♦✂➪➌♠✇➃❂➙✝➃✳♣✝➃✯Ó⑤➃❅♣✝➃❂r
➪➌♠☞r➇➦➄➂➄➆☞r➇➆✇➃❼➆✇➃ Ù ♦ ✘✡➃❐➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃➇➷Ñ➤✕r ✘❅➂➭r➇➠☎➴ ➙✝➃❿➅✇➃❅➥❅➃❅➙✝➙✥☎➇♣✝➂➭r➇➙→♥✍➯❅➥❅➅✇➂➄➥➞r➇➙→➠✫r➇➂➄➙★➃ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➙✖➪➌♠✇➃✡➵Ï➃❅♣✝➠◗➂➶♥✍➂➄➙✝➙✝➃❅➠
r➇♦q➙★♠✇➙✝♠✆☎➇♣✝➂➄♦q➙→➥❅♦q➠◗➵☞r➇♣➛♥✍➂➄➦➄➫☞r➇♣❙r➇➙★Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✖➆✇➂➄➙✝➵Ï♦q➅✇➘ Ù ➃❅➂➄➙❿Ý②♥✤r➇➂➄➙❇➥❅♦q➠◗♦✧➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦✶r➇➥❅➃❅➙✝➙✝♦✷➵Ï♦q♣★➆✇➂ Ù ➂➄➙✍➝➇♦✓➅✇♦
♥✍➃❅➠◗➵Ï♦✇Ý✇Ú ↕ ➽Û❧ ✒✎✍✞✕✗✘ ✢ ✁ ✕☎✄ ✕ ✆ ✕ ✰✱✖✿✓✑✙ ✔✯☞ ✕ ✎✟✔ ✢ �✱✰✲✰ ✢✑✆✑✆✱✲✑✏ ➅☞r☎Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦Ý✕➤ ↕ ➽Û❧ ✒ ✵ ✬✥✢✥★✪✙✆✢ ✖ ✰ ✛ ✁ ✕☎✄ ✕ ✆ ✕ ✰✱✖
✓✑✙ ✔✯☞ ✕ ✎✟✔ ✢ �✱✰✲✰ ✢✑✆✑✆✱✲ ♦q♠➳➵Ï♦q♣✳➥✙✦❸➆✇➂➄➩q♦q➙❅Ý★➲ ↕ ➽Û❧ ✒ ✮ ✰✌✠✄✢ ✁ ✕☎✄ ✕ ✆ ✕ ✰✱✖ ✓✑✙ ✔✯☞ ✕ ✎✟✔ ✢ �✱✰✲✰ ✢✑✆✑✆✱✲ ✡ à✒☞ ➷ ↕ ➃❅➅④♥✍♣✝➃◗➃❅➙✝➙✍r➇➙
♥✍➯❅➥❅➅✇➂➄➥➞r➇➙❅Ýq➲ ↕ ➽Û❧❻♥✍➃❅➠ ➙✝➂➄➆✇♦✩Ó⑤♦q♣➛♥✍➃❿➥➞r➇➅✇➆✇➂➄➆☞r②♥✤r✓r✩➙✝♠✇➙➛♥✍➃❅➅④♥✤r➇♣→➙✝➃❅♣ Ù ➂➄➜❅♦q➙★➠✟♠✇➦➶♥✍➂➄➠◗➘➄➆✇➂➭r➇➙✕➅☞r✶➵✇♣✪✦➞➹✦➂➄➠✫r✩➩q➃❅♣✍r➇➜➞➝➇♦
➆✇➃❀➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜✪✍❸➃❅➙✟➠ ✦ Ù ➃❅➂➄➙❅Ý❐➆✇➃ Ù ➂➄➆✇♦⑧➡▲➙✝♠☞r▲➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃❊➃❅➠ ➦➄➂➄➆☞r➇♣✏➥❅♦q➠ r▲➅☞r②♥✍♠✇♣✝➃✙✘➞r➳r➇➙✝➙✝➘➄➅✇➥❅♣✝♦q➅☞r▲➆✇♦
♥✍♣✥☎②Ó⑤➃❅➩q♦✂➆✇➃❂➆☞r➇➆✇♦q➙❅➷

➨❿➠ ♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫r✟➲ ↕ ➽Û❧✏Ý✦➆✇➂ Ù ➃❅♣✝➙✝♦q➙❐♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣✝➃❅➙❐➥❅♦q➠◗➵☞r➇♣➛♥✍➂➄➦➄➫☞r➇➠❲♠✇➠ ➠◗➃❅➙✝➠◗♦✏➥➞r➇➅☞r➇➦ ➷✖❧✛➙✝➙✝➂➄➠ÛÝ➌♦
♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✩♦q➟✦♥✍➯❅➠ ♠✇➠✫r Ù ➃❅♣✝➙✍➝➇♦☎➥❅♦q➠ ♣✝♠✇➘➄➆✇♦✏➆☞r✏➙✝♠✇➵Ï➃❅♣✝➵Ï♦q➙✝➂➄➜➞➝➇♦✟➆✇♦q➙✡➙✝➂➄➅☞r➇➂➄➙❼♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙❅➷→❧ ➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅❸➴
➥❅➂➭rÛ➙✝♦➇Ó⑤♣✝➂➄➆☞r❀➯✫♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦➚➆✇♦q➙✟r②♥✍♣✍r➇➙✝♦q➙✑♥✍➃❅➠◗➵Ï♦q♣✍r➇➂➄➙✑r➇➦➄➃➞r②♥ ✦q♣✝➂➄♦q➙✳➃❅➅④♥✍♣✝➃⑨♦q➙✏➙✝➂➄➅☞r➇➂➄➙❂➆✇♦q➙✏♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✏r②♥✍➂ Ù ♦q➙❅Ý
♥✍♦q♣✝➅☞r➇➅✇➆✇♦✳➂➄➠◗➵Ï♦q➙✝➙✝➘ Ù ➃❅➦✦r✛➠✫r➇➅➌♠✦♥✍➃❅➅✇➜➞➝➇♦✳➆☞r✷♦q♣➛♥✍♦q➩q♦q➅☞r➇➦➄➂➄➆☞r➇➆✇➃❐➃❅➅④♥✍♣✝➃✡♥✍♦❸➆☞r➇➙❿r➇➙✖Ó⑤♦q♣✝➠✫r➇➙✖➆✇➃✶♦q➅✇➆☞r✛➆✇♦q➙❿➥✙✦❸➆✇➂ ➴
➩q♦q➙✓➆✇➃❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✇➷❼➨❿➙✝➙✍r◗➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r☎➯❂➥❅♦q➅✇➫✇➃❅➥❅➂➄➆☞r✂➥❅♦q➠◗♦✂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r☎➵Ï♦q♣✶➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦☎r➇➥❅➃❅➙✝➙✝♦✇Ý
➽Û❧✛➼ ✒✔✓✑✙ ✔✯☞ ✕ ✎✟✔ ✢ �✱✰✲✰ ✢✑✆✑✆ ✼ ✖✴☞ ✢ ✬✌✦✁✢ ✬✥✢ ✖ ✰ ✢ ✲ ➷▲❧✛➦➄➯❅➠❤➆✇➂➄➙✝➙✝♦✇Ý❼r✻➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r➚➆✇♦q➙✟♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✟➵Ï♦❸➆✇➃⑨➙✝➃✫♥✍♦q♣Ô➴
➅☞r➇♣✧➃❜➹✦➥❅➃❅➙✝➙✝➂ Ù r✫➙✝➃✏♦❸➥❅♦q♣✝♣✝➃❅♣✧♦✫➥✤➫☞r➇➠✫r➇➆✇♦◗➃✯Ó⑤➃❅➂➶♥✍♦✫➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃✔✓ ✖✩✢✥✤✌✬✜❄ ✦✪✤✌✬✶✢✖✕ ✢ ✰ ☞✘✗ Ý✕➃❅➠❞➪➌♠✇➃✏♦q➙✛➅✇➘ Ù ➃❅➂➄➙✧➆✇➃
➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r◗➆✇♦q➙✷➙✝➂➄➅☞r➇➂➄➙✧➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙✷➙✍➝➇♦⑨➠✫r➇➂➄♦q♣✝➃❅➙✧➪➌♠✇➃☎r✫➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r◗➆✇♦⑨➙✝➂➄➅☞r➇➦→➆✇➃❅➙✝➃ ✂✍r➇➆✇♦✇➷✳➨❿➙✝➙✝➃✟➵✇♣✝♦q➟✇➦➄➃❜➴
➠✫r✦Ý☞➪➌♠✇➃✟r➇➵☞r➇♣✝➃❅➥❅➃✑➅✇♦✫➃❅➅✇➦➭r➇➥❅➃✑♣✝➃ Ù ➃❅♣✝➙✝♦ ✒ ➆☞r✂➃❅➙➛♥✤r➇➜➞➝➇♦✫➠ ✦ Ù ➃❅➦ ✒ ➽✑✏ ✲ ➵☞r➇♣✍r◗r✂➃❅➙➛♥✤r➇➜➞➝➇♦✫♣✥☎➇➆✇➂➄♦②➴ ➟☞r➇➙✝➃ ✒ ✖ ✏ ✲✎✲ Ý

ß



� ✄✝✆✂✁ ✁☞☛☎✄✝✆✟✞ ✁ ✠

♦❸➥❅♦q♣✝♣✝➃✛➵✇♣✝➂➄➅✇➥❅➂➄➵☞r➇➦➄➠◗➃❅➅④♥✍➃✧➆✇➃ Ù ➂➄➆✇♦☎➡✏➆✇➂➶Ó⑤➃❅♣✝➃❅➅✇➜➞r✏➃❅➅④♥✍♣✝➃❂r➇➙✡➵Ï♦q➙✝➂➄➜✪✍❸➃❅➙✩➆☞r➇➙✶➽✑✏ × ➙✩➃❅➠✸♣✝➃❅➦➭r➇➜➞➝➇♦☎➡ ✖ ✏Ï➷✫✏❸➂➄➅☞r➇➂➄➙
➵✇♣✝♦ Ù ➃❅➅✇➂➄➃❅➅④♥✍➃❅➙☎➆✇➃✫➃❅➙➛♥✤r➇➜✪✍❸➃❅➙✟➠✫r➇➂➄➙✑➵✇♣✪✦➞➹✦➂➄➠✫r➇➙✑➙✍➝➇♦✇Ý✖➅✇♦q♣✝➠✫r➇➦➄➠◗➃❅➅④♥✍➃➇Ý✖➠✫r➇➂➄➙✳Ó⑤♦q♣➛♥✍➃❅➙❅➷▲➽Û➃❅➙✝➠◗♦✻➪➌♠☞r➇➅✇➆✇♦▲r➇➙
➽✑✏ × ➙✑➃❅➙➛♥✤➝➇♦✻➡Û➠◗➃❅➙✝➠✫r❀➆✇➂➄➙➛♥ ☎➇➅✇➥❅➂➭r❊➆☞r✆✖ ✏ÏÝ★♦Û➥➞r➇➅☞r➇➦❼➵Ï♦❸➆✇➃✂➂➄➅④♥✍♣✝♦❸➆✇♠✣✘❅➂➄♣❂➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇Ý→♣✝➃❅➙✝♠✇➦➶♥✤r➇➅✇➆✇♦
➅✇♦✂➠◗➃❅➙✝➠◗♦✂➃✯Ó⑤➃❅➂➶♥✍♦✇➷

✡ ➠◗➃❅➆✇➂➄➆☞r✩➪➌♠✇➃❐♦✧➅✄✵✇➠◗➃❅♣✝♦✧➆✇➃❼♠✇➙✝♠✆☎➇♣✝➂➄♦q➙→r➇♠✇➠◗➃❅➅④♥✤r✦Ý②r✓➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✶➃❜➹✦➵Ï➃❅♣✝➂➄➠◗➃❅➅④♥✤r➇➆☞r✓➵Ï➃❅➦➄♦q➙❇➙✝➂➄➙➛♥✍➃❅➠✫r➇➙
♥✤r➇➠✟➟Ï➯❅➠❤r➇♠✇➠◗➃❅➅④♥✤r✦➷❀➼ ➙✝➙✝♦✻➙✝➂➄➩q➅✇➂✽✼☞➥➞rÛ➪➌♠✇➃➇ÝÑ➪➌♠☞r➇➅④♥✍♦✻➠✫r➇➂➄➙❂➥➞r➇♣✝♣✝➃❅➩④r➇➆✇♦q➙✏➙✍➝➇♦➚♦q➙✏➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✑➃➏Ò②♦q♠➑➪➌♠☞r➇➅④♥✍♦
➠✫r➇➂➄➙✫➙✝➂➄➩q➅✇➂✽✼☞➥➞r②♥✍➂ Ù r➇➙✂Ó⑤♦q♣✝➃❅➠ r➇➙❊➆✇➂➄➙✝➵☞r➇♣✝➂➄➆☞r➇➆✇➃❅➙⑨➃❅➅④♥✍♣✝➃➳r➇➙⑨➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r➇➙⑨➆✇♦q➙❊➙✝➂➄➅☞r➇➂➄➙✫♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦q➙❅Ý✛➠✫r➇➂➄♦q♣✝➃❅➙
➙✍➝➇♦➚♦q➙✑➵✇♣✝♦q➟✇➦➄➃❅➠✫r➇➙❂➥❅♦q➠❤♦q➙✑➙✝➂➄➅☞r➇➂➄➙❂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙❅➷Û➾❿♣✝♦q➟✇➦➄➃❅➠✫r➇➙❂➃❅➙➛♥✍➃❅➙✟➪➌♠✇➃✫➠◗♦➇♥✍➂ Ù r➇➠❨rÛ➵✇♣✝♦❸➥❅♠✇♣✍rÛ➵Ï♦q♣
♥✍➯❅➥❅➅✇➂➄➥➞r➇➙☎➠✫r➇➂➄➙✟➃ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➙✂➅✇♦➳➥❅♦q➠✟➟☞r②♥✍➃❀➡▲➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✦➷❻➲✡♦q➠ ♦⑧r➇♠❸➹✦➘➄➦➄➂➄♦➚➆✇➃❀r➇➦➄➩q♠✇➠✫r➇➙✟➆✇➃❅➦➭r➇➙❅Ý❿♥✤r➇➂➄➙
➥❅♦q➠◗♦✳➥❅♦q➅④♥✍♣✝♦q➦➄➃✶r②♥✍➂ Ù ➂➄➆☞r➇➆✇➃✩➆✇➃ Ù ♦ ✘➇Ý➌➵✇♣✝♦ ✂✝➃✯♥✍♦❂➆✇➃✓➥✙✦❸➆✇➂➄➩q♦q➙Ñ➆✇➃✶➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✇Ý④➃❅➙✝➪➌♠✇➃❅➠✫r➇➙❼➆✇➃✶➥❅♦q➅④♥✍♣✝♦q➦➄➃✶➆✇➃
➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦Ý✦r➇➅④♥✍➃❅➅☞r➇➙✓r➇➆☞r➇➵✦♥✤r②♥✍➂ Ù r➇➙❐➃✷➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦☎➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý❸➽➚➺ ↕ ✒✔✓✑✙ ✔✯☞ ✕✗✙ ✆ ✢ ✬ ✁✶✢✩☞ ✢ ✰ ☞ ✕ ✰✱✖ ✲ Ý✦➵Ï♦❸➆✇➃❜➴ ➙✝➃
➠◗➃❅➦➄➫✇♦q♣✍r➇♣❼♦✟➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦☎➆✇♦q➙✡➙✝➂➄➙➛♥✍➃❅➠✫r➇➙❅Ý❸➅✇♦✟➪➌♠✇➃✷➙✝➃✷♣✝➃✯Ó⑤➃❅♣✝➃✷➡✏➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃✛➃✛➪➌♠☞r➇➦➄➂➄➆☞r➇➆✇➃✧➆✇♦q➙✡➙✝➃❅♣ Ù ➂➄➜❅♦q➙❅➷

➻✛r✳➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦❂➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➇➵✇♣✝➂➄➠◗➃❅➂➄♣✍r➇➠◗➃❅➅④♥✍➃✡➵✇♣✝♦q➵Ï♦q➙➛♥✤r✷➵Ï♦q♣✻✺❼➃❅♣✝➆✫✵ ✡ á ☞ Ý➌r➇➙❼➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜✪✍❸➃❅➙✖➆✇➃✩♥✍♦❸➆✇♦q➙
♦q➙✶♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✩➙✍➝➇♦✂♠✦♥✍➂➄➦➄➂✚✘➞r➇➆☞r➇➙❐➃❅➠ ➥❅♦q➅ ✂✝♠✇➅④♥✍♦✂➵☞r➇♣✍r✟➠◗➃❅➦➄➫✇♦q♣✍r➇♣✩r✟➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦◗➆✇➃✳➥➞r➇➆☞r☎♠✇➙✝♠✆☎➇♣✝➂➄♦✟➂➄➅✇➆✇➂ Ù ➂➄➆✇♠☞r➇➦ ➴
➠◗➃❅➅④♥✍➃➇➷✖❧✣➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✳➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✧➂➄➅✇♦ Ù r✛r➇♦✛➆✇➂➶Ó⑤➃❅♣✝➃❅➅✇➥❅➂➭r➇♣✖r✳➽Û❧✛➼★➆✇♦✷♣✝♠✇➘➄➆✇♦✷r➇➆✇➂➶♥✍➂ Ù ♦✛➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦✛➟✇♣✍r➇➅✇➥❅♦
❧✞✝✠✟❂➻ ✒ � ✠ ✠✌✕✌☞ ✕☎✄✌✢ ✍✑✏✛✕✌☞ ✢✎✒ ✤✌✙ ✆✑✆ ✕ ✤✌✖ ✓ ✰✱✕ ✆ ✢ ✲ ➷ ↕ ➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃✫➆✇♦✻➪➌♠✇➃✫♦❸➥❅♦q♣✝♣✝➃✫➅☞rÛ➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✻➥❅♦q➅❸➴
Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ÝÏ➅☞r✫➪➌♠☞r➇➦✖r✫➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r◗➵Ï♦q♣✛➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦◗r➇➥❅➃❅➙✝➙✝♦❊➯✑♥✍♣✍r②♥✤r➇➆☞r◗➥❅♦q➠◗♦✫♣✝♠✇➘➄➆✇♦✇➷✧❧✛➦➄➯❅➠❞➆✇➂➄➙✝➙✝♦✇Ý ♦q➙
➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✶➪➌♠✇➃✑♠✦♥✍➂➄➦➄➂✚✘➞r➇➠ ➽➚➺ ↕ ➵Ï♦q➙✝➙✝♠✇➃❅➠ ➠✫r➇➂➄➙✶♣✝➃❅➙✝➂➄➙➛♥ ✤❅➅✇➥❅➂➭r✂r➇♦q➙✓➆✇➃❅➙✍r ✂✝♠✇➙➛♥✍➃❅➙✧➆✇➃❂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r➇➙❅➷

➁ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✫➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦ ✦➇♥✍➂➄➠◗♦➸r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➑♠✇➠✫r⑧➥❅♦q➠◗➵✇➦➄➃❜➹✦➂➄➆☞r➇➆✇➃Û➥❅♦q➠◗➵✇♠✦♥✤r➇➥❅➂➄♦q➅☞r➇➦✓➵✇♣✝♦q➂➄➟✇➂➶♥✍➂ Ù r✦➷
❧✛➙✝➙✝➂➄➠ÛÝÑ♥✍➯❅➥❅➅✇➂➄➥➞r➇➙☎➙✝♠✇➟❸➴ ✦➇♥✍➂➄➠✫r➇➙✑Ó⑤♦q♣✍r➇➠➢➆✇➃❅➙✝➃❅➅ Ù ♦q➦ Ù ➂➄➆☞r➇➙❅➷ ↕ ➃❅➅④♥✍♣✝➃❀♦q➙✟➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✂➙✝♠✇➟❸➴ ✦➇♥✍➂➄➠◗♦q➙✏➦➄➂➄➅✇➃➞r➇♣✝➃❅➙
➵☞r➇♣✍r✏➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✓➲ ↕ ➽Û❧✏Ý✇➆✇➃❅➙➛♥✤r➇➥➞r➇➠☎➴ ➙✝➃✷♦☎➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✩➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✡➃✷♦☎➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➽✻➽✑✏✦➨ ✒✔✓✑✕✗✖✆✕✌❄
✘✚✙✛✘ ✓✣✢✥✤✌✖✴❄✔✦✩★✪✙✫✤✌✬✥✢ ✠☛✭✮✬✯✬✥✰✱✬✳✲ ➷Ñ❧✛➠✟➟Ï♦q➙❼➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✡➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➠ ♦q♠◗➆✇➃❅➙✍r➇➥❅♦q➵✇➦➭r➇➠ ♦q➙❐➙✝➂➄➅☞r➇➂➄➙❿➆✇♦q➙
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙✟r❀➵☞r➇♣➛♥✍➂➄♣❂➆✇➃◗♠✇➠✫r⑨♥✍♣✍r➇➅✇➙➛Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦Û➦➄➂➄➅✇➃➞r➇♣✷➅✇♦q➙✑➙✝➂➄➅☞r➇➂➄➙❂♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦q➙❅➷ ✢ ☎Ûr➇➂➄➅✇➆☞r
♥✍➯❅➥❅➅✇➂➄➥➞r➇➙❂➥❅♦q➠ r➇➟Ï♦q♣✝➆☞r➇➩q➃❅➅✇➙❂r➇➆☞r➇➵✦♥✤r②♥✍➂ Ù r➇➙❅Ý❇➅☞r➇➙❂➪➌♠☞r➇➂➄➙❂♦❸➥❅♦q♣✝♣✝➃☎♠✇➠❨➥❅♦q➅④♥✍➘➄➅➌♠✇♦➚r ✂✝♠✇➙➛♥✍➃✂➆✇♦q➙❂➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦q➙
➆✇♦☎➥➞r➇➅☞r➇➦ ➷❿➨✖➹✦➂➄➙➛♥✍➃❅➠ ♥✤r➇➠✟➟Ï➯❅➠✸♦q➙✩➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✶➙✝♠✇➟❸➴ ✦➇♥✍➂➄➠◗♦q➙❐➅☞➝➇♦☎➦➄➂➄➅✇➃➞r➇♣✝➃❅➙❅Ý❸➟☞r➇➙✝➃➞r➇➆✇♦q➙✶➅✇♦☎➥➞r➇➅✇➥❅➃❅➦➭r➇➠◗➃❅➅④♥✍♦
➙✝♠✇➥❅➃❅➙✝➙✝➂ Ù ♦❂➆☞r✛➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✦Ý➇➃❅➠✰➪➌♠✇➃✩➙✍➝➇♦✷➩q➃❅♣✍r➇➆☞r➇➙Ñ➃❅➙➛♥✍➂➄➠✫r②♥✍➂ Ù r➇➙★➆☞r✳➽Û❧✛➼✤Ý➇➵Ï♦q➙➛♥✍➃❅♣✝➂➄♦q♣✝➠◗➃❅➅④♥✍➃❐➙✝♠✇➟✦♥✍♣✍r➇➘➄➆☞r➇➙
➆✇♦❂➙✝➂➄➅☞r➇➦✇➆✇➃❅➙✝➃ ✂✍r➇➆✇♦✇Ý➌➙✝➃❅➩q♠✇➅✇➆✇♦✏r➇➦➄➩q♠✇➠✰➥❅♣✝➂➶♥✍➯❅♣✝➂➄♦✷➆✇➃✓♦q♣✝➆✇➃❅➅☞r➇➜➞➝➇♦❂➆✇♦q➙❼♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✖❧✛➙❼♦q➵Ï➃❅♣✍r➇➜✪✍❸➃❅➙❿➆✇➃✓♣✝➃❅➥❅♦q➅✇➙Ô➴
♥✍♣✝♠✇➜➞➝➇♦✫➃✑➥➞r➇➅✇➥❅➃❅➦➭r➇➠◗➃❅➅④♥✍♦◗➆☞r⑨➽Û❧✛➼✶➵Ï♦❸➆✇➃❅➠❞➙✝➃❅♣✧♣✝➃❅➵Ï➃✯♥✍➂➄➆☞r➇➙✧➃❅➠❞♠✇➠➧➃❅➙➛♥✍♣✝♠✦♥✍♠✇♣✍r◗➆✇➃✑➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✶➃❅➙➛♥ ☎➇➩q➂➄♦q➙❅Ý
♣✝➃❅➙✝♠✇➦➶♥✤r➇➅✇➆✇♦✂➃❅➠ ➙✝➂➄➅☞r➇➂➄➙✶➠✫r➇➂➄➙✩➥❅♦q➅ ✼ ☎ Ù ➃❅➂➄➙✛r☎➥➞r➇➆☞r✂➅✇♦ Ù ♦◗➃❅➙➛♥ ☎➇➩q➂➄♦✇➷

➨❿➠ Ù ➂➄➙➛♥✤r☎➆✇♦q➙✓➟Ï➃❅➅✇➃✯Ó⑤➘➄➥❅➂➄♦q➙✡♥✍♣✍r ✘❅➂➄➆✇♦q➙✶➵Ï➃❅➦➭r✟➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦◗➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➌➆✇➃❅➙✝➃ ✂✝♦q♠❸➴ ➙✝➃✑➅✇➃❅➙✝➙✍r✂➆✇➂➄➙✝➙✝➃❅♣➛♥✤r➇➜➞➝➇♦
r Ù r➇➦➄➂➭r➇♣❿♦✏➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✟➆✇➃✧➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✩➲ ↕ ➽Û❧ ➥❅♦q➠ ➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✟➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ýq➃❅➠ ♥✍➃❅♣✝➠◗♦q➙❐➆✇➃✛➵✇♣✝♦q➟☞r➇➟✇➂ ➴
➦➄➂➄➆☞r➇➆✇➃✷➆✇➃✳➃❅♣✝♣✝♦✂➆✇➃❂➟✇➂➶♥✶➠◗➯❅➆✇➂➭r✦➷Ñ❧✛➙✝➙✝♠✇➠◗➃❜➴ ➙✝➃❂➪➌♠✇➃❂♦✂➙✝➂➄➙➛♥✍➃❅➠✫r✂r➇➅☞r➇➦➄➂➄➙✍r➇➆✇♦✟➯✳♠✇➅✇➂➄➥❅➃❅➦➄♠✇➦➭r➇♣❅Ý✦➵Ï♦q➙✝➙✝♠✇➂❇➥❅♦q➅④♥✍♣✝♦q➦➄➃
➂➄➆✇➃➞r➇➦✕➆✇➃✧➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦Ý➌➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✩➆✇➃✛➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✏➵✇♠✇♣✍r➇➠◗➃❅➅④♥✍➃✛r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➇➙❿➃✛➠◗♦❸➆✇♠✇➦➭r➇➜➞➝➇♦ ✖✩➾✹✏✦Õ ✒ ✙ ✕✌❄
✖ ✤✌✬✜✛✣✢✤✏✫✤✍✆ ✢✩❄✔✦✥✏✛✕ ✦✜☞✆✧✚✢✩✛✱✕✗✖✫✪✫✲ ➷ ➁ ➙✶➙✝➂➄➅☞r➇➂➄➙✡➙✍➝➇♦☎♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙✩r②♥✍♣✍r Ù ➯❅➙✓➆✇➃✳➥➞r➇➅☞r➇➂➄➙✶➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦
➥➞r➇♠✇➙✍r➇➆✇♦❀➵Ï♦q♣✳➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✧➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙❅➷ ➁ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦❀➯☎➠◗♦❸➆✇➃❅➦➭r➇➆✇♦⑨➃❅➙➛♥✤r②♥✍➂➄➙➛♥✍➂➄➥➞r➇➠◗➃❅➅④♥✍➃➇Ý❇➃☎♦q➙✳➠◗♦②➴
➆✇➃❅➦➄♦q➙✶♠✦♥✍➂➄➦➄➂✚✘➞r➇➆✇♦q➙✡Ó⑤♦q♣✍r➇➠ r➇➙✓➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜✪✍❸➃❅➙✩➆✇➃ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❊➃✑➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
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� ✄✝✆✂✁ ✁☞☛☎✄✝✆✟✞ ✁ �

➨❿➙➛♥✤r✂➆✇➂➄➙✝➙✝➃❅♣➛♥✤r➇➜➞➝➇♦☎Ó⑤♦q➂❙♦q♣✝➩④r➇➅✇➂✚✘➞r➇➆☞r☎➆☞r☎➙✝➃❅➩q♠✇➂➄➅④♥✍➃✳Ó⑤♦q♣✝➠✫r✦s
➁ ☛ ✉✇❽✂✁ ➎ �→➒⑤❹

2
r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r⑨♠✇➠✫r✫♣✝➃ Ù ➂➄➙✍➝➇♦⑨➆✇♦q➙✷➵✇♣✝➂➄➅✇➥❅➂➄➵☞r➇➂➄➙✓➥❅♦q➅✇➥❅➃❅➂➶♥✍♦q➙✷♠✦♥✍➂➄➦➄➂✚✘➞r➇➆✇♦q➙✓➅✇➃❅➙➛♥✍➃✟♥✍♣✍r➇➟☞r➇➦➄➫✇♦✇➷

➼ ➅✇➂➄➥❅➂➭r⑩➴ ➙✝➃✷➥❅♦q➠ ♠✇➠✫r✟➟✇♣✝➃ Ù ➃✑➆✇➃❅➙✝➥❅♣✝➂➄➜➞➝➇♦✂➆✇➃❂♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫r◗➲ ↕ ➽Û❧✭➟✆☎➇➙✝➂➄➥❅♦✂➃❂➆✇➃✳➙✝♠☞r➇➙✓➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➘➄➙➛♥✍➂➄➥➞r➇➙❅➷❿❧
➙✝➃❅➩q♠✇➂➄♣❅Ýq➙✍➝➇♦✳r➇➟Ï♦q♣✝➆☞r➇➆✇♦q➙✖♦q➙✖♥✍➂➄➵Ï♦q➙→➆✇➃✩➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✳➙✝♦➇Ó⑤♣✝➂➄➆✇♦✷➵Ï♦q♣✖➙✝➂➄➅☞r➇➂➄➙→➃❅➠✰➥➞r➇➅☞r➇➂➄➙✖➆✇➃✩➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦
➠ ✦ Ù ➃❅➦ ➷
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3
Ý②➂➄➅④♥✍♣✝♦❸➆✇♠✣✘❅➃❅➠☎➴ ➙✝➃❿♦q➙★➥❅♦q➅✇➥❅➃❅➂➶♥✍♦q➙→➟✆☎➇➙✝➂➄➥❅♦q➙❇➆☞r✓➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✛➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➞♦q➙★➟Ï➃❅➅✇➃✯Ó⑤➘➄➥❅➂➄♦q➙

➃❅➠ ♠✇➙✥☎⑩➴ ➦➭r✳➃✧➙✝♠☞r➇➙❐➦➄➂➄➠◗➂➶♥✤r➇➜✪✍❸➃❅➙❅➷★❧✛➦➄➯❅➠ ➆✇➂➄➙✝➙✝♦✇Ý➌➙✍➝➇♦✑➆✇➃❅➙✝➥❅♣✝➂➶♥✍♦q➙❐♦✑➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✡➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦✕➃✧♦q➙❐➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙
➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✟➦➄➂➄➅✇➃➞r➇♣✝➃❅➙✩➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➃✏➽✻➽✑✏✦➨✶➷
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4
➙✍➝➇♦Ûr➇➅☞r➇➦➄➂➄➙✍r➇➆✇♦q➙✷♦q➙❂➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦q➙✑➆✇♦q➙❂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙❂➦➄➂➄➅✇➃➞r➇♣✝➃❅➙✳➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦⑨➃❅➠

➥➞r➇➅☞r➇➂➄➙✷➥❅♦q➠❍➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫▲➃☎➃❅➠❍➥➞r➇➅☞r➇➂➄➙✷➥❅♦q➠❍➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦Û➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
m
➃☎➥❅♦q➠☎➴

➵☞r➇♣✍r➇➆✇♦q➙✡r➇♦✏➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦☎➆✇♦✏➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✡➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷Ñ❧✛➦➄➯❅➠ ➆✇➂➄➙✝➙✝♦✇Ý❸➙✍➝➇♦✟➥❅♦q➠◗➵☞r➇♣✍r➇➆✇♦q➙❐♦q➙❐➥❅♦q➠◗➵Ï♦q♣➛♥✤r⑩➴
➠◗➃❅➅④♥✍♦q➙❇➆✇♦q➙★➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙★➃❅➠ ➥➞r➇➅☞r➇➂➄➙ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✳➥❅♦q➠

L
➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙Ï➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙★➃❼➃❅➠ ➥➞r➇➅☞r➇➂➄➙★➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

L
➷

➲✡♦q➠◗♦❀➥❅♦q➅④♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦⑨Ó⑤♦q♣✍r➇➠❍♦q➟✦♥✍➂➄➆☞r➇➙✳➃❜➹✦➵✇♣✝➃❅➙✝➙✎✍❸➃❅➙✟r➇➅☞r➇➦➄➘➶♥✍➂➄➥➞r➇➙✛➵☞r➇♣✍r❀r❀➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✏➆✇➃✂➃❅♣✝♣✝♦Û➠◗➯❅➆✇➂➭r
➵☞r➇♣✍r⑨r➇➠✟➟Ï♦q➙✧♦q➙✛➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✳➃❅➠✾➥➞r➇➅☞r➇➂➄➙✛➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷✓Ú→♦❸➆✇♦q➙✛♦q➙✷♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦q➙✧Ó⑤♦q♣✍r➇➠ Ù r➇➦➄➂➄➆☞r➇➆✇♦q➙✧➵Ï♦q♣

➙✝➂➄➠✟♠✇➦➭r➇➜✪✍❸➃❅➙❅➷
➨✠✼☞➅☞r➇➦➄➠◗➃❅➅④♥✍➃➇Ý❙♦ ☛ ✉✇❽✂✁ ➎ �→➒⑤❹

5
♥✍♣✍r ✘☎r➇➙✳➥❅♦q➅✇➥❅➦➄♠✇➙✎✍❸➃❅➙❅Ý❇➥❅♦q➠◗➃❅➅④♥ ☎➇♣✝➂➄♦q➙ ✼☞➅☞r➇➂➄➙✷➃☎➙✝♠✇➩q➃❅➙➛♥✥✍❸➃❅➙✳➵☞r➇♣✍r✫♥✍♣✍r⑩➴

➟☞r➇➦➄➫✇♦q➙✩Ó⑤♠✦♥✍♠✇♣✝♦q➙❅➷



� ☎✁�✄✂ ✏ ✂ ✁ ✒ �

� ✒✕✎ ✠✗✞✡☛ ✏✓✒✕✔ ✁ ✂✄✔ ☛✍✠✗✒✕✔

➻✧➃❅➙➛♥✍➃✟➥➞r➇➵✇➘➶♥✍♠✇➦➄♦◗➙✍➝➇♦✫♣✝➃ Ù ➂➄➙✍r➇➆✇♦q➙✷r➇➦➄➩q♠✇➅✇➙✛➥❅♦q➅✇➥❅➃❅➂➶♥✍♦q➙✧➟✆☎➇➙✝➂➄➥❅♦q➙✛➅✇➃❅➥❅➃❅➙✝➙✥☎➇♣✝➂➄♦q➙✷➵☞r➇♣✍r✫r✫➥❅♦q➠◗➵✇♣✝➃❅➃❅➅✇➙✍➝➇♦⑨➆✇➃
♠✇➠❲➙✝➂➄➙➛♥✍➃❅➠✫r❂➲ ↕ ➽Û❧✏Ýq➙✝➃❅♠✂Ó⑤♠✇➅✇➥❅➂➄♦q➅☞r➇➠◗➃❅➅④♥✍♦✷➃✶➙✝♠☞r➇➙❿➵✇♣✝➂➄➅✇➥❅➂➄➵☞r➇➂➄➙✖➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➘➄➙➛♥✍➂➄➥➞r➇➙❅➷Ñ➺✧➠❲➠◗♦❸➆✇➃❅➦➄♦✛➆✇➃✶➥➞r➇➅☞r➇➦
➯✶➆✇➃❅➙✝➥❅♣✝➂➶♥✍♦✇Ýq➅✇♦✳➪➌♠☞r➇➦✇♦✳➙✝➂➄➅☞r➇➦✦♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✳➯✶➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦✑➃❅➠✰Ó⑤♠✇➅✇➜➞➝➇♦✳➆✇♦q➙Ñ➆☞r➇➆✇♦q➙Ñ♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙→➃✶➆✇♦✳♣✝♠✇➘➄➆✇♦✷➆✇♦
➥➞r➇➅☞r➇➦ ➷✖➼ ➅④♥✍♣✝♦❸➆✇♠✣✘❜➴ ➙✝➃➇Ý➌r✷➙✝➃❅➩q♠✇➂➄♣❅Ý④♠✇➠❲➠◗♦❸➆✇➃❅➦➄♦✛➆✇➃✶➥➞r➇➅☞r➇➦✦➆✇➂➄➙✝➥❅♣✝➃✯♥✍♦❂➅✇♦✷♥✍➃❅➠◗➵Ï♦✇Ýq♠✦♥✍➂➄➦➄➂✚✘➞r➇➆✇♦✛➅☞r➇➙Ñ➙✝➂➄➠✟♠✇➦➭r➇➜✪✍❸➃❅➙❅➷
✂☎✄✝✆ ❖◗❃❅❄❙❘★❆✓■❯❚✑❄✾❱❲❋❨❳❩✼

➲ ↕ ➽Û❧✸➯✂♠✇➠✫r⑨♥✍➯❅➥❅➅✇➂➄➥➞r❊➆✇➃◗➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦❊➪➌♠✇➃◗➵Ï➃❅♣✝➠◗➂➶♥✍➃☎r❊♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✍➝➇♦❀➆✇➂➄➩q➂➶♥✤r➇➦→➙✝➂➄➠✟♠✇➦➶♥ ☎➇➅✇➃➞r⑨➆✇♦
➙✝➂➄➅☞r➇➦☞➆✇➃✧➆✇➂ Ù ➃❅♣✝➙✝♦q➙✡♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❼➃❅➠ ♠✇➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃✓➆✇➃✧➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦❂r➇➥❅➃❅➙✝➙✝♦✇➷❿❧✒➥➞r➇➆☞r❂♠✇➙✝♠✆☎➇♣✝➂➄♦✑➃❅➙➛♥ ☎✏r➇➙✝➙✝♦❸➥❅➂➭r➇➆☞r
♠✇➠✫r✶➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✛➵✇➙✝➃❅♠✇➆✇♦②➴Ôr➇➦➄➃➞r②♥ ✦q♣✝➂➭r ✒ r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r ✲ ♠✇➙✍r➇➆☞r✓➵☞r➇♣✍r✓➃❅➙✝➵☞r➇➦➄➫☞r➇♣→r✓➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✶➃❅➠✚♠✇➠✫r✶➟☞r➇➅✇➆☞r
➆✇♦☎➥➞r➇➅☞r➇➦❙➥❅♦q➠◗➵☞r➇♣➛♥✍➂➄➦➄➫☞r➇➆☞r❂➵Ï♦q♣✡♥✍♦❸➆✇♦q➙❅➷❼➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý✇➵☞r➇♣✍r✟♠✇➠ ♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✶➥❅♦q➅✇➙✝➃❅➩q♠✇➂➄♣✩➆✇➂➄➙➛♥✍➂➄➅✇➩q♠✇➂➄♣✡r➇➙✶➂➄➅✦Ó⑤♦q♣Ô➴
➠✫r➇➜✪✍❸➃❅➙❅Ý✇➯❂➅✇➃❅➥❅➃❅➙✝➙✥☎➇♣✝➂➄♦◗➪➌♠✇➃✑➃❅➦➄➃✳➥❅♦q➅✇➫✇➃❅➜➞r◗♦q➙✶➥✙✦❸➆✇➂➄➩q♦q➙✶➆✇➃❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✇➷

➻✛r✂➆✇➃❅➠◗♦❸➆✇♠✇➦➭r➇➜➞➝➇♦☎➆✇➃✑➥➞r➇➆☞r✂➙✝➂➄➅☞r➇➦❇♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇Ý✕♦q➙✓➙✝➂➄➅☞r➇➂➄➙✓➆✇♦q➙✓♦q♠✦♥✍♣✝♦q➙✧♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✓➆✇♦◗➥➞r➇➅☞r➇➦★r➇➵☞r➇♣✝➃❅➥❅➃❅➠
➥❅♦q➠◗♦❂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✑r➇➆✇➂➶♥✍➂ Ù r✦➷ ➁ ➅✇➘ Ù ➃❅➦☞➆✇➃✧➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r Ù r➇♣✝➂➭r✦Ý④➆✇➃❅➵Ï➃❅➅✇➆✇➃❅➅✇➆✇♦✏➆✇♦✑➅✄✵✇➠◗➃❅♣✝♦✑➆✇➃✓♠✇➙✝♠✆☎➇♣✝➂➄♦q➙
r②♥✍➂ Ù ♦q➙Ñ➃✶➆✇➃✶➙✝➃❅♠✇➙❼➅✇➘ Ù ➃❅➂➄➙❿➆✇➃✶➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✷➃❅➠❲♠✇➠❲➆✇➃✯♥✍➃❅♣✝➠◗➂➄➅☞r➇➆✇♦✷➂➄➅✇➙➛♥✤r➇➅④♥✍➃✶➆✇➃✩♥✍➃❅➠◗➵Ï♦✇➷✖❧❮➠✫r➇➂➄♦q♣ Ù r➇➅④♥✤r➇➩q➃❅➠
➆✇♦q➙✶➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✓➲ ↕ ➽Û❧✭➯✳➙✝♠☞r☎➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃✳➃❅➠ r➇➥❅♦q➠◗♦❸➆☞r➇♣✡♠✇➠ ➅✄✵✇➠◗➃❅♣✝♦✂➃❅➦➄➃ Ù r➇➆✇♦☎➆✇➃✳♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✶➙✝➃✳➥➞r➇➆☞r
♠✇➠ ♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄♣✡➠◗➃❅➅✇➙✍r➇➩q➃❅➅✇➙✓➵Ï♦q♣✶♠✇➠ ➥❅♠✇♣➛♥✍♦◗➵Ï➃❅♣✝➘➄♦❸➆✇♦☎➆✇➃✳♥✍➃❅➠◗➵Ï♦✇➷

✞✠✟☛✡☞✟☛✡ ✌✎✍✑✏✑✒✑✓✕✔✗✖✘✏✕✙✛✚☞✜✢✒✑✚✗✣✤✜✦✥✧✓☞★✪✩✑✓✕✔✗✖✘✏✕✙✛✚✫✣✤✜✦✥✬✖✘✭✮✙✰✯✱✓☞★
✏❸➂➄➅☞r➇➂➄➙✖➃❅➙✝➵☞r➇➦➄➫☞r➇➆✇♦q➙❿➃❅➠✰Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✷♥ ✤❅➠ÛÝq➥❅♦q➠◗♦✳➵✇♣✝➂➄➅✇➥❅➂➄➵☞r➇➦❸➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➘➄➙➛♥✍➂➄➥➞r✦Ýq♠✇➠✫r✛➦➭r➇♣✝➩q♠✇♣✍r✛➆✇➃✶➟☞r➇➅✇➆☞r

W
➠✟♠✇➂➶♥✍♦☎➠✫r➇➂➄♦q♣✩➪➌♠✇➃✏r✟♥✤r⑩➹✇r✂➆✇➃❂➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦

R
➃❅➠ ➟✇➂➶♥✍➙

/
➙❅➷ ➁ Ó➔r②♥✍♦q♣✶➆✇➃❂➃❜➹✦➵☞r➇➅✇➙✍➝➇♦

Gp = W
R

➯❂➥❅♦q➅❸➴
➫✇➃❅➥❅➂➄➆✇♦➚➥❅♦q➠◗♦➚➩④r➇➅✇➫✇♦➚➆✇➃⑨➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦✇➷ ➁ ➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✻➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦ ✒ ✏✫✏④➴ ✦ ✎ ✬✥✢✥✤ ✠ ✦ ✎✆✢ ✰ ☞ ✬✯✙✛✘✴✲ ➯
Ó⑤➃❅➂➶♥✍♦➳r②♥✍♣✍r Ù ➯❅➙◗➆✇➃❀➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙❅Ý✩➪➌♠✇➃❀➙✍➝➇♦➳➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃❅➅④♥✍➃❅➙✫➆☞r▲➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r⑧➆✇➃❀➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✇ÝÑ♠✦♥✍➂➄➦➄➂✚✘➞r➇➆☞r➇➙
➅✇♦❊♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣✷➃☎➅✇♦❊♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅➷✂➲✩r➇➆☞r❊♠✇➙✝♠✆☎➇♣✝➂➄♦❊➵Ï♦q➙✝➙✝♠✇➂Ñ♠✇➠✫r⑨➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r❀➃❅➙✝➵Ï➃❅➥❅➘✽✼☞➥➞r✦➷☎➺✧➠✫r⑨➙✝➃❅➪✷✶✣✤❅➅❸➴
➥❅➂➭r➳➆✇➃Û➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦⑧➯Û♠✇➠✫r➳➙✝♠✇➥❅➃❅➙✝➙✍➝➇♦➑➵Ï➃❅♣✝➂✚✦❸➆✇➂➄➥➞r▲➆✇➃Û➙✝➘➄➠✟➟Ï♦q➦➄♦q➙☎➆✇➃Û➥❅♠✇♣➛♥✤r⑧➆✇♠✇♣✍r➇➜➞➝➇♦ ✒ ✰ ✏✛✕ ✎ ✆✱✲ ➥❅♦q➠
➥❅♦q➠◗➵Ï♦q♣➛♥✤r➇➠◗➃❅➅④♥✍♦☎➙✝➂➄➠◗➂➄➦➭r➇♣✡r☎♠✇➠ ➥❅♦q➠◗➵Ï♦q♣➛♥✤r➇➠◗➃❅➅④♥✍♦✂r➇➦➄➃➞r②♥ ✦q♣✝➂➄♦✟➆✇➃❅➅④♥✍♣✝♦◗➆✇➃❂➥➞r➇➆☞r✂➵Ï➃❅♣✝➘➄♦❸➆✇♦✇➷

✏
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➺✧➙✝♠☞r➇➦➄➠◗➃❅➅④♥✍➃➇Ý☞r☎♥✤r⑩➹✇r☎➆✇➃ ✰ ✏✛✕ ✎ ✆ ➯❂➠✟♠✇➂➶♥✍♦☎➠✫r➇➂➄♦q♣✡➪➌♠✇➃✏r✟♥✤r⑩➹✇r✂➆✇➃❂➟✇➂➶♥✍➙✶➆✇♦◗➙✝➂➄➅☞r➇➦ ➷ ➁ ➂➄➅ Ù ➃❅♣✝➙✝♦◗➆✇➃
W
Ý

➆✇➃❅➅✇♦➇♥✤r➇➆✇♦☎➵Ï♦q♣
Tc

Ý❸➆✇➃ ✼☞➅✇➃✳♦✟➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦✏➆✇➃✷➆✇♠✇♣✍r➇➜➞➝➇♦☎➆✇➃✷➥➞r➇➆☞r☛✰ ✏✛✕ ✎ ➷❿➨ ➙✝➃✷➆✇➃ ✼☞➅✇➂➄♣✝➠◗♦q➙
Tb = 1/R

➥❅♦q➠◗♦
♦✑➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦❂➆✇➃✓➆✇♠✇♣✍r➇➜➞➝➇♦✑➆✇➃✧♠✇➠ ➟✇➂➶♥❼➆✇➃✧➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✇Ýq♦✑➩④r➇➅✇➫✇♦✑➆✇➃✓➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦✏➵Ï♦❸➆✇➃✓➙✝➃❅♣❐➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦
♥✤r➇➠✟➟Ï➯❅➠ ➵Ï♦q♣❅s

Gp =
W

R
=

Tb

Tc

.
✒ à❸➷➶ß ✲

➻✛r➑➵✇♣✥☎②♥✍➂➄➥➞r✦Ý✓r➸♣✍r ✘➞➝➇♦ Tb

Tc

➯✻♠✇➠ ➅✄✵✇➠◗➃❅♣✝♦➑➂➄➅④♥✍➃❅➂➄♣✝♦✇Ý✶➃✻♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r❻♦❻➅✄✵✇➠◗➃❅♣✝♦➑➆✇➃ ✰ ✏✛✕ ✎ ✆ ➵Ï♦q♣✫➟✇➂➶♥⑨➆✇➃
➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✇➷

❧❲➟☞r➇➅✇➆☞r✫➦➭r➇♣✝➩④r◗➃✟r✫➟☞r➇➂ ➹✇r◗➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃✟➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦✖➆✇➃✟➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✫➂➄➅✇➃❅♣✝➃❅➅④♥✍➃❅➙✳r➇♦q➙✛➙✝➂➄➅☞r➇➂➄➙✧➃❅➙✝➵☞r➇➦➄➫☞r➇➆✇♦q➙
r➇➙✝➙✝➃❅➩q♠✇♣✍r➇➠✰➙✝♠☞r✛♣✝➃❅➙✝➂➄➙➛♥ ✤❅➅✇➥❅➂➭r✧➵☞r➇♣✍r✧➦➄➂➄➆☞r➇♣★➥❅♦q➠✭♦q➙Ñr➇➦➶♥✍♦q➙★➅✇➘ Ù ➃❅➂➄➙✖➆✇➃✡➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✓♥✍➘➄➵✇➂➄➥❅♦✧➆✇➃❐♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✎✍❸➃❅➙
➆✇➂➄➩q➂➶♥✤r➇➂➄➙★➃❅➠✰➥➞r➇➅☞r➇➂➄➙✖➆✇➃✩♣✥☎➇➆✇➂➄♦✇➷→❧✛➦➄➯❅➠✰➆✇➂➄➙✝➙✝♦✇Ý④r✛➵✇➙✝➃❅♠✇➆✇♦②➴Ôr➇➦➄➃➞r②♥✍♦q♣✝➂➄➃❅➆☞r➇➆✇➃✡➃✩♦✷♣✝➃❅➆✇♠✣✘❅➂➄➆✇♦✳➅✇➘ Ù ➃❅➦✦➆✇➃✩➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r
➆✇♦q➙❐➙✝➂➄➅☞r➇➂➄➙ÑÓ➔r ✘❅➃❅➠ ➥❅♦q➠ ➪➌♠✇➃✧♦q➙❐➠◗➃❅➙✝➠◗♦q➙❼r➇➙✝➙✝➃❅➠◗➃❅➦➄➫✇➃❅➠☎➴ ➙✝➃✧r➇♦✑♣✝♠✇➘➄➆✇♦✇Ý④➆✇➂✽✼☞➥❅♠✇➦➶♥✤r➇➅✇➆✇♦❂➪➌♠✇➃✛♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✝➃❅➙❐➪➌♠✇➃
➅☞➝➇♦✂➥❅♦q➅✇➫✇➃❅➜➞r➇➠➧r☎➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r◗➆✇➃❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✂➃✯Ó⑤➃✯♥✍♠✇➃❅➠➧r☎➆✇➃❅➠◗♦❸➆✇♠✇➦➭r➇➜➞➝➇♦✇➷

❧✣➤✖➂➄➩✇➷✖à❸➷➶ß✡➂➄➦➄♠✇➙➛♥✍♣✍r✶♦✛➥❅♦q➅✇➥❅➃❅➂➶♥✍♦✛➆✇➃✡➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✧➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦✦➅✇♦✛➆✇♦q➠◗➘➄➅✇➂➄♦✶➆☞r✓Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦➷ ➁ ➟✇➙✝➃❅♣ Ù ➃
➪➌♠✇➃✏r☎➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃❂➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦★➆✇➃❂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✟➆✇♦◗➙✝➂➄➅☞r➇➦ ♥✤r➇➠✟➟Ï➯❅➠ ➯❂♣✝➃❅➆✇♠✣✘❅➂➄➆☞r✂➆✇➃
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✍✏✎✒✑✔✓✖✕✘✗✚✙✜✛✒✢✔✣✥✤✧✦✩★✫✪☛✎✭✬✫✗✮✬✖✦✯✦✰✪☛✱✁✦✰✲✩✳☛✕✘✗✡✴✵✬✖✦✶✱✁✷✮✳✄✸✩★✫✲✩✎✹✗✺✬✖✷✚✪☛✎✒★✻✗✡✴✼✗✡★✽✳✄✦✰✪✞✦✶✬✖✦✩✱✁✷✮✎✭✪✞✬✖✷✺✦✰✪☛✱✻✗✡✴✒✾✻✗✡✿✚✦✩★✽✳✄✷✖✛

➨✖➹✦➂➄➙➛♥✍➃❅➠ ➆✇♦q➂➄➙✫➵✇♣✝➂➄➅✇➥❅➂➄➵☞r➇➂➄➙☎♥✍➂➄➵Ï♦q➙◗➆✇➃✻➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦➑➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦ s⑧r➸➆✇➃➚➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r❻➆✇➂➄♣✝➃✯♥✤r ✒ ↕ ✏ ➴
✁ ✕✗✬✥✢ ✰ ☞ ✦ ✢✥★✪✙✆✢ ✖ ✰ ✢ ✲ ➃✑r☎➆✇➃❂➙✍r➇➦➶♥✍♦q➙✶➃❅➠ Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r ✒ ➤ ✢✒➴ ✵ ✬✥✢✥★✪✙✆✢ ✖ ✰ ✛✣✹ ✰✑✎ ✎ ✕✗✖✫✪✫✲

➁ ➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦➳➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦✶➵Ï♦q♣✟➙✍r➇➦➶♥✍♦q➙☎➃❅➠➢Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➳➯❊♠✇➠✫r➚♥✍➯❅➥❅➅✇➂➄➥➞r▲➅☞r▲➪➌♠☞r➇➦✶r▲➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r
➆✇➃❂➙✝➘➄➠✟➟Ï♦q➦➄♦q➙✡➆✇➃❂➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✟➟✇➂➄➵Ï♦q➦➭r➇♣✡➠◗♦❸➆✇♠✇➦➭r✦Ý❸➅✇♦q♣✝➠✫r➇➦➄➠◗➃❅➅④♥✍➃✷➃❅➠ Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦Ý☞♠✇➠✫r✟➵Ï♦q♣➛♥✤r➇➆✇♦q♣✍r✟➪➌♠✇➃



�✂✁☎✄✁� ✞✄✂ ✆✟✁✆☎✞✝✠✟✡☎☛✂☞� ✁✆☎ �

➵Ï♦q➙✝➙✝♠✇➂Ï➙✝♠☞r✑Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r Ù r➇♣✝➂ ☎ Ù ➃❅➦Ï➃❅➠ Ó⑤♠✇➅✇➜➞➝➇♦✟➆✇➃✧♠✇➠✫r✑➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✏➵✇➙✝➃❅♠✇➆✇♦②➴Ôr➇➦➄➃➞r②♥ ✦q♣✝➂➭r✦➷✻✏❸➃✛➃❅➙➛♥✤r✏➙✝➃❅➪✷✶✣✤❅➅❸➴
➥❅➂➭r✑➵Ï♦q➙✝➙✝♠✇➂Ï♥✤r⑩➹✇r➇➙✡➠✟♠✇➂➶♥✤r➇➙ Ù ➃✙✘❅➃❅➙✶➙✝♠✇➵Ï➃❅♣✝➂➄♦q♣✩➡✑♥✤r⑩➹✇r✑➆✇➃✷➟✇➂➶♥✍➙❐➆✇➃✷➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✇Ýq♥✍➃❅➠☎➴ ➙✝➃✷r✏➂➄➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇➜➞➝➇♦
➆✇➃✧♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫r✑➤ ✢✶➴ ✏✫✏✟♣✥☎➇➵✇➂➄➆✇♦✇➷ ✏❸➃➇Ý✦r➇♦✑➥❅♦q➅④♥✍♣✥☎➇♣✝➂➄♦✇Ý➌r✳➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✏➵Ï♦q➙✝➙✝♠✇➂☞♥✤r⑩➹✇r❂➂➄➅✦Ó⑤➃❅♣✝➂➄♦q♣❿➡✳♥✤r⑩➹✇r❂➆✇➃✧➟✇➂➶♥✍➙
♦q♣✝➂➄➩q➂➄➅☞r➇➂➄➙❅Ý➌♥✍➃❅➠☎➴ ➙✝➃❂r☎➂➄➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇➜➞➝➇♦☎➆✇♦✂➙✝➂➄➙➛♥✍➃❅➠✫r✂➤ ✢✶➴ ✏✫✏⑨➦➄➃❅➅④♥✍♦✇➷

✛✳☎✧r✶♥✍➯❅➥❅➅✇➂➄➥➞r✧➆✇➃❐➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✓➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦❸➵Ï♦q♣★➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✛➆✇➂➄♣✝➃✯♥✤r✦Ý ↕ ✏④➴ ✏✫✏ÏÝ⑩➠✟♠✇➦➶♥✍➂➄➵✇➦➄➂➄➥➞r✩r✓➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r
➆✇➃❐➙✝➘➄➠✟➟Ï♦q➦➄♦q➙❇➆✇➃❐➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✶➟✇➂➄➵Ï♦q➦➭r➇♣ {±1} ➵Ï♦q♣★♠✇➠✫r✓➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✛➆✇➃❐➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✇Ý⑩♥✤r➇➠✟➟Ï➯❅➠✚➟✇➂➄➵Ï♦q➦➭r➇♣
♦q♠❙Ý➇➃❅➪➌♠✇➂ Ù r➇➦➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃➇Ýqr✧➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✷➆✇➃✡➙✝➘➄➠✟➟Ï♦q➦➄♦q➙❇➆✇➃✡➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✓➟✇➂➄➅✆☎➇♣✝➂➭r {0, 1} ➯✡➙✝♦q➠✫r➇➆☞r ✒ ➠◗♦❸➆✇♠✇➦➄♦
à ✲ r➳♠✇➠✫r⑧➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➑➾❼➻❞♥✤r➇➠✟➟Ï➯❅➠❉➟✇➂➄➅✆☎➇♣✝➂➭r✦➷ ➁ ♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦⑧➆☞r⑧♦q➵Ï➃❅♣✍r➇➜➞➝➇♦➑r➇➅④♥✍➃❅♣✝➂➄♦q♣✂➠◗♦❸➆✇♠✇➦➭r▲♠✇➠✫r
➵Ï♦q♣➛♥✤r➇➆✇♦q♣✍r⑨➙✝➃❅➅✇♦q➂➄➆☞r➇➦ Ý❇➅✇♦q♣✝➠✫r➇➦➄➠◗➃❅➅④♥✍➃✟➃❅➠❍Ó➔r➇➙✝➃➇➷ ↕ ➃❅➵Ï♦q➂➄➙❂➆✇➃✂➠◗♦❸➆✇♠✇➦➭r➇➆✇♦✇Ý❙♦❀➙✝➂➄➅☞r➇➦Ñ➯☎♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦⑨➵Ï➃❅➦➄♦
➥➞r➇➅☞r➇➦✕➆✇➃✛➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦✇➷Ñ➻✛r✑♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✇Ý❸➯✛➆✇➃❅➠◗♦❸➆✇♠✇➦➭r➇➆✇♦✇Ý④➵☞r➇♣✍r✑r✑♦q➟✦♥✍➃❅➅✇➜➞➝➇♦✏➆✇♦✏➙✝➂➄➅☞r➇➦✕➃❅➠ ➟☞r➇➅✇➆☞r✑➟☞r➇➙✝➃➇Ý
➃❂➥❅♦q➅④♥✍♣✍r➇➘➄➆✇♦✂➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦➄➠◗➃❅➅④♥✍➃❂➵☞r➇♣✍r✂r☎♦q➟✦♥✍➃❅➅✇➜➞➝➇♦◗➆✇♦✂➙✝➂➄➅☞r➇➦❙♦q♣✝➂➄➩q➂➄➅☞r➇➦ ➷

➻✧➃❅➙➛♥✍➃✳♥✍♣✍r➇➟☞r➇➦➄➫✇♦✇Ý✇♠✦♥✍➂➄➦➄➂✚✘❅♦q♠❸➴ ➙✝➃✧♥✍➯❅➥❅➅✇➂➄➥➞r ↕ ✏④➴ ✏✫✏❊➃❂➠◗♦❸➆✇♠✇➦➭r➇➜➞➝➇♦ ✖✩➾✹✏✦Õ☎➷

✂☎✄ ✂ ✁✄✂ ❆✶❃❜❘★◆✏❄ ❈❊❆ ❱❲❚✑✽❀❚❂❃❅❄ ❫✡◆✏■ ❳✆☎❊❁❜❘★❃✯❏❀❁✯◆✏❄✞✝ ❆✩❝Ñ❫✩❛⑨❝Ñ❄❇◆✏❄

➻✛r➇➙✏♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✎✍❸➃❅➙✏➆✇➃⑨➙✝➂➄➅☞r➇➂➄➙✏➆✇➂➄➩q➂➶♥✤r➇➂➄➙✑r②♥✍♣✍r Ù ➯❅➙☎➆✇➃⑨➥➞r➇➅☞r➇➂➄➙✏➆✇➃❊➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦✇Ý✖♦q➟✇➙✝➃❅♣ Ù r⑩➴ ➙✝➃❊➪➌♠✇➃⑨♦
➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✛➆✇♦✓➙✝➂➄➙➛♥✍➃❅➠✫r✶➆✇➃❼➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦✇Ý⑩➠◗➃❅➆✇➂➄➆✇♦✓➃❅➠ ♥✍➃❅♣✝➠◗♦q➙❇➆☞r✓➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✖➆✇➃❼➃❅♣✝♣✝♦✇Ý②➆✇➃❅➵Ï➃❅➅✇➆✇➃
➆☞r❊♣✍r ✘➞➝➇♦

Eb/N0

Ý❇♦q➅✇➆✇➃
Eb

➯◗r❊➃❅➅✇➃❅♣✝➩q➂➭r⑨♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆☞r✫➵Ï♦q♣✳➟✇➂➶♥✳➃ 1
2
N0

➯◗r❊➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃✂➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦❼➆✇➃
➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r▲➟✇➂➄➦➭r②♥✍➃❅♣✍r➇➦✡➆✇♦➳♣✝♠✇➘➄➆✇♦⑧r➇➆✇➂➶♥✍➂ Ù ♦✇➷ ↕ ➃❅➙✝➙✍r⑧Ó⑤♦q♣✝➠✫r✦Ý❿♦q➟✇➙✝➃❅♣ Ù r⑩➴ ➙✝➃Û➪➌♠✇➃❀♦⑧♣✝♠✇➘➄➆✇♦➳❧✞✝✠✟❂➻❞➦➄➂➄➠◗➂➶♥✤r❀♦
➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦◗➆✇♦◗➙✝➂➄➙➛♥✍➃❅➠✫r☎➆✇➃❂➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦✇➷

➨❿➠❞r➇➆✇➂➄➜➞➝➇♦◗r➇♦✂♣✝♠✇➘➄➆✇♦◗r➇➆✇➂➶♥✍➂ Ù ♦✇Ý✦♦q♠✦♥✍♣✝♦☎Ó➔r②♥✍♦q♣✶➪➌♠✇➃✑➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃✳➅✇♦◗➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✫➆✇♦✂➙✝➂➄➙➛♥✍➃❅➠✫r☎➯❂♦◗➆✇➃❅➙Ô➴
Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷ ✙✷♠☞r➇➅✇➆✇♦✛♠✇➠✚➙✝➂➄➅☞r➇➦④➯❼♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦✶➵Ï♦q♣★♠✇➠✚➥➞r➇➅☞r➇➦➌➆✇➃❐♣✥☎➇➆✇➂➄♦✓➠ ✦ Ù ➃❅➦ Ý②➅✇♦✛♣✝➃❅➥❅➃❅➵✦♥✍♦q♣★♥✍➃❅➠☎➴ ➙✝➃
♣✝➯❅➵✇➦➄➂➄➥➞r➇➙✷➆✇➃❅➙✝➙✝➃✂➙✝➂➄➅☞r➇➦Ñr②♥✍♣✍r➇➙✍r➇➆☞r➇➙✳r➇➦➄➃➞r②♥✍♦q♣✝➂➭r➇➠◗➃❅➅④♥✍➃➇Ý ♦q♣✝➂➄♠✇➅✇➆☞r➇➙✷➆✇➃☎➆✇➂ Ù ➃❅♣✝➙✝♦q➙✳➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙❅➷☎➨❿➙✝➙✝➃❅➙✑r②♥✍♣✍r➇➙✝♦q➙
➆✇➃✛➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙❿➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✩➆✇➃ Ù ➃❅➠☎➴ ➙✝➃✳r➇♦q➙❐Ó⑤➃❅➅✠✟q➠◗➃❅➅✇♦q➙✡➆✇➃✛♣✝➃☛✡☞➃❜➹✇➝➇♦✇Ý✦➆✇➂➶Ó⑤♣✍r➇➜➞➝➇♦✏➃✛➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✏➆✇♦✟➙✝➂➄➅☞r➇➦

✡ ✏ ☞ ➷ ↕ ➂➄➙✝➵Ï➃❅♣✝➙✎✍❸➃❅➙❼➙✍➝➇♦✑➥➞r➇♠✇➙✍r➇➆☞r➇➙❐➵Ï♦q♣❿➙✝♠✇➵Ï➃❅♣➛Ó⑤➘➄➥❅➂➄➃❅➙❼➂➄♣✝♣✝➃❅➩q♠✇➦➭r➇♣✝➃❅➙Ñ♦q♠◗♦q➟✄✂✝➃✯♥✍♦q➙❼➆✇➃✶♥✤r➇➠✫r➇➅✇➫✇♦❂➵✇♣✪✦➞➹✦➂➄➠◗♦❂r➇♦❂➆✇♦
➥❅♦q➠◗➵✇♣✝➂➄➠◗➃❅➅④♥✍♦✷➆✇➃✓♦q➅✇➆☞r✳➆✇♦✳➙✝➂➄➅☞r➇➦ Ýq♣✝➃❅➙✝♠✇➦➶♥✤r➇➅✇➆✇♦❂➅✇♦❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✳➆✇♦❂➙✝➂➄➅☞r➇➦✇➃❅➠✰♥✍♦❸➆☞r➇➙❼r➇➙❿➆✇➂➄♣✝➃❅➜✪✍❸➃❅➙❅➷Ñ❧✛➙
➆✇➂➶Ó⑤♣✍r➇➜✪✍❸➃❅➙✩♦❸➥❅♦q♣✝♣✝➃❅➠ ➪➌♠☞r➇➅✇➆✇♦◗♦✂➙✝➂➄➅☞r➇➦ ➯❂♦q➟✇➙➛♥✍♣✝♠✇➘➄➆✇♦☎➵Ï♦q♣✶➩q♣✍r➇➅✇➆✇➃❅➙✶♦q➟✇➙➛♥ ☎➇➥❅♠✇➦➄♦q➙✶➆✇➃❅➅✇➙✝♦q➙❅Ý✕➃❅➅④♥✍♣✝➃❂♦✂♠✇➙✝♠✆☎➇♣✝➂➄♦
➃✂r❊➃❅➙➛♥✤r➇➜➞➝➇♦❀♣✥☎➇➆✇➂➄♦②➴ ➟☞r➇➙✝➃ ✒ ➨ ✡ ✖ ✲ ➷❇➨❿➙✝➙✝➃✂Ó⑤➃❅➅✠✟q➠◗➃❅➅✇♦✇Ý ♥✤r➇➠✟➟Ï➯❅➠✾➆✇➃❅➅✇♦q➠◗➂➄➅☞r➇➆✇♦❊➙✝♦q➠✟➟✇♣✝➃➞r➇➠◗➃❅➅④♥✍♦✇Ý❇♣✝➃❅➙✝♠✇➦➶♥✤r
➃❅➠❨➙✝➂➄➅☞r➇➂➄➙✷➪➌♠✇➃ Ù r➇♣✝➂➭r➇➠✾➦➄➃❅➅④♥✤r➇➠◗➃❅➅④♥✍➃☎➃❅➠❍♥✍♦q♣✝➅✇♦❀➆✇➃☎♠✇➠ Ù r➇➦➄♦q♣✷➠◗➯❅➆✇➂➄♦✇➷✑❧ ➵☞r➇♣➛♥✍➂➄♣✷➆✇➃❅➙✝➙✝➃❅➙❂Ó⑤➃❅➅✠✟q➠◗➃❅➅✇♦q➙❅Ý
♦q➟✦♥ ✤❅➠☎➴ ➙✝➃✩➠✶✵✇➦➶♥✍➂➄➵✇➦➭r➇➙→➥✙✦q➵✇➂➭r➇➙Ñ➆✇♦✳➙✝➂➄➅☞r➇➦❸♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦✛➪➌♠✇➃✓➥✤➫✇➃❅➩④r➇➠ r➇♦✳♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❿♦q♣✝➂➄♠✇➅✇➆✇♦q➙Ñ➆✇➃✶➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙
➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✶➃✛➥❅♦q➠ r②♥✍➃❅➅➌♠☞r➇➜✪✍❸➃❅➙✩➃✳r②♥✍♣✍r➇➙✝♦q➙✡➆✇➂➄➙➛♥✍➂➄➅④♥✍♦q➙❅➷ ➁ ♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦✟➯✷♠✇➠ ➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✏♥✍➃❅➠◗➵Ï♦q♣✍r➇➦✕➆✇♦
➙✝➂➄➅☞r➇➦ Ý✖➪➌♠✇➃⑨➵Ï♦❸➆✇➃◗➙✝➃❅♣✟➪➌♠☞r➇➅④♥✍➂✽✼☞➥➞r➇➆✇♦ ✒ Ù r➇➦➄♦q♣✑➠◗➯❅➆✇➂➄♦➚♦q♠➸➠ ☎⑩➹✦➂➄➠◗♦ ✲ r②♥✍♣✍r Ù ➯❅➙✟➆✇♦✻➵Ï➃❅♣ ✼☞➦✡➆✇➃✫➂➄➅④♥✍➃❅➅✇➙✝➂➄➆☞r➇➆✇➃
➆✇➃✳➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦Ý✇➽Û➼Ô➾ ✓ ✓✑✙ ✔✯☞ ✕ ✎✫✤✭☞✌✏ ✼ ✖✴☞ ✢ ✖ ✆ ✕✌☞❀✛✣✢✮✬✥✰✿❁ ✔ ✢ ✲ ➷ ➁ ➽Û➼Ô➾ Ó⑤♦q♣✝➅✇➃❅➥❅➃✷♦☎➥❅♦q➠◗➵Ï♦q♣➛♥✤r➇➠◗➃❅➅④♥✍♦✟➆☞r✟➃❅➅✇➃❅♣✝➩q➂➭r
♣✝➃❅➥❅➃❅➟✇➂➄➆☞r❀➆✇♠✇♣✍r➇➅④♥✍➃◗♠✇➠ ➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦❊➆✇➃✂♥✍➃❅➠◗➵Ï♦❀➥❅♦q♣✝♣✝➃❅➙✝➵Ï♦q➅✇➆✇➃❅➅④♥✍➃⑨r➇♦Û➠ ☎⑩➹✦➂➄➠◗♦❊➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦Û➆✇♦Û➙✝➂➄➅☞r➇➦
♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷

➁ Ó⑤➃❅➅✠✟q➠◗➃❅➅✇♦❀➆✇➃☎➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦❀➵Ï♦❸➆✇➃☎➙✝➃❅♣✳➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➂✚✘➞r➇➆✇♦✇Ý❇➅✇♦❊➆✇♦q➠◗➘➄➅✇➂➄♦⑨➆✇♦⑨♥✍➃❅➠◗➵Ï♦✇Ý❙➵Ï♦q♣✳➆✇♠☞r➇➙
➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❅➙❅s✫➥❅♠✇♣➛♥✍♦▲➵✇♣✍r ✘❅♦▲➃⑨➦➄♦q➅✇➩q♦✻➵✇♣✍r ✘❅♦✇ÝÑ♥✤r➇➠✟➟Ï➯❅➠❤➆✇➃❅➅✇♦q➠◗➂➄➅☞r➇➆☞r➇➙✏➆✇➃❊➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦▲➆✇➃❊➵Ï➃❜➴



�✂✁☎✄✁� ✞✄✂ ✆✟✁✆☎✞✝✠✟✡☎☛✂☞� ✁✆☎ �

➪➌♠✇➃❅➅☞r▲➃⑨➦➭r➇♣✝➩④r❀➃❅➙✝➥➞r➇➦➭r✦Ý❿♣✝➃❅➙✝➵Ï➃❅➥✯♥✍➂ Ù r➇➠◗➃❅➅④♥✍➃➇➷▲❧ ➵☞r➇♣➛♥✍➃⑨➦➄♦q➅✇➩④rÛ➆✇♦▲➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦▲➯⑨♦✻♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦✻➆☞r
➠◗➯❅➆✇➂➭r✧➆✇♦✳➙✝➂➄➅☞r➇➦❸➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➆✇♦✇Ýq♦q♣✝➂➄➩q➂➄➅☞r➇➆✇♦✧➵✇♣✝➂➄➅✇➥❅➂➄➵☞r➇➦➄➠◗➃❅➅④♥✍➃❐➵Ï➃❅➦➭r✛➠◗♦q♣➛Ó⑤♦q➦➄♦q➩q➂➭r✩➃✡♥✍♦q➵Ï♦q➩q♣✍r✱✼✕r✧➆✇♦✷♥✍➃❅♣✝♣✝➃❅➅✇♦✇➷
➻✧♦✑➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✑➆✇➃✓➦➭r➇♣✝➩④r✷➃❅➙✝➥➞r➇➦➭r✦Ý➌➠✟♠✇➆☞r➇➅✇➜➞r➇➙❼➅☞r✑r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃✩➆✇➃ Ù ➃❅➠☎➴ ➙✝➃✛➡ Ù r➇♣✝➂➭r➇➜➞➝➇♦❂➅☞r✳➆✇➂➄➙➛♥ ☎➇➅✇➥❅➂➭r
➃❅➅④♥✍♣✝➃✛♦q➙❼♥✍➃❅♣✝➠◗➂➄➅☞r➇➂➄➙❿➃✛r➇♦✏➃✯Ó⑤➃❅➂➶♥✍♦✑➆✇➃✛➙✝♦q➠✟➟✇♣✝➃➞r➇➠◗➃❅➅④♥✍♦✇Ý❸r➇➠✟➟Ï♦q➙ Ù r➇♣✝➂ ☎ Ù ➃❅➂➄➙❐➅✇♦✑♥✍➃❅➠◗➵Ï♦✇➷✖Ú✶➂➄➵✇➂➄➥➞r➇➠◗➃❅➅④♥✍➃➇Ý➌➙✍➝➇♦
➵✇♣✝♦❸➥❅➃❅➙✝➙✝♦q➙✧➦➄➃❅➅④♥✍♦q➙❅➷

❧ ➃❅➅ Ù ♦q➦➶♥ ✦q♣✝➂➭r✫➆✇♦❊♥✍➃❅♣✝➠◗♦❊➆✇➃☎➦➄♦q➅✇➩q♦⑨➵✇♣✍r ✘❅♦❀➆✇♦❊➙✝➂➄➅☞r➇➦Ñ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➆✇♦❀➵Ï♦❸➆✇➃☎➙✝➃❅♣✳➠◗♦❸➆✇➃❅➦➭r➇➆☞r✫➵Ï♦q♣✷♠✇➠✫r
➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦◗➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥➞r◗➦➄♦q➩q➅✇♦q♣✝➠✫r➇➦ Ý✇➥❅♠ ✂✍r◗Ó⑤♠✇➅✇➜➞➝➇♦✫➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃✟➆✇➃✏➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃ ✒ ➾ ↕ ➤ ✲ r➇➙✝➙✝♦❸➥❅➂➭r➇➆☞r
➯❂➆✇➃❅➙✝➥❅♣✝➂➶♥✤r☎➵Ï♦q♣❅s

Lognormal : p(x) =
1

x
√

2πσx

e
−

(ln x−mx)2

2σ2
x , x > 0

✒ à❸➷ à ✲

➃❅➠ ➪➌♠✇➃
mx

➃
σ2

x

➙✍➝➇♦✇Ý✇♣✝➃❅➙✝➵Ï➃❅➥✯♥✍➂ Ù r➇➠◗➃❅➅④♥✍➃➇Ý✕r☎➠◗➯❅➆✇➂➭r✟➃✑r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r✟➆✇➃
ln x

Ý☞➙✝➃❅➅✇➆✇♦
x
r☎➃❅➅ Ù ♦q➦➶♥ ✦q♣✝➂➭r✟➆✇♦

♥✍➃❅♣✝➠◗♦✂➦➄♦q➅✇➩q♦✇➷
➾→♦q♣✳➙✝♠☞r Ù ➃✙✘➇Ý✖r⑨➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃☎➆✇➃☎➥❅♠✇♣➛♥✍♦❊➵✇♣✍r ✘❅♦❀➆✇♦❊➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦❀➯☎➥➞r➇♠✇➙✍r➇➆☞r❊➵✇♣✝➂➄➅✇➥❅➂➄➵☞r➇➦➄➠◗➃❅➅④♥✍➃

➵Ï➃❅➦➭r➇➙✖♣✝➃☛✡☞➃❜➹ ✍❸➃❅➙Ñ➆✇➃✩➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙★➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙Ñ➆✇♦✷➙✝➂➄➅☞r➇➦➌♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦✇Ý⑩♣✝➃❅➙✝♠✇➦➶♥✤r➇➅✇➆✇♦✷➃❅➠❲r➇➦➶♥✍➃❅♣✍r➇➜✪✍❸➃❅➙✖➅☞r➇➙→Ó➔r➇➙✝➃❅➙
➆✇♦q➙✑➙✝➂➄➅☞r➇➂➄➙✳♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦q➙❅➷❊➨❿➙✝➙✝➃◗Ó⑤➃❅➅✠✟q➠◗➃❅➅✇♦✇Ý★♥✤r➇➠✟➟Ï➯❅➠❨➆✇➃❅➅✇♦q➠◗➂➄➅☞r➇➆✇♦❀➆✇➃ ✠✄✢✑✆ ✄✱✤✌✖✩✢ ✰ ✕✗✘ ✢ ✖✴☞ ✰ ✠✄✢ ✘✚✙ ✔✯☞ ✕ ✎✆✢ ✬✜❄
✰ ✙✛✬ ✆ ✰ Ý④➵Ï♦❸➆✇➃✩➥➞r➇♠✇➙✍r➇♣❿♠✇➠✰➃✯Ó⑤➃❅➂➶♥✍♦✷Ó⑤♦q♣➛♥✍➃❅➠◗➃❅➅④♥✍➃✩➆✇➃❅➙➛♥✍♣✝♠✦♥✍➂ Ù ♦❂➙✝♦q➟✇♣✝➃✶♦✳➙✝➂➄➅☞r➇➦❸♥✍♦➇♥✤r➇➦✦♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷❼➽Û♠✇➆☞r➇➅✇➜➞r➇➙❿➅✇♦
➵Ï♦q➙✝➂➄➥❅➂➄♦q➅☞r➇➠◗➃❅➅④♥✍♦✏➃❅➙✝➵☞r➇➥❅➂➭r➇➦ ➆✇♦q➙✩♥✍➃❅♣✝➠◗➂➄➅☞r➇➂➄➙❐➆☞r✟♦q♣✝➆✇➃❅➠✸➆✇➃ 1

2

➥❅♦q➠◗➵✇♣✝➂➄➠◗➃❅➅④♥✍♦✏➆✇➃✳♦q➅✇➆☞r✟➆✇♦☎➙✝➂➄➅☞r➇➦Ï➥➞r➇♠✇➙✍r➇➠
r➇➦➶♥✍➃❅♣✍r➇➜✪✍❸➃❅➙✡➙✝➂➄➩q➅✇➂✽✼☞➥➞r②♥✍➂ Ù r➇➙❐➅☞r✑Ó➔r➇➙✝➃✷➆✇♦☎➙✝➂➄➅☞r➇➦Ï♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷❿❧ ➠◗♦❸➆✇➃❅➦➭r➇➩q➃❅➠ ➆✇♦✏♥✍➃❅♣✝➠◗♦✟➆✇➃✷➥❅♠✇♣➛♥✍♦☎➵✇♣✍r ✘❅♦ Ù r➇➂
➆✇➃❅➵Ï➃❅➅✇➆✇➃❅♣✧➆✇♦◗r➇➠✟➟✇➂➄➃❅➅④♥✍➃❂➆✇➃❂➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦✇Ý✦➥❅♦q➠◗♦ Ù ➃❅♣✝➃❅➠◗♦q➙✓➠✫r➇➂➄➙✓r➇➆✇➂➭r➇➅④♥✍➃☎➷

➁ ♥✍➃❅♣✝➠◗♦✷➆✇➃✩➥❅♠✇♣➛♥✍♦✳➵✇♣✍r ✘❅♦✳➆✇♦✳➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦❂➵Ï♦❸➆✇➃✶r➇➂➄➅✇➆☞r✧➙✝➃❅♣❿➥❅➦➭r➇➙✝➙✝➂✽✼☞➥➞r➇➆✇♦✳➥❅♦q➠◗♦✷➵✇➦➭r➇➅✇♦✷♦q♠✟➙✝➃❅➦➄➃❜➴
♥✍➂ Ù ♦❂➃❅➠ Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦Ý➌➃✓♣✥☎➇➵✇➂➄➆✇♦❂♦q♠◗➦➄➃❅➅④♥✍♦✇➷✖❧ ➵Ï♦q➙✝➙✝➂➄➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✡➆✇➃✧♦❸➥❅♦q♣✝♣✪✤❅➅✇➥❅➂➭r✳➆✇➃✓➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✑➵✇➦➭r➇➅✇♦
♦q♠▲➙✝➃❅➦➄➃✯♥✍➂ Ù ♦❀➵Ï♦❸➆✇➃✟➙✝➃❅♣❂➆✇➃✯♥✍➃❅♣✝➠◗➂➄➅☞r➇➆☞r✫➵Ï➃❅➦➭r⑨➦➭r➇♣✝➩q♠✇♣✍r✫➆✇➃☎➟☞r➇➅✇➆☞r⑨➆✇➃☎➥❅♦❸➃❅♣✪✤❅➅✇➥❅➂➭r❊➆✇♦❊➥➞r➇➅☞r➇➦

(∆f)c

➷✏➨❿➙➛♥✍➃
➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦✫Ó⑤♦q♣✝➅✇➃❅➥❅➃✂♠✇➠✫r✫➠◗➃❅➆✇➂➄➆☞r⑨➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥➞r✫➆☞r⑨Ó➔r➇➂ ➹✇r✫➆✇➃✟Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙❂➃❅➠❍➪➌♠✇➃☎♦❊➥➞r➇➅☞r➇➦Ñ➵Ï♦❸➆✇➃☎➙✝➃❅♣
➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➆✇♦✑➵✇➦➭r➇➅✇♦❂♦q♠❙Ý❸➆✇➃✶Ó⑤♦q♣✝➠✫r❂r➇➅✆☎➇➦➄♦q➩④r✦Ýq➯✛r✳Ó➔r➇➂ ➹✇r✳➆✇➃✓Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✑➆✇➃❅➅④♥✍♣✝♦✏➆☞r❂➪➌♠☞r➇➦Ïr➇➙❼➥❅♦q➠◗➵Ï♦q➅✇➃❅➅❸➴
♥✍➃❅➙✡➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➂➄➙❐➆✇♦✏➙✝➂➄➅☞r➇➦☞♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✟➵Ï♦q➙✝➙✝♠✇➃❅➠ ➩q♣✍r➇➅✇➆✇➃✧➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✇➷✖❧✒➦➭r➇♣✝➩q♠✇♣✍r❂➆✇➃✓Ó➔r➇➂ ➹✇r❂➆✇➃✧➥❅♦❸➃❅♣✪✤❅➅✇➥❅➂➭r✑➯
➂➄➅ Ù ➃❅♣✝➙✍r➇➠◗➃❅➅④♥✍➃✑➵✇♣✝♦q➵Ï♦q♣✝➥❅➂➄♦q➅☞r➇➦❇r➇♦✂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦◗➵Ï♦q♣✶➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✡➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙

Tm

➃❂➙✝➃❅♠ Ù r➇➦➄♦q♣✶➆✇➃❅➵Ï➃❅➅✇➆✇➃
➆☞r☎➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✟➃❅➅④♥✍♣✝➃✑r➇➙✓r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✡➆☞r➇➙✓➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❅➙✶➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➂➄➙❅Ý☞➅☞➝➇♦☎➃❜➹✦➂➄➙➛♥✍➂➄➅✇➆✇♦✇Ý✇➵Ï♦q♣➛♥✤r➇➅④♥✍♦✇Ý✦♠✇➠✫r
Ó⑤♣✝♦q➅④♥✍➃❅➂➄♣✍r☎➅✇➘➶♥✍➂➄➆☞r✏➪➌♠✇➃✑➙✝➃❅➵☞r➇♣✝➃❂♠✇➠ ➥➞r➇➅☞r➇➦❇➙✝➃❅➦➄➃✯♥✍➂ Ù ♦✂➆✇➃❂♠✇➠ ➪➌♠✇➃✑➵Ï♦q➙✝➙✍r✂➙✝➃❅♣✓➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➆✇♦✂➵✇➦➭r➇➅✇♦✇➷

➁ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✛➵✇➦➭r➇➅✇♦✧r➇➥❅♦q➅④♥✍➃❅➥❅➃✡➪➌♠☞r➇➅✇➆✇♦✛r✧➟☞r➇➅✇➆☞r✓➆✇➃❐➥❅♦❸➃❅♣✪✤❅➅✇➥❅➂➭r✓➆✇♦✧➥➞r➇➅☞r➇➦
(∆f)c

➯❐➠✫r➇➂➄♦q♣❙➪➌♠✇➃
r✟➟☞r➇➅✇➆☞r✟➆✇♦☎➙✝➂➄➅☞r➇➦ ➪➌♠✇➃✳➵Ï♦q♣✡➃❅➦➄➃✛♥✍♣✍r②Ó⑤➃❅➩④r✦➷❿➻✧➃❅➙✝➙✍r➇➙✓➥❅♦q➅✇➆✇➂➄➜✪✍❸➃❅➙❅Ý✇♦✟➙✝➂➄➅☞r➇➦ ♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✂r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r ✡☞♠✦♥✍♠☞r➇➜✪✍❸➃❅➙
➃❅➠ ➙✝♠☞r✟r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃✓➆✇➃ Ù ➂➄➆✇♦✟➡➇➙ Ù r➇♣✝➂➭r➇➜✪✍❸➃❅➙❐➅✇♦✏➩④r➇➅✇➫✇♦✏➆✇♦✟➥➞r➇➅☞r➇➦✕➥➞r➇♠✇➙✍r➇➆☞r➇➙✩➵Ï➃❅➦➄♦q➙❐➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙❿➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙❅➷
➲✡♦q➅④♥✍♠✇➆✇♦✇Ý✦r➇➙❐➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➘➄➙➛♥✍➂➄➥➞r➇➙❼➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➂➄➙❐➆✇♦✏➙✝➂➄➅☞r➇➦✇♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦✳➵Ï➃❅♣✝➠✫r➇➅✇➃❅➥❅➃❅➠ ➂➄➅④♥✤r➇➥✯♥✤r➇➙❼➅✇♦✑♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅Ý
➂➄➙➛♥✍♦✏➯➇Ý✦r➇➙✩r➇➦➶♥✍➃❅♣✍r➇➜✪✍❸➃❅➙❐➥➞r➇♠✇➙✍r➇➆☞r➇➙✡➅✇♦✏➃❅➙✝➵Ï➃❅➥✯♥✍♣✝♦☎♦❸➥❅♦q♣✝♣✝➃❅➠ ➆✇➃✛➠✫r➇➅✇➃❅➂➄♣✍r❂♠✇➅✇➂➶Ó⑤♦q♣✝➠◗➃✓➃❅➠ ♥✍♦❸➆☞r✑➙✝♠☞r❂Ó➔r➇➂ ➹✇r✑➆✇➃
Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦➷✳➾→♦q♣✷♦q♠✦♥✍♣✝♦✫➦➭r➇➆✇♦✇ÝÏ➙✝➃✟♦⑨➥➞r➇➅☞r➇➦✖➵Ï♦q➙✝➙✝♠✇➂✖➟☞r➇➅✇➆☞r✫➆✇➃✟➥❅♦❸➃❅♣✪✤❅➅✇➥❅➂➭r✫➠◗➃❅➅✇♦q♣✛➆✇♦⑨➪➌♠✇➃☎r✫➟☞r➇➅✇➆☞r✫➆✇♦
➙✝➂➄➅☞r➇➦❙➙✝➂➄➅☞r➇➦ ♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦✇Ý❸➆✇➂✚✘❜➴ ➙✝➃✳➪➌♠✇➃❂♦◗➙✝➂➄➅☞r➇➦Ï♥✍♣✍r②Ó⑤➃❅➩④r☎➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦❙➙✝➃❅➦➄➃✯♥✍➂ Ù ♦✂➃❅➠ Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦➷❐➻✧➃❅➙➛♥✍➃



�✂✁☎✄✁� ✞✄✂ ✆✟✁✆☎✞✝✠✟✡☎☛✂☞� ✁✆☎ �

➥➞r➇➙✝♦✇Ý✡♦⑧➙✝➂➄➅☞r➇➦✶♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦➸r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r⑧➆✇➂➄➙➛♥✍♦q♣✝➜✪✍❸➃❅➙❅Ý✡➵Ï♦q➂➄➙☎➯❊Ó⑤♦q♣✝➠✫r➇➆✇♦➳➵Ï♦q♣☎➠✶✵✇➦➶♥✍➂➄➵✇➦➭r➇➙ Ù ➃❅♣✝➙✎✍❸➃❅➙✫➆✇♦⑧➙✝➂➄➅☞r➇➦
♦q♣✝➂➄➩q➂➄➅☞r➇➦ Ý❸r②♥✍➃❅➅➌♠☞r➇➆☞r➇➙✓➃✑r②♥✍♣✍r➇➙✍r➇➆☞r➇➙✶➅✇♦☎♥✍➃❅➠◗➵Ï♦✇➷❼➨❿➙➛♥✍➃❂➥❅♦q➠◗➵Ï♦q♣➛♥✤r➇➠◗➃❅➅④♥✍♦✟➥❅♦q➅✇➆✇♠✣✘✏r☎♠✇➠✫r✟➆✇➂➄➙✝➵Ï➃❅♣✝➙✍➝➇♦✇Ý✇➅✇♦
♥✍➃❅➠◗➵Ï♦✇Ý✇➆✇♦q➙✓➙✝➘➄➠✟➟Ï♦q➦➄♦q➙❐♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙❅Ý✦➵✇♣✝♦❸➆✇♠✣✘❅➂➄➅✇➆✇♦✂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r☎➂➄➅④♥✍➃❅♣✝➙✝➂➄➠✟➟ ✦q➦➄➂➄➥➞r✦➷

❧✛➦➄➯❅➠ ➆✇➂➄➙✝➙✝♦✇Ý❸r❂➠◗♦q➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✡➆✇♦✑♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❐➃❅➠ ♠✇➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃✓➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✏➵Ï♦q♣❼➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙
➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙☎➥➞r➇♠✇➙✍r➚Ó⑤♦q♣➛♥✍➃⑨r②♥✍➃❅➅➌♠☞r➇➜➞➝➇♦▲➙✝♦q➟✇♣✝➃❊r➚➃❅➅ Ù ♦q➦➶♥ ✦q♣✝➂➭r➚➆✇♦✻➙✝➂➄➅☞r➇➦❐♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷ ✙✷♠☞r➇➅④♥✍♦✻➠✫r➇➂➄➙✑♣✥☎➇➵✇➂➄➆✇♦
♦❊➠ ✦ Ù ➃❅➦❿➙✝➃☎➆✇➃❅➙✝➦➄♦❸➥➞r✦Ý❙➠✫r➇➂➄➙✛Ó⑤♣✝➃❅➪✷✶✇➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃✫r⑨➃❅➅ Ù ♦q➦➶♥ ✦q♣✝➂➭r⑨➆✇♦❊➙✝➂➄➅☞r➇➦✖➙✝♦➇Ó⑤♣✝➃☎➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦Û➃❅➠❍♠✇➠
➠◗➃❅➙✝➠◗♦✧➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦✧➆✇➃❐♥✍➃❅➠◗➵Ï♦✇➷ ➁ ➠◗♦ Ù ➂➄➠◗➃❅➅④♥✍♦✧♣✝➃❅➦➭r②♥✍➂ Ù ♦✧➃❅➅④♥✍♣✝➃✶r✓Ó⑤♦q➅④♥✍➃❐➃✡♦✛♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✖➥➞r➇♠✇➙✍r✛♠✇➠✭➆✇➃❅➙✝➦➄♦❸➥➞r⑩➴
➠◗➃❅➅④♥✍♦ ↕ ♦q➵✇➵✇➦➄➃❅♣Ñ➆✇➃✡Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✷➅✇♦✷➙✝➂➄➅☞r➇➦✦♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷ ✏❸➃✩♦✷➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦ ↕ ♦q➵✇➵✇➦➄➃❅♣✖Ó⑤♦q♣✖➙✝➂➄➩q➅✇➂✽✼☞➥➞r②♥✍➂ Ù ♦✇Ý②♦
➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✏➯✓➆✇➂➶♥✍♦❂♣✥☎➇➵✇➂➄➆✇♦✇Ý④♦✑➪➌♠✇➃✧♦❸➥❅♦q♣✝♣✝➃✶➵☞r➇♣✍r✳♥✤r⑩➹✇r➇➙❼➠✟♠✇➂➶♥✍♦❂➟☞r➇➂ ➹✇r➇➙❼➆✇➃✶♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✍➝➇♦❂➆✇➃✧➆☞r➇➆✇♦q➙❅➷
❧ ➠ ☎⑩➹✦➂➄➠✫r✳Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✟➆✇➃✛➆✇➃❅➙✝➦➄♦❸➥➞r➇➠◗➃❅➅④♥✍♦ ↕ ♦q➵✇➵✇➦➄➃❅♣

fd

➯✛➆✇➃ ✼☞➅✇➂➄➆☞r✏➥❅♦q➠◗♦✏♦✟➆✇➃❅➙✝➦➄♦❸➥➞r➇➠◗➃❅➅④♥✍♦☎r➇➙✝➙✝♦❸➥❅➂➭r➇➆✇♦
➡ Ù ➃❅➦➄♦❸➥❅➂➄➆☞r➇➆✇➃✳♣✝➃❅➦➭r②♥✍➂ Ù r✟➃❅➅④♥✍♣✝➃❂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✧➃✷♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣❅Ý

υ
Ý✇♦q♠Û➙✝➃ ✂✍r✦s

fd =
υ

λ
,

✒ à❸➷ á ✲

➃❅➠ ➪➌♠✇➃
λ
➯❂♦✂➥❅♦q➠◗➵✇♣✝➂➄➠◗➃❅➅④♥✍♦☎➆✇➃❂♦q➅✇➆☞r☎➆☞r✂➵Ï♦q♣➛♥✤r➇➆✇♦q♣✍r✦➷

➺✧➠ ➠◗♦❸➆✇➃❅➦➄♦❊➠✫r②♥✍➃❅➠ ☎②♥✍➂➄➥❅♦❊➙✝➂➄➠◗➵✇➦➄➃❅➙✳➵☞r➇♣✍r❀♦Û➥➞r➇➅☞r➇➦❼♠✦♥✍➂➄➦➄➂✚✘➞r➇➆✇♦❀r➇♦Û➦➄♦q➅✇➩q♦❀➆✇➃❅➙➛♥✤rÛ➆✇➂➄➙✝➙✝➃❅♣➛♥✤r➇➜➞➝➇♦Û➵Ï♦❸➆✇➃
➙✝➃❅♣✓♦q➟✇➙✝➃❅♣ Ù r➇➆✇♦◗➅☞r◗➤✖➂➄➩✇➷❼à❸➷ à❸➷

Sinal

Transmitido


Canal
 Sinal

 Recebido


Atenuação
 Ruído


s(t)

α n(t)

r(t) = αs(t) + n(t)

✍✏✎✒✑✔✓✖✕✘✗✚✙✜✛ ✙✜✣✂✁ ✷ ✬✖✦✩✴✭✷✺✪☛✎✒✿✺✱✖✴✒✎☎✄✻✲ ✗✮✬✖✷ ✬✖✦✧✓✖✿ ✲ ✗✡★✻✗✡✴✼✲✰✷✮✿ ✬✖✦✰✪✝✆✔✗✡★✫✦✰✲✩✎✒✿✚✦✩★✽✳✄✷✖✛

✏❸➃❂♦✂➙✝➂➄➅☞r➇➦ ♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦✏Ó⑤♦q♣
s(t)

Ý☞♦✂➙✝➂➄➅☞r➇➦❙♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦◗➙✝➃❅♣✥☎✂➆☞r➇➆✇♦✂➵Ï♦q♣❅s

r(t) = αs(t) + n(t).
✒ à❸➷ ✏ ✲

✞✠✟ ✞✠✟☛✡ ✞ ✔✠✟☛✡✪✖✘✏✕✙✛✖✘✜ ✒✑✖✠☞ ✯✱✚ ✥✧✓✍✌☞✓✍✎✑✏☞✚
➨❿➠❨♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫rÛ➲ ↕ ➽Û❧✏Ý→r➇➙✑r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✳➃◗r➇➙✳Ó⑤♦q♣✝➠✫r➇➙✳➆✇➃✂♦q➅✇➆☞r❀➆✇♦q➙❂➙✝➂➄➅☞r➇➂➄➙✷♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙✷➙✍➝➇♦

♣✝➃❅➥❅♠✇➵Ï➃❅♣✍r➇➆☞r➇➙✓➅✇♦✂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅➷❐➤☞♣✝➃❅➪✷✶✇➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃➇ÝÏ➃❅➙➛♥✍➃❅➙✓➆✇♦q➂➄➙✶➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦q➙✩➅☞➝➇♦✂➥❅♦q➂➄➅✇➥❅➂➄➆✇➃❅➠ ➥❅♦q➠❞r➇➪➌♠✇➃❅➦➄➃❅➙
➃❅➅ Ù ➂➭r➇➆✇♦q➙✶➵Ï➃❅➦➄♦✏♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣✩➆✇➃ Ù ➂➄➆✇♦◗➡➇➙✩➆✇➃❅➩q♣✍r➇➆☞r➇➜✪✍❸➃❅➙✶➂➄➅④♥✍♣✝♦❸➆✇♠✣✘❅➂➄➆☞r➇➙✩➵Ï➃❅➦➄♦✟➥➞r➇➅☞r➇➦ ➷❿➾→➃❅➪➌♠✇➃❅➅✇♦q➙✧➆✇➃❅➙✝➦➄♦❸➥➞r⑩➴
➠◗➃❅➅④♥✍♦q➙✡➃❅➙✝➵☞r➇➥❅➂➭r➇➂➄➙❐➵Ï♦❸➆✇➃❅➠ ➥➞r➇♠✇➙✍r➇♣✩➩q♣✍r➇➅✇➆✇➃❅➙ Ù r➇♣✝➂➭r➇➜✪✍❸➃❅➙❐➅✇♦✟➅✇➘ Ù ➃❅➦Ï➆✇♦✟➙✝➂➄➅☞r➇➦Ï♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷Ñ❧ r Ù r➇➦➄➂➭r➇➜➞➝➇♦✑➆✇♦q➙
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➃✯Ó⑤➃❅➂➶♥✍♦q➙✶➆✇➃❅➙✝➙✝➃❅➙✛➆✇➃❅➙✝➦➄♦❸➥➞r➇➠◗➃❅➅④♥✍♦q➙✶➯✳Ó⑤➃❅➂➶♥✤r✂r②♥✍♣✍r Ù ➯❅➙✧➆✇➃❂➠◗➯✯♥✍♦❸➆✇♦q➙✩➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥❅♦q➙❅➷
❧✛➦➄➩q♠✇➅✇➙✓Ó➔r②♥✍♦q♣✝➃❅➙✛➟✆☎➇➙✝➂➄➥❅♦q➙✛➙✍➝➇♦⑨➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➆✇♦q➙✛➃❅➠✾♠✇➠➧➠◗♦❸➆✇➃❅➦➄♦◗➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥❅♦✫➆✇➃✏➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦✫➆✇➃✟♠✇➠
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• ➾→➃❅♣✝➆☞r➇➙✶➆✇➃✷➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦✇s❼♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆☞r➇➙❐➥❅♦q➠ ♦✟➥✁☎➇➦➄➥❅♠✇➦➄♦✟➆☞r✏➠◗➯❅➆✇➂➭r✏➦➄♦❸➥➞r➇➦✕➆✇♦☎➙✝➂➄➅☞r➇➦ ♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷❼➾→♦❸➆✇➃
➙✝➃❅♣✓♦q➟✦♥✍➂➄➆✇♦◗r②♥✍♣✍r Ù ➯❅➙✓➆✇➃❂➠◗♦❸➆✇➃❅➦➄♦q➙✡♥✍➃✙✦q♣✝➂➄➥❅♦q➙✓♦q♠❀➆✇➃❂➠◗➯✯♥✍♦❸➆✇♦q➙✶➃❅➠◗➵✇➘➄♣✝➂➄➥❅♦q➙❅➷

• ➨ÑÓ⑤➃❅➂➶♥✍♦q➙✧➆✇➃✟➙✝♦q➠✟➟✇♣✝➃➞r➇➠◗➃❅➅④♥✍♦✇s✶♣✝➃❅➦➭r②♥✍➂ Ù ♦q➙✛➡➇➙ Ù r➇♣✝➂➭r➇➜✪✍❸➃❅➙✧➆✇♦⑨➙✝➂➄➅☞r➇➦★➆✇➃ Ù ➂➄➆✇♦❊➡➇➙✛♦q➟✇➙➛♥✍♣✝♠✇➜✪✍❸➃❅➙✷➅✇♦⑨➵Ï➃❅♣Ô➴
➥❅♠✇♣✝➙✝♦✫➃❅➅④♥✍♣✝➃✏♦◗♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣✓➃✑➆✇♦✫♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅➷✶❧✛➙ Ù r➇♣✝➂➭r➇➜✪✍❸➃❅➙✓♦❸➥❅♦q♣✝♣✝➃❅➠❞➅☞r◗➠◗➯❅➆✇➂➭r☎➦➄♦❸➥➞r➇➦❇➆✇♦✫➙✝➂➄➅☞r➇➦
r②Ó⑤➃✯♥✤r➇➅✇➆✇♦◗r➇➵Ï➃❅➅☞r➇➙✓♦✂➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦◗➆✇➃❂➦➄♦q➅✇➩q♦☎➵✇♣✍r ✘❅♦✇➷

• ➨ÑÓ⑤➃❅➂➶♥✍♦q➙⑨➆✇➃✻➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✂➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙❅s➑➥➞r➇♠✇➙✍r➇➆✇♦q➙❊➆✇➃ Ù ➂➄➆✇♦ ➡➇➙⑨➆✇➂ Ù ➃❅♣✝➙✍r➇➙❊♦q➅✇➆☞r➇➙⑨♣✝➃☛✡☞➃✯♥✍➂➄➆☞r➇➙⑨➪➌♠✇➃▲➙✝➃
➥❅♦q➠◗➵ ✍❸➃❅➠ ➅☞r✂r➇➅④♥✍➃❅➅☞r✂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✍r✦➷

➺✧➠❉r➇➠✟➟✇➂➄➃❅➅④♥✍➃❀➆✇➃Û➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦➳➵Ï♦❸➆✇➃❀➙✝➃❅♣◗➆✇➃❅➙✝➥❅♣✝➂➶♥✍♦⑧➥❅♦q➠◗♦➳♠✇➠✫r➳➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦▲➆✇➃❅➙✝➙✝➃❅➙✫Ó➔r②♥✍♦q♣✝➃❅➙✂➃
➥❅♦q➠◗➵✇♣✝➃❅➃❅➅✇➆✇➂➄➆✇♦❀➥❅♦q➠◗♦⑨Ó⑤➃❅➅✠✟q➠◗➃❅➅✇♦Ûr➇➦➄➃➞r②♥ ✦q♣✝➂➄♦✇➷✟➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý★➆✇➃ Ù ➃◗➙✝➃❅♣❂➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➂✚✘➞r➇➆✇♦❀➃❅➙➛♥✤r②♥✍➂➄➙➛♥✍➂➄➥➞r➇➠◗➃❅➅④♥✍➃➇➷
❧✛➙✟➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜✪✍❸➃❅➙✑➪➌♠✇➃❊➅✇♦q♣✝➠✫r➇➦➄➠◗➃❅➅④♥✍➃◗♦✻➆✇➃❅➙✝➥❅♣✝➃ Ù ➃❅➠ ➙✍➝➇♦➳r✑✡✓➂➄➥❅➃➇Ý ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫➑➃⑨➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
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♠✇➙✝♦⑨➯✑➟☞r➇➙✝➃➞r➇➆✇♦⑨➅✇♦q➙✛♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦q➙✧➃❅➠◗➵✇➘➄♣✝➂➄➥❅♦q➙✓➆✇➃❅➙✝➙✍r➇➙✷➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜✪✍❸➃❅➙✓♦q➟✦♥✍➂➄➆✇♦q➙✧➅✇♦✫➠◗➃❅➂➄♦◗➆✇➃✏➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦✇➷
➽➚r➇➙✡➪➌♠☞r➇➦Ï➆✇➃❅➙✝➙✍r➇➙✩➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜✪✍❸➃❅➙❼➃❅➙✝➥❅♦q➦➄➫✇➃❅♣✡➵☞r➇♣✍r✑➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➂✚✘➞r➇♣❐♦✏➥➞r➇➅☞r➇➦✂✁❀❧✛➙✡➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜✪✍❸➃❅➙✹✡✧r➞Ö❸➦➄➃❅➂➄➩q➫◗➃
✡✓➂➄➥❅➃✑➥❅♦q♣✝♣✝➃❅➙✝➵Ï♦q➅✇➆✇➃❅➠✾r➇♦✫➠◗♦❸➆✇➃❅➦➄♦✂Ó⑤➘➄➙✝➂➄➥❅♦✂➪➌♠✇➃☎r➇➙✝➙✝♠✇➠◗➃✏r✫➃❜➹✦➂➄➙➛♥ ✤❅➅✇➥❅➂➭r◗➆✇➃✏♠✇➠❞➅✄✵✇➠◗➃❅♣✝♦⑨➙✝♠ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃
➩q♣✍r➇➅✇➆✇➃✏➆✇➃✏➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❅➙✷➥❅♦q➠➧➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙✛Ó➔r➇➙✝➃❅➙❅➷✳➲✩r➇➙✝♦❊➃❅➙✝➙✍r➇➙✷➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❅➙✳r➇➵✇♣✝➃❅➙✝➃❅➅④♥✍➃❅➠❨r◗➠◗➃❅➙✝➠✫r
➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦Ý✇➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➂✚✘➞r⑩➴ ➙✝➃✷♠✇➠ ➥➞r➇➅☞r➇➦❙➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷❼➲✡♦q➅④♥✍♠✇➆✇♦✇Ý☞➙✝➃❂♠✇➠✫r✟➆☞r➇➙✶➥❅♦q➠☎➴
➵Ï♦q➅✇➃❅➅④♥✍➃❅➙✑♥✍➂ Ù ➃❅♣❂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r❀➠✟♠✇➂➶♥✍♦❀➠✫r➇➂➄♦q♣✷➪➌♠✇➃⑨r➇➙❂♣✝➃❅➙➛♥✤r➇➅④♥✍➃❅➙❅ÝÑ➙✝♠✇➵ ✍❸➃❅➠☎➴ ➙✝➃✫r❀➃❜➹✦➂➄➙➛♥ ✤❅➅✇➥❅➂➭r❀➆✇➃◗♠✇➠ ➥➞r➇➅☞r➇➦
✡✓➂➄➥❅➃➇➷✘❧✾➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦▲➆✇➃➚➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
Ý❼➵Ï♦q♣☎➙✝♠☞r Ù ➃✙✘➇Ý✶➵Ï♦❸➆✇➃❀➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➂✚✘➞r➇♣✂➠✫r➇➂➄➙✂r➇➠◗➵✇➦➭r➇➠◗➃❅➅④♥✍➃⑨♦

➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦❊➃❅➠➧➥➞r➇➅☞r➇➂➄➙✛➆✇➃✟➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦✫➠ ✦ Ù ➃❅➦ ➷✷➺✧➠✫r Ù r➇➅④♥✤r➇➩q➃❅➠✾➃❅➠➧♠✇➙✥☎⑩➴ ➦➭r✦ÝÏ➯✏➪➌♠✇➃✟➙✝➃✟➵Ï♦❸➆✇➃
➠◗♦❸➆✇➃❅➦➭r➇♣✩➥❅♦q➅✇➆✇➂➄➜✪✍❸➃❅➙✶➠✫r➇➂➄➙❅Ý✦♦q♠Û➠◗➃❅➅✇♦q➙❅Ý☞➙✝➃ Ù ➃❅♣✍r➇➙✧➪➌♠✇➃✏r➇➙✶➠◗♦❸➆✇➃❅➦➭r➇➆☞r➇➙✩➵Ï➃❅➦➭r☎➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷

➲✡♦q➠❨r❊➠◗♦❸➆✇➃❅➦➭r➇➩q➃❅➠➧➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥➞r✦Ý❙➵Ï♦❸➆✇➃❜➴ ➙✝➃☎➥➞r➇➦➄➥❅♠✇➦➭r➇♣✷♦❊➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦Û➆✇♦❀➙✝➂➄➙➛♥✍➃❅➠✫r⑨➃❅➠❍♥✍➃❅♣✝➠◗♦q➙✷➆☞r
➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦◗➆✇➃❂➟✇➂➶♥➞➷

❧✸➙✝➃❅➩q♠✇➂➄♣✏r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇♣✝➃❅➠◗♦q➙✟r➇➦➄➩q♠✇➅✇➙❂➠◗♦❸➆✇➃❅➦➄♦q➙✳♥✍➃✙✦q♣✝➂➄➥❅♦q➙✑➆✇➃⑨r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙✑➆✇➃◗➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦➚➆✇➃❅➙✝➥❅♣✝➂➶♥✍♦q➙
➵Ï♦q♣✶➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜✪✍❸➃❅➙✩➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥➞r➇➙❅➷
⑦❊➱✧✷✖③⑤❾❸⑥Ï➎➏❾➚⑦✞✝✠✟☛✡

➻✧➃❅➙➛♥✍➃❼♥✍➂➄➵Ï♦✶➆✇➃❼➥➞r➇➅☞r➇➦ Ý⑩♦✓➙✝➂➄➅☞r➇➦④➯❼➥❅♦q♣✝♣✝♦q➠◗➵✇➂➄➆✇♦✶r➇➵Ï➃❅➅☞r➇➙→➵Ï➃❅➦➭r✶r➇➆✇➂➄➜➞➝➇♦✓➆✇➃❼♠✇➠ ♣✝♠✇➘➄➆✇♦✓➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦✓➟✇♣✍r➇➅✇➥❅♦✇Ý
➥❅♦q➠◗♦⑨➂➄➦➄♠✇➙➛♥✍♣✍r➇➆✇♦✫➅☞r❊➤✖➂➄➩✇➷ ✒ à❸➷ à ✲ Ý ➥❅♦q➠

α
➥❅♦q➅✇➙➛♥✤r➇➅④♥✍➃➇➷ ➁ ➙✝➂➄➅☞r➇➦✖➅☞➝➇♦⑨➙✝♦➇Ó⑤♣✝➃✟➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷ ➁ ♣✝♠✇➘➄➆✇♦

➟✇♣✍r➇➅✇➥❅♦▲➯❊♠✇➠●➙✝➂➄➅☞r➇➦✡r➇➦➄➃➞r②♥ ✦q♣✝➂➄♦➚➃⑨♥✍➃❅➠➢♠✇➠●➠◗♦❸➆✇➃❅➦➭r➇➩q➃❅➠❤➠✫r②♥✍➃❅➠ ☎②♥✍➂➄➥➞rÛ➪➌♠✇➃❊♦▲➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r✻➆✇➃❊➦➭r➇♣✝➩q♠✇♣✍r
➆✇➃❂Ó➔r➇➂ ➹✇r☎➂➄➅ ✼☞➅✇➂➶♥✤r✦Ý✦➠◗➯❅➆✇➂➭r ✘❅➃❅♣✝♦✫➃❂➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✂➅➌♠✇➦➭r✂➃❅➅④♥✍♣✝➃✑➙✝♠☞r➇➙✛r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✩♥✍♦q➠✫r➇➆☞r➇➙✓r✂➂➄➅✇➙➛♥✤r➇➅④♥✍➃❅➙✧➆✇➃
♥✍➃❅➠◗➵Ï♦✓➆✇➂➄➙➛♥✍➂➄➅④♥✍♦q➙❅➷ ➁ ♥✍➃❅♣✝➠◗♦✧➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦✓➙✝➃✡➆✇➃ Ù ➃✡r✶Ó➔r②♥✍♦✧➆✇♦✧♣✝♠✇➘➄➆✇♦✧➙✝➃❅♣→➠◗♦❸➆✇➃❅➦➭r➇➆✇♦✶➵Ï♦q♣★♠✇➠✫r✶➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦
➩④r➇♠✇➙✝➙✝➂➭r➇➅☞r✦Ý✇➥❅♦q➠❞➾ ↕ ➤ ➃❜➹✦➵✇♣✝➃❅➙✝➙✍r◗➵Ï♦q♣ ✡ ✏ ☞ s
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p(r) =
1

σ
√

2π
e
−(r−mr)2

2σ2 ,
✒ à❸➷ ✔ ✲

♦q➅✇➆✇➃
mr

➃
σ2

➙✍➝➇♦✇Ý✇♣✝➃❅➙✝➵Ï➃❅➥✯♥✍➂ Ù r➇➠◗➃❅➅④♥✍➃➇Ý✕r✂➠◗➯❅➆✇➂➭r✟➃✑r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r✏➆☞r Ù r➇♣✝➂ ☎ Ù ➃❅➦❇r➇➦➄➃➞r②♥ ✦q♣✝➂➭r
r
➷

⑦❊➱✧✷✖③⑤❾❸⑥Ï➎➏❾Û➍⑨✉☎✄★➒⑤❾❸③✝✆Ï↔
➺✧➠ ➙✝➂➄➅☞r➇➦☞➙✝➃✧➵✇♣✝♦q➵☞r➇➩④r➇➅✇➆✇♦✑➃❅➠ ♠✇➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙Ý➌r➇➦➄➯❅➠ ➆☞r✑r➇➆✇➂➄➜➞➝➇♦✑➆✇♦✑♣✝♠✇➘➄➆✇♦✑❧✞✝✠✟❂➻ ➙✝♦➇Ó⑤♣✝➃

➆✇➃⑨➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷➳❧ ➃❅➅ Ù ♦q➦➶♥ ✦q♣✝➂➭r➚➆☞r➚➙✝♠☞r▲➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃⑨➆✇➃⑨➥❅♠✇♣➛♥✍♦✻➵✇♣✍r ✘❅♦▲➯⑨➠◗♦❸➆✇➃❅➦➭r➇➆☞rÛ➵Ï♦q♣✏♠✇➠✫r
➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙Ý✦➆☞r➇➆☞r☎➵Ï♦q♣ ✡ ✏ ☞ s

p(r) =
r

σ2
r

e−r2/2σ2
r , r ≥ 0

✒ à❸➷ ✑ ✲

➃❅➠ ➪➌♠✇➃
r
➯✷r✑➃❅➅ Ù ♦q➦➶♥ ✦q♣✝➂➭r✑➆✇♦✏➙✝➂➄➅☞r➇➦✕➃

σ2
r

➯✷r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r❂➆☞r➇➙✡➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❅➙✡➃❅➠ Ó➔r➇➙✝➃✧➃✛➃❅➠ ➪➌♠☞r➇➆✇♣✍r②♥✍♠✇♣✍r
➪➌♠✇➃✑➥❅♦q➠◗➵ ✍❸➃❅➠✸♦◗➙✝➂➄➅☞r➇➦

r
➷

➁ ➟✇➙✝➃❅♣ Ù r➇➅✇➆✇♦②➴ ➙✝➃ ✒ à❸➷ ✏ ✲ Ý➇➙✝➃
α
♥✍➃❅➠✭➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙Ý②➵Ï♦❸➆✇➃❜➴ ➙✝➃✡➆✇➃❅➙✝➥❅♣✝➃ Ù ➃❅♣❐r✧Ó⑤♠✇➅✇➜➞➝➇♦✷➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃

➆✇➃❂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆☞r✂♣✝➃❅➦➭r➇➜➞➝➇♦☎➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✟➵Ï♦q♣✶➟✇➂➶♥➞Ý
γb

Ý✇➆☞r➇➆☞r✂➵Ï♦q♣❅s

γb = α2 Eb

N0

.
✒ à❸➷ ✎ ✲

❧✩♥✍♣✍r Ù ➯❅➙✧➆✇➃✳♥✍♣✍r➇➅✇➙➛Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✂➆✇➃ Ù r➇♣✝➂ ☎ Ù ➃❅➂➄➙❅Ý✦♥✍➃❅➠☎➴ ➙✝➃➇s

p(γb) =
1

γb

e
−

γb
γb , γb ≥ 0

✒ à❸➷ ✒ ✲

➃❅➠ ➪➌♠✇➃✑♦ Ù r➇➦➄♦q♣✩➠◗➯❅➆✇➂➄♦☎➆✇➃
γb

➯❂➆☞r➇➆✇♦✂➵Ï♦q♣❅s

γb = Ω
Eb

N0

,
✒ à❸➷ ✩ ✲

➃
Ω
➯❂➆✇➃ ✼☞➅✇➂➄➆✇♦✂➥❅♦q➠◗♦✇s

Ω = E(α2) = 2σ2
r .

✒ à❸➷➶ß➏Þ ✲

➨❿➠ ♠✇➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃✓➆✇➃✓➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙Ý④♦✑➙✝➂➄➅☞r➇➦☞➅☞r❂♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✑➯✧➥❅♦q➠◗➵Ï♦q➙➛♥✍♦❂➃❜➹✦➥❅➦➄♠✇➙✝➂ Ù r➇➠◗➃❅➅④♥✍➃
➆✇➃✧♦q➅✇➆☞r➇➙❼♣✝➃☛✡☞➃✯♥✍➂➄➆☞r➇➙❼➥❅♦q➠ r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙❿➃❅➪➌♠✇➂ Ù r➇➦➄➃❅➅④♥✍➃❅➙❅➷❿➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý➌➅☞➝➇♦✑➃❜➹✦➂➄➙➛♥✍➃✧♠✇➠✫r✳♦q➅✇➆☞r❂➥❅♦q➠ ➃❅➅✇➃❅♣✝➩q➂➭r
➠✟♠✇➂➶♥✍♦▲➙✝♠✇➵Ï➃❅♣✝➂➄♦q♣✂➡➇➙✂♦q♠✦♥✍♣✍r➇➙☎♦q➅✇➆☞r➇➙✂➥✤➫✇➃❅➩④r➇➅✇➆✇♦⑧➅☞r▲♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✇➷ ➁ ➪➌♠✇➃Ûr➇➥❅♦q➅④♥✍➃❅➥❅➃➇Ý✡➵Ï♦q♣☎➃❜➹✦➃❅➠◗➵✇➦➄♦✇Ý❐➃❅➠
♠✇➠✫r☎➙✝➂➶♥✍♠☞r➇➜➞➝➇♦◗➅☞r✂➪➌♠☞r➇➦❇➅☞➝➇♦◗➃❜➹✦➂➄➙➛♥✤r✂➦➄➂➄➅✇➫☞r✟➆✇➃ Ù ➂➄➙✍r➇➆☞r ✒ ✬ ➁ ✏ ✲ ➆✇➂➄♣✝➃✯♥✤r☎➃❅➅④♥✍♣✝➃❂♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✍➝➇♦✂➃❂♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✇➷
➻✧♦➚➆✇➃❅➙✝➃❅➅ Ù ♦q➦ Ù ➂➄➠◗➃❅➅④♥✍♦Û♥✍➃✙✦q♣✝➂➄➥❅♦Û➆✇♦✻r➇➠✟➟✇➂➄➃❅➅④♥✍➃ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙Ý★➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r⑩➴ ➙✝➃✫➪➌♠✇➃◗♦q➙ ☎➇➅✇➩q♠✇➦➄♦q➙❂➆✇➃✫➥✤➫✇➃❅➩④r➇➆☞r
➆☞r➇➙✧➠✶✵✇➦➶♥✍➂➄➵✇➦➭r➇➙✩♦q➅✇➆☞r➇➙✧➃❅➙✝➵☞r➇➦➄➫☞r➇➆☞r➇➙✧➵Ï♦q➙✝➙✝♠✇➃❅➠➧♠✇➠❞➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦✂♠✇➅✇➂➶Ó⑤♦q♣✝➠◗➃✳➃❅➅④♥✍♣✝➃

[0, 2π]
♣✍r➇➆✇➂➭r➇➅✇♦q➙❅➷ ➁

➠◗♦❸➆✇➃❅➦➄♦➳➆✇➃Û➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✘➅✇♦q♣✝➠✫r➇➦➄➠◗➃❅➅④♥✍➃❊➙✝➃➚r ✂✝♠✇➙➛♥✤r➸r➇♦q➙◗➃❜➹✦➵Ï➃❅♣✝➂➄➠◗➃❅➅④♥✍♦q➙◗➆✇➃Û➙✝➂➄➙➛♥✍➃❅➠✫r➇➙
➠ ✦ Ù ➃❅➂➄➙✓♦q➅✇➆✇➃✳➅☞➝➇♦◗➃❜➹✦➂➄➙➛♥✍➃ ✬ ➁ ✏⑨➃❅➅④♥✍♣✝➃❂♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣✶➃✳♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅➷



�✂✁☎✄✁� ✞✄✂ ✆✟✁✆☎✞✝✠✟✡☎☛✂☞� ✁✆☎ � �

⑦❊➱✧✷✖③⑤❾❸⑥Ï➎➏❾ ✡Û✉ ✁ ✉ ✆✕✉☞➱➑③✄✂
m

❧❲➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦◗➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
m
Ý✕r➇➙✝➙✝➂➄➠➧➥❅♦q➠◗♦⑨r◗➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦◗➆✇➃✶✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙Ý☞♥✤r➇➠✟➟Ï➯❅➠➧➯✏♠✦♥✍➂➄➦➄➂✚✘➞r➇➆☞r

➵☞r➇♣✍r✳➆✇➃❅➙✝➥❅♣✝➃ Ù ➃❅♣✩r➇➙ ✡☞♠✦♥✍♠☞r➇➜✪✍❸➃❅➙❼➆✇♦q➙❼➙✝➂➄➅☞r➇➂➄➙Ñ➵✇♣✝♦ Ù ➃❅➅✇➂➄➃❅➅④♥✍➃❅➙❐➆✇➃✓➥➞r➇➅☞r➇➂➄➙❿➥❅♦q➠❲➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷❼➲✡♦q➅④♥✍♠✇➆✇♦✇Ý
➙✝♠☞r➑♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➜➞➝➇♦ ➯✻➠✫r➇➂➄➙✫r➇➠◗➵✇➦➭r✦Ý✩➃➚➵Ï♦❸➆✇➃✻➠◗♦❸➆✇➃❅➦➭r➇♣✂➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦q➙❊➠✫r➇➂➄➙◗➙✝➃ Ù ➃❅♣✝♦q➙❅Ý✧➥❅♦q➠◗♦➑♦q➙
♦q➟✇➙✝➃❅♣ Ù r➇➆✇♦q➙✑➵Ï♦q♣❂➻✛r✌☞②r➇➩④r➇➠◗➂ ✡ ✎✒☞❿➃❅➠ ♠✇➠✫r❊➙✝➯❅♣✝➂➄➃☎➆✇➃✂➠◗➃❅➆✇➂➄➆☞r➇➙✷Ó⑤➃❅➂➶♥✤r➇➙✳➃❅➠ ✢✛➤ ✒ ✢✛➤★➴ ✹ ✕✺✪✻✏✎✵ ✬✥✢✥★✪✙✆✢ ✖ ✰ ✛ ✲
➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦❇➂➄♦q➅✇♦q➙➛Ó⑤➯❅♣✝➂➄➥❅♦✇➷Ñ❧✭➾ ↕ ➤ ➵☞r➇♣✍r☎➃❅➙✝➙✍r◗➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦☎➯✳➆☞r➇➆☞r✂➵Ï♦q♣✳s

p(r) =
2

Γ(m)

(m

Ω

)m

r2m−1e−mr2/Ω,
✒ à❸➷➶ßqß ✲

➃❅➠ ➪➌♠✇➃
Ω
➯✳➆✇➃ ✼☞➅✇➂➄➆✇♦◗➥❅♦q➠◗♦

Ω = E(r2),
✒ à❸➷➶ß⑩à ✲

➃
Γ(.)

➯✑r✟Ó⑤♠✇➅✇➜➞➝➇♦✴✟❂r➇➠◗➠✫r✏➆✇➃ ✼☞➅✇➂➄➆☞r☎➥❅♦q➠◗♦✇s

Γ(m) =

∫ ∞

0

xm−1e−xdx,
✒ à❸➷➶ß➏á ✲

➃✏♦⑨➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦
m
➯✏➆✇➃ ✼☞➅✇➂➄➆✇♦⑨➥❅♦q➠◗♦⑨r◗♣✍r ✘➞➝➇♦⑨➆✇♦q➙✛➠◗♦q➠◗➃❅➅④♥✍♦q➙❅ÝÏ➥✤➫☞r➇➠✫r➇➆✇♦◗Ó➔r②♥✍♦q♣✧➆✇➃✟➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦

✒✯✦✪✤ ✠✌✕✗✖✫✪✞❁✆✪✌✙✛✬✥✢ ✲ Ý☞➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦✫➵Ï♦q♣❅s

m =
Ω2

E[(r2 − Ω)2]
, m ≥ 1

2

✒ à❸➷➶ß✓✏ ✲

♦q♠✒➙✝➃ ✂✍r✦Ý✷♦✘➂➄➅ Ù ➃❅♣✝➙✝♦✘➆☞r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r➑➅✇♦q♣✝➠✫r➇➦➄➂✚✘➞r➇➆☞r➸➆✇➃
r2
➷✸➨❿➠❯➥❅♦q➅④♥✍♣✍r➇➙➛♥✍➃⑧➥❅♦q➠❯r ➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦❻➆✇➃

✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙Ý→r❀➪➌♠☞r➇➦❼➵Ï♦q➙✝➙✝♠✇➂❐♠✇➠ ✵✇➅✇➂➄➥❅♦➚➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦❀➪➌♠✇➃◗➵Ï♦❸➆✇➃◗➙✝➃❅♣✑♠✇➙✍r➇➆✇♦➚➵☞r➇♣✍rÛr ✂✝♠✇➙➛♥✤r➇♣✏r❀➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥➞r
r➇♦⑨➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦❊➆✇♦⑨➥➞r➇➅☞r➇➦ Ý r⑨➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦◗➆✇➃☎➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➵Ï♦q➙✝➙✝♠✇➂✖➆✇♦q➂➄➙✛➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦q➙❅Ý

m
➃

Ω
➷

➲✡♦q➠◗♦❀➥❅♦q➅✇➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦Ý→➃❅➙✝➙✍r❀➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦❊➵Ï➃❅♣✝➠◗➂➶♥✍➃✟➠✫r➇➂➄♦q♣ ✡☞➃❜➹✦➂➄➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✏➃✂➵✇♣✝➃❅➥❅➂➄➙✍➝➇♦❀➅☞r❀➠◗♦❸➆✇➃❅➦➭r➇➩q➃❅➠
➆✇♦✂➥➞r➇➅☞r➇➦ ➷

➨✰r Ù r➇➦➄➂➭r➇➅✇➆✇♦✻♦▲➠◗♦❸➆✇➃❅➦➄♦➚➆✇♦➳➥➞r➇➅☞r➇➦ ✒ à❸➷ ✏ ✲ Ý❿➙✝➃
α
♥✍➃❅➠●➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦✻➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
Ý✖➵Ï♦❸➆✇➃❜➴ ➙✝➃❊➆✇➃❅➙Ô➴

➥❅♣✝➃ Ù ➃❅♣◗r➚Ó⑤♠✇➅✇➜➞➝➇♦▲➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃❊➆✇➃⑨➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃◗➆☞r✻♣✝➃❅➦➭r➇➜➞➝➇♦✻➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦➚➵Ï♦q♣✟➟✇➂➶♥➞Ý
γb

➷➳❧✩♥✍♣✍r Ù ➯❅➙✂➆☞r
♥✍♣✍r➇➅✇➙➛Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦☎➆☞r➇➙ Ù r➇♣✝➂ ☎ Ù ➃❅➂➄➙❅Ý✦♥✍➃❅➠☎➴ ➙✝➃➇s

p(γb) =
mm

Γ(m)γb
mγm−1

b e
(−m

γb
γb

)
,

✒ à❸➷➶ß✕✔ ✲

➃❅➠ ➪➌♠✇➃
γb = α2 Eb

N0

➃
γb = ΩEb

N0

➷
➁ ➟✇➙✝➃❅♣ Ù ➃❊➪➌♠✇➃❊r✻➨❿➪✕➷ ✒ à❸➷➶ß✕✔ ✲ ♣✝➃❅➆✇♠✣✘❜➴ ➙✝➃❀➡✻➨❿➪✕➷ ✒ à❸➷ ✒ ✲ ➙✝➃ ✼ ✘❅➃❅♣✝➠◗♦q➙

m = 1
➷▲➾✖r➇♣✍r Ù r➇➦➄♦q♣✝➃❅➙✏➆✇➃

m➃❅➅④♥✍♣✝➃ 1
2
≤ m < 1

Ý✇♦q➟✦♥✍➯❅➠☎➴ ➙✝➃✳➾ ↕ ➤ × ➙✶➥❅♦q➠ ➥➞r➇♠✇➆☞r➇➙✶➠✫r➇➂➄➙✩➵Ï➃❅➙✍r➇➆☞r➇➙✶➪➌♠✇➃✑r✟➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦✏➆✇➃ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷
➨✣➵☞r➇♣✍r Ù r➇➦➄♦q♣✝➃❅➙✶➆✇➃

m > 1
Ý☞➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦◗➠◗➃❅➅✇♦q➙✓➙✝➃ Ù ➃❅♣✝♦✇Ý r☎➥➞r➇♠✇➆☞r✂➆✇➃❅➥➞r➇➂★➠✫r➇➂➄➙✩♣✍r➇➵✇➂➄➆☞r➇➠◗➃❅➅④♥✍➃✳➆✇♦

➪➌♠✇➃✏r☎➆✇➃ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷Ñ❧✰➤✖➂➄➩✇➷❼à❸➷ á☎➂➄➦➄♠✇➙➛♥✍♣✍r☎r➇➙✶➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜✪✍❸➃❅➙✶➵☞r➇♣✍r☎➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙ Ù r➇➦➄♦q♣✝➃❅➙✶➆✇➃
m

✡ ✏ ☞ ➷
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✍✏✎✒✑✔✓✖✕✘✗✚✙✜✛ �✜✣✂✁ ✤✧✍ ✬✜✎✭✪☛✳☛✕☛✎☎✄✖✓✖✎✝✆✟✞✮✷✡✠✧✗☞☛✔✗✡✑✽✗✡✿✺✎✍✌
m ✎ ✲✰✷✮✿ Ω = 1

✛

✂☎✄✑✏ ✒✔✓ ❫✩✽❊❃❅❫✩❚✑❄❲❈❊❆❍❋❍❃❜❡✟❆✩❝Ñ❄❇❃❅❈❀❚✑❈❊❆❨❏Û❚✳❝Ñ❚ ❱❲❚✑✽❀❚❂❃❅❄ ❫✡◆✏■ ❋❍❆✓❄❙❡✳❚✑✽❊❆✓❫✡❃✤❦

■❑❆✓✽☎❘★◆

➺✧➠ ➙✝➂➄➅☞r➇➦ Ý✶r➇♦ r②♥✍♣✍r Ù ➃❅➙✝➙✍r➇♣❊♠✇➠ ➥➞r➇➅☞r➇➦✛➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦❻➵✇♣✝♦➇Ó⑤♠✇➅✇➆✇♦✇Ý✓➵Ï♦❸➆✇➃✻➙✝♦➇Ó⑤♣✝➃❅♣⑨➩q♣✍r➇➅✇➆✇➃❅➙
r②♥✍➃❅➅➌♠☞r➇➜✪✍❸➃❅➙⑨➃➇Ý✓➵Ï♦q♣➛♥✤r➇➅④♥✍♦✇Ý✶➵✇♣✝♦ Ù ♦❸➥➞r➇♣⑨➃❅♣✝♣✝♦q➙⑨➅☞r➸♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✇➷ ✏❸➃➇Ý✧r➇♦➑➂➄➅ Ù ➯❅➙❊➆✇➃➚➆✇➃✯♥✍➃❅➥✯♥✤r➇♣✝➠◗♦q➙❊r➇➵Ï➃❅➅☞r➇➙
♠✇➠✫r➑➆☞r➇➙❀♣✝➯❅➵✇➦➄➂➄➥➞r➇➙⑨➪➌♠✇➃➳➥✤➫✇➃❅➩④r r➇♦ ♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅Ý✛➥➞r➇➵✦♥✤r➇♣✝➠◗♦q➙❀r➑➃❅➅✇➃❅♣✝➩q➂➭r❻➆✇♦q➙❊➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✫➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙❅Ý✷r
➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃⑨➆✇➃❀➃❅♣✝♣✝♦⑧➆✇➂➄➠◗➂➄➅➌♠✇➂➄♣✥☎➚➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r Ù ➃❅➦➄➠◗➃❅➅④♥✍➃➇➷ ➁ ♠✘➙✝➃ ✂✍r✦Ý❐➙✝➃

pl

Ó⑤♦q♣✂r➳➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✫➆✇♦

l
➴ ➯❅➙✝➂➄➠◗♦✫➙✝➂➄➅☞r➇➦→➥➞r➇➂➄♣✷r➇➟☞r➇➂ ➹✦♦✫➆✇➃✟♠✇➠✾➥❅➃❅♣➛♥✍♦❊➦➄➂➄➠◗➂➭r➇♣✶➵✇♣✝➯❜➴ ➆✇➃✯♥✍➃❅♣✝➠◗➂➄➅☞r➇➆✇♦✇ÝÏ➃❅➅④♥✤➝➇♦❀r✫➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃❂➆✇➃✟➪➌♠✇➃
♥✍♦❸➆☞r➇➙◗r➇➙

L
➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❅➙◗➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃❅➅④♥✍➃❅➙◗➙✝♦➇Ó⑤♣✍r➇➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦➸➵✇♣✝♦➇Ó⑤♠✇➅✇➆✇♦⑧➙✝➂➄➠✟♠✇➦➶♥✤r➇➅✇➃➞r➇➠◗➃❅➅④♥✍➃

Ù r➇➦➄➃
p1.p2.p3 . . . pL

➷ ✢ ☎✻➆✇➂ Ù ➃❅♣✝➙✍r➇➙✟♥✍➯❅➥❅➅✇➂➄➥➞r➇➙✟➆✇➃❊➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃➇Ý❿➃❅➙✝➥❅♦q➦➄➫✇➂➄➆☞r➇➙✟➥❅♦q➅ Ù ➃❅➅✇➂➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃Û➵☞r➇♣✍r
➠◗➂➄➅✇➂➄➠◗➂✚✘➞r➇♣❇♦q➙Ñ➃✯Ó⑤➃❅➂➶♥✍♦q➙Ñ➆✇♦✳➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷❿➨❿➅④♥✍♣✝➃✶➃❅➦➭r➇➙❅Ýq➵Ï♦❸➆✇➃❅➠☎➴ ➙✝➃✩➥❅➂➶♥✤r➇♣Ñr➇➙✖♥✍➯❅➥❅➅✇➂➄➥➞r➇➙Ñ➆✇➃✶➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃
➃❅➙✝➵☞r➇➥❅➂➭r➇➦ Ý✦♥✍➃❅➠◗➵Ï♦q♣✍r➇➦ ➃❂➃❅➠ Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦➷

➻✛r✻➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃❊➃❅➙✝➵☞r➇➥❅➂➭r➇➦ ÝÑ➃❅➠◗➵✇♣✝➃❅➩④r⑩➴ ➙✝➃⑨♠✇➠ r➇♣✝♣✍r➇➅ ✂✝♦▲➆✇➃❊➠✶✵✇➦➶♥✍➂➄➵✇➦➭r➇➙✑r➇➅④♥✍➃❅➅☞r➇➙✟♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣✍r➇➙✟♦q♠
♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✍r➇➙❅Ý②➙✝♠ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃❐➃❅➙✝➵☞r➇➜➞r➇➆☞r➇➙→➆✇➃❿➠◗♦❸➆✇♦✶➪➌♠✇➃❐r➇➙★➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❅➙★➆✇♦✓➙✝➂➄➅☞r➇➦➇♥✍➃❅➅✇➫☞r➇➠ ➆✇➂➶Ó⑤➃❅♣✝➃❅➅✦♥✍➃❅➙
r②♥✍♣✍r➇➙✝♦q➙✛➆✇➃✟➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦✇➷✳➻✧♦q♣✝➠✫r➇➦➄➠◗➃❅➅④♥✍➃➇Ý✕♣✝➃❅➪➌♠✇➃❅♣Ô➴ ➙✝➃☎♠✇➠✫r✫➙✝➃❅➵☞r➇♣✍r➇➜➞➝➇♦⑨➃❅➅④♥✍♣✝➃✂r➇➙✳r➇➅④♥✍➃❅➅☞r➇➙✳r➇➆ ✂✍r➇➥❅➃❅➅④♥✍➃❅➙
➆✇➃ λ

2

➵☞r➇♣✍r✟r➇♣✝♣✍r➇➅ ✂✝♦q➙✩➅☞r✏➃❅➙➛♥✤r➇➜➞➝➇♦☎➠ ✦ Ù ➃❅➦❙➃✷➆✇➃✷➆✇➃✙✘❅➃❅➅☞r➇➙✶➆✇➃✳➥❅♦q➠◗➵✇♣✝➂➄➠◗➃❅➅④♥✍♦q➙❐➆✇➃✷♦q➅✇➆☞r✦Ý✦➥➞r➇➙✝♦✂r➇➙✶r➇➅④♥✍➃❅➅☞r➇➙
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➃❅➅✇➥❅♦q➅④♥✍♣✝➃❅➠☎➴ ➙✝➃❂➅☞r✂➃❅➙➛♥✤r➇➜➞➝➇♦◗♣✥☎➇➆✇➂➄♦②➴ ➟☞r➇➙✝➃➇➷
➻✛r✟➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃❂➃❅➠✸Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦Ý☞➥✙✦q➵✇➂➭r➇➙✩➆✇♦✂➙✝➂➄➅☞r➇➦❙➙✍➝➇♦☎♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆☞r➇➙❐➃❅➠ ➵Ï♦q♣➛♥✤r➇➆✇♦q♣✍r➇➙✩➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙❅Ý

r➇➙✡➪➌♠☞r➇➂➄➙❐➙✍➝➇♦✟➙✝➃❅➵☞r➇♣✍r➇➆☞r➇➙✡➃❅➠ Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✏➆✇➃✛♠✇➠ Ù r➇➦➄♦q♣❼➙✝♠✇➵Ï➃❅♣✝➂➄♦q♣✡➡✏➦➭r➇♣✝➩q♠✇♣✍r❂➆✇➃✧Ó➔r➇➂ ➹✇r❂➆✇➃✛➥❅♦❸➃❅♣✪✤❅➅✇➥❅➂➭r✑➆✇♦
➥➞r➇➅☞r➇➦ Ý✇➆✇➃✳Ó⑤♦q♣✝➠✫r✟➪➌♠✇➃❂➅☞➝➇♦◗➫☞r ✂✍r☎➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✂➃❅➅④♥✍♣✝➃✑r➇➙✓♣✝➯❅➵✇➦➄➂➄➥➞r➇➙✶♦q➟✦♥✍➂➄➆☞r➇➙✩➅☞r✂♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✇➷
❧❲➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃✑♥✍➃❅➠◗➵Ï♦q♣✍r➇➦★♠✦♥✍➂➄➦➄➂✚✘➞r✂♦⑨➠◗➃❅➙✝➠◗♦✫➵✇♣✝➂➄➅✇➥❅➘➄➵✇➂➄♦◗➆☞r✫➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃✏➃❅➠➧Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦s Ù ➃❅♣✝➙✎✍❸➃❅➙

➆✇♦➑➙✝➂➄➅☞r➇➦✧➆✇➃✻➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦⑧➙✍➝➇♦➸♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆☞r➇➙◗➃❅➠ ➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦q➙◗➆✇➃➚♥✍➃❅➠◗➵Ï♦➸➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙❅Ý✧➙✝➃❅➵☞r➇♣✍r➇➆☞r➇➙⑨➆✇➃
♠✇➠ ➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦❊➠✫r➇➂➄♦q♣✷➪➌♠✇➃◗♦❀♥✍➃❅➠◗➵Ï♦Û➆✇➃✂➥❅♦❸➃❅♣✪✤❅➅✇➥❅➂➭r❀➆✇♦Û➥➞r➇➅☞r➇➦ Ý❇♥✤r➇➠✟➟Ï➯❅➠❨➵☞r➇♣✍r❀➪➌♠✇➃◗♦q➙✑➙✝➂➄➅☞r➇➂➄➙ ✼☞➪➌♠✇➃❅➠
➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q➙✶➅☞r✂♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✇➷

➁ ➙✑➠◗➯✯♥✍♦❸➆✇♦q➙❂➆✇➃◗➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦Û♠✦♥✍➂➄➦➄➂✚✘➞r➇➆✇♦q➙✳➅✇♦Û➵✇♣✝♦❸➥❅➃❅➙✝➙✝♦✻➆✇➃◗➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃◗➆✇➂ Ù ➂➄➆✇➃❅➠☎➴ ➙✝➃➇Ý→➵✇♣✝➂➄➅✇➥❅➂➄➵☞r➇➦ ➴
➠◗➃❅➅④♥✍➃➇Ý❿➃❅➠➢➆✇♦q➂➄➙✏➩q♣✝♠✇➵Ï♦q➙❅s✂➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦➚➵Ï♦q♣✏➙✝➃❅➦➄➃❅➜➞➝➇♦✻➃⑨➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦➚➵Ï♦q♣✟r➇➆✇➂➄➜➞➝➇♦ ✡ ✔✒☞ ➷ ✢ ☎✻r➇➂➄➅✇➆☞r➚r
➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦☎➙✝➃❅➦➄➃❅➜➞➝➇♦②➴Ôr➇➆✇➂➄➜➞➝➇♦✇Ý✦➪➌♠✇➃✏r➇➙✝➙✝♦❸➥❅➂➭r☎♦q➙✓➆✇♦q➂➄➙✶➠◗➯✯♥✍♦❸➆✇♦q➙✩➥❅➂➶♥✤r➇➆✇♦q➙❅➷

• ☛ ❹Ï➱✧✷✖③➔⑥★✉ ✝✠✟✇❹✚❽❿❹✕✈✘➀❅❾❸➒⑤❾✢✝✠✟✇❹ sÛ➅✇➃❅➙➛♥✍➃Û➠◗➯✯♥✍♦❸➆✇♦➳➆✇➃Û➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦✇Ý❐➃❅➙✝➥❅♦q➦➄➫✇➃❜➴ ➙✝➃Û♠✇➠❉➆✇♦q➙✂➙✝➂➄➅☞r➇➂➄➙
♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦q➙☎➆✇➃❊r➇➥❅♦q♣✝➆✇♦▲➥❅♦q➠➢♠✇➠●➆✇➃✯♥✍➃❅♣✝➠◗➂➄➅☞r➇➆✇♦✻➥❅♣✝➂➶♥✍➯❅♣✝➂➄♦✇ÝÑ➟☞r➇➙✝➃➞r➇➆✇♦✇Ý❿➵Ï♦q♣✟➃❜➹✦➃❅➠◗➵✇➦➄♦✇Ý❿➅☞r✻➠◗➃❅➦➄➫✇♦q♣
♣✝➃❅➦➭r➇➜➞➝➇♦☎➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✟♦q♠Û➅✇♦✂➙✝➂➄➅☞r➇➦❙➆✇➃❂➠✫r➇➂➄♦q♣✩➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦➷❿➨❿➠ ♦q♠✦♥✍♣✍r➇➙✓➵☞r➇➦➭r Ù ♣✍r➇➙❅s

r =
Ó⑤♠✇➅✇➜➞➝➇♦

(r1, r2, · · · , rL),
✒ à❸➷➶ß✖✑ ✲

➃❅➠➢➪➌♠✇➃
r
➯❊r✻➃❅➅ Ù ♦q➦➶♥ ✦q♣✝➂➭r➚♣✝➃❅➙✝♠✇➦➶♥✤r➇➅④♥✍➃⑨➆☞r✻➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦✻➃

rl, l = 1, 2, · · · , L,
➙✍➝➇♦▲♦q➙✟➙✝➂➄➅☞r➇➂➄➙

♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦q➙❅➷

• ☛ ❹Ï➱✧✷✖③➔⑥★✉ ✝✠✟✇❹✘❽❿❹✕✈Û✉☞➓→③ ✝✠✟✇❹ s✧➅✇➃❅➙➛♥✍➃☎➩q♣✝♠✇➵Ï♦✇Ý ♦⑨➙✝➂➄➅☞r➇➦✖♣✝➃❅➙✝♠✇➦➶♥✤r➇➅④♥✍➃✟➯☎r✫➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦⑨➦➄➂➄➅✇➃➞r➇♣✧➆✇♦q➙
➙✝➂➄➅☞r➇➂➄➙✩♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦q➙❅Ý ♦q♠➚➙✝➃ ✂✍r✦s

r =

L
∑

l=1

hlrl

✒ à❸➷➶ß ✎ ✲

➃❅➠❑➪➌♠✇➃
hl

➙✍➝➇♦ ♦q➙❀➵Ï➃❅➙✝♦q➙❀♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙➚r➇♦q➙
L
♣✍r➇➠◗♦q➙❅➷ ❧ ➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦❻➥❅♦q➠❑➩④r➇➅✇➫✇♦q➙❊➂➄➩q♠☞r➇➂➄➙

➙✝➂➄➠◗➵✇➦➄➃❅➙✝➠◗➃❅➅④♥✍➃✷➙✝♦q➠✫r☎♦q➙✓➙✝➂➄➅☞r➇➂➄➙✶r☎➙✝➃❅♣✝➃❅➠❞➥❅♦q➠✟➟✇➂➄➅☞r➇➆✇♦q➙❅Ý✇➃ Ù ➃❅➅④♥✍♠☞r➇➦➄➠◗➃❅➅④♥✍➃❂➵Ï♦q➅✇➆✇➃❅♣✍r➇➅✇➆✇♦②➴ ♦q➙✩♥✍♦❸➆✇♦q➙
➥❅♦q➠ ➩④r➇➅✇➫✇♦q➙✂➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙◗➆✇➃❀♠✇➠Û➷✘➻✛r▲➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦➳➆✇➃❀➠ ☎⑩➹✦➂➄➠✫r✻♣✍r ✘➞➝➇♦✇Ý❐➵Ï♦q♣☎➙✝♠☞r Ù ➃✙✘➇Ý✩➥➞r➇➆☞r
➵Ï➃❅➙✝♦Û➯✂➵✇♣✝♦q➵Ï♦q♣✝➥❅➂➄♦q➅☞r➇➦❿➡❀♣✝➃❅➦➭r➇➜➞➝➇♦❊➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦⑨➆✇♦Û♣✍r➇➠◗♦Ûr➇♦❀➪➌♠☞r➇➦❼➃❅➙➛♥ ☎Ûr➇➙✝➙✝♦❸➥❅➂➭r➇➆✇♦✇➷◗➨❿➙✝➙✍rÛ♣✝➃❅➩q♣✍r
➆✇➃✑➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦✂➯✑➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➆☞r ✦➇♥✍➂➄➠✫r✟➵☞r➇♣✍r✂➥➞r➇➅☞r➇➂➄➙✓➥❅♦q➠❞➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✴✡✧r➞Ö❸➦➄➃❅➂➄➩q➫ ✡ ✏ ☞→➵Ï♦q➂➄➙
➠✫r⑩➹✦➂➄➠◗➂✚✘➞r✏r☎♣✝➃❅➦➭r➇➜➞➝➇♦☎➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✟➂➄➅✇➙➛♥✤r➇➅④♥ ☎➇➅✇➃➞r☎➅☞r☎➙✍r➇➘➄➆☞r✟➆✇♦✂➥❅♦q➠✟➟✇➂➄➅☞r➇➆✇♦q♣❅Ý✦♦q♠❀➙✝➃ ✂✍r✦Ý☞➠◗➂➄➅✇➂➄➠◗➂✚✘➞r
r☎➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦◗➅☞r☎➆✇➃❅➥❅➂➄➙✍➝➇♦◗➵Ï♦q➙➛♥✍➃❅♣✝➂➄♦q♣❅➷

➺✧➠✚➠◗➯✯♥✍♦❸➆✇♦✓➠✫r➇➂➄➙❇➙✝♦✌✼☞➙➛♥✍➂➄➥➞r➇➆✇♦✧➆✇➃❐➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃❐➥❅♦q➅✇➙✝➂➄➙➛♥✍➃❐➃❅➠ ♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄♣❙♠✇➠✚➙✝➂➄➅☞r➇➦④➥❅♠ ✂✍r✧➦➭r➇♣✝➩q♠✇♣✍r✶➆✇➃
➟☞r➇➅✇➆☞r

W
➙✝➃ ✂✍r✟➠✟♠✇➂➶♥✍♦✟➠✫r➇➂➄♦q♣✡➪➌♠✇➃❂r✟➟☞r➇➅✇➆☞r☎➆✇➃✳➥❅♦❸➃❅♣✪✤❅➅✇➥❅➂➭r✟➆✇♦☎➥➞r➇➅☞r➇➦ ➷ÑÚ✖r➇➦❙➥❅♦q➅ ✼☞➩q♠✇♣✍r➇➜➞➝➇♦☎➂➄♣✥☎✏Ó⑤♦q♣✝➅✇➃❅➥❅➃❅♣

r➇♦✛♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✖➙✝➂➄➅☞r➇➂➄➙★➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃❅➅④♥✍➃❅➙Ñ➃✡➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➆✇♦q➙❅➷ ➁ ♥✍➃❅➠◗➵Ï♦✛➆✇➃✡♣✝➃❅➙✝♦q➦➄♠✇➜➞➝➇♦✧➯
1/W

➷✖➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý➇➥❅♦q➠
♠✇➠✰➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✷♥✍➃❅➠◗➵Ï♦q♣✍r➇➦➌➆✇➃

Tm

➙✝➃❅➩q♠✇➅✇➆✇♦q➙❅Ý➌➃❜➹✦➂➄➙➛♥✍➃❅➠
TmW

➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❅➙❿♣✝➃❅➙✝♦q➦ Ù ➘ Ù ➃❅➂➄➙❅➷Ñ➺✧➠✫r Ù ➃✙✘
➪➌♠✇➃

Tm ≈ 1/(∆f)c

ÝÏ♦⑨➅✄✵✇➠◗➃❅♣✝♦⑨➆✇➃✏➙✝➂➄➅☞r➇➂➄➙✧♣✝➃❅➙✝♦q➦ Ù ➘ Ù ➃❅➂➄➙✛➵Ï♦❸➆✇➃✏➙✝➃❅♣✛➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦❀➥❅♦q➠◗♦
W/(∆f)c

➷ ↕ ➃❅➙✝➙✍r
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Ó⑤♦q♣✝➠✫r✦Ý☞♦⑨♠✇➙✝♦✫➆✇➃✏➙✝➂➄➅☞r➇➂➄➙✧➆✇➃✏➟☞r➇➅✇➆☞r◗➦➭r➇♣✝➩④r✂➵Ï♦❸➆✇➃✑➙✝➃❅♣ Ù ➂➄➙➛♥✍♦✫➥❅♦q➠◗♦✫♠✇➠➧♦q♠✦♥✍♣✝♦✫➠◗➯✯♥✍♦❸➆✇♦◗➆✇➃✏➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃
➃❅➠❞Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r◗➆☞r◗♦q♣✝➆✇➃❅➠❞➆✇➃

L ≈ W/(∆f)c

➷ ➁ ♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✛➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦→♠✦♥✍➂➄➦➄➂✚✘➞r➇➆✇♦☎➵☞r➇♣✍r◗➙✝➂➄➅☞r➇➂➄➙✓➆✇➃
➟☞r➇➅✇➆☞r✂➦➭r➇♣✝➩④r✏➯❂➥❅♦q➅✇➫✇➃❅➥❅➂➄➆✇♦◗➥❅♦q➠◗♦✂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣ ✡✓❧✷Õ❂➨✶➷

✞✠✟✄✂ ✟☛✡ ☎ ✖✘✭ ✖ ✥✎✙✛✚ ✯✆☎ ✓✞✝☞✖
↕ ➃❅➙✝➃❅➅ Ù ♦q➦ Ù ➂➄➆✇♦▲➵Ï♦q♣✏➾❿♣✝➂➄➥❅➃✫➃ ✟✳♣✝➃❅➃❅➅ ✒ ß✖✩✘✔✦✒ ✲ ✡ ✏ ☞ ÝÑ♦➚♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✶✡✓❧✷Õ❂➨✚➵Ï♦q➙✝➙✝♠✇➂

L
♣✍r➇➠◗♦q➙❅Ý→♦q➙✏➪➌♠☞r➇➂➄➙

➆✇➃✯♥✍➃❅➥✯♥✤r➇➠ÛÝ❇➥➞r➇➆☞r❊♠✇➠ÛÝ❙➙✝➂➄➅☞r➇➂➄➙✷➵✇♣✝♦ Ù ➃❅➅✇➂➄➃❅➅④♥✍➃❅➙✑➆✇➃✂➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙✳➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙❅➷✂➨❿➙✝➙✝➃❅➙✑➙✝➂➄➅☞r➇➂➄➙✷➙✝➃❅♣✍➝➇♦❀➥❅♦q➅ Ù ➃❅➅✇➂ ➴
➃❅➅✦♥✍➃❅➠◗➃❅➅✦♥✍➃❀➥❅♦q➠✟➟✇➂➄➅☞r➇➆✇♦q➙❅Ý❼➙✝➃❅➩q♠✇➅✇➆✇♦➑r➇➙✟♥✍➯❅➥❅➅✇➂➄➥➞r➇➙ ✂✥☎▲➠◗➃❅➅✇➥❅➂➄♦q➅☞r➇➆☞r➇➙❅Ý❼➥❅♦q➠ ♦➳➂➄➅④♥✍♠✇➂➶♥✍♦▲➆✇➃❀➠◗➃❅➦➄➫✇♦q♣✍r➇♣✟r
♣✝➃❅➦➭r➇➜➞➝➇♦✂➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✏➆✇♦◗➙✝➂➄➙➛♥✍➃❅➠✫r✦➷

❧➧➤✖➂➄➩✇➷➑à❸➷ ✏⑧r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➳♠✇➠ ➆✇➂➭r➇➩q♣✍r➇➠✫rÛ➆✇♦➳♣✝➃❅➥❅➃❅➵✦♥✍♦q♣ ✡✓❧✷Õ❂➨✶ÝÑ➪➌♠✇➃❀➥❅♦q➅✇➙✝➂➄➙➛♥✍➃❀➃❅➠●♠✇➠✫r✻➦➄➂➄➅✇➫☞r✻➆✇➃
r②♥✍♣✍r➇➙✝♦q➙✓➥❅♦q➠

L
➆✇➃❅♣✝➂ Ù r➇➜✪✍❸➃❅➙❅➷

∫
(·) dt

h∗
1 (t) h∗

3 (t)h∗
2 (t) h∗

L (t)

TcTcTcTc

r (t)

r (Tb)

∑

Tb

si (t − τi)

✍✏✎✒✑✔✓✖✕✘✗✚✙✜✛ ✟✫✣ ✤ ✎✹✗✡✑✔✕✘✗✡✿ ✗✺✬✖✦✶✓✖✿ ✕✄✦✰✲✰✦✩✱✖✳✄✷✮✕✡✠✡☛✌☞✎✍✠✛

➁ ➙✝➂➄➅☞r➇➦Ï♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦☎➯✛➵✇♣✝➂➄➠◗➃❅➂➄♣✍r➇➠◗➃❅➅④♥✍➃✧➠✟♠✇➦➶♥✍➂➄➵✇➦➄➂➄➥➞r➇➆✇♦❂➵Ï➃❅➦➭r✑➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r☎➆✇➃✷➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✟➆✇➃❅➙✝➦➄♦❸➥➞r➇➆☞r
➅✇♦✏♥✍➃❅➠◗➵Ï♦✇Ý❸➵☞r➇♣✍r✏➆✇➃✯♥✍➃❅➥✯♥✤r➇♣✩➙✝➃❅➵☞r➇♣✍r➇➆☞r➇➠◗➃❅➅④♥✍➃✷♦q➙✡➙✝➂➄➅☞r➇➂➄➙✡➪➌♠✇➃✷➙✝➃✷➵✇♣✝♦q➵☞r➇➩④r➇➠ ➵Ï➃❅➦➄♦q➙

L
➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✶♣✝➃❅➙✝♦q➦ Ù ➘ ➴

Ù ➃❅➂➄➙❅Ý☞➃❂➵Ï➃❅➦➄♦q➙✶➵Ï➃❅➙✝♦q➙✧➃❅➙➛♥✍➂➄➠✫r➇➆✇♦q➙✩➆✇♦◗➥➞r➇➅☞r➇➦ Ý
hl

Ý✇➆✇➃ ✼☞➅✇➂➄➆✇♦q➙✓➵Ï♦q♣❅s

h∗
l (t) = αle

−jΨl,
✒ à❸➷➶ß✖✒ ✲

➥❅♦q➠
l = 1, · · · , L

➃⑨➃❅➠●➪➌♠✇➃
αl

Ý
τl

➃
Ψl

♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠ ♦▲➩④r➇➅✇➫✇♦✇Ý❿♦▲r②♥✍♣✍r➇➙✝♦▲➃❊r➚Ó➔r➇➙✝➃❊➆✇♦
l
➴ ➯❅➙✝➂➄➠◗♦
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➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦✇➷➳❧✛➙✏Ó➔r➇➙✝➃❅➙☎➙✍➝➇♦ Ù r➇♣✝➂ ☎ Ù ➃❅➂➄➙✟r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➇➙✑➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃❅➅④♥✍➃❅➙☎➃⑨♠✇➅✇➂➶Ó⑤♦q♣✝➠◗➃❅➠◗➃❅➅④♥✍➃✫➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➘➄➆☞r➇➙✑➅✇♦
➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦☎➆✇➃

[0, 2π]
➃❂♦q➙✓r②♥✍♣✍r➇➙✝♦q➙✓➆✇➃❂♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦◗➆✇♦q➙✓➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✧➙✍➝➇♦✂➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙✡➂➄➅④♥✍➃❅➂➄♣✝♦q➙✩➆✇♦◗➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦

➆✇➃❂♠✇➠ ✰ ✏✛✕ ✎ Ý
Tc

➷
➨❿➠P➙✝➃❅➩q♠✇➂➄➆☞r✦Ý✩♦q➙✫➙✝➂➄➅☞r➇➂➄➙✂➆✇➃➚➙✍r➇➘➄➆☞r➳➆✇♦q➙✫♣✍r➇➠◗♦q➙◗➙✍➝➇♦➸➙✝♦q➠✫r➇➆✇♦q➙❅Ý✩➂➄➅④♥✍➃❅➩q♣✍r➇➆✇♦q➙◗➃✻r➇➠◗♦q➙➛♥✍♣✍r➇➆✇♦q➙◗➵☞r➇♣✍r

Ó⑤♦q♣✝➠✫r➇♣❀r Ù r➇♣✝➂ ☎ Ù ➃❅➦✳➆✇➃⑧➆✇➃❅➥❅➂➄➙✍➝➇♦✘➵☞r➇♣✍r ♦✘♠✇➙✝♠✆☎➇♣✝➂➄♦ ➆✇➃❅➙✝➃ ✂✍r➇➆✇♦✇➷ ✏❸➃⑧♦q➙Û➵Ï➃❅➙✝♦q➙Û➆✇♦q➙❀♣✍r➇➠◗♦q➙❀➃❅➙➛♥✍➂ Ù ➃❅♣✝➃❅➠
➥➞r➇➙✍r➇➆✇♦q➙☎➥❅♦q➠●r➚♣✝➃❅➙✝➵Ï♦q➙➛♥✤r▲➆✇♦✻➥➞r➇➅☞r➇➦ ÝÑ♦▲♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✚✡✓❧✷Õ❂➨✭➙✝➃❅♣✥☎▲➃❅➪➌♠✇➂ Ù r➇➦➄➃❅➅④♥✍➃⑨r✻♠✇➠➢➥❅♦q➠✟➟✇➂➄➅☞r➇➆✇♦q♣✏➆✇➃
♣✍r ✘➞➝➇♦➚➠ ☎⑩➹✦➂➄➠✫r❀➵☞r➇♣✍rÛ➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✏➥❅♦q➠❤➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃

L
➷✻➻✧♦➇♥✍➃◗➪➌♠✇➃⑨➵☞r➇♣✍r➚♠✇➠✫rÛ➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦Û➆✇➃✫➂➄➩q♠☞r➇➦

➩④r➇➅✇➫✇♦✇Ý r➇➵Ï➃❅➅☞r➇➙✛r✂Ó➔r➇➙✝➃✏➯✏➃❅➙➛♥✍➂➄➠✫r➇➆☞r✂➃✟r➇➙✧➥❅♦q➅④♥✍♣✝➂➄➟✇♠✇➂➄➜✪✍❸➃❅➙✧➆✇♦q➙✛➆✇➂ Ù ➃❅♣✝➙✝♦q➙✛➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✷➙✍➝➇♦⑨➠✟♠✇➦➶♥✍➂➄➵✇➦➄➂➄➥➞r➇➆☞r➇➙
➵Ï➃❅➦➄♦✂➩④r➇➅✇➫✇♦✂♠✇➅✇➂➶♥ ☎➇♣✝➂➄♦☎r➇➅④♥✍➃❅➙✧➆✇➃❂➙✝➃❅♣✝➃❅➠❞➙✝♦q➠✫r➇➆☞r➇➙❅➷

✂☎✄✁� ❳ ◆◗❈❊❆✶❁✯◆✄✂ ✿✑❄❇❃❅❫✡◆❣❈❊◆❪❖◗❃❅❄❙❘★❆✓■❯❚

➲✡♦q➅✇➙✝➂➄➆✇➃❅♣✝➃➳♠✇➠❑➙✝➂➄➙➛♥✍➃❅➠✫r✘➲ ↕ ➽Û❧➢➥❅♦q➠
K
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❀➃❅➠❑♠✇➠❑➥➞r➇➅☞r➇➦✷➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý✛➙✝➃❅➠❯➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙

➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙❅➷ ➁ ➙✝➂➄➅☞r➇➦★♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✫➃❅➠➧➟☞r➇➅✇➆☞r✫➟☞r➇➙✝➃✏➙✝➃❅♣✥☎⑨r◗➙✝♦q➠✫r✂➆✇♦q➙✛➙✝➂➄➅☞r➇➂➄➙✛r➇➅④♥✍➂➄➵Ï♦❸➆☞r➇➂➄➙✶➃❅➙✝➵☞r➇➦➄➫☞r➇➆✇♦q➙✛➆✇➃
♥✍♦❸➆✇♦q➙✶♦q➙✓♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅Ý✕r➇➆✇➂➄➥❅➂➄♦q➅☞r➇➆☞r✟r☎♠✇➠ ♣✝♠✇➘➄➆✇♦✂➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦✇Ý✇➃❂➵Ï♦❸➆✇➃✳➙✝➃❅♣✧➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦✫➵Ï♦q♣❅s

r(t) =
K
∑

k=1

Akbksk(t) + σn(t), t ǫ [0, Tb)
✒ à❸➷➶ß✖✩ ✲

➃❅➠ ➪➌♠✇➃➇s

• Tb

➯❂♦✂➵Ï➃❅♣✝➘➄♦❸➆✇♦☎➆✇♦◗➙✝➘➄➠✟➟Ï♦q➦➄♦ ✒ ➟✇➂➶♥ ✲✑✏

• bk ǫ {+1,−1} ➯❀♦➳➟✇➂➶♥☎♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦✻➵Ï➃❅➦➄♦ k
➴ ➯❅➙✝➂➄➠◗♦▲♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷❻❧➧➠◗♦❸➆✇♠✇➦➭r➇➜➞➝➇♦ ✖✩➾✹✏✦Õ❍➅☞➝➇♦➳➯

➂➄➠◗➵Ï➃❅♣✍r②♥✍➂ Ù r✦Ý❸➵Ï♦q♣✝➯❅➠ ➙✝➃❅♣✥☎◗r➇➆✇♦➇♥✤r➇➆☞r☎➵☞r➇♣✍r☎➙✝➂➄➠◗➵✇➦➄➂✽✼☞➥➞r➇➜➞➝➇♦✟➆☞r◗r➇➅✆☎➇➦➄➂➄➙✝➃ ✏

• Ak

➯✟r✫r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃✳➆✇♦✫➙✝➂➄➅☞r➇➦★♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦⑨➆✇♦
k
➴ ➯❅➙✝➂➄➠◗♦◗♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷✶❧✰➃❅➅✇➃❅♣✝➩q➂➭r◗➵Ï♦q♣✧➟✇➂➶♥✧➆✇♦⑨➙✝➂➄➅☞r➇➦★➃❅➠

➟☞r➇➅✇➆☞r☎➟☞r➇➙✝➃❂♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦✟➵Ï➃❅➦➄♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✂➯❂➆☞r➇➆☞r✂➵Ï♦q♣❅s

Eb = A2
k;

✒ à❸➷ à➇Þ ✲

• sk(t)
➯✑r✂➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r◗➆✇➃❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦◗➆✇♦◗♠✇➙✝♠✆☎➇♣✝➂➄♦

k
➷❐❧✭♥✤r⑩➹✇r☎➆✇♦◗➥✙✦❸➆✇➂➄➩q♦✂➆✇➃✑➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✇Ý

(fc = 1/Tc)
Ý❙➯☎➠✟♠✇➂➶♥✍♦✫➠✫r➇➂➄♦q♣✧➆✇♦❊➪➌♠✇➃✂r✫♥✤r⑩➹✇r⑨➆✇➃☎➟✇➂➶♥

(fb = 1/Tb)
➷✑➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý❙➠✟♠✇➦➶♥✍➂➄➵✇➦➄➂➄➥➞r➇♣✶♦

➙✝➂➄➅☞r➇➦ ✖✩➾✹✏✦Õ ➵Ï♦q♣
sk(t)

➃❅➪➌♠✇➂ Ù r➇➦➄➃✩r✷➃❅➙✝➵☞r➇➦➄➫✆☎⑩➴ ➦➄♦✧➅☞r✛Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✷➵Ï♦q♣✖♠✇➠✰Ó➔r②♥✍♦q♣✖➂➄➩q♠☞r➇➦❸r➇♦✷➩④r➇➅✇➫✇♦✳➆✇➃
➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦✇Ý

Gp

➷✏➨❿➙✝➙✍r⑨Ó⑤♦q♣✝➠✫r◗➆✇➃☎♦q➅✇➆☞r⑨➥❅♦q➅✇➙✝➂➄➙➛♥✍➃☎➃❅➠✾♠✇➠✫r⑨➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r❊➵✇➙✝➃❅♠✇➆✇♦②➴Ôr➇➦➄➃➞r②♥ ✦q♣✝➂➭r✦Ý
♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➆☞r◗➵Ï♦q♣❅s

sk(t) =
1

√

Gp

Gp−1
∑

n=0

sk,n pf (t − nTc) ,
✒ à❸➷ à❸ß ✲

➃❅➠ ➪➌♠✇➃
Tc

➯❂➵Ï➃❅♣✝➘➄♦❸➆✇♦✂➆✇➃❂➥✤➫✇➂➄➵❙Ý
sk,n ǫ{ ☎ ßqÝ ➴✤ß } ➯❂♦ n

➴ ➯❅➙✝➂➄➠◗♦☎➃❅➦➄➃❅➠◗➃❅➅④♥✍♦◗➆☞r✂➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r◗➵✇➙✝➃❅♠✇➆✇♦②➴
r➇➦➄➃➞r②♥ ✦q♣✝➂➭r✏➃

pf(t)
➯❂r☎Ó⑤♦q♣✝➠✫r✟➆✇➃❂♦q➅✇➆☞r☎➆✇➃ ✰ ✏✛✕ ✎ ➅✇♦q♣✝➠✫r➇➦➄➂✚✘➞r➇➆☞r✏➆✇➃❂➆✇♠✇♣✍r➇➜➞➝➇♦

Tc

➷



�✂✁☎✄✁� ✞✄✂ ✆✟✁✆☎✞✝✠✟✡☎☛✂☞� ✁✆☎ � �

❧❤➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✣➆✇➃➳➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✘➯⑧➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➆☞r☞✘❅➃❅♣✝♦ Ó⑤♦q♣✍r ➆✇♦✘➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦
[0, Tb]

Ý✷➦➄♦q➩q♦ ➅☞➝➇♦
➙✝➃➚♦q➟✇➙✝➃❅♣ Ù r➸r⑧➵✇♣✝➃❅➙✝➃❅➅✇➜➞r➸➆✇➃Û➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r⑧➂➄➅④♥✍➃❅♣✝➙✝➂➄➠✟➟ ✦q➦➄➂➄➥➞r ✒ ➼ ✏❸➼ ✲ ➷❼❧✛➦➄➯❅➠❉➆✇➂➄➙✝➙✝♦✇Ý✩➆☞r➳➆✇➃ ✼☞➅✇➂➄➜➞➝➇♦
r➇➅④♥✍➃❅♣✝➂➄♦q♣❅Ý✇➙✝➃❅➩q♠✇➃❂➪➌♠✇➃✏r✟Ó⑤♦q♣✝➠✫r✟➆✇➃❂♦q➅✇➆☞r✂➆☞r☎➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r◗➆✇➃❂➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✂➯❂♣✝➃➞r➇➦❙➃➇Ý

‖sk‖2 =

∫ Tb

0

|sk(t)|2dt = 1;
✒ à❸➷ àqà ✲

• n(t)
➯❐♦✓♣✝♠✇➘➄➆✇♦✧r➇➆✇➂➶♥✍➂ Ù ♦✓➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦✓➟✇♣✍r➇➅✇➥❅♦✇Ý②➪➌♠✇➃❐♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r✛♦✧♣✝♠✇➘➄➆✇♦✶♥✍➯❅♣✝➠◗➂➄➥❅♦✓➃❼♦q♠✦♥✍♣✍r➇➙❇Ó⑤♦q➅④♥✍➃❅➙→➆✇➃

♣✝♠✇➘➄➆✇♦☎➅☞➝➇♦✂♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆☞r➇➙✩r➇♦q➙✶➙✝➂➄➅☞r➇➂➄➙✡♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙❅➷Ñ➾→♦q➙✝➙✝♠✇➂★➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃❂➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦❇➆✇➃✳➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r
♠✇➅✇➂➶♥ ☎➇♣✝➂➭r✦➷

✞✠✟✁�✎✟☛✡ ☎ ✖ ✥✑✯✱✖✘✜✰✖✘✏✕✙✛✓✍✎✑✏☞✚✄✂ ✓ ✙✰✯ ✡✪✭✑✡✪✓☞★
➽➚r②♥✍➃❅➠✫r②♥✍➂➄➥➞r➇➠◗➃❅➅④♥✍➃➇Ý➌♦✟➠◗♦❸➆✇➃❅➦➄♦✑➥❅♦q➅④♥✍➘➄➅➌♠✇♦✟➅✇♦✏♥✍➃❅➠◗➵Ï♦✏➅✇♦q➙❐Ó⑤♦q♣✝➅✇➃❅➥❅➃✛♠✇➠✫r✏➆✇➃❅➙✝➥❅♣✝➂➄➜➞➝➇♦✟➃❜➹✇r②♥✤r✏➆✇♦✟➙✝➂➄➅☞r➇➦

♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷✖➨❿➅④♥✍♣✝➃✯♥✤r➇➅④♥✍♦✇Ý②➅☞r✶➵✇♣✥☎②♥✍➂➄➥➞r✦Ý➏♦✓➙✝➂➄➅☞r➇➦➇♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✧➯❿♠✇➙✝♠☞r➇➦➄➠◗➃❅➅④♥✍➃❿➥❅♦q➅ Ù ➃❅♣➛♥✍➂➄➆✇♦✓➵☞r➇♣✍r✶♠✇➠✫r✩➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r
➆✇➂➄➙✝➥❅♣✝➃✯♥✤r⑧➅✇♦⑧♥✍➃❅➠◗➵Ï♦⑧➵☞r➇♣✍r➳➪➌♠✇➃➚➵Ï♦q➙✝➙✍r➇➠◗♦q➙◗➵✇♣✝♦❸➥❅➃❅➙✝➙✥☎⑩➴ ➦➄♦✇➷ ↕ ➃❅➙✝➙✍r➸Ó⑤♦q♣✝➠✫r✦Ý❐♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠☎➴ ➙✝➃➚♦q➙◗➙✝➂➄➅☞r➇➂➄➙
r②♥✍♣✍r Ù ➯❅➙✩➆✇➃✷➠✫r②♥✍♣✝➂✚✘❅➃❅➙❅Ý❸➵Ï♦q➂➄➙✡r✶☎➇➦➄➩q➃❅➟✇♣✍r❂➠✫r②♥✍♣✝➂➄➥❅➂➭r➇➦✇Ó➔r➇➥❅➂➄➦➄➂➶♥✤r❂r✑➙✝♦q➦➄♠✇➜➞➝➇♦✟➆✇♦q➙✡➵✇♣✝♦q➟✇➦➄➃❅➠✫r➇➙❐➥❅♦q➠✸r✏➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦
➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷

➺✧➠✫r✏➠✫r➇➅✇➃❅➂➄♣✍r✑➆✇➃✳➥❅♦q➅ Ù ➃❅♣➛♥✍➃❅♣✧r✑Ó⑤♦q♣✝➠✫r✏➆✇➃✷♦q➅✇➆☞r✟♣✝➃❅➥❅➃❅➟✇➂➄➆☞r✦Ý
r(t)

Ý✦➃❅➠ ♠✇➠✫r✏➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r☎➆✇➂➄➙✝➥❅♣✝➃✯♥✤r✟➅✇♦
♥✍➃❅➠◗➵Ï♦✇Ý❇➯☎➃❜➹✦➵✇♣✝➃❅➙✝➙✥☎⑩➴ ➦➭rÛr②♥✍♣✍r Ù ➯❅➙❂➆✇➃✂➥❅♦❸➃ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➙✑➆✇➃✂♠✇➠✫r⑨➟☞r➇➙✝➃✂♦q♣➛♥✍♦q➩q♦q➅☞r➇➦ ➷ ➁ ➙✳➥❅♦❸➃ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➙✑➵Ï♦❸➆✇➃❅➠
➙✝➃❅♣✓➥➞r➇➦➄➥❅♠✇➦➭r➇➆✇♦q➙✶➥❅♦q➠◗♦☎➙✝➃❅➩q♠✇➃➇s

r1 =

∫ Tb

0

r(t)pf(t)dt,

r2 =

∫ Tb

0

r(t)pf(t − Tc)dt,
➷➷➷

rGp =

∫ Tb

0

r(t)pf(t − (Gp − 1)Tc)dt.
✒ à❸➷ à➇á ✲

❧✛➙✝➙✝➂➄➠ÛÝ➇♦✳➙✝➂➄➅☞r➇➦❸♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇Ýq➥❅♦q➠◗♦✷➆✇➃ ✼☞➅✇➂➄➆✇♦✷➅☞r✳➨❿➪✕➷ ✒ à❸➷➶ß✖✩ ✲ Ý➇➵Ï♦❸➆✇➃✡➙✝➃❅♣❿➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦❂➅☞r✛Ó⑤♦q♣✝➠✫r✧➠✫r②♥✍♣✝➂➄➥❅➂➭r➇➦
➥❅♦q➠◗♦✇s

r = GAb + n,
✒ à❸➷ à✥✏ ✲

➃❅➠ ➪➌♠✇➃ ✟ ➯✧♠✇➠✫r❂➠✫r②♥✍♣✝➂✚✘✶➆✇➃✧➆✇➂➄➠◗➃❅➅✇➙✍➝➇♦
K ×K

Ý❸➥❅♠ ✂✝♦q➙❐➃❅➦➄➃❅➠◗➃❅➅④♥✍♦q➙❐➥❅♦q♣✝♣✝➃❅➙✝➵Ï♦q➅✇➆✇➃❅➠✸➡➇➙❐➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✩➆✇➃
➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✇Ý ⑦ ➯✂r⑨➠✫r②♥✍♣✝➂✚✘✏➆✇➂➭r➇➩q♦q➅☞r➇➦✖➆✇➃☎➆✇➂➄➠◗➃❅➅✇➙✍➝➇♦

K × K
Ý❇➥❅♠ ✂✝♦q➙❂➃❅➦➄➃❅➠◗➃❅➅④♥✍♦q➙✷♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠❤r➇➙

r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙❿➆✇♦q➙✡➙✝➂➄➅☞r➇➂➄➙❼♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦q➙❐➃ ✷ ➃ ⑥ ➙✍➝➇♦ Ù ➃✯♥✍♦q♣✝➃❅➙✡➥❅♦q➦➄♠✇➅☞r✦Ý➌➆✇➃✛➆✇➂➄➠◗➃❅➅✇➙✍➝➇♦
K
Ý❸➪➌♠✇➃✛♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠ÛÝ

♣✝➃❅➙✝➵Ï➃❅➥✯♥✍➂ Ù r➇➠◗➃❅➅④♥✍➃➇Ý☞♦q➙✓➟✇➂➶♥✍➙✩♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙✩➃✳♦◗♣✝♠✇➘➄➆✇♦✇➷
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❧❲➠✫r②♥✍♣✝➂✚✘✑➆✇➃✟➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✫➥❅♣✝♠✣✘➞r➇➆☞r✦Ý ➍ Ý ➯✟➆✇➃ ✼☞➅✇➂➄➆☞r✫➆✇➃✏Ó⑤♦q♣✝➠✫r◗➪➌♠✇➃✟➙✝➃❅♠✇➙✳➃❅➦➄➃❅➠◗➃❅➅④♥✍♦q➙✷♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✍➃❅➠
r➇➙✓➥❅♦q♣✝♣✝➃❅➦➭r➇➜✪✍❸➃❅➙✶➃❅➅④♥✍♣✝➃✏r➇➙✶➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✧➆✇➃✑➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✇Ý✇➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦q➙✛➵Ï♦q♣❅s

ρkj =

∫ Tb

0

sk(t)sj(t)dt.
✒ à❸➷ à✠✔ ✲

➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý☞➙✝➃
k = j

Ý
ρkj = 1

➃❂➙✝➃
k 6= j

Ý
0 ≤ ρkj < 1

➷
❧✛➙✝➙✝➂➄➠ ♥✍➃❅➠☎➴ ➙✝➃✳➪➌♠✇➃➇s

➍
=

✟ T ✟ =













ρ11 ρ12 · · · ρ1j

ρ21 ρ22 · · · ρ2j➷➷➷ ➷➷➷ ➷ ➷ ➷ ➷➷➷

ρk1 ρk2 . . . ρkj













✒ à❸➷ à✦✑ ✲
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➻✧➃❅➙➛♥✍➃✏➥➞r➇➵✇➘➶♥✍♠✇➦➄♦✇Ý✕r➇➅☞r➇➦➄➂➄➙✍r➇➠☎➴ ➙✝➃✳r➇➙✛➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➘➄➙➛♥✍➂➄➥➞r➇➙✓➟✆☎➇➙✝➂➄➥➞r➇➙✧➆☞r◗➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦⑨➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷❐➼ ➅✇➂➄➥❅➂➭r⑩➴ ➙✝➃
➥❅♦q➠ r✳➆✇➃❅➙✝➥❅♣✝➂➄➜➞➝➇♦❂➆☞r✷➠✫r➇➂➄➙Ñ➙✝➂➄➠◗➵✇➦➄➃❅➙✖➃❅➙➛♥✍♣✍r②♥✍➯❅➩q➂➭r✷➆✇➃✓➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦❂➆✇➃✓➙✝➂➄➅☞r➇➂➄➙❿➲ ↕ ➽Û❧✏s➌♦ ✼☞➦➶♥✍♣✝♦✳➥➞r➇➙✍r➇➆✇♦✇➷❿➨❿➙✝➙✝➃
➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✶Ó⑤♦q➂ ♦✂➵✇♣✝➂➄➠◗➃❅➂➄♣✝♦☎r➇➆✇♦➇♥✤r➇➆✇♦☎➅☞r☎➂➄➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇➜➞➝➇♦✟➆✇➃✳♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✝➃❅➙✷➲ ↕ ➽Û❧✏Ý☞➃❂➯✷Ó⑤♣✝➃❅➪✷✶✇➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃
➥❅♦q➅✇➫✇➃❅➥❅➂➄➆✇♦ ➥❅♦q➠◗♦❻➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❀➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷ ➨❿➠❑➙✝➃❅➩q♠✇➂➄➆☞r✦Ý✛➆✇➃❅➙✝➥❅♣✝➃ Ù ➃❅➠☎➴ ➙✝➃⑧♦ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓✦➇♥✍➂➄➠◗♦➑➃▲♦q➙
➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✧➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✟➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➃✳➆✇➃❂➠◗➘➄➅✇➂➄➠◗♦✟➃❅♣✝♣✝♦✂➪➌♠☞r➇➆✇♣✥☎②♥✍➂➄➥❅♦✂➠◗➯❅➆✇➂➄♦ ✒ ➽✻➽✑✏✦➨ ✲ ➷

✏ ✄✝✆ ❋❍❆✩❘★❆✓❫❐❘★◆❂❝ ❱✰◆✏✽☎❡✟❆✓✽❀❫✡❃✯◆✏✽❀❚❂❁

➁ ➃❅➙✝➪➌♠✇➃❅➠✫r✏➠✫r➇➂➄➙❿➙✝➂➄➠◗➵✇➦➄➃❅➙❿➵☞r➇♣✍r✑➙✝➃✧➆✇➃❅➠◗♦❸➆✇♠✇➦➭r➇♣❿➙✝➂➄➅☞r➇➂➄➙✡➲ ↕ ➽Û❧ ➯✛r②♥✍♣✍r Ù ➯❅➙✡➆✇♦✑♠✇➙✝♦✏➆✇➃ ✼☞➦➶♥✍♣✝♦q➙❼➥➞r➇➙✍r⑩➴
➆✇♦q➙✧➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➂➄➙ ✓✲✮ ✓✔✵✤❄ ✮ ✰✱✖ ✄✌✢ ✖✴☞ ✕ ✰✱✖ ✤ ✔ ✓ ✤✭☞ ✰ ✏✆✢ ✠ ✵ ✕☎✔✯☞ ✢ ✬ ✗ ➷✩➻✛r✂➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✫➥❅♦q➠❞♦ ✼☞➦➶♥✍♣✝♦✂➥➞r➇➙✍r➇➆✇♦✇Ý☞♦
♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅Ý❸➵☞r➇♣✍r✑♠✇➠ ➆☞r➇➆✇♦✏♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➌➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r✳♦✏➙✝➂➄➅☞r➇➦☞♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✏➥❅♦q➠ r✑➙✝♠☞r✏r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r✑➃✧♦❂♥✍♣✍r➇➅✇➙Ô➴
Ó⑤➃❅♣✝➃☎➵☞r➇♣✍r⑨♦❊➆✇➂➄➙✝➵Ï♦q➙✝➂➶♥✍➂ Ù ♦⑨➆✇➃☎➆✇➃❅➥❅➂➄➙✍➝➇♦✇➷ ➁ ➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦❀➆✇➃❅➙✝➙✝➃✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✳➆✇➃❅➵Ï➃❅➅✇➆✇➃✂➆☞r➇➙✳➵✇♣✝♦q➵✇♣✝➂➄➃❅➆☞r➇➆✇➃❅➙
➆✇➃◗➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦Û➃❅➅④♥✍♣✝➃✫♦q➙✑➥✙✦❸➆✇➂➄➩q♦q➙❅➷✴✡✓➃❅➪➌♠✇➃❅♣Ô➴ ➙✝➃✫➪➌♠✇➃✫♦ Ù r➇➦➄♦q♣✳➆☞r➚r➇♠✦♥✍♦❸➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦❀➆☞r➇➙✑➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✟➆✇➃
➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✂➙✝➃ ✂✍r✂➠✟♠✇➂➶♥✍♦☎➠✫r➇➂➄♦q♣✡➪➌♠✇➃✏r☎➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✂➥❅♣✝♠✣✘➞r➇➆☞r✂➃❅➅④♥✍♣✝➃✑r➇➙✧r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r➇➙❅➷

✏❸♠✇➵Ï♦q➅✇➫☞r☎➪➌♠✇➃✑➆✇➃❅➙✝➃ ✂✝➃❅➠◗♦q➙✓➆✇➃✯♥✍➃❅➥✯♥✤r➇♣✓♦◗➙✝➂➄➅☞r➇➦❙➆✇♦✂♠✇➙✝♠✆☎➇♣✝➂➄♦
k
➷❐➻✛r☎➙✍r➇➘➄➆☞r☎➆✇♦✚✼☞➦➶♥✍♣✝♦☎➥➞r➇➙✍r➇➆✇♦✂♥✍➃❅♣✝➃❅➠◗♦q➙❅s

yk =

∫ Tb

0

r(t)s∗k(t)dt,
✒ á✦➷➶ß ✲

➃❅➠ ➪➌♠✇➃✑♦✂♦q➵Ï➃❅♣✍r➇➆✇♦q♣
∗
♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r◗♦✂➥❅♦q➠◗➵✇➦➄➃❜➹✦♦✂➥❅♦q➅ ✂✝♠✇➩④r➇➆✇♦✂➆☞r Ù r➇♣✝➂ ☎ Ù ➃❅➦ ➷

✏❸♠✇➟✇➙➛♥✍➂➶♥✍♠✇➂➄➅✇➆✇♦◗r✂➨❿➪✕➷ ✒ à❸➷➶ß✖✩ ✲ ➅☞r✂➨❿➪✕➷ ✒ á✦➷➶ß ✲ Ý✦♥✍➃❅➠☎➴ ➙✝➃✳➪➌♠✇➃➇s

yk =

∫ Tb

0

(

K
∑

j=1

Ajbjsj(t) + σn(t)

)

s∗k(t)dt
✒ á✦➷ à ✲

ß✖✒
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yk = Akbk

∫ Tb

0

| sk(t) |2 dt +
K
∑

j=1
j 6=k

Ajbj

∫ Tb

0

sj(t)s
∗
k(t)dt + nk

✒ á✦➷ á ✲

= Akbk +
K
∑

j=1
j 6=k

Ajbjρkj + nk,
✒ á✦➷ ✏ ✲

➃❅➠ ➪➌♠✇➃
nk

Ù r➇➦➄➃➇s

nk = σ

∫ Tb

0

n(t)s∗k(t)dt.
✒ á✦➷ ✔ ✲

❧✛➅☞r➇➦➄➂➄➙✍r➇➅✇➆✇♦✧r✧➨❿➪✕➷ ✒ á✦➷ ✏ ✲ ♥✍➃❅➠☎➴ ➙✝➃❼➪➌♠✇➃✡♦✧➵✇♣✝➂➄➠◗➃❅➂➄♣✝♦✶♥✍➃❅♣✝➠◗♦✧♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r✛♦✧➙✝➂➄➅☞r➇➦➌➆✇♦✧♠✇➙✝♠✆☎➇♣✝➂➄♦✧➆✇➃❅➙✝➃ ✂✍r➇➆✇♦✇Ý
♦➸➙✝➃❅➩q♠✇➅✇➆✇♦⑧♥✍➃❅♣✝➠◗♦⑧♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r❻r➳➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r⑧➥➞r➇♠✇➙✍r➇➆☞r⑧➵Ï➃❅➦➄♦⑧➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦➳r➇➥❅➃❅➙✝➙✝♦ ✒ ➽Û❧✛➼✑➴ ✓✑✙ ✔✯☞ ✕ ✎✟✔ ✢

�✱✰✲✰ ✢✑✆✑✆ ✼ ✖✴☞ ✢ ✬✌✦✁✢ ✬✥✢ ✖ ✰ ✢ ✲ ➡✷➪➌♠☞r➇➦✦➃❅➦➄➃✩➃❅➙➛♥ ☎✳➙✝♠ ✂✝➃❅➂➶♥✍♦✷➃✶♦✷♥✍➃❅♣✝➥❅➃❅➂➄♣✝♦✛♥✍➃❅♣✝➠◗♦✇Ýq➵Ï♦q♣Ñ➙✝♠☞r Ù ➃✙✘➇Ý➌➯✶♦✳♣✝♠✇➘➄➆✇♦✷➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦
➟✇♣✍r➇➅✇➥❅♦✇➷❼➻✧♦➇♥✍➃✳➪➌♠✇➃❂r☎➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✟➆✇➃

n(t)
➥❅♦q➠ r✟➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✂➵✇➙✝➃❅♠✇➆✇♦②➴Ôr➇➦➄➃➞r②♥ ✦q♣✝➂➭r✑♣✝➃❅➙✝♠✇➦➶♥✤r✟♥✤r➇➠✟➟Ï➯❅➠✸♠✇➠

♣✝♠✇➘➄➆✇♦▲➟✇♣✍r➇➅✇➥❅♦➳➃❀➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦✇Ý
nk

➷❻➺✧➠✫r Ù ➃✙✘Û➪➌♠✇➃❀♦q➙☎➥✙✦❸➆✇➂➄➩q♦q➙✟➙✍➝➇♦➳➵✇♣✝♦ ✂✝➃✯♥✤r➇➆✇♦q➙✂➵☞r➇♣✍r➳r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇♣✝➃❅➠
➟☞r➇➂ ➹✇r➇➙✟➥❅♦q♣✝♣✝➃❅➦➭r➇➜✪✍❸➃❅➙☎➥❅♣✝♠✣✘➞r➇➆☞r➇➙❅Ý❼➙✝➃❀➥❅♦q➠◗➵☞r➇♣✍r➇➆☞r➇➙☎➡▲r➇♠✦♥✍♦❸➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✇ÝÑ♦➳➃✯Ó⑤➃❅➂➶♥✍♦✻➆☞r▲➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✻➆✇♦q➙
♦q♠✦♥✍♣✝♦q➙✓♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✶➙✝♦q➟✇♣✝➃❂♦

k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✂➯✳Ó⑤♦q♣➛♥✍➃❅➠◗➃❅➅④♥✍➃❂♣✝➃❅➆✇♠✣✘❅➂➄➆✇♦✇➷

❧✭➤✖➂➄➩✇➷❿á✦➷➶ß❂➂➄➦➄♠✇➙➛♥✍♣✍r☎r✂➃❅➙➛♥✍♣✝♠✦♥✍♠✇♣✍r✂➆✇♦✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷

r(t)


s

1

*(t)


s

2

*(t)


s

K

*(t)


T

b


T

b


T

b


b

1


^


b

2


^


b

K


^


b


b


b


✍✏✎✒✑✔✓✖✕✘✗ �✜✛✒✢✔✣ ✍ ✪☛✳☛✕☛✓✖✳☛✓✖✕✘✗✚✬✖✷ ✕✄✦✰✲✰✦✩✱✖✳✄✷✮✕ ✲✰✷✮★ ✆ ✦✩★✫✲✩✎✭✷✮★✻✗✡✴ ✛
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❧❻♦q➵Ï➃❅♣✍r➇➜➞➝➇♦✧♣✝➃➞r➇➦➄➂✚✘➞r➇➆☞r✡➵Ï➃❅➦➄♦✓➆✇➃✯♥✍➃❅➥✯♥✍♦q♣★➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦➌➵Ï♦❸➆✇➃Ñ♥✤r➇➠✟➟Ï➯❅➠ ➙✝➃❅♣★➃❜➹✦➵✇➦➄➂➄➥➞r➇➆☞r✶➅✇♦✓➆✇♦q➠◗➘➄➅✇➂➄♦✩➆☞r
Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦➷❿Ú→♦❸➆✇♦q➙✡♦q➙✩➙✝➂➄➅☞r➇➂➄➙❐➥✤➫✇➃❅➩④r➇➠ r➇♦✟♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✩➃❅➙✝➵☞r➇➦➄➫☞r➇➆✇♦q➙✡➅☞r✑Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✏➵Ï♦q♣✡♠✇➠ Ó➔r②♥✍♦q♣❐➆✇➃

Gp♦◗➪➌♠✇➃✏➃❅➪➌♠✇➂ Ù r➇➦➄➃✑r◗♣✝➃❅➆✇♠✣✘❅➂➄♣✧r◗➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃✑➃❅➙✝➵Ï➃❅➥✯♥✍♣✍r➇➦→➆✇➃✑➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✂➆✇♦✫➙✝➂➄➅☞r➇➦❇➆✇➃✑➟☞r➇➅✇➆☞r◗➃❅➙➛♥✍♣✝➃❅➂➶♥✤r✦➷✩❧✛➵ ✦q➙
➠✟♠✇➦➶♥✍➂➄➵✇➦➄➂➄➥➞r➇♣✳♦▲➙✝➂➄➅☞r➇➦❐♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦▲➵Ï➃❅➦➄♦✻➥✙✦❸➆✇➂➄➩q♦➚➆✇♦▲♠✇➙✝♠✆☎➇♣✝➂➄♦

k
Ý❿♦▲➙✝➂➄➅☞r➇➦❐♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃❀r➇♦

k
➴ ➯❅➙✝➂➄➠◗♦➚♠✇➙✝♠✆☎➇♣✝➂➄♦

Ù ♦q➦➶♥✤r➑r✣✼☞➥➞r➇♣⑨➥❅♦q➅④♥✍♣✍r➇➘➄➆✇♦➑➃❅➠ ➙✝♠☞r➑➟☞r➇➅✇➆☞r➑➆✇➃✻➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦⑧♦q♣✝➂➄➩q➂➄➅☞r➇➦ ➷ ➁ ➙⑨♦q♠✦♥✍♣✝♦q➙⑨➙✝➂➄➅☞r➇➂➄➙❅Ý✶➥❅♦q➅④♥✍♠✇➆✇♦✇Ý
➵Ï➃❅♣✝➠✫r➇➅✇➃❅➥❅➃❅➠✾➃❅➙✝➵☞r➇➦➄➫☞r➇➆✇♦q➙✛➅✇♦⑨➆✇♦q➠◗➘➄➅✇➂➄♦✂➆☞r◗Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r ✒ ➂ ➷ ➃➇➷➶ÝÏ♦⑨➵✇♣✝♦❸➆✇♠✦♥✍♦

sj(t)sk(t)
➃❅➪➌♠✇➂ Ù r➇➦➄➃✏r✫♠✇➠

➅✇♦ Ù ♦✏➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦ ✲ ➷✖❧ ➂➄➅④♥✍➃❅➩q♣✍r➇➜➞➝➇♦✳Ó⑤♠✇➅✇➥❅➂➄♦q➅☞r✳➃❅➅④♥✤➝➇♦✑➥❅♦q➠◗♦❂♠✇➠ ✼☞➦➶♥✍♣✝♦✳➵☞r➇➙✝➙✍r⑩➴ ➟☞r➇➂ ➹✇r❂➥❅♦q➠❲Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r
➆✇➃✓➥❅♦q♣➛♥✍➃✧➂➄➩q♠☞r➇➦☞r ±1/Tb

➷❿➻✧➃❅➙✝➙✍r❂Ó➔r➇➂ ➹✇r✳➆✇➃✶Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦Ý❸♦✑➙✝➂➄➅☞r➇➦✇➆✇➃✧➂➄➅④♥✍➃❅♣✝➃➏à②➙✝➙✝➃✧➃❅➙➛♥ ☎❂➥❅♦q➠ ➙✝♠☞r❂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r
♣✝➃❅➙➛♥✤r➇➟Ï➃❅➦➄➃❅➥❅➂➄➆☞r✷➃✩♦q➙Ñ➙✝➂➄➅☞r➇➂➄➙Ñ➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙❿➥❅♦q➠❲➙✝♠☞r➇➙❿➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r➇➙✖♣✝➃❅➆✇♠✣✘❅➂➄➆☞r➇➙❿➵Ï♦q♣Ñ♠✇➠✭Ó➔r②♥✍♦q♣Ñ➵✇♣✝♦q➵Ï♦q♣✝➥❅➂➄♦q➅☞r➇➦
r➇♦✂➩④r➇➅✇➫✇♦✂➆✇➃❂➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦✇➷

➤✕r ✘❅➃❅➅✇➆✇♦☎♠✇➙✝♦✂➆☞r✟➅✇♦➇♥✤r➇➜➞➝➇♦☎➠✫r②♥✍♣✝➂➄➥❅➂➭r➇➦ Ý➌r✟➙✍r➇➘➄➆☞r✟➆✇♦✶✼☞➦➶♥✍♣✝♦✟➥➞r➇➙✍r➇➆✇♦✂➵☞r➇♣✍r✟♦
k
➴ ➯❅➙✝➂➄➠◗♦✟♠✇➙✝♠✆☎➇♣✝➂➄♦☎➯✷➆☞r➇➆☞r

➵Ï➃❅➦➄♦✂➵✇♣✝♦❸➆✇♠✦♥✍♦ Ù ➃✯♥✍♦q♣✝➂➭r➇➦ s

yk =
✈②➀

k.
✒ á✦➷ ✑ ✲

➾✖r➇♣✍r✏♠✇➠✫r✏➠◗♦❸➆✇♠✇➦➭r➇➜➞➝➇♦ ✖✩➾✹✏✦Õ☎Ý✇r✟➆✇➃❅➥❅➂➄➙✍➝➇♦✟➯✛♥✍♦q➠✫r➇➆☞r✑➆✇➃✳r➇➥❅♦q♣✝➆✇♦✟➥❅♦q➠ r✟➵Ï♦q➦➭r➇♣✝➂➄➆☞r➇➆✇➃✓➆✇♦q➙✩➙✝➂➄➅☞r➇➂➄➙✡➡
➙✍r➇➘➄➆☞r☎➆✇♦✂➂➄➅④♥✍➃❅➩q♣✍r➇➆✇♦q♣❅Ý✇➆☞r☎➙✝➃❅➩q♠✇➂➄➅④♥✍➃❂Ó⑤♦q♣✝➠✫r✦s

b̂k =
➙✝➩q➅

(yk) .
✒ á✦➷ ✎ ✲

➨ Ù ➂➄➆✇➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃➇Ý→➙✝➃✫r➇➙✑r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r➇➙✷Ó⑤♦q♣✝➃❅➠❨♦q♣➛♥✍♦q➩q♦q➅☞r➇➂➄➙❅Ý❇r❀➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r❊➥➞r➇♠✇➙✍r➇➆☞r❀➵Ï➃❅➦➄♦q➙✳♦q♠✦♥✍♣✝♦q➙
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅ÝÑ♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➆☞r✻➵Ï➃❅➦➄♦➚➙✝➃❅➩q♠✇➅✇➆✇♦✻♥✍➃❅♣✝➠◗♦➚➆☞r✻➨❿➪✕➷ ✒ á✦➷ ✏ ✲ Ý✖➯⑨➃❅➦➄➂➄➠◗➂➄➅☞r➇➆☞r⑨➃⑨♦➚➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✟➥❅♦q➅ Ù ➃❅➅❸➴
➥❅➂➄♦q➅☞r➇➦→r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r⑨➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦ ✦➇♥✍➂➄➠◗♦✇➷✓➾→♦q♣✧♦q♠✦♥✍♣✝♦⑨➦➭r➇➆✇♦✇Ý☞➙✝➃✟♠✇➠✫r◗♦q♠➚➠✫r➇➂➄➙✧r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r➇➙✛➅☞➝➇♦◗Ó⑤♦q♣✝➃❅➠
♦q♣➛♥✍♦q➩q♦q➅☞r➇➂➄➙✡➡✟r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r✏➆✇♦✟♠✇➙✝♠✆☎➇♣✝➂➄♦✟➆✇➃❅➙✝➃ ✂✍r➇➆✇♦✇Ý☞r✏➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✏➆✇♦q➙✡♦q♠✦♥✍♣✝♦q➙✩♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✡➵Ï♦❸➆✇➃✧♥✍♦q♣✝➅☞r➇♣Ô➴
➙✝➃✑➃❜➹✦➥❅➃❅➙✝➙✝➂ Ù r◗➙✝➃✑r✂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r☎➆✇♦q➙✓➙✝➃❅♠✇➙✧➙✝➂➄➅☞r➇➂➄➙✩Ó⑤♦q♣✓➙✝♠ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃✑➃❅➦➄➃ Ù r➇➆☞r☎➥❅♦q➠❞♣✝➃❅➦➭r➇➜➞➝➇♦✂➡✂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r
➆✇♦✂➙✝➂➄➅☞r➇➦❇➆✇➃❂➂➄➅④♥✍➃❅♣✝➃❅➙✝➙✝➃➇➷

➁ ✼☞➦➶♥✍♣✝♦❊➥➞r➇➙✍r➇➆✇♦❀➯✂r❊➠◗➃❅➦➄➫✇♦q♣✛♥✍➯❅➥❅➅✇➂➄➥➞r❊➆✇➃✂➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦Û➵☞r➇♣✍r⑨➥➞r➇➅☞r➇➂➄➙✳❧✞✝✠✟❂➻✑➷★➨❿➅④♥✍♣✝➃✯♥✤r➇➅④♥✍♦Û➙✝➃❅♠⑧➆✇➃❅➙Ô➴
➃❅➠◗➵Ï➃❅➅✇➫✇♦ ➆✇➃❅➩q♣✍r➇➆☞r⑩➴ ➙✝➃➳r➇♦ ♠✇➙✥☎⑩➴ ➦➄♦❻➃❅➠ ➥➞r➇➅☞r➇➂➄➙❊➥❅♦q➠❯➽Û❧✛➼✤Ý✶➵Ï♦q➂➄➙❊r❻➠◗➃❅➙✝➠✫r➑➅☞➝➇♦ ➙✝➃⑧r➇➙✝➙✝➃❅➠◗➃❅➦➄➫☞r➑➅✇➃❜➴
➥❅➃❅➙✝➙✍r➇♣✝➂➭r➇➠◗➃❅➅④♥✍➃✏r➇♦◗♣✝♠✇➘➄➆✇♦✂➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦✇➷ ➁ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦→➅✇➃❅➩q➦➄➂➄➩q➃❅➅✇➥❅➂➭r☎r✂➵✇♣✝➃❅➙✝➃❅➅✇➜➞r✫➆✇➃✑♦q♠✦♥✍♣✝♦q➙
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✧➅✇♦◗➥➞r➇➅☞r➇➦★♦q♠❙ÝÏ➃❅➪➌♠✇➂ Ù r➇➦➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃➇Ý✕➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r◗➪➌♠✇➃✏♦◗♣✝♠✇➘➄➆✇♦◗➠✫r➇➂➄➙✧r✂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r◗➆✇♦q➙✧➠✶✵✇➦ ➴
♥✍➂➄➵✇➦➄♦q➙❼♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❐➯✛♠✇➠✫r Ù r➇♣✝➂ ☎ Ù ➃❅➦Ïr➇➦➄➃➞r②♥ ✦q♣✝➂➭r✳➩④r➇♠✇➙✝➙✝➂➭r➇➅☞r✦➷❿➻✛➝➇♦✏➫✆☎✑➥❅♦q➠◗➵☞r➇♣➛♥✍➂➄➦➄➫☞r➇➠◗➃❅➅④♥✍♦❂➆✇➃✛➂➄➅✦Ó⑤♦q♣✝➠✫r➇➜✪✍❸➃❅➙
➃❅➅④♥✍♣✝➃✳♦q➙✩♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✡➃✷➅✇➃❅➠ ➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦☎➥❅♦q➅ ✂✝♠✇➅④♥✍♦✇➷❼❧✛➵Ï➃❅➙✍r➇♣✩➆✇➃❅➙✝➙✝➃✳➂➄➅✇➥❅♦q➅ Ù ➃❅➅✇➂➄➃❅➅④♥✍➃➇Ý☞♦ ✼☞➦➶♥✍♣✝♦✟➥➞r➇➙✍r➇➆✇♦
➯✑r➇➠◗➵✇➦➭r➇➠◗➃❅➅④♥✍➃✷♠✇➙✍r➇➆✇♦◗➅✇♦q➙✓➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✧➲ ↕ ➽Û❧✰➆✇➃ Ù ➂➄➆✇♦◗➡✂➙✝♠☞r✂➙✝➂➄➠◗➵✇➦➄➂➄➥❅➂➄➆☞r➇➆✇➃➇➷

➻✛r⑨♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✍➝➇♦❀r➇➙✝➙✝➘➄➅✇➥❅♣✝♦q➅☞r✦Ý★♦❀➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❂➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦❿➯✂➠✫r➇➂➄➙ Ù ♠✇➦➄➅✇➃❅♣✥☎ Ù ➃❅➦❐r❊➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r❊➆✇➃
♦q♠✦♥✍♣✝♦q➙✳♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅Ý❙➵Ï♦q➂➄➙✷➅☞➝➇♦❊➯☎➵Ï♦q➙✝➙✝➘ Ù ➃❅➦Ñ➵✇♣✝♦ ✂✝➃✯♥✤r➇♣❅Ý❇➵☞r➇♣✍r⑨➪➌♠☞r➇➦➄➪➌♠✇➃❅♣✳➵☞r➇♣✷➆✇➃☎➙✝➂➄➅☞r➇➂➄➙❅Ý❇r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r➇➙✷♦q♣➛♥✍♦②➴
➩q♦q➅☞r➇➂➄➙✶➵☞r➇♣✍r✟♥✍♦❸➆✇♦q➙✶♦q➙✓➵Ï♦q➙✝➙✝➘ Ù ➃❅➂➄➙✧r②♥✍♣✍r➇➙✝♦q➙✶➃❅➅④♥✍♣✝➃✑➃❅➙➛♥✤r➇➙✓➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙❅➷

↕ ➃❅➙✝➙✝➃❐➠◗♦❸➆✇♦✇Ý⑩r✶➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✶➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✡➯❿➂➄➅✇➃ Ù ➂➶♥ ☎ Ù ➃❅➦➌r➇♦✓♠✇➙✍r➇♣✝➠◗♦q➙❇♦✓➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❇➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ Ý②➃
♦✧➃✯Ó⑤➃❅➂➶♥✍♦✓➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃➇Ý➏♣✝➃❅➙✝♠✇➦➶♥✤r➇➅④♥✍➃❼➆☞r✓➆✇➂➶Ó⑤➃❅♣✝➃❅➅✇➜➞r✓➃❅➅④♥✍♣✝➃❐r➇➙★➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r➇➙★♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙Ñr➇♦q➙★➆✇➂ Ù ➃❅♣✝➙✝♦q➙★♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅Ý



� ✞✡✆✟✞✰� ✆✟✞ ✁✂✁ ✄☎✄ ✆☞✂ ✄✔☎ ✄✽✟ ✁☛✂ ✁ ✠ �

➥❅♦q➠◗➵✇♣✝♦q➠◗➃✯♥✍➃✓♦✏➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✟➆✇♦✏➙✝➂➄➙➛♥✍➃❅➠✫r✦➷❿➺✧➠✫r❂➙✝♦q➦➄♠✇➜➞➝➇♦✏➙✝➃❅♣✝➂➭r❂♠✦♥✍➂➄➦➄➂✚✘➞r➇♣❿♠✇➠ ➠◗➯✯♥✍♦❸➆✇♦✑➆✇➃✛➥❅♦q➅④♥✍♣✝♦q➦➄➃✧➆✇➃
➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦Ý ➵Ï♦q♣✷➠◗➃❅➂➄♦✫➆✇➃✟♠✇➠❍➥➞r➇➅☞r➇➦✖➆✇➃✟➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦❊r⑨➵☞r➇♣➛♥✍➃➇Ý❙♦❊➪➌♠☞r➇➦→♥✍♦❸➆✇♦q➙✷♦q➙✷♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✷➃❅➙➛♥✤r➇♣✝➂➭r➇➠
➥❅♦q➅④♥✍➂➄➅➌♠☞r➇➠◗➃❅➅④♥✍➃❂➠◗♦q➅✇➂➶♥✍♦q♣✍r➇➅✇➆✇♦✇➷ ➁ ♠✦♥✍♣✍r☎♦q➵Ï➜➞➝➇♦✂➙✝➃❅♣✝➂➭r☎♦◗➃❅➠◗➵✇♣✝➃❅➩q♦✂➆☞r☎➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✫➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷

✏ ✄ ✂ ❋❍❆✩❘★❆✓❫✩❴✩❵❂◆❯❳❩❛❊❁❜❘★❃❅❛❀❄★❛❀✿✳❝✖❃✯◆

❧✸➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✻➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦⑨Ó⑤♦q➂❿➆✇➃❅➙✝➃❅➅ Ù ♦q➦ Ù ➂➄➆☞r➚➥❅♦q➠ ♦➚➂➄➅④♥✍♠✇➂➶♥✍♦❀➆✇➃✫➙✝➃◗➠◗➂➄➅✇➂➄➠◗➂✚✘➞r➇♣✛♦➚➵✇♣✝♦q➟✇➦➄➃❅➠✫r❊➆☞r
➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✻➵Ï♦q♣✏➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦➚r➇➥❅➃❅➙✝➙✝♦➳➂➄➅✇➃❅♣✝➃❅➅④♥✍➃❀r➇♦q➙✟➙✝➂➄➙➛♥✍➃❅➠✫r➇➙☎➲ ↕ ➽Û❧✏➷❼➺✓♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦➚r✻➃❅➙➛♥✍♣✝♠✦♥✍♠✇♣✍r▲➆✇♦q➙
➙✝➂➄➅☞r➇➂➄➙✧➲ ↕ ➽Û❧✰➵☞r➇♣✍r✂r➇➦➄➥➞r➇➅✇➜➞r➇♣✶➠◗➃❅➦➄➫✇♦q♣✩➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✇Ý☞♠✇➠ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✏➵Ï♦❸➆✇➃❂➆✇➃❅➠◗♦❸➆✇♠✇➦➭r➇♣
♦q➙✓➙✝➂➄➅☞r➇➂➄➙✩➆✇➃❂➆✇➂ Ù ➃❅♣✝➙✝♦q➙✓♥✍♣✍r➇➅✇➙✝➠◗➂➄➙✝➙✝♦q♣✝➃❅➙✶➙✝➂➄➠✟♠✇➦➶♥ ☎➇➅✇➃❅♦q➙❅➷

➁ ➙✑➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✟➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦❊➵Ï♦❸➆✇➃❅➠❤➙✝➃❅♣✑➟☞r➇➙✝➂➄➥➞r➇➠◗➃❅➅④♥✍➃✫➥❅➦➭r➇➙✝➙✝➂✽✼☞➥➞r➇➆✇♦q➙✑➃❅➠ ➆✇♠☞r➇➙✏➥➞r②♥✍➃❅➩q♦q♣✝➂➭r➇➙❅s✏♦q➙
➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙◗➦➄➂➄➅✇➃➞r➇♣✝➃❅➙✟➃❀♦q➙☎➆✇➃❀➥➞r➇➅✇➥❅➃❅➦➭r➇➠◗➃❅➅④♥✍♦➳➙✝♠✇➥❅➃❅➙✝➙✝➂ Ù ♦➸➆☞r➳➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✦➷ ➁ ➙☎➵✇♣✝➂➄➠◗➃❅➂➄♣✝♦q➙☎r➇➵✇➦➄➂➄➥➞r➇➠
♠✇➠❉➠✫r➇➵Ï➃➞r➇➠◗➃❅➅④♥✍♦➳➦➄➂➄➅✇➃➞r➇♣✂➡⑧➙✍r➇➘➄➆☞r▲➆✇♦➸➆✇➃✯♥✍➃❅➥✯♥✍♦q♣◗➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷ ➁ ➙✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙⑨➆✇➃Û➥➞r➇➅✇➥❅➃❅➦➭r➇➠◗➃❅➅④♥✍♦
➙✝♠✇➥❅➃❅➙✝➙✝➂ Ù ♦✇Ý✓➵Ï♦q♣◗➙✝♠☞r Ù ➃✙✘➇Ý✶➃❅➙➛♥✍➂➄➠✫r➇➠Pr⑧➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r⑧➩q➃❅♣✍r➇➆☞r⑧➃Û➃❅➠P➙✝➃❅➩q♠✇➂➄➆☞r➸r⑧➙✝♠✇➟✦♥✍♣✍r➇➃❅➠P➆✇♦➑➙✝➂➄➅☞r➇➦
♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷

➁ ➙Ñ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙❿➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✛r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠ r➇➦➄➩q♠✇➠✫r➇➙✖➂➄➠◗➵Ï♦q♣➛♥✤r➇➅④♥✍➃❅➙ Ù r➇➅④♥✤r➇➩q➃❅➅✇➙❅Ý➌r➇➙Ñ➪➌♠☞r➇➂➄➙Ñ➵Ï♦❸➆✇➃❅➠◗♦q➙
➆✇➃❅➙➛♥✤r➇➥➞r➇♣ ✡ ✒ ☞ s

• ✕ ③✝✆Ï⑥→③✁�Ñ①q✉✦➎⑩③✁✂Ï❹✱✉✆�→➱➸❾❸⑥Ï➎➏❹ ➓★✉ ①q✉✇❽→✉☞①④③➔➓★✉☞➓★❾ s☎♦➚➅✄✵✇➠◗➃❅♣✝♦✻➦➄➂➄➠◗➂➶♥✍➃✟➆✇➃✫♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✑➵Ï♦❸➆✇➃✫➙✝➃❅♣✟r➇♠❸➴
➠◗➃❅➅④♥✤r➇➆✇♦▲r②♥✍♣✍r Ù ➯❅➙☎➆☞r➚➂➄➅✇➥❅➦➄♠✇➙✍➝➇♦✻➆✇➃⑨➙✝➂➄➅☞r➇➂➄➙✑➵✇♣✝♦ Ù ➃❅➅✇➂➄➃❅➅④♥✍➃❅➙✂➆✇➃⑨➥❅➯❅➦➄♠✇➦➭r➇➙ Ù ➂✚✘❅➂➄➅✇➫☞r➇➙❅ÝÑ➅✇♦➳r➇➦➄➩q♦q♣✝➂➶♥✍➠◗♦
➆✇➃✏➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦❊➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦ ✒ ➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r◗➂➄➅④♥✍➃❅♣✝➥❅➃❅➦➄♠✇➦➭r➇♣ ✲ ➷✓➨❿➠✟➟Ï♦q♣✍r✫r◗➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦❊➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦
r➇➂➄➅✇➆☞r☎➅☞➝➇♦◗➙✝➃ ✂✍r☎Ó➔r➇➥✯♥✍➘ Ù ➃❅➦❇➵☞r➇♣✍r✂➥➞r➇➅☞r➇➦❇➆✇➂➄♣✝➃✯♥✍♦ ✒ ➅✇♦◗➙✝➃❅➅④♥✍➂➄➆✇♦✫➆☞r ✖ ✏❊➵☞r➇♣✍r✂♦✂➠ ✦ Ù ➃❅➦ ✲ ➃❅➠ ➙✝➂➄➙➛♥✍➃❅➠✫r➇➙
➲ ↕ ➽Û❧✏ÝÏr☎➦➄➂➄➠◗➂➶♥✤r➇➜➞➝➇♦✏♦❸➥❅♦q♣✝♣✝➃✳➅✇♦◗➥➞r➇➅☞r➇➦❙♣✝➃ Ù ➃❅♣✝➙✝♦ ✒ ➅✇♦◗➙✝➃❅➅④♥✍➂➄➆✇♦✂➆✇♦◗➠ ✦ Ù ➃❅➦❇➵☞r➇♣✍r✂r✩✖ ✏ ✲ ➷

• ❈⑨➎⑩③➔➒➔③☎✄④✉ ✝✠✟✇❹❀➱➸✉☞③➔➀✛❾✆�Ñ①④③⑤❾❸⑥Ï➎➏❾✫➓★❹Û❾❸➀❅❽❿❾❸①➇➎➏✈⑩❹➚⑥★❹✻①q✉☞⑥★✉☞➒→✈⑩❾✆✂Ï❾➌✈②➀❅❹ sÑr➇♠✇➠◗➃❅➅④♥✍♦❂➆✇➃✶➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦
➅✇♦⑧➥➞r➇➅☞r➇➦✶♣✝➃ Ù ➃❅♣✝➙✝♦➸➵Ï➃❅♣✝➠◗➂➶♥✍➃❊➪➌♠✇➃Û♦q➙✂➠ ✦ Ù ➃❅➂➄➙✂♦q➵Ï➃❅♣✝➃❅➠ ➥❅♦q➠❉➩④r➇➅✇➫✇♦q➙✂➆✇➃❀➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦➸➠✫r➇➂➄➙
➟☞r➇➂ ➹✦♦q➙❅Ý✇➥❅♦q➅✇➆✇♠✣✘❅➂➄➅✇➆✇♦✫r☎♠✇➠✫r☎➠◗➃❅➅✇♦q♣✶➦➭r➇♣✝➩q♠✇♣✍r✟➆✇➃✳Ó➔r➇➂ ➹✇r✟➆✇♦◗➃❅➙✝➵Ï➃❅➥✯♥✍♣✝♦◗➆✇➃✳Ó⑤♣✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✦➷

• ➍⑨❾✞✝ �→③➔➀➞③ ➎➏❹➳➓★❾Û①q❹Ï⑥Ï➎➏✈⑩❹Ï➒⑤❾Û➓★❾❀❽❿❹☞➎✠✟❸⑥→①④③⑤✉▲✈⑩❾❸➓ �✡✄➌③➔➓★❹ sÑ➃❅➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃✛➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➌♠✇➠✫r Ù ➃✙✘
♣✝➃❅➆✇♠✣✘❅➂➄➆✇♦➳♦➳➂➄➠◗➵☞r➇➥✯♥✍♦✻➆☞r➸➽Û❧✛➼✤ÝÑ♣✝➃❅➆✇♠✣✘❜➴ ➙✝➃❀♥✤r➇➠✟➟Ï➯❅➠ r▲➅✇➃❅➥❅➃❅➙✝➙✝➂➄➆☞r➇➆✇➃Û➆✇➃❊➪➌♠✇➃Ûr➇➙✂➃❅➅✇➃❅♣✝➩q➂➭r➇➙☎➆✇♦q➙
➙✝➂➄➅☞r➇➂➄➙✩➆✇➃✳♥✍♦❸➆✇♦q➙✓♦q➙✓♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✶➙✝➃ ✂✍r➇➠ ➂➄➩q♠☞r➇➂➄➙❅➷

• ❈⑨➎⑩③➔➒➔③☎✄④✉ ✝✠✟✇❹➳➱➸✉☞③➔➀✟❾✆�Ñ①④③⑤❾❸⑥Ï➎➏❾➚➓★❾➚❽❿❹☞➎✠✟❸⑥→①④③⑤✉ s❼r☎♣✝➃❅➆✇♠✇➜➞➝➇♦✂➆☞r☎➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r☎➅✇♦✂➥➞r➇➅☞r➇➦❙♣✝➃ Ù ➃❅♣✝➙✝♦
➵Ï➃❅♣✝➠◗➂➶♥✍➃✟♠✇➠✫r⑨♣✝➃❅➆✇♠✇➜➞➝➇♦Û➅✇♦❀♣✝➃❅➪➌♠✇➃❅➙✝➂➶♥✍♦Û➆✇➃☎➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r⑨♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆☞r✫➵Ï➃❅➦➄♦q➙✷➠ ✦ Ù ➃❅➂➄➙❅Ý★➵✇♣✝♦q➵✇➂➄➥❅➂➭r➇➅✇➆✇♦
➠✫r➇➂➄♦q♣✩r➇♠✦♥✍♦q➅✇♦q➠◗➂➭r✏➵☞r➇♣✍r◗r➇➙✶➟☞r②♥✍➃❅♣✝➂➭r➇➙✶➃➏Ò②♦q♠Û♣✝➃❅➆✇♠✣✘❅➂➄➅✇➆✇♦◗♦☎♥✤r➇➠✫r➇➅✇➫✇♦☎➆✇♦q➙✶♥✍➃❅♣✝➠◗➂➄➅☞r➇➂➄➙✩➠ ✦ Ù ➃❅➂➄➙❅➷

❧✛➵Ï➃❅➙✍r➇♣✏➆✇➃❅➙✝➙✝➃❅➙☎➟Ï➃❅➅✇➃✯Ó⑤➘➄➥❅➂➄♦q➙❅Ý✖♦q➙✏➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙☎➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦Ûr➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠❤♥✤r➇➠✟➟Ï➯❅➠➢r➇➦➄➩q♠✇➠✫r➇➙❂➦➄➂➄➠◗➂ ➴
♥✤r➇➜✪✍❸➃❅➙❅Ý☞➃❅➅④♥✍♣✝➃✑r➇➙✓➪➌♠☞r➇➂➄➙❅Ý☞➆✇➃❅➙➛♥✤r➇➥➞r➇➠☎➴ ➙✝➃➇s



� ✞✡✆✟✞✰� ✆✟✞ ✁✂✁ ✄☎✄ ✆☞✂ ✄✔☎ ✄✽✟ ✁☛✂ ✁ ✠☎✠

• ☎ ⑥Ï➎➏❾➌✈⑩➉ ❾➌✈ ✟❸⑥→①④③⑤✉ ✙✭⑦ ☎ ❾❸➱❪① ✁ ➒ �→➒⑤✉☞➀ ✂★③☎✄➌③➔⑥→↔★✉☞➀ s✡➃❅➠✾r➇➠✟➟✇➂➄➃❅➅④♥✍➃✑♠✇➅✇➂➄➥❅➃❅➦➄♠✇➦➭r➇♣❅Ý✕r◗➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦⑨➠✟♠✇➦ ➴
♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✟➂➄➆✇➃➞r➇➦ ♣✝➃❅➥❅♣✝➂➭r☎♠✇➠ ➥➞r➇➅☞r➇➦❙➃❅➪➌♠✇➂ Ù r➇➦➄➃❅➅④♥✍➃❂r➇♦☎➥➞r➇➅☞r➇➦❙➥❅♦q➠ ♠✇➠✜✵✇➅✇➂➄➥❅♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý✦♣✝➃❅➠◗♦ Ù ➃❅➅✇➆✇♦
♥✍♦❸➆☞r➚r✻➽Û❧✛➼✤➷✖➻✧♦➚➥➞r➇➙✝♦✻➆✇➃✫r➇➠✟➟✇➂➄➃❅➅④♥✍➃◗➠✟♠✇➦➶♥✍➂➄➥❅➃❅➦➄♠✇➦➭r➇♣❅Ý★r✻➽Û❧✛➼✷♥✍♦➇♥✤r➇➦ Ý→➆✇➃❅➙✝➵✇♣✝➃✙✘➞r➇➅✇➆✇♦②➴ ➙✝➃⑨♦➚♣✝♠✇➘➄➆✇♦
❧✞✝✠✟❂➻✑Ý☞➯❂➆☞r➇➆☞r☎➵Ï♦q♣❅s

Itotal = IMAI + rIMAI ,
✒ á✦➷ ✒ ✲

➃❅➠✰➪➌♠✇➃
IMAI

♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r❂r✷➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✷➂➄➅④♥✍♣✍r➇➥❅➃❅➦➄♠✇➦➭r➇♣❅Ý
r
➯✓r✛♣✍r ✘➞➝➇♦✳➃❅➅④♥✍♣✝➃✓r✳➽Û❧✛➼→➂➄➅④♥✍➃❅♣✝➥❅➃❅➦➄♠✇➦➭r➇♣

➃✏r◗➂➄➅④♥✍♣✍r➇➥❅➃❅➦➄♠✇➦➭r➇♣ ✒ ✆ ✎ ✕☎✔☎✔ ✰✂✄✌✢ ✬☛✬✎✤✭☞ ✕ ✰ ✲ ➷✓➺✧➠❞➥❅➃❅➅✆☎➇♣✝➂➄♦✫➵Ï♦q➙✝➙✝➘ Ù ➃❅➦★➥❅♦q➅✇➙✝➂➄➙➛♥✍➃✏➅☞r◗➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦❊r➇➵Ï➃❅➅☞r➇➙✧➆✇♦q➙
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙Ñ➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙❼➦➄♦❸➥➞r➇➦➄➂✚✘➞r➇➆✇♦q➙→➅☞r✷➠◗➃❅➙✝➠✫r✛➥❅➯❅➦➄♠✇➦➭r✦Ýq➅✇➃❅➩q➦➄➂➄➩q➃❅➅✇➥❅➂➭r➇➅✇➆✇♦✛♦q➙❿➆✇➃❅➠✫r➇➂➄➙✖➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅❸➴
♥✍➃❅➙✳➦➄♦❸➥➞r➇➦➄➂✚✘➞r➇➆✇♦q➙✓➅☞r➇➙✷♦q♠✦♥✍♣✍r➇➙✷➥❅➯❅➦➄♠✇➦➭r➇➙❅➷❂➻✧➃❅➙➛♥✍➃☎➥➞r➇➙✝♦✇Ý❙➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➅✇➆✇♦❊➙✝➂➄➙➛♥✍➃❅➠✫r❀➽➚➺ ↕ ➂➄➆✇➃➞r➇➦ Ý✕♥✍♦❸➆☞r
➽Û❧✛➼✳➂➄➅④♥✍♣✍r➇➥❅➃❅➦➄♠✇➦➭r➇♣❂➯✫➃❅➦➄➂➄➠◗➂➄➅☞r➇➆☞r✦Ý❇♣✝➃❅➙➛♥✤r➇➅✇➆✇♦▲r➇➂➄➅✇➆☞r➚r➚➵☞r➇♣✝➥❅➃❅➦➭r

rIMAI

➷➚➨✚➥❅♦q➠◗♦✻rÛ➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅❸➴
➥❅➂➭r✫➽Û❧✛➼✩➯✏➵✇♣✝♦q➵Ï♦q♣✝➥❅➂➄♦q➅☞r➇➦❇r➇♦◗➅✄✵✇➠◗➃❅♣✝♦✫➆✇➃✑♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✛r②♥✍➂ Ù ♦q➙❅Ý✕♦◗Ó➔r②♥✍♦q♣✓➆✇➃✑➩④r➇➅✇➫✇♦✫➆☞r✂➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃
➠ ☎⑩➹✦➂➄➠◗♦✟➙✝➃❅♣✥☎✂➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦⑨➵Ï♦q♣❅s

Gmax =
1 + r

r
.

✒ á✦➷ ✩ ✲

➺✧➠ Ù r➇➦➄♦q♣✖♥✍➘➄➵✇➂➄➥❅♦✳➵☞r➇♣✍r
r
➯✓➆☞r➇➆✇♦✑➵Ï♦q♣

r = 0.55
Ý④♦❂➪➌♠✇➃✧➵✇♣✝♦q➵Ï♦q♣✝➥❅➂➄♦q➅☞r

Gmax ≈ 2.8
➷❿➺✧➠ ➥❅➃❅➅✆☎➇♣✝➂➄♦

➠✫r➇➂➄➙❂Ó➔r Ù ♦q♣✥☎ Ù ➃❅➦✩➵Ï♦❸➆✇➃✫➙✝➃❅♣✟➃❅➙➛♥✤r➇➟Ï➃❅➦➄➃❅➥❅➂➄➆✇♦✻➥➞r➇➙✝♦➳r➚➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦▲➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦Û➙✝➃ ✂✍r➚➃❅➙➛♥✍➃❅➅✇➆✇➂➄➆☞r▲r➇♦q➙
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✓➆☞r➇➙✧➥❅➯❅➦➄♠✇➦➭r➇➙ Ù ➂✚✘❅➂➄➅✇➫☞r➇➙❅➷ ➁ ➟✦♥✍➯❅➠☎➴ ➙✝➃❂♠✇➠➧r➇♠✇➠◗➃❅➅④♥✍♦✫➆✇➃✑➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃➇Ý☞♥✤r➇➠✟➟Ï➯❅➠ÛÝ☞➪➌♠☞r➇➅✇➆✇♦
♦q➙✓♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✶➆✇➃❂➠✫r➇➂➄♦q♣✡➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r☎➆☞r➇➙✓➥❅➯❅➦➄♠✇➦➭r➇➙✓r➇➆ ✂✍r➇➥❅➃❅➅④♥✍➃❅➙✧➙✍➝➇♦✂➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➆✇♦q➙❅➷

• ➋❀③✁�Ñ① �→➒➔➓★✉☞➓★❾⑧➓★❾⑧③➔➱➸❽✖➒⑤❾❸➱➸❾❸⑥Ï➎➏✉ ✝✠✟✇❹ ⑥★❹✘①q✉☞⑥★✉☞➒✛➓→③⑤✈⑩❾④➎➏❹ s✩➵Ï♦q♣✛➪➌♠✇➃❅➙➛♥✥✍❸➃❅➙✳➆✇➃✟➥❅♠✇➙➛♥✍♦✇Ý ➥❅♦q➠◗➵☞r➇➥❜➴
♥✤r➇➜➞➝➇♦ ♦q♠ ➥❅♦q➅✇➙✝♠✇➠◗♦ ➆✇➃➳➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦Ý✛r➇➂➄➅✇➆☞r➑➅☞➝➇♦ ➯▲♣✍r ✘❅♦ ☎ Ù ➃❅➦❂r❻➂➄➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇➜➞➝➇♦➑➆☞r❻➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦
➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦⑨➅✇♦➚♣✝➃❅➥❅➃❅➵✦♥✍♦q♣✑➠ ✦ Ù ➃❅➦ ➷◗➼ ➅✇➂➄➥❅➂➭r➇➦➄➠◗➃❅➅④♥✍➃➇Ý❙♥✍➃❅➠☎➴ ➙✝➃✂➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✍r➇➆✇♦➚➙✝➃❅♠➸♠✇➙✝♦➚➅☞r❀➃❅➙➛♥✤r➇➜➞➝➇♦
♣✥☎➇➆✇➂➄♦②➴ ➟☞r➇➙✝➃ ✒ ➃❅➅✇➦➭r➇➥❅➃✶♣✝➃ Ù ➃❅♣✝➙✝♦ ✲ ➷❐➲✡♦q➅④♥✍♠✇➆✇♦✇Ý✦r➇♠✇➠◗➃❅➅④♥✤r➇♣❼r❂➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃✓r➇➵Ï➃❅➅☞r➇➙❼➆✇♦✑➃❅➅✇➦➭r➇➥❅➃✓♣✝➃ Ù ➃❅♣✝➙✝♦✇Ý
➅☞➝➇♦❀r➇♠✇➠◗➃❅➅④♥✤r❊r❊➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃✟➆✇♦❀➙✝➂➄➙➛♥✍➃❅➠✫r✫➥❅♦q➠◗♦❊♠✇➠✾♥✍♦❸➆✇♦✇➷✏➨❿➙➛♥✤r❊➦➄➂➄➠◗➂➶♥✤r➇➜➞➝➇♦☎♥✍➃❅➠❍➙✝➃☎♥✍♦q♣✝➅☞r➇➆✇♦
➠◗➃❅➅✇♦q♣✛➥❅♦q➠➧♦❊r Ù r➇➅✇➜❅♦q➙✷➅☞r✴☎➇♣✝➃➞r✫➆✇➃✟➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦❊➆✇➂➄➩q➂➶♥✤r➇➦❇➆✇➃✏➙✝➂➄➅☞r➇➂➄➙❅ÝÏ➵Ï♦q➙✝➙✝➂➄➟✇➂➄➦➄➂➶♥✤r➇➅✇➆✇♦◗r✫➂➄➠☎➴
➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇➜➞➝➇♦✇Ý✦♥✤r➇➠✟➟Ï➯❅➠ÛÝ✦➅☞r✂➃❅➙➛♥✤r➇➜➞➝➇♦✂➠ ✦ Ù ➃❅➦ ➷

✏ ✄✑✏ ❋❍❆✩❘★❆✓❫❐❘★◆❂❝➧❳❩❛❊❁❜❘★❃❅❛❀❄★❛❀✿✳❝✖❃✯◆✄✂ ❘★❃❅■❑◆

➁ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣ ✦➇♥✍➂➄➠◗♦➸➃❅➙➛♥✍➂➄➠✫r➸♠✇➠✫r➸➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r
b
Ý✓➃❅➙✝➥❅♦q➦➄➫✇➂➄➆☞r➸➵☞r➇♣✍r➑➠✫r⑩➹✦➂➄➠◗➂✚✘➞r➇♣◗r➑➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃

➆✇➃
b
♥✍➃❅♣❊➙✝➂➄➆✇♦❻➃❅➅ Ù ➂➭r➇➆☞r❻➆☞r➇➆✇♦ ➪➌♠✇➃

r(t)
Ó⑤♦q➂✛♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦✇➷ ➨❿➙✝➙✍r ➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃➚➯▲➥❅♦q➅✇➫✇➃❅➥❅➂➄➆☞r❻➥❅♦q➠◗♦

✎ ✬✥✰❇✽ ✤❊✽✪✕☎✔ ✕ ✠ ✤ ✠✄✢ ✰ ✰✱✖✆☎✯✙✛✖✴☞✔✤ ✤ ✎✆✰✝✆✩☞ ✢ ✬✯✕ ✰✱✬✯✕ Ý
P (d | (r(t), ∀t))

➷Û❧✛➙✝➙✝♠✇➠◗➂➄➅✇➆✇♦②➴ ➙✝➃✫➪➌♠✇➃✫♥✍♦❸➆☞r➇➙✟r➇➙✏➵Ï♦q➙✝➙✝➘ Ù ➃❅➂➄➙
➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✶➙✍➝➇♦✟➂➄➩q♠☞r➇➦➄➠◗➃❅➅④♥✍➃✓➵✇♣✝♦ Ù ☎ Ù ➃❅➂➄➙❅Ý✦➆✇➃❅➅✇♦q➠◗➂➄➅☞r➇➠◗♦q➙❐➃❅➙✝➙✝➃✷➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✩➆✇➃✛➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✩➆✇➃✷➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✟➆✇➃
➠ ☎⑩➹✦➂➄➠✫r Ù ➃❅♣✝♦q➙✝➙✝➂➄➠◗➂➄➦➄➫☞r➇➅✇➜➞r ✒ ➽ ✬ ✏✫➴ ✓ ✤❃❂✳✕✗✘✚✙✛✘✖❄ ✁ ✕❆❅ ✢ ✔ ✕❆✏✆✰ ✰✌✠✚✦ ✢✥★✪✙✆✢ ✖ ✰ ✢ ✲ ➷
❧❻➆✇➃❅➙ Ù r➇➅④♥✤r➇➩q➃❅➠ ➃❅➠ ➙✝➃❼♠✇➙✍r➇♣❇♦✓➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✖➽ ✬ ✏✳➥❅♦q➅✇➙✝➂➄➙➛♥✍➃❿➅☞r✶➩q♣✍r➇➅✇➆✇➃❿➪➌♠☞r➇➅④♥✍➂➄➆☞r➇➆✇➃❼➆✇➃❼➵Ï♦q➙✝➙✝➘ Ù ➃❅➂➄➙ Ù ➃✯♥✍♦②➴

♣✝➃❅➙❅Ý
2KGp

Ý➌➃✧➥❅♦q➠◗➵☞r➇♣✍r➇♣❼r➇➙❐➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✡♣✝➃❅➥❅➃❅➟✇➂➄➆☞r➇➙❼➥❅♦q➠ ♥✍♦❸➆☞r➇➙❐r➇➙❐➵Ï♦q➙✝➙✝➘ Ù ➃❅➂➄➙❼➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙❐♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆☞r➇➙
➙✝➃❅♣✝➂➭r❊➂➄➠◗➵✇♣✍r②♥✍➂➄➥✁☎ Ù ➃❅➦ Ý ➆☞r➇➆✇♦q➙✳♦❀➅✄✵✇➠◗➃❅♣✝♦❀➆✇➃✂♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✳➃☎♦❊♥✤r➇➠✫r➇➅✇➫✇♦❊➆☞r➇➙✳➠◗➃❅➅✇➙✍r➇➩q➃❅➅✇➙❅➷✂➺✧➠✫r⑨➵Ï♦q➙✝➙✝➘ Ù ➃❅➦



� ✞✡✆✟✞✰� ✆✟✞ ✁✂✁ ✄☎✄ ✆☞✂ ✄✔☎ ✄✽✟ ✁☛✂ ✁ ✠ �

➙✝♦q➦➄♠✇➜➞➝➇♦⑨➙✝➃❅♣✝➂➭r⑨➂➄➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇♣✓♦❊➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❂➽ ✬ ✏➚➵☞r➇♣✍r⑨➙✝➂➄➙➛♥✍➃❅➠✫r➇➙✳➲ ↕ ➽Û❧✏Ý❇♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦◗♦❀r➇➦➄➩q♦q♣✝➂➶♥✍➠◗♦✂➆✇➃
✺✷➂➶♥✍➃❅♣✝➟✇➂✖r➇➵ ✦q➙✛♦⑨➟☞r➇➅✇➥❅♦⑨➆✇➃ ✼☞➦➶♥✍♣✝♦q➙✛➥➞r➇➙✍r➇➆✇♦q➙❅➷✷➼ ➅✦Ó⑤➃❅➦➄➂✚✘❅➠◗➃❅➅④♥✍➃➇ÝÏ➃❅➙➛♥✍➃☎r➇➦➄➩q♦q♣✝➂➶♥✍➠◗♦☎♥✍➃❅➠➧➥❅♦q➠◗➵✇➦➄➃❜➹✦➂➄➆☞r➇➆✇➃✑➪➌♠✇➃
➥❅♣✝➃❅➙✝➥❅➃✟➃❜➹✦➵Ï♦q➅✇➃❅➅✇➥❅➂➭r➇➦➄➠◗➃❅➅④♥✍➃❂➥❅♦q➠➧♦◗➅✄✵✇➠◗➃❅♣✝♦✫➆✇➃✏♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅Ý✕♦q♠➚➙✝➃ ✂✍r✦Ý✕➅☞r◗♦q♣✝➆✇➃❅➠➧➆✇➃

2K
➷ ➁ ♠✦♥✍♣✝♦◗➂➄➅✇➥❅♦q➅❸➴

Ù ➃❅➅✇➂➄➃❅➅④♥✍➃✳➃❅➠✸♠✇➙✍r➇♣✝➠◗♦q➙✡♦☎➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➽ ✬ ✏✫➯✷➪➌♠✇➃✷➃❅➙➛♥✍➃✳♣✝➃❅➪➌♠✇➃❅♣✩♦☎➥❅♦q➅✇➫✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✟➆☞r➇➙✶r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙❐➃✷➆☞r➇➙
Ó➔r➇➙✝➃❅➙✏➆✇♦q➙✑➙✝➂➄➅☞r➇➂➄➙❂♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦q➙❅➷❀➨❿➙✝➙✝➃❅➙ Ù r➇➦➄♦q♣✝➃❅➙❅Ý→➃❅➅④♥✍♣✝➃✯♥✤r➇➅④♥✍♦✇ÝÑ➅☞➝➇♦➚➙✍➝➇♦Û➥❅♦q➅✇➫✇➃❅➥❅➂➄➆✇♦q➙ ✤ ✎ ✬✯✕ ✰✱✬✯✕ ➃◗➆✇➃ Ù ➃❅➠ÛÝ
➵Ï♦q♣➛♥✤r➇➅④♥✍♦✇Ý✇➙✝➃❅♣✓➃❅➙➛♥✍➂➄➠✫r➇➆✇♦q➙❅➷

❧✭➤✖➂➄➩✇➷❿á✦➷ à✟➂➄➦➄♠✇➙➛♥✍♣✍r☎r✂➃❅➙➛♥✍♣✝♠✦♥✍♠✇♣✍r✂➆✇♦✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✷➽➚➺ ↕ ✦➇♥✍➂➄➠◗♦✇➷

t

s


Decisão


T

b


T

b


r(t)


s

k

(t)


s

2

(t)


s

1

(t)


y

2


y

1


y

k


T

b


Calcula a


métrica e


seleciona


o sinal


correspon-


dente


à maior


métrica


b


b


b


✍✏✎✒✑✔✓✖✕✘✗ �✜✛ ✙✜✣ ✍ ✪☛✳☛✕☛✓✖✳☛✓✖✕✘✗✺✬✖✷✺✕✄✦✰✲✰✦✩✱✖✳✄✷✮✕✁�✮✳☛✎✒✿✚✷✚✱✻✗✡✕✘✗ ✳☛✕✘✗✡★✫✪☛✿✺✎✭✪✄✪✑✞✮✷✺✪✄✂✒★✫✲✩✕✄✷✮★✻✗✜✛

❧✛➵Ï➃❅➙✍r➇♣✏➆✇♦q➙✟➩④r➇➅✇➫✇♦q➙✏➃❅➠❤♥✍➃❅♣✝➠◗♦q➙✑➆✇➃⑨➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦▲➃✫➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃➇ÝÑ➪➌♠☞r➇➅✇➆✇♦▲➥❅♦q➠◗➵☞r➇♣✍r➇➆✇♦➚➥❅♦q➠❤♦
➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✏➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ Ý✖♦➚➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✟➽ ✬ ✏⑧➅☞➝➇♦➚➯◗➂➄➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇➆✇♦❀➅☞rÛ➵✇♣✥☎②♥✍➂➄➥➞r✦Ý→➆✇➃ Ù ➂➄➆✇♦✻➡Û➙✝♠☞rÛ➥❅♦q➠☎➴
➵✇➦➄➃❜➹✦➂➄➆☞r➇➆✇➃➇➷❼➨❿➅④♥✤➝➇♦✇Ý☞➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✧➙✝♠✇➟❸➴ ✦➇♥✍➂➄➠◗♦q➙✩➙✍➝➇♦◗➃❅➙✝➥❅♦q➦➄➫✇➂➄➆✇♦q➙✶➵☞r➇♣✍r☎➂➄➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇➜➞➝➇♦✇➷

➻✛r➸➵✇♣✪✦➞➹✦➂➄➠✫r⑧➙✝➃❅➜➞➝➇♦✇Ý✓➙✝➃❅♣✍➝➇♦❻r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➆✇♦q➙❊➆✇♦q➂➄➙✫➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙⑨➙✝♠✇➟❸➴ ✦➇♥✍➂➄➠◗♦q➙◗➥❅♠ ✂✍r➇➙⑨➥❅♦q➠◗➵✇➦➄➃❜➹✦➂➄➆☞r➇➆✇➃❅➙
➥❅♣✝➃❅➙✝➥❅➃❅➠➧➦➄➂➄➅✇➃➞r➇♣✝➠◗➃❅➅④♥✍➃✷➥❅♦q➠ ♦✂➅✄✵✇➠◗➃❅♣✝♦✂➆✇➃❂♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷

✏ ✄✁� ❋❍❆✩❘★❆✓❫❐❘★◆❂❝✖❆✓❄ ❳❩❛❊❁❜❘★❃❅❛❀❄★❛❀✿✳❝✖❃✯◆✆☎⑧❃❅✽❊❆✓❚✳❝✖❆✓❄

➺✧➠❞➂➄➠◗➵Ï♦q♣➛♥✤r➇➅④♥✍➃✷➩q♣✝♠✇➵Ï♦◗➆✇➃✑➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✛➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦☎➙✍➝➇♦✫♦q➙✓➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✛➦➄➂➄➅✇➃➞r➇♣✝➃❅➙❅Ý☞➪➌♠✇➃✟r➇➵✇➦➄➂➄➥➞r➇➠
♠✇➠✸➠✫r➇➵Ï➃➞r➇➠◗➃❅➅④♥✍♦✏➦➄➂➄➅✇➃➞r➇♣✡➡✏➙✍r➇➘➄➆☞r✏➆✇♦✟➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✩➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦❙➵☞r➇♣✍r✏♣✝➃❅➆✇♠✣✘❅➂➄♣✩r☎➽Û❧✛➼✤Ý✦➙✝♦➇Ó⑤♣✝➂➄➆☞r✏➵Ï♦q♣✡♠✇➠
➆☞r➇➆✇♦✑♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷❿➻✧➃❅➙✝➙✍r✑➙✝➃❅➜➞➝➇♦✇Ý✦r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠◗♦q➙✡♦q➙❼➆✇♦q➂➄➙❼➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✡➠✫r➇➂➄➙❿➥❅♦q➅✇➫✇➃❅➥❅➂➄➆✇♦q➙❅Ý❸♦✑➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦②➴
➅☞r➇➆✇♦q♣✶➃❂♦✂➆✇➃❂➠◗➘➄➅✇➂➄➠◗♦✟➃❅♣✝♣✝♦✂➪➌♠☞r➇➆✇♣✥☎②♥✍➂➄➥❅♦✂➠◗➯❅➆✇➂➄♦ ✒ ➽✻➽✑✏✦➨ ✲ ➷
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✂ ✟✁�✎✟☛✡ � ✖ ✙✛✖✘✭✮✙✛✚ ✯✁� ✖✘✜✰✭ ✚ ✯✛✯✱✖✘★✪✓☞✭✑✡✪✚☞✏✑✓☞✒✑✚ ✯
➁ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ Ý✕r➇➵Ï➃❅➙✍r➇♣✧➆✇➃✑r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇♣✛➥❅♦q➠◗➵✇➦➄➃❜➹✦➂➄➆☞r➇➆✇➃✳➪➌♠✇➃✑➥❅♣✝➃❅➙✝➥❅➃✏➦➄➂➄➅✇➃➞r➇♣✝➠◗➃❅➅④♥✍➃✳➥❅♦q➠

♦☎➅✄✵✇➠◗➃❅♣✝♦☎➆✇➃✳♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅Ý✇r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r✂♠✇➠✫r Ù ♠✇➦➄➅✇➃❅♣✍r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛r➇♦☎➃✯Ó⑤➃❅➂➶♥✍♦✟➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃➇Ý❸♦☎➪➌♠✇➃✳♣✝➃❅➪➌♠✇➃❅♣✓♠✇➠
➵Ï➃❅♣➛Ó⑤➃❅➂➶♥✍♦❀➥❅♦q➅④♥✍♣✝♦q➦➄➃☎➆✇➃✂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦➷ ✛✳☎❊♦❀➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✑➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý❇➥❅♠ ✂✍r❊➥❅♦q➠◗➵✇➦➄➃❜➹✦➂➄➆☞r➇➆✇➃☎➥❅♦q➠◗➵✇♠❸➴
♥✤r➇➥❅➂➄♦q➅☞r➇➦★♥✤r➇➠✟➟Ï➯❅➠➧➯☎➦➄➂➄➅✇➃➞r➇♣✝➠◗➃❅➅④♥✍➃✑➵✇♣✝♦q➵Ï♦q♣✝➥❅➂➄♦q➅☞r➇➦✖r➇♦⑨➅✄✵✇➠◗➃❅♣✝♦❊➆✇➃✟♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅Ý❙➅☞➝➇♦⑨➃❅➙➛♥ ☎❊➙✝♠ ✂✝➃❅➂➶♥✍♦❊r⑨➃❅➙✝➙✝➃
Ó⑤➃❅➅✠✟q➠◗➃❅➅✇♦✫➵Ï♦q➂➄➙✓➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃✏➆☞r➇➙✷r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✓➆✇♦q➙✧♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷✶❧✛➦➄➯❅➠❞➆✇➂➄➙✝➙✝♦✇ÝÏ➅☞➝➇♦✫➃❅➙➛♥ ☎✫➙✝♠ ✂✝➃❅➂➶♥✍♦⑨r⑨➽Û❧✛➼✤Ý
➪➌♠✇➃✑♠✇➠✫r Ù ➃✙✘✑➥❅♦q➅✇➫✇➃❅➥❅➂➄➆☞r✦Ý✕r➇♠❸➹✦➂➄➦➄➂➭r✏➅☞r✟♥✍♦q➠✫r➇➆☞r☎➆☞r☎➆✇➃❅➥❅➂➄➙✍➝➇♦✇➷

❧✭➤✖➂➄➩✇➷❿á✦➷ á☎➂➄➦➄♠✇➙➛♥✍♣✍r☎r✂➃❅➙➛♥✍♣✝♠✦♥✍♠✇♣✍r✂➆✇♦✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅➷
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✍✏✎✒✑✔✓✖✕✘✗ �✜✛ �✜✣ ✍ ✪☛✳☛✕☛✓✖✳☛✓✖✕✘✗✺✬✖✷✺✕✄✦✰✲✰✦✩✱✖✳✄✷✮✕✞✬✖✦✰✪✄✲✰✷✮✕☛✕✄✦✩✴✹✗✮✲✩✎✭✷✮★✻✗✮✬✖✷✮✕ ✛

➁ ➙✝➂➄➅☞r➇➦ ♣✝➃❅➥❅➃❅➟✇➂➄➆✇♦☎➯✳➂➄➅④♥✍♣✝♦❸➆✇♠✣✘❅➂➄➆✇♦✟➃❅➠✸♠✇➠ ➟☞r➇➅✇➥❅♦✂➆✇➃ ✼☞➦➶♥✍♣✝♦q➙✩➥➞r➇➙✍r➇➆✇♦q➙❅Ý✇➥➞r➇➆☞r☎♠✇➠✸➥❅♦q➠ r✟➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r
➆✇➃✩➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✷♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃✓r✷♠✇➠✰♠✇➙✝♠✆☎➇♣✝➂➄♦✷➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃➇➷ ➁ ➟✦♥ ✤❅➠☎➴ ➙✝➃➇Ýq➅☞r✷➙✍r➇➘➄➆☞r✛➆✇♦q➙ ✼☞➦➶♥✍♣✝♦q➙❅Ý➇♦q➙Ñ➙✝➃❅➩q♠✇➂➄➅④♥✍➃❅➙
♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦q➙❅s

y1 =
✈②➀

1,➷➷➷

yk =
✈②➀

k.
✒ á✦➷➶ß➏Þ ✲

➲✡♦q➦➄➃✯♥✤r➇➅✇➆✇♦②➴ ➙✝➃✳➃❅➙➛♥✤r➇➙✓➙✍r➇➘➄➆☞r➇➙✓➃❅➠ ♠✇➠ Ù ➃✯♥✍♦q♣❅Ý☞♦q➟✦♥✍➯❅➠☎➴ ➙✝➃❂r✂➙✝➃❅➩q♠✇➂➄➅④♥✍➃❂➅✇♦➇♥✤r➇➜➞➝➇♦✂➠✫r②♥✍♣✝➂➄➥❅➂➭r➇➦ s
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✄
=

✟ T ✈ , ✒ á✦➷➶ßqß ✲

➃❅➠ ➪➌♠✇➃ ✄
= [y1, . . . , yk]

➃ ✟ T ➯✓r✳➠✫r②♥✍♣✝➂✚✘✡♥✍♣✍r➇➅✇➙✝➵Ï♦q➙➛♥✤r✳➆✇➃ ✟ Ý④➆✇➃ ✼☞➅✇➂➄➆☞r✳➵✇♣✝➃ Ù ➂➭r➇➠◗➃❅➅④♥✍➃➇➷ ✏❸♠✇➟✇➙➛♥✍➂➶♥✍♠✇➂➄➅✇➆✇♦
✒ à❸➷ à✥✏ ✲ ➃❅➠ ✒ á✦➷➶ßqß ✲ Ý✦♥✍➃❅➠◗♦q➙❅s

✄
=

✟ T (
✟❀⑦✴✷

+
⑥
)

=
✟ T ✟Û⑦ ✷

+
✟ T ⑥

=
➍❊⑦✴✷

+
✟ T ⑥ . ✒ á✦➷➶ß⑩à ✲

➃❅➠ ➪➌♠✇➃ ➍ ➯✧r✳➠✫r②♥✍♣✝➂✚✘✩➆✇➃✧➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✳➆✇➃ ✼☞➅✇➂➄➆☞r❂➃❅➠ ✒ à❸➷ à✦✑ ✲ ➃✓♦ Ù ➃✯♥✍♦q♣❐♣✝➃❅➙✝♠✇➦➶♥✤r➇➅④♥✍➃✓➆✇♦❂➵✇♣✝♦❸➆✇♠✦♥✍♦ Ù ➃✯♥✍♦q♣✝➂➭r➇➦
✟ T ⑥ ➯❂♠✇➠ Ù ➃✯♥✍♦q♣✧r➇➦➄➃➞r②♥ ✦q♣✝➂➄♦✟➆✇➃❂➠◗➯❅➆✇➂➭r ✘❅➃❅♣✝♦◗➃❂➠✫r②♥✍♣✝➂✚✘✷➆✇➃❂➥❅♦ Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r✟➆✇➃ ✼☞➅✇➂➄➆☞r☎➵Ï♦q♣❅s

E[GTnnT G] = σ2R.
✒ á✦➷➶ß➏á ✲

✏❸➃✑r➇➙✓➙✝➃❅➪✷✶✇➃❅➅✇➥❅➂➭r➇➙✧➙✍➝➇♦✂➥❅♦q➅✇➫✇➃❅➥❅➂➄➆☞r➇➙❅ÝÏr☎➠✫r②♥✍♣✝➂✚✘
R
➵Ï♦❸➆✇➃❂➙✝➃❅♣✶Ó⑤♦q♣✝➠✫r➇➆☞r✟➃❂➙✝♠☞r✂➂➄➅ Ù ➃❅♣✝➙✍r✦Ý☞➥➞r➇➙✝♦◗➃❜➹✦➂➄➙➛♥✤r✦Ý

➠✟♠✇➦➶♥✍➂➄➵✇➦➄➂➄➥➞r➇➆☞r✑➵Ï➃❅➦➄♦☎➙✝➂➄➅☞r➇➦❙➅☞r✂➙✍r➇➘➄➆☞r☎➆✇♦✚✼☞➦➶♥✍♣✝♦✂➥➞r➇➙✍r➇➆✇♦
y
s

z = R−1y = Ab + R−1n.
✒ á✦➷➶ß✓✏ ✲

➁ ➙✝➂➄➅☞r➇➦Ñ➆✇♦q➙✳♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✳➙✍➝➇♦❀➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q➙✳♠✇➅✇➙❂➆✇♦q➙❂♦q♠✦♥✍♣✝♦q➙❅Ý★➃✂r❊➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃✂➆✇♦
k
➴ ➯❅➙✝➂➄➠◗♦

♠✇➙✝♠✆☎➇♣✝➂➄♦✏➃❅➙➛♥ ☎✟➦➄➂ Ù ♣✝➃✓➆☞r✏➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✏➥➞r➇♠✇➙✍r➇➆☞r✏➵Ï♦q♣❐➪➌♠☞r➇➦➄➪➌♠✇➃❅♣✩♠✇➠ ➆✇♦q➙✡♦q♠✦♥✍♣✝♦q➙✡♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷❼➲✡♦q➅✇➙✝➃❅➪✷✶✇➃❅➅❸➴
♥✍➃❅➠◗➃❅➅④♥✍➃➇Ý✦♦✟➃✯Ó⑤➃❅➂➶♥✍♦✏➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃✓➯✧♥✤r➇➠✟➟Ï➯❅➠ ➃❅➦➄➂➄➠◗➂➄➅☞r➇➆✇♦✳➃✛♦✟➥❅♦q➅④♥✍♣✝♦q➦➄➃✧➆✇➃✛➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r ✂✥☎✑➅☞➝➇♦✏➙✝➃✛Ó➔r ✘✛➠✫r➇➂➄➙
➅✇➃❅➥❅➃❅➙✝➙✥☎➇♣✝➂➄♦✇➷❼❧ ✵✇➅✇➂➄➥➞r✟Ó⑤♦q➅④♥✍➃❂➆✇➃❂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r☎➯➇Ý☞➵Ï♦q♣➛♥✤r➇➅④♥✍♦✇Ý✇♦✂♣✝♠✇➘➄➆✇♦✇➷

➁ ➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✳➅☞➝➇♦Û➅✇➃❅➥❅➃❅➙✝➙✝➂➶♥✤rÛ➆✇♦Û➥❅♦q➅✇➫✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦Û➆☞r➇➙✑r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✳♣✝➃❅➥❅➃❅➟✇➂➄➆☞r➇➙❅Ý→➃❅➠❨➥❅♦q➅❸➴
♥✍♣✍r➇➙➛♥✍➃➸r➇♦q➙Û➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙➚➪➌♠✇➃➸➵✇♣✝➃❅➥❅➂➄➙✍r➇➠❯➃❅➙➛♥✍➂➄➠ ☎⑩➴ ➦➭r➇➙⑨➃⑧➪➌♠✇➃➸➆✇➃❅➙✝➙✍r✘Ó⑤♦q♣✝➠✫r➑♥✍♦q♣✝➅☞r➇➠☎➴ ➙✝➃➳➙✝➃❅➅✇➙✝➘ Ù ➃❅➂➄➙✻r➇♦q➙
➃❅♣✝♣✝♦q➙✧➥❅♦q➠◗➃✯♥✍➂➄➆✇♦q➙✧➅☞r✂➃❅➙➛♥✍➂➄➠✫r➇➜➞➝➇♦✇➷✶➨❿➙➛♥✍➃✏➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧♥✍➃❅➠❞➥❅♦q➠◗➵✇➦➄➃❜➹✦➂➄➆☞r➇➆✇➃❂➥❅♦q➠◗➵✇♠✦♥✤r➇➥❅➂➄♦q➅☞r➇➦❇➙✝➂➄➩q➅✇➂✽✼☞➥➞r②♥✍➂ Ù r⑩➴
➠◗➃❅➅④♥✍➃✓➠◗➃❅➅✇♦q♣❼➪➌♠✇➃✛r❂➆✇♦✑➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✩➽ ✬ ✏ÏÝ➌➵Ï♦q➂➄➙❼r❂➠◗➃❅➙✝➠✫r✳➯✓➦➄➂➄➅✇➃➞r➇♣✝➠◗➃❅➅④♥✍➃✶➵✇♣✝♦q➵Ï♦q♣✝➥❅➂➄♦q➅☞r➇➦☞r➇♦✑➅✄✵✇➠◗➃❅♣✝♦✑➆✇➃
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷ ➁ ➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✖➥❅♦q♣✝♣✝➃❅➙✝➵Ï♦q➅✇➆✇➃✶r➇♦✳➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❼➽ ✬ ✏✏➪➌♠☞r➇➅✇➆✇♦✑r➇➙Ñ➃❅➅✇➃❅♣✝➩q➂➭r➇➙✖➆✇♦q➙Ñ♠✇➙✝♠✆☎➇♣✝➂➄♦q➙
➅☞➝➇♦⑨➙✍➝➇♦⑨➥❅♦q➅✇➫✇➃❅➥❅➂➄➆☞r➇➙✷➅✇♦⑨♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅Ý❙➃❅➠➧♦q♠✦♥✍♣✍r➇➙✷➵☞r➇➦➭r Ù ♣✍r➇➙❅ÝÏ♦⑨➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✷➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✧➃❅➙➛♥✍➂➄➠✫r✫r
➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r✑➆✇➃✓➠ ☎⑩➹✦➂➄➠✫r Ù ➃❅♣✝♦q➙✝➙✝➂➄➠◗➂➄➦➄➫☞r➇➅✇➜➞r✷➆✇♦q➙❼➟✇➂➶♥✍➙❿♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙✖➃✓➙✝♠☞r➇➙✡r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙Ñ♣✝➃❅➥❅➃❅➟✇➂➄➆☞r➇➙❅➷ ✏❸♠☞r
➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✧➆✇➃✳➃❅♣✝♣✝♦✇Ý✦➥❅♦q➠◗♦☎➙✝➃❅♣✥☎✟➆✇➃❅➠◗♦q➅✇➙➛♥✍♣✍r➇➆✇♦☎➠✫r➇➂➄➙✩r➇➆✇➂➭r➇➅④♥✍➃➇Ý✦➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃✳➆☞r➇➙✶➃❅➅✇➃❅♣✝➩q➂➭r✏➆✇♦✂➙✝➂➄➅☞r➇➦ Ý
♦✫➪➌♠✇➃✟➙✝➂➄➠◗➵✇➦➄➂✽✼☞➥➞r✂r✫r➇➅✆☎➇➦➄➂➄➙✝➃❂➃✑Ó➔r ✘✏➥❅♦q➠➧➪➌♠✇➃✏♦⑨➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✓➙✝➃ ✂✍r✫♣✝➃❅➙✝➂➄➙➛♥✍➃❅➅④♥✍➃☎r➇♦✫➃✯Ó⑤➃❅➂➶♥✍♦✫➵Ï➃❅♣➛♥✍♦②➴
➦➄♦q➅✇➩q➃➇➷Ñ❧✛➦➄➯❅➠✸➆✇➂➄➙✝➙✝♦✇Ý✇r✟➆✇➃❅➥❅➂➄➙✍➝➇♦☎➵☞r➇♣✍r✏➥➞r➇➆☞r✟♠✇➙✝♠✆☎➇♣✝➂➄♦☎➵Ï♦❸➆✇➃✛➙✝➃❅♣✩♥✍♦q➠✫r➇➆☞r✏➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃➇Ý☞➵Ï♦q➂➄➙✡♦q➙
➙✝➂➄➅☞r➇➂➄➙✶♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙✛r➇♦q➙✶♦q♠✦♥✍♣✝♦q➙✓♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✶➅☞➝➇♦◗➵✇♣✝➃❅➥❅➂➄➙✍r➇➠ ➙✝➃❅♣✓➆✇➃✯♥✍➃❅➥✯♥✤r➇➆✇♦q➙❅➷

✢ ☎✦Ý☞➃❅➅④♥✍♣✝➃✯♥✤r➇➅④♥✍♦✇Ý✕➆✇➃❅➙ Ù r➇➅④♥✤r➇➩q➃❅➅✇➙✛➃❅➠❞➙✝➃✑♠✦♥✍➂➄➦➄➂✚✘➞r➇♣✩♦◗➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý☞➥❅♦q➠◗♦◗r✂➅✇➃❅➥❅➃❅➙Ô➴
➙✝➂➄➆☞r➇➆✇➃✧➆✇➃✛➙✝➃✛➂➄➅ Ù ➃❅♣➛♥✍➃❅♣✶r✑➠✫r②♥✍♣✝➂ ➹

R
➃❅➠ ♥✍➃❅➠◗➵Ï♦✑♣✝➃➞r➇➦ ➷Ñ❧✛➦➄➯❅➠ ➆✇➂➄➙✝➙✝♦✇Ý✦r➇♦✏➃❅➦➄➂➄➠◗➂➄➅☞r➇♣✝➠◗♦q➙Ñr☎➽Û❧✛➼✤Ý❸➥❅♦q♣✝♣✝➃❜➴ ➙✝➃

♦▲♣✝➂➄➙✝➥❅♦✻➆✇➃❊➙✝➃❊r➇♠✇➠◗➃❅➅④♥✤r➇♣☎r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭rÛ➆✇♦▲♣✝♠✇➘➄➆✇♦✇ÝÑ➵Ï♦q➂➄➙✟r✻➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✻r➇➙✝➙✝♦❸➥❅➂➭r➇➆☞r✻r➇♦✻♥✍➃❅♣✝➠◗♦✻♣✝➃✯Ó⑤➃❅♣✝➃❅➅④♥✍➃



� ✞✡✆✟✞✰� ✆✟✞ ✁✂✁ ✄☎✄ ✆☞✂ ✄✔☎ ✄✽✟ ✁☛✂ ✁ ✠ �

r➇♦❀♣✝♠✇➘➄➆✇♦❀➅☞r❊➙✍r➇➘➄➆☞r❊➆✇♦❀➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✑➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣ ✒ á✦➷➶ß✓✏ ✲ ➯✂➙✝➃❅➠◗➵✇♣✝➃✂➠✫r➇➂➄♦q♣✛♦q♠⑧➂➄➩q♠☞r➇➦Ñ➡➇➪➌♠✇➃❅➦➭r❊➅☞r
➙✍r➇➘➄➆☞r❊➆✇♦✿✼☞➦➶♥✍♣✝♦❊➥➞r➇➙✍r➇➆✇♦ ✒ á✦➷ ✏ ✲ ➷◗➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý★➙✝➃✫r❊➂➄➅④♥✍➃❅➅✇➙✝➂➄➆☞r➇➆✇➃✂➆☞rÛ➽Û❧✛➼✷➯✂♣✝➃❅➦➭r②♥✍➂ Ù r➇➠◗➃❅➅④♥✍➃✟➟☞r➇➂ ➹✇r❊➥❅♦q➠
♣✝➃❅➦➭r➇➜➞➝➇♦☎➡✟➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✏➆✇♦☎♣✝♠✇➘➄➆✇♦✇Ý✦➂➄➩q➅✇♦q♣✍r➇♣✡r✂➽Û❧✛➼✤Ý✇➥❅♦q➠◗♦✏Ó➔r ✘✷♦✟➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✶➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ Ý✇➵Ï♦❸➆✇➃✛Ó⑤♦q♣✝➅✇➃❅➥❅➃❅♣
♠✇➠ ➠◗➃❅➦➄➫✇♦q♣✩➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✇➷

✂ ✟✁�✎✟ ✞ � ✖ ✙✛✖✘✭✮✙✛✚ ✯✁� ✡✪✏✑✖✘✓ ✯ ✂ ✂✄✂✠✣
➁ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦☎➽✻➽✑✏✦➨✱r➇➵✇➦➄➂➄➥➞r✟♠✇➠✫r Ù ➃❅♣✝➙✍➝➇♦◗➠◗♦❸➆✇➂✽✼☞➥➞r➇➆☞r✏➆☞r☎➂➄➅ Ù ➃❅♣✝➙✍r✂➆✇➃ ➍ Ý✇➵Ï♦q➂➄➙✩➦➄➃ Ù r

➃❅➠❍➥❅♦q➅④♥✤r❊♦❊♣✝♠✇➘➄➆✇♦✇➷✑❧❲♥✍♣✍r➇➅✇➙➛Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦❀r➇➵✇➦➄➂➄➥➞r➇➆☞r◗➵Ï➃❅➦➄♦❊➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✑➽✻➽✑✏✦➨ ➯☎➃❅➙✝➥❅♦q➦➄➫✇➂➄➆☞r✫➆✇➃✟♥✤r➇➦✖Ó⑤♦q♣✝➠✫r
➪➌♠✇➃✻➠◗➂➄➅✇➂➄➠◗➂✚✘❅➃⑨♦➑➃❅♣✝♣✝♦➑➪➌♠☞r➇➆✇♣✥☎②♥✍➂➄➥❅♦➸➠◗➯❅➆✇➂➄♦⑧➃❅➅④♥✍♣✝➃✻♦q➙✫➆☞r➇➆✇♦q➙◗♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙✂➃✻r➸➙✍r➇➘➄➆☞r⑧➆✇♦➸➆✇➃✯♥✍➃❅➥✯♥✍♦q♣
➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷

➁ ➵✇♣✝♦q➟✇➦➄➃❅➠✫r◗➆☞r⑨➠◗➂➄➅✇➂➄➠◗➂✚✘➞r➇➜➞➝➇♦✂➆✇♦❊➃❅♣✝♣✝♦❊➪➌♠☞r➇➆✇♣✥☎②♥✍➂➄➥❅♦⑨➠◗➯❅➆✇➂➄♦⑨➵Ï♦❸➆✇➃✟➙✝➃❅♣✳♣✝➃❅➙✝♦q➦ Ù ➂➄➆✇♦⑨➥❅♦q➠◗♦❊r⑨♦➇♥✍➂➄➠◗➂ ➴
✘➞r➇➜➞➝➇♦➚➃❅➠ ♠✇➠ ➃❅➙✝➵☞r➇➜❅♦➚➆✇➃◗➆✇➂➄➠◗➃❅➅✇➙✍➝➇♦✿✼☞➅✇➂➶♥✤rÛr②♥✍♣✍r Ù ➯❅➙✏➆☞r❀➃❅➙✝➥❅♦q➦➄➫☞r➚r➇➆✇➃❅➪➌♠☞r➇➆☞rÛ➆✇♦ Ù ➃✯♥✍♦q♣✑➆✇➃✂♥✍♣✍r➇➅✇➙➛Ó⑤♦q♣Ô➴
➠✫r➇➜➞➝➇♦

mk

Ý
k × 1

Ý✇➆✇➃✳♥✤r➇➦❙Ó⑤♦q♣✝➠✫r☎r☎➠◗➂➄➅✇➂➄➠◗➂✚✘➞r➇♣

E
[

(

bk − mT
k y
)2
]

,
✒ á✦➷➶ß✕✔ ✲

♦⑧➪➌♠✇➃Û♣✝➃❅➙✝♠✇➦➶♥✤r➳➃❅➠
K
➵✇♣✝♦q➟✇➦➄➃❅➠✫r➇➙☎➆✇➃Û♦➇♥✍➂➄➠◗➂✚✘➞r➇➜➞➝➇♦▲➪➌♠✇➃Û➵Ï♦❸➆✇➃❅➠ ➙✝➃❅♣✫♣✝➃❅➙✝♦q➦ Ù ➂➄➆✇♦q➙☎➙✝➂➄➠✟♠✇➦➶♥✤r➇➅✇➃➞r➇➠◗➃❅➅④♥✍➃➇Ý

➃❅➙✝➥❅♦q➦➄➫✇➃❅➅✇➆✇♦②➴ ➙✝➃✑r➇➆✇➃❅➪➌♠☞r➇➆☞r➇➠◗➃❅➅④♥✍➃✏r☎➠✫r②♥✍♣✝➂✚✘✷➆☞r☎♥✍♣✍r➇➅✇➙➛Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦
M
Ý☞➆✇➃❂➆✇➂➄➠◗➃❅➅✇➙✍➝➇♦

K × K
➷

➾→♦❸➆✇➃❜➴ ➙✝➃❂➠◗♦q➙➛♥✍♣✍r➇♣✶➪➌♠✇➃✑r☎♥✍♣✍r➇➅✇➙➛Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦☎➦➄➂➄➅✇➃➞r➇♣✩➃❅➪➌♠✇➂ Ù r➇➦➄➃✳r ✡ á ☞ s

M = [R + (σA−1)2]−1.
✒ á✦➷➶ß✖✑ ✲

❧✭➆✇➃❅➥❅➂➄➙✍➝➇♦✂➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥➞r☎➵☞r➇♣✍r☎♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✂➙✝➃❅♣✥☎✂♦◗➙✝➂➄➅☞r➇➦❙➆☞r

k
➴ ➯❅➙✝➂➄➠✫r✟➥❅♦q➠◗➵Ï♦q➅✇➃❅➅④♥✍➃❂➆✇➃

My
Ý

➂➄➙➛♥✍♦✂➯➇s

b̂k =
➙✝➩q➅

((My)k) .
✒ á✦➷➶ß ✎ ✲

❧ ➠◗♦❸➆✇➂✽✼☞➥➞r➇➜➞➝➇♦✑➅☞r✟➂➄➅ Ù ➃❅♣✝➙✍r☎➆✇➃
R
➆✇➃❅➵Ï➃❅➅✇➆✇➃❅♣✥☎☎➆✇♦✟➅✇➘ Ù ➃❅➦❙➆✇➃✷♣✝♠✇➘➄➆✇♦✇➷❿➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý✦♦☎➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➽✻➽✑✏✦➨

➟☞r➇➦➭r➇➅✇➥❅➃❅➂➭r➳♦➑➂➄➅④♥✍♠✇➂➶♥✍♦➸➆✇➃➚➆✇➃❅➙✍r➇➥❅♦q➵✇➦➭r➇♣✫➆✇♦q➙✫♠✇➙✝♠✆☎➇♣✝➂➄♦q➙ ✒ ➃➚➃❅➦➄➂➄➠◗➂➄➅☞r➇♣☎➥❅♦q➠◗➵✇➦➄➃✯♥✤r➇➠◗➃❅➅④♥✍➃➚r❻➽Û❧✛➼ ✲ ➥❅♦q➠P♦
➂➄➅④♥✍♠✇➂➶♥✍♦☎➆✇➃❂➃ Ù ➂➶♥✤r➇♣✶♦◗r➇♠✇➠◗➃❅➅④♥✍♦◗➆✇♦✂♣✝♠✇➘➄➆✇♦✇➷

➲✡♦q➠ ♦✓r➇♠✇➠◗➃❅➅④♥✍♦✓➆☞r✩➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✩➆✇♦✓♣✝♠✇➘➄➆✇♦✇Ý
[R+(σA−1)2]−1

r➇➵✇♣✝♦➞➹✦➂➄➠✫r⑩➴ ➙✝➃Ñ➆✇➃❿♠✇➠✫r✩➠✫r②♥✍♣✝➂✚✘✖➆✇➂➭r➇➩q♦q➅☞r➇➦
➃✟♦⑨➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❂➽✻➽✑✏✦➨✒➙✝➃☎r➇➵✇♣✝♦➞➹✦➂➄➠✫r✫➆✇♦⑨➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✷➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷❂➾→♦q♣✷♦q♠✦♥✍♣✝♦⑨➦➭r➇➆✇♦✇ÝÏ➙✝➃✟➠✫r➇➅④♥✍➂ Ù ➃❅♣✝➠◗♦q➙
r➇➙✧r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✮✼✦➹✇r➇➙✓➃❂➃✳♥✍➂ Ù ➃❅♣✝➠◗♦q➙

σ → 0
Ý✇➃❅➅④♥✤➝➇♦✇s

[R + (σA−1)2]−1 → R−1
✒ á✦➷➶ß✖✒ ✲

➻✧➃❅➙➛♥✍➃✫➥➞r➇➙✝♦✇Ý→➪➌♠☞r➇➅✇➆✇♦✻rÛ➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r❊➆✇♦➚♣✝♠✇➘➄➆✇♦Û➯✂➆✇➃❅➙✝➵✇♣✝➃✙✘❅➘ Ù ➃❅➦ ÝÑ♦Û➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦➚➆✇♦➚➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✟➽✻➽✑✏✦➨✚➯
➙✝➂➄➠◗➂➄➦➭r➇♣✖r➇♦❂➆✇♦❂➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➷Ñ➾✖r➇♣✍r❂➟☞r➇➂ ➹✇r✷➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✳➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➇♦✏➽✻➽✑✏✦➨➑♣✝➃❅➙✝♠✇➦➶♥✤r✳➃❅➠
➵Ï♦q♠✇➥❅♦❂r➇♠✇➠◗➃❅➅④♥✍♦✷➅☞r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r✓➆✇♦✳♣✝♠✇➘➄➆✇♦✇Ý➇➙✝➃✶➥❅♦q➠◗➵☞r➇♣✍r➇➆✇♦✛➥❅♦q➠✰♦✳➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý➇➠✫r➇➙Ñr➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r



� ✞✡✆✟✞✰� ✆✟✞ ✁✂✁ ✄☎✄ ✆☞✂ ✄✔☎ ✄✽✟ ✁☛✂ ✁ ✠ �
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❧✶♦Û➥❅♦q➅④♥✍♣✥☎➇♣✝➂➄♦Û➆✇♦Û➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✏➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý★♦Û➆✇➃✯♥✍➃❅➥✯♥✍♦q♣☎➽✻➽✑✏✦➨✚♣✝➃❅➪➌♠✇➃❅♣✏rÛ➃❅➙➛♥✍➂➄➠✫r②♥✍➂ Ù r⑨➆☞r➇➙
r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙★♣✝➃❅➥❅➃❅➟✇➂➄➆☞r➇➙✖➃❐➙✝➃❅♠✟➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✳➆✇➃❅➵Ï➃❅➅✇➆✇➃✡➆☞r✧➃❅➅✇➃❅♣✝➩q➂➭r✧➆✇♦q➙✖➙✝➂➄➅☞r➇➂➄➙★➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙❅➷❿➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý
➙✝♠☞r✂♣✝➃❅➙✝➂➄➙➛♥ ✤❅➅✇➥❅➂➭r✂r➇♦✂➃✯Ó⑤➃❅➂➶♥✍♦✂➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃✷➯❂➠◗➃❅➅✇♦q♣✶➙✝➃❂➥❅♦q➠◗➵☞r➇♣✍r➇➆✇♦◗r➇♦✂➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅➷

✙✷♠☞r➇➦➄➪➌♠✇➃❅♣✶➪➌♠✇➃✑➙✝➃ ✂✍r◗r✟♥✍➯❅➥❅➅✇➂➄➥➞r✂➆✇➃❂➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✫➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✏♠✦♥✍➂➄➦➄➂✚✘➞r➇➆☞r✦Ý✇r☎➪➌♠☞r➇➅④♥✍➂➄➆☞r➇➆✇➃❂➆✇➃❂➥✁☎➇➦➄➥❅♠✇➦➄♦q➙
➥❅♦q➠◗➵✇♠✦♥✤r➇➥❅➂➄♦q➅☞r➇➂➄➙✟♣✝➃❅➪➌♠✇➃❅♣✝➂➄➆☞r▲➯❀➙✝➂➄➩q➅✇➂✽✼☞➥➞r②♥✍➂ Ù r✦➷➑➾→♦q♣☎➥❅♦q➅✇➙✝➃❅➩q♠✇➂➄➅④♥✍➃➇Ý✡➩q➃❅♣✍r➇➦➄➠◗➃❅➅④♥✍➃❀r➇➙✝➙✝♠✇➠◗➃❜➴ ➙✝➃❀♦➳♠✇➙✝♦⑧➆✇➃
➥✙✦❸➆✇➂➄➩q♦q➙☎➪➌♠✇➃❀➙✝➃Û♣✝➃❅➵Ï➃✯♥✍➃❅➠❉r➳➥➞r➇➆☞r▲➟✇➂➶♥ ✒ ✆✲✏✆✰✱✬✜☞ ✰ ✰✌✠✄✢✑✆✱✲ ✡ ✒ ☞ ➷ ↕ ➃❅➙✝➙✍r➳Ó⑤♦q♣✝➠✫r✦Ý❼r➇➙✂➥❅♦q♣✝♣✝➃❅➦➭r➇➜✪✍❸➃❅➙✂➵☞r➇♣✝➥❅➂➭r➇➂➄➙
➃❅➅④♥✍♣✝➃✛r➇➙❼r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r➇➙❼➆✇➃✶♥✍♦❸➆✇♦q➙❿♦q➙❼♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❿➙✍➝➇♦✏r➇➙❼➠◗➃❅➙✝➠✫r➇➙❿➵☞r➇♣✍r✳➥➞r➇➆☞r✳➟✇➂➶♥➞➷Ñ➨ Ù ➂➶♥✤r⑩➴ ➙✝➃➇Ý➌➆✇➃❅➙✝➙✍r❂Ó⑤♦q♣✝➠✫r✦Ý
r❂➅✇➃❅➥❅➃❅➙✝➙✝➂➄➆☞r➇➆✇➃✧➆✇➃✧➙✝➃✧➥➞r➇➦➄➥❅♠✇➦➭r➇♣❿r❂➂➄➅ Ù ➃❅♣✝➙✍r✑➆☞r✳➠✫r②♥✍♣✝➂✚✘✶➆✇➃✓➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✑r❂➥➞r➇➆☞r❂➂➄➅④♥✍➃❅♣ Ù r➇➦➄♦✳➆✇➃✧➟✇➂➶♥➞➷❿➽➚r➇➙❼➫✆☎
➠◗♦q➠◗➃❅➅④♥✍♦q➙✶➅✇♦q➙✓➪➌♠☞r➇➂➄➙✶♦✂➥✁☎➇➦➄➥❅♠✇➦➄♦☎➅☞➝➇♦✂➵Ï♦❸➆✇➃✳➙✝➃❅♣✧➃ Ù ➂➶♥✤r➇➆✇♦✇Ý✇➥❅♦q➠◗♦☎➅☞r◗r②♥✍➂ Ù r➇➜➞➝➇♦☎➆✇➃✳♠✇➠ ➅✇♦ Ù ♦◗♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷
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➆✇➃✫➠◗➃❅➆✇➂➄➆☞r➇➙❂➆✇➃◗➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✇Ý✖♥✤r➇➂➄➙❂➥❅♦q➠◗♦➚➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✟➆✇➃✫➃❅♣✝♣✝♦➚➆✇➃◗➟✇➂➶♥✏➃◗➆✇➃✫➪➌♠☞r➇➆✇♣✝♦✇Ý✖➃ ✼☞➥❅➂✚✤❅➅✇➥❅➂➭r
r➇➙✝➙✝➂➄➅④♥ ✦➇♥✍➂➄➥➞r✟➃❂♣✝➃❅➙✝➂➄➙➛♥ ✤❅➅✇➥❅➂➭r◗r➇♦☎➃✯Ó⑤➃❅➂➶♥✍♦✂➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃➇➷Ñ❧✶➆✇♦➇♥✤r➇♣✝➃❅➠◗♦q➙✶➥❅♦q➠◗♦✚✼☞➩q♠✇♣✍r☎➆✇➃❂➠◗➯❅♣✝➂➶♥✍♦✂r☎➵✇♣✝♦q➟☞r➇➟✇➂ ➴
➦➄➂➄➆☞r➇➆✇➃✏➆✇➃☎➃❅♣✝♣✝♦❀➆✇➃☎➟✇➂➶♥✳➃☎r Ù r➇➦➄➂➭r➇♣✝➃❅➠◗♦q➙✛♦❊➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦❀➆✇♦q➙✳➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✑➅✇♦q➙✷➆✇➂ Ù ➃❅♣✝➙✝♦q➙✑r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙✳➆✇➃
➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦✇➷
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➲✡♦q➠◗➃❅➜➞r➇♣✝➃❅➠◗♦q➙❼r➇➅☞r➇➦➄➂➄➙✍r➇➅✇➆✇♦✷♦❂➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✑➆✇➃✓♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫r✑➲ ↕ ➽Û❧ ➥❅♦q➠ ➠◗♦❸➆✇♠✇➦➭r➇➜➞➝➇♦ ✖✩➾✹✏✦Õ ➃❅➠
♠✇➠ ➥➞r➇➅☞r➇➦ Ù r➇♣✝➂➭r➇➅④♥✍➃✳➅✇♦✂♥✍➃❅➠◗➵Ï♦✇➷✡➲✡♦q➅✇➙✝➂➄➆✇➃❅♣✍r⑩➴ ➙✝➃✑➪➌♠✇➃✑♦✂➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✫➅✇♦◗➥➞r➇➅☞r➇➦❇➯✑➙✝♠ ✼☞➥❅➂➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃
➦➄➃❅➅④♥✍♦✟➵☞r➇♣✍r✏➪➌♠✇➃✳r✏Ó➔r➇➙✝➃✛➵Ï♦q➙✝➙✍r✟➙✝➃❅♣✩➃❅➙➛♥✍➂➄➠✫r➇➆☞r✑➙✝➃❅➠ ➃❅♣✝♣✝♦✟➵Ï➃❅➦➄♦✟♣✝➃❅➥❅➃❅➵✦♥✍♦q♣❅➷ ↕ ➃❅➙✝➙✝➃❂➠◗♦❸➆✇♦✇Ý❸r✏➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✂➆✇♦q➙
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r Ù r➇♣✝➂ ☎ Ù ➃❅➦Ñ➆✇➃☎➆✇➃❅➥❅➂➄➙✍➝➇♦❀➃☎➆✇➃❅➦➭r⑨➆✇➃✯♥✍➃❅♣✝➠◗➂➄➅☞r➇♣✳r❊➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✑➆✇➃✂➃❅♣✝♣✝♦❊➆✇➃✂➟✇➂➶♥➞➷✑❧ ➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦➚➵☞r➇♣✍r❊r
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γb

Ý❸➯✧➆☞r➇➆☞r✑➵Ï♦q♣
✡ ✏ ☞ s

Pb(γb) = Q
(

√

2γb

)

,
✒ ✏✇➷➶ß ✲

➃❅➠ ➪➌♠✇➃
γb = α2 Eb

N0

➯❂r☎♣✝➃❅➦➭r➇➜➞➝➇♦☎➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✏➵☞r➇♣✍r☎♠✇➠ ➆☞r➇➆✇♦ Ù r➇➦➄♦q♣✩➆✇➃
α
➃

Q(x)
➵Ï♦❸➆✇➃✷➙✝➃❅♣✓➃❜➹✦➵✇♣✝➃❅➙✝➙✍r

➃❅➠ ♥✍➃❅♣✝➠◗♦q➙✶➆☞r☎Ó⑤♠✇➅✇➜➞➝➇♦✂➃❅♣✝♣✝♦◗➥❅♦q➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇♣❅Ý✦➥❅♦q➠◗♦✂➙✝➃❅➩q♠✇➃➇s

Q(x) =
1

2

➃❅♣➛Ó⑤➥ ( x√
2

)

=

∫ ∞

x

1√
2π

e
−t2

2 dt.
✒ ✏✇➷ à ✲

❧ ➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✑➆✇➃☎➃❅♣✝♣✝♦❊➃❜➹✦➵✇♣✝➃❅➙✝➙✍rÛ➵Ï➃❅➦➭r⑨➨❿➪✕➷ ✒ ✏✇➷➶ß ✲ ➯ Ù ➂➄➙➛♥✤r⑨➥❅♦q➠◗♦❊♠✇➠✫r✫➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✑➥❅♦q➅✇➆✇➂ ➴

à✦✒
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➥❅➂➄♦q➅☞r➇➆☞r◗r✫♠✇➠❞➆✇➃✯♥✍➃❅♣✝➠◗➂➄➅☞r➇➆✇♦ Ù r➇➦➄♦q♣✓➆✇➃
α
➷✓➾✖r➇♣✍r✫♦q➟✦♥✍➃❅♣✝➠◗♦q➙✛r◗➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✳➆✇➃✏➃❅♣✝♣✝♦✫➆✇➃✏➟✇➂➶♥✛➠◗➯❅➆✇➂➭r

➵☞r➇♣✍r☎♠✇➠ ➥➞r➇➅☞r➇➦ Ù r➇♣✝➂➭r➇➅④♥✍➃✳➅✇♦☎♥✍➃❅➠◗➵Ï♦✇Ý✇➆✇➃ Ù ➃❅➠◗♦q➙✧➆✇➃❅➙✝➥❅♦q➅✇➆✇➂➄➥❅➂➄♦q➅✆☎⑩➴ ➦➭r✏➃❅➠ ♣✝➃❅➦➭r➇➜➞➝➇♦◗r
α
s

Pbk
=

∫ ∞

0

Pb(α)p(α)dα,
✒ ✏✇➷ á ✲

➃❅➠✾➪➌♠✇➃
p(α)

♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r❀r✫Ó⑤♠✇➅✇➜➞➝➇♦⑨➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃☎➆✇➃✟➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✑➆☞r Ù r➇♣✝➂ ☎ Ù ➃❅➦✖r➇➦➄➃➞r②♥ ✦q♣✝➂➭r
α
➷❂➨❿➪➌♠✇➂ ➴

Ù r➇➦➄➃❅➅④♥✍➃❅➠◗➃❅➅④♥✍➃➇Ý☞➵Ï♦❸➆✇➃❜➴ ➙✝➃❂♦q➟✦♥✍➃❅♣✶➙✝♠☞r✂➠◗➯❅➆✇➂➭r✟➙✝♦q➟✇♣✝➃✏r✟Ó⑤♠✇➅✇➜➞➝➇♦✂➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃✑➆✇➃❂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃
γb

s

Pbk
=

∫ ∞

0

Pb(γb)p(γb)dγb.
✒ ✏✇➷ ✏ ✲

➾❿♣✝♦❸➥❅➃❅➆✇➂➄➠◗➃❅➅④♥✍♦q➙☎➙✝➂➄➠◗➂➄➦➭r➇♣✝➃❅➙✑Ó⑤♦q♣✍r➇➠●♣✝➃➞r➇➦➄➂✚✘➞r➇➆✇♦q➙✟➵☞r➇♣✍r▲➙✝➃Û♦q➟✦♥✍➃❅♣✂r➇➙✂➃❜➹✦➵✇♣✝➃❅➙✝➙✎✍❸➃❅➙✫➆✇➃❀➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✫➆✇➃
➃❅♣✝♣✝♦✂➆✇♦q➙✓➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✧➃❅➠➧r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙✶➆✇➂➄➙➛♥✍➂➄➅④♥✍♦q➙❅➷

� ✄ ✂ ❋❍❆✩❘★❆✓❫❐❘★◆❂❝ ❱✰◆✏✽☎❡✟❆✓✽❀❫✡❃✯◆✏✽❀❚❂❁

�✎✟ ✞✠✟☛✡ � ✖ ✙✛✖✘✭✮✙✛✚ ✯✟✞ ✚☞✏✡✠☞✖✘✏✑✭✑✡✪✚☞✏✑✓☞★☎✖ ✔ ✞ ✔✠✟☛✡✪✖✘✏✕✙✛✖ ✞☞☛✍✌✏✎

➾✖r➇♣✍r✓➥➞r➇➦➄➥❅♠✇➦➭r➇♣✝➠◗♦q➙❙♦✛➃✯Ó⑤➃❅➂➶♥✍♦✓➆☞r✛➽Û❧✛➼❙➅✇♦✛➆✇➃✯♥✍➃❅➥✯♥✍♦q♣→➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦➌➃❅➠✚♠✇➠✚➥➞r➇➅☞r➇➦④❧✞✝✠✟❂➻✑Ý⑩♠✇➙✍r➇♣✝➃❅➠◗♦q➙
➥❅♦q➠◗♦➚♣✝➃✯Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✻➙✝♠☞r➚➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✂➆✇➃⑨➃❅♣✝♣✝♦✻➆✇➃✫➟✇➂➶♥✟➅☞r✻r➇♠✇➙✪✤❅➅✇➥❅➂➭r➚➆✇➃⑨♦q♠✦♥✍♣✝♦q➙✏♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✏➅✇♦✻➥➞r➇➅☞r➇➦ Ý
➃❜➹✦➵✇♣✝➃❅➙✝➙✍r✘➵Ï➃❅➦➭r ➨❿➪✕➷ ✒ ✏✇➷➶ß ✲ ➷✸➲✡♦q➅✇➙✝➂➄➆✇➃❅♣✍r⑩➴ ➙✝➃➳➪➌♠✇➃⑧r❻➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r❻➯➳➠◗♦❸➆✇➃❅➦➭r➇➆☞r➸➵Ï♦q♣❀♠✇➠✫r Ù r➇♣✝➂ ☎ Ù ➃❅➦
r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➚➩④r➇♠✇➙✝➙✝➂➭r➇➅☞r➳➆✇➃❀➠◗➯❅➆✇➂➭r ✘❅➃❅♣✝♦ ✡ á ☞ ➷ ❧✛➅☞r➇➦➄➂➄➙✍r➇➅✇➆✇♦➳♦➳➙✝➂➄➅☞r➇➦✶➅☞r➳➙✍r➇➘➄➆☞r▲➆✇♦ ✼☞➦➶♥✍♣✝♦➳➥➞r➇➙✍r➇➆✇♦ ✒ á✦➷ ✏ ✲ Ý
♥✍➃❅➠☎➴ ➙✝➃✳➪➌♠✇➃

yk

➯✳♠✇➠✫r Ù r➇♣✝➂ ☎ Ù ➃❅➦❇➥❅♦q➠ ➠◗➯❅➆✇➂➭r✟➃ Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r✏➆☞r➇➆☞r➇➙✓➵Ï♦q♣❅s

µy = E[yk] = Akbk,
✒ ✏✇➷ ✔ ✲

σ2
y = E[y2

k] =

K
∑

j=1
j 6=k

A2
jρ

2
kj + σ2.

✒ ✏✇➷ ✑ ✲

➾✖r➇♣✍r✟➥➞r➇➦➄➥❅♠✇➦➭r➇♣✝➠◗♦q➙✡r✟➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✧➆✇➃✳➃❅♣✝♣✝♦☎➆✇♦✶✼☞➦➶♥✍♣✝♦✟➥➞r➇➙✍r➇➆✇♦✇Ý✇➆✇➃ ✼☞➅✇➃❜➴ ➙✝➃❂♠✇➠
γb

➪➌♠✇➃❂➥❅♦q➅④♥✍➃❅➠◗➵✇➦➄➃
➅☞➝➇♦✂➙✪✦◗♦✂♣✝♠✇➘➄➆✇♦✂➠✫r➇➙✩♥✤r➇➠✟➟Ï➯❅➠ r☎➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✦Ý☞♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➆☞r◗➵Ï➃❅➦➭r✟➙✝➃❅➩q♠✇➂➄➅④♥✍➃❂♣✍r ✘➞➝➇♦✇s

γb =
µ2

y

2σ2
y

=
A2

kb
2
k

2









K
∑

j=1
j 6=k

A2
jρ

2
kj + σ2









.
✒ ✏✇➷ ✎ ✲

✏❸♠✇➟✇➙➛♥✍➂➶♥✍♠✇➂➄➅✇➆✇♦✟➃❅➠ ✒ ✏✇➷➶ß ✲ Ý❸♥✍➃❅➠◗♦q➙✩➪➌♠✇➃❂r✟➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✧➆✇➃✳➃❅♣✝♣✝♦☎➆✇♦✶✼☞➦➶♥✍♣✝♦✟➥➞r➇➙✍r➇➆✇♦✂➵☞r➇♣✍r✟♦
k
➴ ➯❅➙✝➂➄➠◗♦
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♠✇➙✝♠✆☎➇♣✝➂➄♦✂➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦❇❧✞✝✠✟❂➻✑Ý☞➃✳➆☞r➇➆☞r✂➵Ï♦q♣❅s

Pbk
= Q





















Ak
√

√

√

√

√

σ2 +
K
∑

j=1
j 6=k

A2
jρ

2
jk





















,
✒ ✏✇➷ ✒ ✲

➃❅➠ ➪➌♠✇➃
Ak

➯✑r✂r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃✷♣✝➃❅➥❅➃❅➟✇➂➄➆☞r☎➆✇♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✂➃

σ2
➯✑r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r✏➆✇♦◗♣✝♠✇➘➄➆✇♦✇➷

➁ ➟✇➙✝➃❅♣ Ù r⑩➴ ➙✝➃◗➪➌♠✇➃◗➥❅♦q➠ ♦❀♠✇➙✝♦➚➆✇♦✿✼☞➦➶♥✍♣✝♦❀➥➞r➇➙✍r➇➆✇♦✇Ý→➥❅♦q➠◗➃✯♥✍➃❜➴ ➙✝➃◗➃❅♣✝♣✝♦Û➠◗➃❅➙✝➠◗♦❀➅☞rÛr➇♠✇➙✪✤❅➅✇➥❅➂➭r❀➆✇➃◗♣✝♠✇➘➄➆✇♦
❧✞✝✠✟❂➻ ✒

σ → 0
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➁ ➠◗➯✯♥✍♦❸➆✇♦❊➆✇➃☎➙✝➂➄➠✟♠✇➦➭r➇➜➞➝➇♦⑨➥❅♦q➠◗➵✇♠✦♥✤r➇➥❅➂➄♦q➅☞r➇➦→➆✇➃✫➽Û♦q➅④♥✍➃◗➲✩r➇♣✝➦➄♦⑨Ó⑤♦q➂✖➃❅➠◗➵✇♣✝➃❅➩④r➇➆✇♦❀➵☞r➇♣✍r⑨➂➄➅ Ù ➃❅➙➛♥✍➂➄➩④r➇♣✷♦
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Ý✕r②♥✍♣✍r Ù ➯❅➙✧➆✇♦✂➠◗➯✯♥✍♦❸➆✇♦✂➆✇➃✏➽Û♦q➅④♥✍➃✏➲✩r➇♣✝➦➄♦☎➯❂➆☞r➇➆☞r✂➵Ï♦q♣❅s

P̂bk
=

nerros

ntentativas
,

✒ ✏✇➷ ✩ ✲

➃❅➠❍➪➌♠✇➃
ntentativas

➯✟♦❊➅✄✵✇➠◗➃❅♣✝♦❀➆✇➃☎♣✝➃➞r➇➦➄➂✚✘➞r➇➜✪✍❸➃❅➙✛➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃❅➅④♥✍➃❅➙❂➃
nerros

➯☎♦❊➅✄✵✇➠◗➃❅♣✝♦❊➆✇➃☎➃❅♣✝♣✝♦q➙✳♦q➟❸➴
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P̂bk

➥❅♦q➅ Ù ➃❅♣✝➩q➃✫➵☞r➇♣✍r
Pbk

➪➌♠☞r➇➅✇➆✇♦
ntentativas →

∞ ➷◗➻✧♦❀➃❅➅④♥✤r➇➅④♥✍♦✇Ý★♥✍♦q♣✝➅☞r⑩➴ ➙✝➃✂➥❅♦q➠◗➵✇♠✦♥✤r➇➥❅➂➄♦q➅☞r➇➦➄➠◗➃❅➅④♥✍➃✟➂➄➅ Ù ➂ ☎ Ù ➃❅➦❿➃✯Ó⑤➃✯♥✍♠☞r➇♣❂➂➄➅ ✼☞➅✇➂➶♥✤r➇➙✳♣✝➃➞r➇➦➄➂✚✘➞r➇➜✪✍❸➃❅➙❅➷☎❧✛➙✝➙✝➂➄➠ÛÝ
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➆✇♦q➙❼♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅➷❼➲✡♦q➅✇➙✝➂➄➆✇➃❅♣✝➃✓♦❂➠◗♦❸➆✇➃❅➦➄♦✳➆✇♦✑➥➞r➇➅☞r➇➦✇➆✇➃❅➙✝➥❅♣✝➂➶♥✍♦✑➵Ï♦q♣ ✒ à❸➷ ✏ ✲ ➃✓➪➌♠✇➃

α
➯✓♠✇➠✫r Ù r➇♣✝➂ ☎ Ù ➃❅➦✕r➇➦➄➃➞r②♥ ✦q♣✝➂➭r



� ✄ ✟ ✄✒✂✭☎ ✞ ☛✌✞ � ✞✘☎ ✞✂✁☎✄ ✞ ✄✝✆ ✁ ☛✌✁✆☎ � ✞✡✆✟✞✰�✡✆✟✁ ✁ ✞✘☎ ✁ ✄☎✄ ✆☞✂ ✄✔☎ ✄✽✟ ✁☛✂ ✁ � �

➠◗♦❸➆✇➃❅➦➭r➇➆☞r✟➵Ï♦q♣✶♠✇➠✫r✟➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷ ↕ ➃❅➙✝➙✝➃✏➠◗♦❸➆✇♦✇Ý✦➅☞r☎➙✍r➇➘➄➆☞r☎➆✇♦ ✼☞➦➶♥✍♣✝♦☎➥➞r➇➙✍r➇➆✇♦✇Ý✇♥✍➃❅➠☎➴ ➙✝➃➇s

yk = αkAkbk +
K
∑

j=1
j 6=k

αjAjbjρkj + nk

✒ ✏✇➷➶ß➏Þ ✲

✏❸♠☞r☎➠◗➯❅➆✇➂➭r☎➃✳➙✝♠☞r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r✟➙✍➝➇♦✂➆☞r➇➆☞r➇➙✓➵Ï♦q♣❅s

µy = E[yk] = αkAkbk,
✒ ✏✇➷➶ßqß ✲

σ2
y = E[y2

k] =

K
∑

j=1
j 6=k

α2
jA

2
jρ

2
kj + σ2.

✒ ✏✇➷➶ß⑩à ✲

↕ ➃❅➙✝➙✝➃✑➠◗♦❸➆✇♦✇Ý✇➃❅➅✇➥❅♦q➅④♥✍♣✍r⑩➴ ➙✝➃❂♠✇➠
γb

➪➌♠✇➃✑➥❅♦q➅④♥✍➃❅➠◗➵✇➦➭r✟♦◗♣✝♠✇➘➄➆✇♦☎➠✫r➇➂➄➙✶r✂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r☎➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý
➆✇➃ ✼☞➅✇➂➄➆✇♦✂➵Ï♦q♣❅s

γb =
µ2

y

2σ2
y

=
(αkAk)

2

2









K
∑

j=1
j 6=k

(αjAjρkj)
2 + σ2









.
✒ ✏✇➷➶ß➏á ✲

✏❸♠✇➟✇➙➛♥✍➂➶♥✍♠✇➂➄➅✇➆✇♦✻➃❅➠ ✒ ✏✇➷➶ß ✲ ➃⑨➆✇➃❅➙✝➥❅♦q➅✇➆✇➂➄➥❅➂➄♦q➅☞r➇➅✇➆✇♦▲➥❅♦q➠●♣✝➃❅➦➭r➇➜➞➝➇♦▲➡ Ù r➇♣✝➂ ☎ Ù ➃❅➦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙ÝÑ♦q➟✦♥✍➯❅➠☎➴ ➙✝➃❊r
➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦◗➆✇♦✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦★➅✇♦◗➥➞r➇➙✝♦✂➙✝➘➄➅✇➥❅♣✝♦q➅✇♦ ✡ á✒☞ s

Pbk
=

1

2





















1 − Ak
√

√

√

√

√

A2
k + 2(σ2 +

K
∑

j=1
j 6=k

A2
jρ

2
jk)





















.
✒ ✏✇➷➶ß✓✏ ✲

❧➧➅☞➝➇♦⑧➙✝➃❅♣✂➪➌♠✇➃➚r➇➙✫r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r➇➙✂➆✇♦q➙✂➙✝➂➄➅☞r➇➂➄➙☎➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙✫➙✝➃ ✂✍r➇➠ ♦q♣➛♥✍♦q➩q♦q➅☞r➇➂➄➙✂➡⑧r➇➙✝➙✝➂➄➅☞r②♥✍♠✇♣✍r▲➆✇♦
♠✇➙✝♠✆☎➇♣✝➂➄♦✂➆✇➃❂➂➄➅④♥✍➃❅♣✝➃❅➙✝➙✝➃➇Ý

Pbk

➅☞➝➇♦✂➥➞r➇➂❇➵☞r➇♣✍r ✘❅➃❅♣✝♦◗➪➌♠☞r➇➅✇➆✇♦
σ → 0

➷
❧✱➤✖➂➄➩✇➷✞✏✇➷ à✧➂➄➦➄♠✇➙➛♥✍♣✍r✛r✷➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃❼➆✇➃✩➃❅♣✝♣✝♦✳➆✇➃✩➟✇➂➶♥Ñ➵☞r➇♣✍r✛♦✷➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❿➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦✦➃❅➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃

❧✞✝✠✟❂➻✒➃✛➃❅➠✸r➇➠✟➟✇➂➄➃❅➅④♥✍➃✛➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✚✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷ ➁ ➟✇➙✝➃❅♣ Ù ➃❂r✑➆✇➃❅➩q♣✍r➇➆☞r➇➜➞➝➇♦✟➅✇♦✏➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦
➙✝♦➇Ó⑤♣✝➂➄➆☞r☎➵Ï➃❅➦➄♦ ✼☞➦➶♥✍♣✝♦✂➥➞r➇➙✍r➇➆✇♦✇Ý✕➆✇➃ Ù ➂➄➆✇♦⑨➡✂➵✇♣✝➃❅➙✝➃❅➅✇➜➞r✫➆✇♦◗➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷✓➲✡♠✇♣ Ù r➇➙✧♦q➟✦♥✍➂➄➆☞r➇➙✧r②♥✍♣✍r Ù ➯❅➙✛➆☞r➇➙
➃❜➹✦➵✇♣✝➃❅➙✝➙✎✍❸➃❅➙✷r➇➅☞r➇➦➄➘➶♥✍➂➄➥➞r➇➙✡➃✑r②♥✍♣✍r Ù ➯❅➙✧➆✇➃❂➙✝➂➄➠✟♠✇➦➭r➇➜✪✍❸➃❅➙❅➷
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✦
10

✓✫✪☛✓✡✠✡✕☛✎✭✷✔✪ ✛
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m

❧✛➅☞r➇➦➄➂➄➙✝♦q♠❸➴ ➙✝➃✳r➇➂➄➅✇➆☞r✦Ý✇♦◗➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦★➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦❇➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✫➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷✖➻✧♦➇♥✍➃❿➪➌♠✇➃➇Ý②➵☞r➇♣✍r

m = 1
Ý②r✡Ó⑤♠✇➅✇➜➞➝➇♦✓➆✇➃❅➅✇➙✝➂➄➆☞r➇➆✇➃❼➆✇➃❿➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃→➆☞r Ù r➇♣✝➂ ☎ Ù ➃❅➦④➻✛r✌☞②r➇➩④r➇➠◗➂②➂➄➩q♠☞r➇➦➭r⑩➴ ➙✝➃

➡☎➾ ↕ ➤➑➆✇➃✳♠✇➠✫r Ù r➇♣✝➂ ☎ Ù ➃❅➦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷❿➾→♦q♣➛♥✤r➇➅④♥✍♦✇Ý✇r✟➥❅♠✇♣ Ù r✟➆☞r✟➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✧➆✇➃✷➃❅♣✝♣✝♦☎➆✇➃✳➟✇➂➶♥✩➥❅♦q➂➄➅✇➥❅➂➄➆✇➃
➥❅♦q➠ r➇➪➌♠✇➃❅➦➭r❊r➇➅☞r➇➦➄➂➄➙✍r➇➆☞r⑨➵☞r➇♣✍r⑨♦❀➥➞r➇➅☞r➇➦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷ ✡ ➠◗➃❅➆✇➂➄➆☞r⑨➪➌♠✇➃

m
r➇♠✇➠◗➃❅➅④♥✤r✦Ý❇♦❀➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦Û➆✇♦

➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➠◗➃❅➦➄➫✇♦q♣✍r✦Ý✦♦✂➪➌♠✇➃✑➂➄➅✇➆✇➂➄➥➞r✟♠✇➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦◗➠◗➃❅➅✇♦q➙✓➙✝➃ Ù ➃❅♣✝♦✇➷
➾→♦❸➆✇➃❅➠☎➴ ➙✝➃✻➩q➃❅♣✍r➇♣❀r➇➠◗♦q➙➛♥✍♣✍r➇➙✫➆✇➃▲♠✇➠ ➵✇♣✝♦❸➥❅➃❅➙✝➙✝♦✘➃❅➙➛♥✍♦❸➥✁☎➇➙➛♥✍➂➄➥❅♦❻➥❅♦q➠ ➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦❻➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
r

➵☞r➇♣➛♥✍➂➄♣✟➆☞r▲♣✍r➇➂✚✘⑨➪➌♠☞r➇➆✇♣✍r➇➆☞r➳➆☞r▲➙✝♦q➠✫r✻➆✇➃
2m

➩④r➇♠✇➙✝➙✝➂➭r➇➅☞r➇➙☎➂➄➅✇➆✇➃❅➵Ï➃❅➅✇➆✇➃❅➅④♥✍➃❅➙❅➷✘➨❿➅④♥✤➝➇♦✇Ý❐➪➌♠☞r➇➅✇➆✇♦
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+
kjninj

]

=

K
∑

i=1

K
∑

j=1

R+
kiR

+
kjE [ninj ] ,

✒ ✏✇➷➶ß✖✑ ✲

➃❅➠ ➪➌♠✇➃
R+

ki

♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r
(R−1)ki

➷❼❧✩♥✍♣✍r Ù ➯❅➙✧➆☞r✂➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦ ✒ á✦➷ ✔ ✲ Ý✦♥✍➃❅➠☎➴ ➙✝➃✳➪➌♠✇➃➇s

E [ninj] = σ2

∫ Tb

0

∫ Tb

0

E {n(t1)n(t2)} s∗i (t1)s
∗
j(t2)dt1dt2

= σ2

∫ Tb

0

s∗i (t)s
∗
j(t)dt

= σ2ρij .
✒ ✏✇➷➶ß ✎ ✲

✏❸♠✇➟✇➙➛♥✍➂➶♥✍♠✇➂➄➅✇➆✇♦✂♦✂♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦✂➆☞r✂➃❅➪➌♠☞r➇➜➞➝➇♦✫r➇➥❅➂➄➠✫r✟➅☞r✂➨❿➪✕➷ ✒ ✏✇➷➶ß✖✑ ✲ Ý✦♥✍➃❅➠☎➴ ➙✝➃❂➪➌♠✇➃✑r Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r Ù r➇➦➄➃➇s
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σ2
z =

K
∑

i=1

K
∑

j=1

R+
kiR

+
kjσ

2ρij

= σ2

K
∑

j=1

R+
kj

K
∑

i=1

R+
kiRij

= σ2
K
∑

j=1

R+
kj

[

R−1R
]

kj
.

✒ ✏✇➷➶ß✖✒ ✲

➽➚r➇➙❅Ý

[

R−1R
]

kj
=







0, k 6= j

1, k = j
.

✒ ✏✇➷➶ß✖✩ ✲

✏❸♠✇➟✇➙➛♥✍➂➶♥✍♠✇➂➄➅✇➆✇♦✂➃❅➠ ✒ ✏✇➷➶ß✖✒ ✲ Ý✦♥✍➃❅➠☎➴ ➙✝➃✳➪➌♠✇➃➇s

σ2
z = σ2R+

kk.
✒ ✏✇➷ à➇Þ ✲

↕ ➃❅➙✝➙✝➃✑➠◗♦❸➆✇♦✇Ý☞r☎➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦◗➆✇➃❂➟✇➂➶♥✶➵☞r➇♣✍r✂♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✂➯❂➃❜➹✦➵✇♣✝➃❅➙✝➙✍r◗➵Ï♦q♣❅s

Pbk
= Q

(

√

2γb

)

,
✒ ✏✇➷ à❸ß ✲

➃❅➠ ➪➌♠✇➃
γb

➯❂➃❜➹✦➵✇♣✝➃❅➙✝➙✝♦✫➵Ï♦q♣❅s

γb =
A2

k

2σ2R+
kk

.
✒ ✏✇➷ àqà ✲

❧✛➙✝➙✝➂➄➠ÛÝ✇♦q➟✦♥✍➯❅➠☎➴ ➙✝➃❂r✂➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦ ✼☞➅☞r➇➦❇➵☞r➇♣✍r✂r☎➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦◗➆✇➃❂➟✇➂➶♥➞Ý✇➆☞r➇➆☞r☎➵Ï♦q♣ ✡ á ☞ s

Pbk
= Q

(

Ak

σ
√

R+
kk

)

.
✒ ✏✇➷ à➇á ✲

❧✶♦✟➥❅♦q➅④♥✍♣✥☎➇♣✝➂➄♦✏➆✇♦ ✼☞➦➶♥✍♣✝♦✟➥➞r➇➙✍r➇➆✇♦✇Ý✦♦✟➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❐➃❅➙➛♥ ☎✟➦➄➂ Ù ♣✝➃✧➆✇➃✷➃❅♣✝♣✝♦✟➅☞r✟r➇♠✇➙✪✤❅➅✇➥❅➂➭r✏➆✇➃✷♣✝♠✇➘➄➆✇♦
❧✞✝✠✟❂➻✑Ý❿➵Ï♦q➂➄➙✟➪➌♠☞r➇➅✇➆✇♦

σ → 0
Ý❼♦⑧r➇♣✝➩q♠✇➠◗➃❅➅④♥✍♦➳➆☞r✻Ó⑤♠✇➅✇➜➞➝➇♦

Q(.)
♥✍➃❅➅✇➆✇➃❀➵☞r➇♣✍r▲➂➄➅ ✼☞➅✇➂➶♥✍♦✻➃❀➵Ï♦q♣➛♥✤r➇➅④♥✍♦✇Ý

Pbk
→ 0

➷ ➁ ➟✇➙✝➃❅♣ Ù ➃✟r➇➂➄➅✇➆☞r✟➪➌♠✇➃➇Ý✕➙✝➃❂♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦☎Ó⑤♦q♣✶♦q♣➛♥✍♦q➩q♦q➅☞r➇➦❙r➇♦q➙✓♦q♠✦♥✍♣✝♦q➙✶♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅Ý☞➃❅➅④♥✤➝➇♦✂♦

➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✫➆✇♦◗➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➥❅♦q➂➄➅✇➥❅➂➄➆✇➃❂➥❅♦q➠ ♦◗➆✇♦ ✼☞➦➶♥✍♣✝♦☎➥➞r➇➙✍r➇➆✇♦✫➃
R+

kk = 1
➷❐➾✖r➇♣✍r

♦q➟✦♥✍➃❅♣✧r✂➨❿➪✕➷ ✒ ✏✇➷ à❸ß ✲ r➇➙✝➙✝♠✇➠◗➂➄♠❸➴ ➙✝➃✳➪➌♠✇➃✏r☎➠✫r②♥✍♣✝➂✚✘✷➆✇➃❂➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦
R
➯❂➅☞➝➇♦◗➙✝➂➄➅✇➩q♠✇➦➭r➇♣❅➷

❧✒➤✖➂➄➩✇➷ ✏✇➷ ✎✳➥❅♦q➠◗➵☞r➇♣✍r✳♦✑➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✟➆✇♦✑➙✝➂➄➙➛♥✍➃❅➠✫r❂➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦✕➃✧➆✇➃✧♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫r✳♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦✳➅☞r
♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦❀♠✇➠❍➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✳➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý❙➃❅➠❍➥➞r➇➅☞r➇➦Ñ❧✞✝✠✟❂➻✑➷ ➁ ➟✇➙✝➃❅♣ Ù ➃✂♦❊➩④r➇➅✇➫✇♦❊♦q➟✦♥✍➂➄➆✇♦❊➥❅♦q➠❍r
♠✦♥✍➂➄➦➄➂✚✘➞r➇➜➞➝➇♦✳➆☞r✑➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦☎➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷→➾✖r➇♣✍r✑♠✇➠✫r❂♣✝➃❅➦➭r➇➜➞➝➇♦✏➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✳➆✇➃

5
➆ ✖✛Ý❸♦✑➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r⑩➴
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➆✇♦q♣✓r➇➦➄➥➞r➇➅✇➜➞r☎♠✇➠ ➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦◗➅☞➝➇♦◗r➇➦➄➥➞r➇➅✇➜➞r➇➆✇♦☎➵Ï➃❅➦➄♦✫➲✶➽➚➤ ➅✇➃❅➠ ➥❅♦q➠ ♠✇➠✫r ✏✦➻ ✡
3
Ù ➃✙✘❅➃❅➙✧➠✫r➇➂➄♦q♣❅➷ ➁

➙✝➂➄➙➛♥✍➃❅➠✫r➇➙❿♦q➵Ï➃❅♣✍r➇➠❲➥❅♦q➠ ♠✇➠ ➩④r➇➅✇➫✇♦✳➆✇➃✓➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦✑➂➄➩q♠☞r➇➦✇r
32
➃
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♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❿➆✇➃✶➠◗➃❅➙✝➠✫r✳➃❅➅✇➃❅♣✝➩q➂➭r✦➷

❧✛➙✓➥❅♠✇♣ Ù r➇➙✶Ó⑤♦q♣✍r➇➠ ♦q➟✦♥✍➂➄➆☞r➇➙✓r②♥✍♣✍r Ù ➯❅➙✧➆☞r☎➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦✫♥✍➃✙✦q♣✝➂➄➥➞r✟➃✑r②♥✍♣✍r Ù ➯❅➙✧➆✇➃❂➙✝➂➄➠✟♠✇➦➭r➇➜✪✍❸➃❅➙❅➷
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✪☛✎✒✿✯✓✖✴✹✗✮✬✫✗✚✦✧✳✄✦ �✮✕☛✎✭✲ ✗✜✛ ✞ ✗✮✪✄✷✚✪✄✂✒★✫✲✩✕✄✷✮★✫✷ ✎ Gp = 32

✦
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✓✫✪☛✓✡✠✡✕☛✎✭✷✔✪ ✛

➺✧➠✫r ✼☞➩q♠✇♣✍r➸➆✇➃✻➠◗➯❅♣✝➂➶♥✍♦➑r➇➦➶♥✍➃❅♣✝➅☞r②♥✍➂ Ù r➳➵☞r➇♣✍r➸➥➞r➇♣✍r➇➥✯♥✍➃❅♣✝➂✚✘➞r➇♣◗♦➑➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦ ➆✇♦➑➆✇➃✯♥✍➃❅➥✯♥✍♦q♣⑨➆✇➃❅➙✝➥❅♦q♣Ô➴
♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✑➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦Û➯❊r✻♣✍r ✘➞➝➇♦✻➃❅➅④♥✍♣✝➃❀r➇➙✟♣✝➃❅➦➭r➇➜✪✍❸➃❅➙✟➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦Û➥❅♦q➠➢➃❊➙✝➃❅➠ r➚➵✇♣✝➃❅➙✝➃❅➅✇➜➞r➳➆✇➃
➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✦➷➸➨❿➠●➵☞r➇♣➛♥✍➂➄➥❅♠✇➦➭r➇♣❅Ý❿r▲➨❿➪✕➷ ✒ ✏✇➷➶ß ✲ ➅✇♦q➙✟Ó⑤♦q♣✝➅✇➃❅➥❅➃❀r✻➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✫➆✇➃❊➃❅♣✝♣✝♦▲➆✇➃❊➟✇➂➶♥☎➵☞r➇♣✍r
♠✇➠❤➆☞r➇➆✇♦➚♠✇➙✝♠✆☎➇♣✝➂➄♦➚➅☞r✻r➇♠✇➙✪✤❅➅✇➥❅➂➭rÛ➆✇➃✫➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✦Ý✖➙✝➂➶♥✍♠☞r➇➜➞➝➇♦➚➅☞r➚➪➌♠☞r➇➦✡r✑✏✦➻ ✡ ➯

γb = Eb/N0

➷Û➻✛r
➵✇♣✝➃❅➙✝➃❅➅✇➜➞r✟➆✇➃✷➽Û❧✛➼✤Ý❸♦✏♠✇➙✝♠✆☎➇♣✝➂➄♦✑➪➌♠✇➃✛♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➃✓♦✑➙✝➂➄➅☞r➇➦✕➥❅♦q➠ ➃❅➅✇➃❅♣✝➩q➂➭r

Eb

Ý➌♥✍➃❅♣✥☎✑♠✇➠✫r❂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✶➆✇➃
➃❅♣✝♣✝♦

Pb

➪➌♠✇➃✛➃❜➹✦➥❅➃❅➆✇➃
Pb(γbe)

➷Ñ❧✒➃✯Ó⑤➃✯♥✍➂ Ù r ✏✦➻ ✡❂Ý
γbe

Ý❸➯✓➆✇➃ ✼☞➅✇➂➄➆☞r✑➥❅♦q➠◗♦✏r ✏✦➻ ✡❮♣✝➃❅➪➌♠✇➃❅♣✝➂➄➆☞r❂➵☞r➇♣✍r✏r②♥✍➂➄➅✇➩q➂➄♣
r☎➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✷➆✇➃❂➃❅♣✝♣✝♦ ✡ ✏ ☞ Ý☞➃❜➹✦➵✇♣✝➃❅➙✝➙✍r◗➵Ï♦q♣❅s

Pb = Pb(γbe) = Q
(

√

2γbe

)

.
✒ ✏✇➷ à✥✏ ✲

❧ ✢ ❁ ✰ ✕✂✁ ✖ ✰ ✕ ✤✣✤✍✆✑✆ ✕✗✖✴☞ ✗ ☞ ✕ ✰ ✤ ♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➸r▲➵Ï➃❅♣✝➆☞r▲➆✇➃❀➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦⑧➆✇♦➳➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✂➆✇➃ Ù ➂➄➆✇♦➸➡⑧➽Û❧✛➼✤➷
➺✧➙✝♠☞r➇➦➄➠◗➃❅➅④♥✍➃✳➠✫r➇➂➄➙✶➙✝➂➄➠◗➵✇➦➄➃❅➙✩➆✇➃❂➙✝➃❅♣✓➥➞r➇➦➄➥❅♠✇➦➭r➇➆☞r✟➆✇♦◗➪➌♠✇➃✑r✂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦✇Ý✇➯❂➆✇➃ ✼☞➅✇➂➄➆☞r✂➥❅♦q➠◗♦✇s

ηk = lim
N0→0

γbe

γb
.

✒ ✏✇➷ à✠✔ ✲

➻✧♦✑➥➞r➇➙✝♦✟➆✇♦✑➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✡➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý❸r❂➃ ✼☞➥❅➂✚✤❅➅✇➥❅➂➭r✏r➇➙✝➙✝➂➄➅④♥ ✦➇♥✍➂➄➥➞r❂➆✇♦
k
➴ ➯❅➙✝➂➄➠◗♦❂♠✇➙✝♠✆☎➇♣✝➂➄♦✑➯✧➆☞r➇➆☞r



� ✄ ✟ ✄✒✂✭☎ ✞ ☛✌✞ � ✞✘☎ ✞✂✁☎✄ ✞ ✄✝✆ ✁ ☛✌✁✆☎ � ✞✡✆✟✞✰�✡✆✟✁ ✁ ✞✘☎ ✁ ✄☎✄ ✆☞✂ ✄✔☎ ✄✽✟ ✁☛✂ ✁ � �

➵Ï♦q♣ ✡ á ☞ s
ηk =

1

R+
kk

,
✒ ✏✇➷ à✦✑ ✲

r✟➪➌♠☞r➇➦❙➅☞➝➇♦☎➆✇➃❅➵Ï➃❅➅✇➆✇➃❂➅✇➃❅➠ ➆✇♦☎➅✇➘ Ù ➃❅➦❙➆✇➃✳♣✝♠✇➘➄➆✇♦☎➅✇➃❅➠ ➆☞r➇➙✓r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✡➆✇♦q➙✶➙✝➂➄➅☞r➇➂➄➙✡➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙❅➷✡➨❿➙➛♥✤r
➯❂r✟➩q♣✍r➇➅✇➆✇➃ Ù r➇➅④♥✤r➇➩q➃❅➠ ➃❅➠ ➙✝➃✳➃❅➠◗➵✇♣✝➃❅➩④r➇♣✩♦☎➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅➷❼➲✡♦q➠✟➟☞r②♥✍➃❜➴ ➙✝➃✳➆✇➃✳➠✫r➇➅✇➃❅➂➄♣✍r
✦➇♥✍➂➄➠✫r❀♦✻➃✯Ó⑤➃❅➂➶♥✍♦➚➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃➇Ý✖➙✝➃❅➠●r➚➅✇➃❅➥❅➃❅➙✝➙✝➂➄➆☞r➇➆✇➃❊➆✇➃✫➙✝➃⑨➥❅♦q➅✇➫✇➃❅➥❅➃❅♣✂r➇➙✟r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙❂➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙☎➃
r②♥✍➂➄➅✇➩q➃❜➴ ➙✝➃❐♦✛➠◗➃❅➙✝➠◗♦✧➩q♣✍r➇♠✏➆✇➃✡♣✝♦q➟✇♠✇➙➛♥✍➃✙✘✡➥❅♦q➅④♥✍♣✍r✧➆✇➃❅➙✍r ✂✝♠✇➙➛♥✍➃❅➙❿➅☞r➇➙Ñr➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙❇♣✝➃❅➥❅➃❅➟✇➂➄➆☞r➇➙✖➪➌♠✇➃✡♦q➙✖♦q➟✦♥✍➂➄➆✇♦q➙
➵Ï➃❅➦➄♦q➙Ñ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙ ✦➇♥✍➂➄➠◗♦q➙❅Ý➇➵Ï♦q♣✝➯❅➠✰➥❅♦q➠❲➥❅♦q➠◗➵✇➦➄➃❜➹✦➂➄➆☞r➇➆✇➃✡➥❅♦q➠◗➵✇♠✦♥✤r➇➥❅➂➄♦q➅☞r➇➦❸➵Ï♦q♣Ñ➟✇➂➶♥❿➆✇➃❅➠◗♦❸➆✇♠✇➦➭r➇➆✇♦✷➙✝➂➄➠◗➂➄➦➭r➇♣
➡➇➪➌♠✇➃❅➦➭r☎➆✇♦◗➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷

❧✛➙✝➙✝➂➄➠❨➥❅♦q➠◗♦⑨Ó⑤♦q➂✖Ó⑤➃❅➂➶♥✍♦❊➵☞r➇♣✍r❀♦ ✼☞➦➶♥✍♣✝♦❊➥➞r➇➙✍r➇➆✇♦✇Ý★♦❀➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦➚➆✇♦❀➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❂➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣
♥✤r➇➠✟➟Ï➯❅➠✸Ó⑤♦q➂❇r Ù r➇➦➄➂➭r➇➆✇♦☎➃❅➠ ➥➞r➇➅☞r➇➂➄➙✶➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❊➃✑➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷

�✎✟✄✂ ✟ ✞ � ✖ ✙✛✖✘✭✮✙✛✚ ✯✁� ✖✘✜✰✭ ✚ ✯✛✯✱✖✘★✪✓☞✭✑✡✪✚☞✏✑✓☞✒✑✚ ✯ ✭ ✚✕✔ � ✖✘✜ ✠ ✓☞✏✑✖✘✭✑✡☛✔✗✖✘✏✕✙✛✚ ☎ ✓✄✂✠★✪✖ ✡ ✌☞✩
➻✧➃❅➙➛♥✤r✻➙✝♠✇➟❸➴ ➙✝➃❅➜➞➝➇♦✇Ý❼➃❜➹✇r➇➠◗➂➄➅☞r⑩➴ ➙✝➃⑨♦✻➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦➳➆✇♦▲➆✇➃✯♥✍➃❅➥✯♥✍♦q♣☎➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✏➅☞r✻➵✇♣✝➃❅➙✝➃❅➅✇➜➞r

➆✇➃❂➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✴✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷Ñ❧✭➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✷➆✇➃❂➃❅♣✝♣✝♦◗➆✇➃❂➟✇➂➶♥✓➵☞r➇♣✍r☎♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý✇➃❅➠❞♠✇➠

➥➞r➇➅☞r➇➦❇➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦◗➵✇➦➭r➇➅✇♦☎➯❂➃❜➹✦➵✇♣✝➃❅➙✝➙✍r◗➵Ï♦q♣ ✡ á✒☞ s✡à

Pb = Q

(
√

2Ebα2

N0R
+
kk

)

,
✒ ✏✇➷ à ✎ ✲

➃❅➠✾➪➌♠✇➃
α
♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r❀r Ù r➇♣✝➂ ☎ Ù ➃❅➦✖r➇➦➄➃➞r②♥ ✦q♣✝➂➭r ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✻➪➌♠✇➃☎r②Ó⑤➃✯♥✤r⑨♦

k
➴ ➯❅➙✝➂➄➠◗♦✫♠✇➙✝♠✆☎➇♣✝➂➄♦⑨➃✏♥✍➃❅➠✾➆✇➂➄➙➛♥✍♣✝➂ ➴

➟✇♠✇➂➄➜➞➝➇♦✂➆✇➃❂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆☞r➇➆☞r✂➵Ï➃❅➦➭r☎➨❿➪✕➷ ✒ à❸➷ ✑ ✲ ➷✹✏❸➃❅♠ Ù r➇➦➄♦q♣✩➪➌♠☞r➇➆✇♣✥☎②♥✍➂➄➥❅♦✂➠◗➯❅➆✇➂➄♦☎➯❂➆☞r➇➆✇♦✂➵Ï♦q♣❅s

E[α2] = 2σ2
r .

✒ ✏✇➷ à✦✒ ✲

↕ ➃❅➙✝➥❅♦q➅✇➆✇➂➄➥❅➂➄♦q➅☞r➇➅✇➆✇♦②➴ ➙✝➃✑r✂➨❿➪✕➷ ✒ ✏✇➷ à ✎ ✲ ➥❅♦q➠ ♣✝➃❅➦➭r➇➜➞➝➇♦◗➡ Ù r➇♣✝➂ ☎ Ù ➃❅➦✞✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙Ý❸♥✍➃❅➠☎➴ ➙✝➃➇s

Pbk
=

1

2



1 − 1
√

1 +
N0R+

kk

2Ebσ2
r



 .
✒ ✏✇➷ à✦✩ ✲

➾→♦❸➆✇➃❜➴ ➙✝➃✓♦q➟✇➙✝➃❅♣ Ù r➇♣❿➅☞r✑➤✖➂➄➩✇➷✞✏✇➷ ✒❂r✷➵Ï➃❅♣✝➆☞r❂➆✇➃✶➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✏➆✇♦❂➙✝➂➄➙➛♥✍➃❅➠✫r✷➆✇➃ Ù ➂➄➆✇♦✑➡✳➵✇♣✝➃❅➙✝➃❅➅✇➜➞r✑➆✇➃✓➆✇➃❅➙Ô➴
Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷❼❧✛➠✟➟Ï♦q➙✓♦q➙✧➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙❅ÝÏ➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦★➃✑➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý✕r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠
➪➌♠✇➃❅➆☞r❀➅✇♦❀➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✇➷✂➽➚r➇➙❅Ý→r➇➂➄➅✇➆☞r❊r➇➙✝➙✝➂➄➠ÛÝ❙♦❊➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❂➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✳r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r❀➠◗➃❅➅✇♦q♣✝➃❅➙
➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃❅➙✩➆✇➃❂➃❅♣✝♣✝♦✂➆✇➃❂➟✇➂➶♥✓➙✝➃❂➥❅♦q➠◗➵☞r➇♣✍r➇➆✇♦◗r➇♦✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➷

❧ ➃ ✼☞➥❅➂✚✤❅➅✇➥❅➂➭r✑r➇➙✝➙✝➂➄➅④♥ ✦➇♥✍➂➄➥➞r❂➆✇♦✑➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✡➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❿➪➌♠☞r➇➅✇➆✇♦✏♦✏➙✝➂➄➅☞r➇➦☞➆✇♦✑♠✇➙✝♠✆☎➇♣✝➂➄♦✑➆✇➃✧➂➄➅④♥✍➃❅♣Ô➴
➃❅➙✝➙✝➃❂➃❅➙➛♥ ☎✟➙✝♦q➟❊♦☎➃✯Ó⑤➃❅➂➶♥✍♦✟➆✇♦☎➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✫➯✛♥✤r➇➠✟➟Ï➯❅➠✸➃❜➹✦➵✇♣✝➃❅➙✝➙✍r✂➵Ï➃❅➦➭r✟➨❿➪✕➷ ✒ ✏✇➷ à✦✑ ✲ ➷ ✬ ♦q➩q♦✇Ý
➙✝♠☞r➸♣✝➃❅➙✝➂➄➙➛♥ ✤❅➅✇➥❅➂➭r❻r➇♦➸➃✯Ó⑤➃❅➂➶♥✍♦➸➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃Û➯➚➠✫r➇➅④♥✍➂➄➆☞r✦Ý✩➠◗➃❅➙✝➠◗♦➸➃❅➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙✫➅✇♦q➙⑨➪➌♠☞r➇➂➄➙✫♦q➙✫➙✝➂➄➅☞r➇➂➄➙
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➙✝♦➇Ó⑤♣✝➃❅➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷

0 5 10 15

10
−2

10
−1

10
0

E
b
/N

0
 (dB)

P
b

k

Teo CMF
Teo Decor
Sim CMF
Sim Decor

✍✏✎✒✑✔✓✖✕✘✗ ✟✫✛ �✜✣✂✁✥✕✄✷ ✄✻✗☞✄✖✎✒✴✒✎✭✬✫✗✮✬✖✦ ✬✖✦ ✦✩✕☛✕✄✷ ✬✖✦ ✄✖✎✒✳ ✱✻✗✡✕✘✗ ✷✔✪ ✬✖✦✩✳✄✦✰✲✩✳✄✷✮✕✄✦✰✪✺✲✰✷✮★ ✆ ✦✩★✫✲✩✎✭✷✮★✻✗✡✴✞✦ ✬✖✦✰✪✄✲✰✷✮✕☛✕✄✦✩✴✹✗✮✲✩✎✭✷✮★✻✗✮✬✖✷✮✕ ✦✩✿
✲ ✗✡★✻✗✡✴✼✲✰✷✮✿ ✬✖✦✰✪✝✆✔✗✡★✫✦✰✲✩✎✒✿✚✦✩★✽✳✄✷ ✠ ✗✁� ✴✭✦✩✎✒✑✔✾✵✛ ✞ ✓✖✕✝✆✔✗✮✪✠✪☛✎✒✿✯✓✖✴✹✗✮✬✫✗✮✪ ✦✧✳✄✦ �✮✕☛✎✭✲ ✗✮✪ ✛ ✞ ✗✮✪✄✷✚✪✄✂✒★✫✲✩✕✄✷✮★✫✷ ✎ Gp =

32
✦

10
✓✫✪☛✓✡✠✡✕☛✎✭✷✔✪ ✛

�✎✟✄✂ ✟✄✂ � ✖ ✙✛✖✘✭✮✙✛✚ ✯✁� ✖✘✜✰✭ ✚ ✯✛✯✱✖✘★✪✓☞✭✑✡✪✚☞✏✑✓☞✒✑✚ ✯ ✭ ✚✕✔ � ✖✘✜ ✠ ✓☞✏✑✖✘✭✑✡☛✔✗✖✘✏✕✙✛✚
✎ ✓✞✝ ✓✍✌☞✓✕✔ ✡✄✂

m

➻✧➃❅➙➛♥✤r✫➙✝♠✇➟✇➙✝➃❅➜➞➝➇♦✇Ý❙➙✝➃❅♣✥☎✫➂➄➅④♥✍♣✝♦❸➆✇♠✣✘❅➂➄➆☞r✂♠✇➠✫r◗➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦❀➵☞r➇♣✍r◗♦⑨➥✁☎➇➦➄➥❅♠✇➦➄♦◗➆☞r✫➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✳➆✇➃✏➃❅♣✝♣✝♦
➆✇➃◗♠✇➠ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✑➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✳➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦❼➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✻➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷☎❧✛➙✑➙✝➃❜➴

➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✛➆✇➃✑➃❅➙✝➵☞r➇➦➄➫☞r➇➠◗➃❅➅④♥✍♦✫♠✦♥✍➂➄➦➄➂✚✘➞r➇➆☞r➇➙✩Ó⑤♦q♣✍r➇➠❞➵✇♠✇♣✍r➇➠◗➃❅➅④♥✍➃✏r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➇➙❅Ý☞➆✇➃ Ù ➂➄➆✇♦⑨➡◗➙✝♠☞r✂Ó➔r➇➥❅➂➄➦➄➂➄➆☞r➇➆✇➃✳➆✇➃
➩q➃❅♣✍r➇➜➞➝➇♦✂➅☞r➇➙✓➙✝➂➄➠✟♠✇➦➭r➇➜✪✍❸➃❅➙✩➥❅♦q➠◗➵✇♠✦♥✤r➇➥❅➂➄♦q➅☞r➇➂➄➙❅➷

➲✡♦q➅✇➙✝➂➄➆✇➃❅♣✝➃✟r⑨➨❿➪✕➷ ✒ ✏✇➷ à ✎ ✲ Ý✕➅☞r✫➪➌♠☞r➇➦
α
♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r❊r➇➩q♦q♣✍r◗♠✇➠✫r Ù r➇♣✝➂ ☎ Ù ➃❅➦✖➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➪➌♠✇➃☎r②Ó⑤➃✯♥✤r

♦
k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✇➷✹✏❸➃❅♠ Ù r➇➦➄♦q♣✩➪➌♠☞r➇➆✇♣✥☎②♥✍➂➄➥❅♦✂➠◗➯❅➆✇➂➄♦✂➯✳➆☞r➇➆✇♦◗➵Ï♦q♣❅s

E[α2] =
Γ(m + 1)

Γ(m)

(

Ω

m

)

.
✒ ✏✇➷ áqÞ ✲

❧✩♥✍♣✍r Ù ➯❅➙Ñ➆✇➃✡♠✇➠✫r✧➠✟♠✇➆☞r➇➅✇➜➞r✛➆✇➃ Ù r➇♣✝➂ ☎ Ù ➃❅➂➄➙
γb = α2 Eb

N0

Ý➇➵Ï♦❸➆✇➃❜➴ ➙✝➃✡♦q➟✦♥✍➃❅♣✖r✷➾ ↕ ➤➚➃❜➹✦➵✇♣✝➃❅➙✝➙✍r✷➃❅➠✚Ó⑤♠✇➅✇➜➞➝➇♦
➆✇➃

γb

➷ ↕ ➃❅➙✝➥❅♦q➅✇➆✇➂➄➥❅➂➄♦q➅☞r➇➅✇➆✇♦✫r✂➨❿➪✕➷ ✒ ✏✇➷ à ✎ ✲ ➥❅♦q➠ ♣✝➃❅➦➭r➇➜➞➝➇♦◗➡✂➾ ↕ ➤ ♦q➟✦♥✍➂➄➆☞r✦Ý✦♥✍➃❅➠☎➴ ➙✝➃➇s
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Pbk
=

∫ ∞

0

Q

(√

2γb

R+
kk

)

mm

Γ(m)γb
mγm−1

b e
(−m

γb
γb

)
dγb

=
2mm

Γ(m)γb
m

∫ ∞

0

Q
(x

δ

)

x2m−1e(−mx2

δ
) dx,

✒ ✏✇➷ á✦ß ✲

➃❅➠ ➪➌♠✇➃
γb = E[α2] Eb

N0

Ý
x =

√
γb

➃
δ =

√

R+
kk

2

➷✮✡✓➃❅➙✝♦q➦ Ù ➃❅➅✇➆✇♦②➴ ➙✝➃✑r✂➂➄➅④♥✍➃❅➩q♣✍r➇➜➞➝➇♦✇Ý✇➃❅➅✇➥❅♦q➅④♥✍♣✍r⑩➴ ➙✝➃➇Ý✕➃❅➅④♥✤➝➇♦✇Ý
r☎➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦✇s

Pbk
=

1

2







(

γb

mR+
kk

)−m

Γ(m + 1
2
) 2F1

(

[m, m + 1
2
], m + 1,

−mR+
kk

γb

)

Γ(m) m
√

π






,

✒ ✏✇➷ á④à ✲

➃❅➠ ➪➌♠✇➃
2F1([·, ·]·, ·)

♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r⑨r✟Ó⑤♠✇➅✇➜➞➝➇♦ ✢✧➂➄➵Ï➃❅♣✝➩q➃❅♦q➠◗➯✯♥✍♣✝➂➄➥➞r✟➥❅♦q➠❞r☎➙✝➃❅➩q♠✇➂➄➅④♥✍➃❂➃❜➹✦➵☞r➇➅✇➙✍➝➇♦◗➃❅➠❞➙✝➯❅♣✝➂➄➃➇s

2F1([a, b], c, z) =

∞
∑

j=0

(a)j(b)j

(c)j

zk

k!
,

✒ ✏✇➷ áqá ✲

➃❅➠ ➪➌♠✇➃
(x)j = x(x + 1)(x + 2) · · · (x + j)

➷
❧ Ù r➇➦➄➂➭r➇➅✇➆✇♦✛r➇➙Ñ➵✇♣✝♦q➵✇♣✝➂➄➃❅➆☞r➇➆✇➃❅➙✖➆☞r✧Ó⑤♠✇➅✇➜➞➝➇♦

Q(·) ➃✡➥❅♦q➠❲r➇♠❸➹✦➘➄➦➄➂➄♦✧➆✇♦✷➙✝♦➇Ó ♥ ✸✩r➇♣✝➃✓➽➚r②♥✍➃❅➠ ☎②♥✍➂➄➥➞r
r
Ý➇♦q➟✦♥✍➃ Ù ➃❜➴

➙✝➃➳r➑➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦✘➵☞r➇♣✍r❻r➑➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃Û➆✇➃▲➃❅♣✝♣✝♦ ➆✇♦❻➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❊➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý✓➵☞r➇♣✍r Ù r➇➦➄♦q♣✝➃❅➙
➂➄➅④♥✍➃❅➂➄♣✝♦q➙✶➆✇➃

m
Ý☞➃❅➠ ➥➞r➇➅☞r➇➦❙➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✫➻✛r✌☞②r➇➩④r➇➠◗➂ ➴ ➠Ûs

Pbk
=

[

1

2
(1 − µ)

]m m−1
∑

j=0

(

m − 1 + j

j

)[

1

2
(1 + µ)

]j

,
✒ ✏✇➷ á✦✏ ✲

➃❅➠ ➪➌♠✇➃
µ
➯❂➆☞r➇➆✇♦✂➵Ï♦q♣❅s

µ =

√

√

√

√

1

1 +
mR+

kk

γb

=

√

γ̄bηk

γ̄bηk + m
.

✒ ✏✇➷ á✘✔ ✲

➁ ➟✇➙✝➃❅♣ Ù ➃✫➪➌♠✇➃✫r❀➨❿➪✕➷ ✒ ✏✇➷ á✦✏ ✲ ➃❅➪➌♠✇➂ Ù r➇➦➄➃✂➡❀➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦✻➆☞r❀➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✏➆✇➃◗➃❅♣✝♣✝♦Û➆✇➃✂♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫r
➥❅♦q➠❨➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃◗➃✂➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✾✡✧r➞Ö❸➦➄➃❅➂➄➩q➫ ✡ ✏ ☞❼➃✂♦Û➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦

ηk

r➇➵☞r➇♣✝➃❅➥❅➃◗➆✇➃ Ù ➂➄➆✇♦➚r➇♦❀♠✇➙✝♦Û➆✇♦
➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅➷

➾✖r➇♣✍r✳♦❂➥➞r➇➙✝♦❂➆✇➃✶♠✇➠✫r❂➻✛r✌☞②r➇➩④r➇➠◗➂❸➥❅♠ ✂✝♦❂➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦
m = 2

Ý④♦✳➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✑➆✇♦❂➙✝➂➄➙➛♥✍➃❅➠✫r✳➯✶➂➄➆✣✤❅➅④♥✍➂➄➥❅♦
r➇♦✂➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✫♦q➟✦♥✍➂➄➆✇♦☎➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦❇➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❊➃❂➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃

L = 2
➷✹✟✳➃❜➴

➅✇➃❅♣✍r➇➦➄➂✚✘➞r➇➅✇➆✇♦✇Ý✩♠✇➠P➥➞r➇➅☞r➇➦✛➥❅♦q➠P➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ➻✛r✌☞②r➇➩④r➇➠◗➂✶➙✝➃❅➠ ➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃✻➥❅♦q➠P➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦
m➂➄➅④♥✍➃❅➂➄♣✝♦✇Ý✡➯➚➃❅➪➌♠✇➂ Ù r➇➦➄➃❅➅④♥✍➃➚r⑧♠✇➠P➥➞r➇➅☞r➇➦✧➥❅♦q➠❉➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✘➥❅♦q➠P➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃

L = m
➷

❧✛➦➄➯❅➠➧➆✇➂➄➙✝➙✝♦✇Ý❙➙✝➃✟♦⑨➙✝➂➄➅☞r➇➦→Ó⑤♦q♣✧♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦◗➵Ï♦q♣✛♠✇➠✾➥➞r➇➅☞r➇➦Ñ➻✛r✌☞②r➇➩④r➇➠◗➂★➥❅♦q➠✾➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃✟➂➄➩q♠☞r➇➦→r
d
Ý ♦
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➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✑➙✝♦➇Ó⑤♣✝➂➄➆✇♦❂➙✝➃❅♣✥☎❂➂➄➆✣✤❅➅④♥✍➂➄➥❅♦❂r➇♦❂➙✝♦➇Ó⑤♣✝➂➄➆✇♦❂➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫☎➆✇➃✓➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃
L = dm✡ ✏ ☞ ➷

❧➧➤✖➂➄➩✇➷ ✏✇➷ ✩➳r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➸r▲➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✫➆✇➃❊➃❅♣✝♣✝♦⑧➆✇➃❊➟✇➂➶♥✂➆✇➃❀♠✇➠●➙✝➂➄➙➛♥✍➃❅➠✫r⑧➲ ↕ ➽Û❧✾♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦
➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý☞➃❅➠❞♠✇➠ ➥➞r➇➅☞r➇➦★➥❅♦q➠❞➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✫➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷ ✡ ➠◗➃❅➆✇➂➄➆☞r☎➪➌♠✇➃

r ✼☞➩q♠✇♣✍r✳➆✇➃✓➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✏r➇♠✇➠◗➃❅➅④♥✤r✦Ý④➠◗➃❅➅✇♦q♣✝➃❅➙❼➙✍➝➇♦✑r➇➙❼➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃❅➙Ñ➆✇➃✶➃❅♣✝♣✝♦✑➆✇➃✓➟✇➂➶♥➞➷✖❧✛➙❼➥❅♠✇♣ Ù r➇➙
Ó⑤♦q♣✍r➇➠➧♦q➟✦♥✍➂➄➆☞r➇➙✛r②♥✍♣✍r Ù ➯❅➙✷➆☞r✫➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦❊♥✍➃✙✦q♣✝➂➄➥➞r◗➃✟r②♥✍♣✍r Ù ➯❅➙✳➆✇➃✏➙✝➂➄➠✟♠✇➦➭r➇➜➞➝➇♦✇Ý✕➃✏♦q➙✷♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦q➙✛➙✝➂➄➠◗➂➄➦➭r➇♣✝➃❅➙
➃❅➅④♥✍♣✝➃✑➃❅➦➭r➇➙ Ù r➇➦➄➂➄➆☞r➇➠✸r✂➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦◗♥✍➃✙✦q♣✝➂➄➥➞r☎♦q➟✦♥✍➂➄➆☞r✦➷
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m
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➆✇♦q♣☎➃❅➠❉♠✇➠ ➥➞r➇➅☞r➇➦✩➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❻➃❀➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃

L
➃❀➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦✶➥❅♦q➠ ➆✇➃❅➙Ô➴

Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦☎➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
L
Ý➌➙✝➂➄➠✟♠✇➦➄♦q♠❸➴ ➙✝➃✧♠✇➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃✷➥❅♦q➠

L
➥➞r➇➠◗➂➄➅✇➫✇♦q➙❐♣✝➃❅➙✝♦q➦ Ù ➘ Ù ➃❅➂➄➙❅Ý✦➥❅♠ ✂✝♦☎➠◗♦❸➆✇➃❅➦➄♦

➆✇➂➄➙✝➥❅♣✝➃✯♥✍♦◗➅✇♦☎♥✍➃❅➠◗➵Ï♦✂➯❂♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➆✇♦✫➵Ï♦q♣❅s

yl = R(l)A(l)b + nl,
✒ ✏✇➷ á✠✑ ✲

➃❅➠P➪➌♠✇➃ ⑦
(l) = diag{Al1, . . . , AlK} ➃ nl

➯➚♠✇➠ Ù ➃✯♥✍♦q♣✫➩④r➇♠✇➙✝➙✝➂➭r➇➅✇♦➸➥❅♦q➠P➠✫r②♥✍♣✝➂✚✘❊➆✇➃➚➥❅♦ Ù r➇♣✝➂ ☎➇➅✇➥❅➂➭r
2σ2R(l)

➷
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➅☞r➸♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦❻♠✇➠ ➆✇➃✯♥✍➃❅➥✯♥✍♦q♣⑨➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣ ✡ ß➏Þ ☞ ➷✚➻✧♦➑➆✇➂➭r➇➩q♣✍r➇➠✫r✦Ý

FCk,l

♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r❻♦ ✼☞➦➶♥✍♣✝♦
➥➞r➇➙✍r➇➆✇♦◗➥❅♦q➠ ♦✂➙✝➂➄➅☞r➇➦❇➆✇♦

k
➴ ➯❅➙✝➂➄➠◗♦☎♠✇➙✝♠✆☎➇♣✝➂➄♦✂➵☞r➇♣✍r✂♦

l
➴ ➯❅➙✝➂➄➠◗♦☎➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦✇➷❐❧✛➵ ✦q➙✧r☎➵☞r➇➙✝➙✍r➇➩q➃❅➠❞➅✇♦q➙ ✼☞➦➶♥✍♣✝♦q➙

➥➞r➇➙✍r➇➆✇♦q➙❅Ý❙♦q➙✛➙✝➂➄➅☞r➇➂➄➙✧➙✍➝➇♦⑨➥❅♦q➠✟➟✇➂➄➅☞r➇➆✇♦q➙✛➅✇♦⑨♣✝➃❅➥❅➃❅➵✦♥✍♦q♣☛✡✓❧✷Õ❂➨✶ÝÏ➙✝➃❅➩q♠✇➅✇➆✇♦❊♦⑨➠◗➯✯♥✍♦❸➆✇♦✫➆✇➃✟➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦✫➆✇➃
➠ ☎⑩➹✦➂➄➠✫r⑨♣✍r ✘➞➝➇♦✇➷ ✏✫✦Û➃❅➅④♥✤➝➇♦➚♦❸➥❅♦q♣✝♣✝➃◗rÛ➂➄➅ Ù ➃❅♣✝➙✍➝➇♦➚➆☞r❀➠✫r②♥✍♣✝➂✚✘☎➆✇➃◗➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✇➷⑨➲✡♦q➠ ➃❅➙✝➙✝➃✫➃❅➙✝➪➌♠✇➃❅➠✫r➚➆✇➃
➵ ✦q➙Ô➴ ➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦☎➃ Ù ➂➶♥✤r⑩➴ ➙✝➃✑r✂➂➄➅ Ù ➃❅♣✝➙✍➝➇♦◗➆☞r✂➠✫r②♥✍♣✝➂✚✘

R(l)
➵☞r➇♣✍r☎➥➞r➇➆☞r✂♠✇➠❞➆✇♦q➙✓➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦✇Ý✕➥❅♦q➠◗♦✂➯✳Ó⑤➃❅➂➶♥✍♦

➅✇♦✏➃❅➙✝➪➌♠✇➃❅➠✫r✟➆✇➃✛➵✇♣✝➯❜➴ ➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦✇Ý➌➅✇♦✏➪➌♠☞r➇➦Ï♥✍➃❅➠☎➴ ➙✝➃
L
➂➄➅ Ù ➃❅♣✝➙✎✍❸➃❅➙✩➆☞r✑➠✫r②♥✍♣✝➂ ➹✂➆✇➃✛➥❅♦q♣✝♣✝➃❅➦➭r➇➜➞➝➇♦✏➃✷r➇➵Ï➃❅➅☞r➇➙

♠✇➠✫r☎➥❅♦q➠✟➟✇➂➄➅☞r➇➜➞➝➇♦☎➅✇♦✂♣✝➃❅➥❅➃❅➵✦♥✍♦q♣ ✡✓❧✷Õ❂➨✶➷

FC 
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FC 
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FC 

K,1


FC 

K,L
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RAKE


1
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Detecção


Multiusuário


[
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-1 
]


b

1


^


b

K


^


y

l
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✷✮✕✄✬✖✦✩✿

L
✛

➾→♦❸➆✇➃❜➴ ➙✝➃✑♦q➟✇➙✝➃❅♣ Ù r➇♣✧➅☞r✫➤✖➂➄➩✇➷ ✏✇➷➶ßqß✏r✂➥❅♦q➠◗➵☞r➇♣✍r➇➜➞➝➇♦✂➃❅➅④♥✍♣✝➃✏♦◗➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦⑨➆✇♦◗➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✛➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r⑩➴
➥❅➂➄♦q➅☞r➇➆✇♦q♣✡➃❅➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃✛➥❅♦q➠✸➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✂➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

L
➃✷➃❅➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃✛➥❅♦q➠✸➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦

✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✣➃✻➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃
L
➷ ❧✛➙⑨➥❅♠✇♣ Ù r➇➙⑨➥❅♦q➠◗➵✇♣✝♦ Ù r➇➠ r➸➃❅➪➌♠✇➂ Ù r➇➦✚✤❅➅✇➥❅➂➭r⑧➃❅➅④♥✍♣✝➃✻➃❅➙✝➙✝➃▲➆✇♦q➂➄➙◗➙✝➂➄➙➛♥✍➃❅➠✫r➇➙❅➷

➁ ➟✇➙✝➃❅♣ Ù ➃▲r➇➂➄➅✇➆☞r✦Ý✩♦➸➩④r➇➅✇➫✇♦➸➆✇➃➚➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦➑➆✇♦➸➙✝➂➄➙➛♥✍➃❅➠✫r⑧➆✇➃ Ù ➂➄➆✇♦➑r➇♦➸♠✇➙✝♦➑➆☞r⑧➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃➚➃❅➠P♠✇➠
➥➞r➇➅☞r➇➦✖➥❅♦q➠➧➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷✳❧✛➙✷➥❅♠✇♣ Ù r➇➙✛Ó⑤♦q♣✍r➇➠➧♦q➟✦♥✍➂➄➆☞r➇➙✛♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦◗♦⑨➙✝➂➄➠✟♠✇➦➭r➇➆✇♦q♣✧➃✑Ó⑤♦q♣✍r➇➠➧♠✇➙✍r➇➆✇♦q➙
♦q➙✓➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦q➙✶➆✇➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✶➃

Gp = 32
➷

❧●➤✖➂➄➩✇➷ ✏✇➷➶ß⑩à❻➂➄➦➄♠✇➙➛♥✍♣✍r✘r ➃❅➪➌♠✇➂ Ù r➇➦✚✤❅➅✇➥❅➂➭r ➃❅➅④♥✍♣✝➃⑧♦q➙Û➙✝➂➄➙➛♥✍➃❅➠✫r➇➙Û➥❅♦q➠❯➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✒➃
➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃

L = m ∗ d
➃▲♦q➙❊➙✝➂➄➙➛♥✍➃❅➠✫r➇➙❊➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✣➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➃▲➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃➳➆✇➃

♦q♣✝➆✇➃❅➠
d
➷
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L
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➺✧➠✫r Ù ➃✙✘⑨➪➌♠✇➃⑨♦➚➆✇➃✯♥✍➃❅➥✯♥✍♦q♣☎➽✻➽✑✏✦➨✭➥❅♦q➅ Ù ➃❅♣✝➩q➃⑨➵☞r➇♣✍rÛ♦➚➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✟➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý✖➡Û➠◗➃❅➆✇➂➄➆☞r
➪➌♠✇➃

σ → 0
Ý❙➙✝♠☞r⑨♣✝➃❅➙✝➂➄➙➛♥ ✤❅➅✇➥❅➂➭r❊r➇♦❊➃✯Ó⑤➃❅➂➶♥✍♦⑨➵Ï➃❅♣➛♥✍♦②➴ ➦➄♦q➅✇➩q➃✏➃✟➙✝♠☞r⑨➃ ✼☞➥❅➂✚✤❅➅✇➥❅➂➭r❊r➇➙✝➙✝➂➄➅④♥ ✦➇♥✍➂➄➥➞r✫➙✍➝➇♦❊➂➄➆✣✤❅➅④♥✍➂➄➥➞r➇➙✳➡➇➙

➆✇♦✂➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➃➇Ý☞➵☞r➇♣✍r☎♦✂➥➞r➇➙✝♦◗➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✇Ý☞➥❅♦q➅ Ù ➃❅♣✝➩q➃❅➠❞➵☞r➇♣✍r✦s

ηk =
1

R+
kk

.
✒ ✏✇➷ á✌✎ ✲

❧❨➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦✘➃❜➹✇r②♥✤r❻➵☞r➇♣✍r❻r➑➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃Û➆✇➃▲➃❅♣✝♣✝♦❻➆✇➃▲➟✇➂➶♥⑨➆✇♦❻➆✇➃✯♥✍➃❅➥✯♥✍♦q♣➚➽✻➽✑✏✦➨✶Ý✩➃❅➠ ➥➞r➇➅☞r➇➦
➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✂➥❅♦q➠ ➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r➇➙✶➃❂➥❅♦q♣✝♣✝➃❅➦➭r➇➜✪✍❸➃❅➙✓➪➌♠☞r➇➂➄➙✝➪➌♠✇➃❅♣❅Ý☞➯❂➆☞r➇➆☞r☎➵Ï♦q♣ ✡ á ☞ s

Pb1 = 2K−1
∑

b2,··· ,bk∈[−1,1]K−1

Q

(

A1(MR)11

σ
√

(MRM)11

(

1 +
K
∑

k=2

Ak(MR)1k

(MRA)11
bk

))

,
✒ ✏✇➷ á✠✒ ✲

➃❅➠❞➪➌♠✇➃
M
➯✑r✂➠✫r②♥✍♣✝➂✚✘✳➆✇➃✳♥✍♣✍r➇➅✇➙➛Ó⑤♦q♣✝➠✫r➇➜➞➝➇♦✂➵☞r➇♣✍r✂♦⑨➽✻➽✑✏✦➨❮➃

(MR)kk

♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r✫♦
kk
➴ ➯❅➙✝➂➄➠◗♦✂➃❅➦➄➃❜➴

➠◗➃❅➅④♥✍♦✫➆☞r◗➠✫r②♥✍♣✝➂✚✘❂♣✝➃❅➙✝♠✇➦➶♥✤r➇➅④♥✍➃✑➆✇♦⑨➵✇♣✝♦❸➆✇♠✦♥✍♦✫➆☞r➇➙✧➠✫r②♥✍♣✝➂✚✘❅➃❅➙
M
➃

R
➷✶❧✛➦➄➯❅➠❞➆✇➂➄➙✝➙✝♦✇ÝÏ♦◗♥✍➃❅♣✝➠◗♦ Ak(MR)1k

(MRA)11♣✝➃❅➵✇♣✝➃❅➙✝➃❅➅④♥✤r✑r✷➥❅♦q➅④♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦✷➆✇♦
k
➴ ➯❅➙✝➂➄➠◗♦✷♠✇➙✝♠✆☎➇♣✝➂➄♦✳➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✝➃❅➅④♥✍➃✓➡ Ù r➇♣✝➂ ☎ Ù ➃❅➦✇➆✇➃✶➆✇➃❅➥❅➂➄➙✍➝➇♦✇Ýq♣✝➃❅➦➭r②♥✍➂ Ù r✛➡✷➥❅♦q➅❸➴

♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦✛➆✇♦✷♠✇➙✝♠✆☎➇♣✝➂➄♦✷➆✇➃❅➙✝➃ ✂✍r➇➆✇♦✇➷❿➻✧➃❅➙➛♥✍➃✶➥➞r➇➙✝♦✇Ý④➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✝♦q♠❸➴ ➙✝➃✩➪➌♠✇➃✩♦✳➵✇♣✝➂➄➠◗➃❅➂➄♣✝♦✧♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➇➵☞r➇♣✍r✧Ó➔r➇➥❅➂➄➦➄➂➶♥✤r➇♣
r☎➅✇♦➇♥✤r➇➜➞➝➇♦✇Ý✇Ó⑤♦q➂❙♦◗♠✇➙✝♠✆☎➇♣✝➂➄♦✂➆✇➃❂➂➄➅④♥✍➃❅♣✝➃❅➙✝➙✝➃➇➷✡➾✖r➇♣✍r✂➥➞r➇➦➄➥❅♠✇➦➭r➇♣ ✒ ✏✇➷ á✠✒ ✲ Ý✇➃❅➅✇➥❅♦q➅④♥✍♣✍r⑩➴ ➙✝➃✑➥❅➃❅♣➛♥✤r✂➆✇➂✽✼☞➥❅♠✇➦➄➆☞r➇➆✇➃✳➵Ï♦q➂➄➙
♥✍➃❅➠☎➴ ➙✝➃✳♠✇➠ ➅✄✵✇➠◗➃❅♣✝♦◗➆✇➃✳♥✍➃❅♣✝➠◗♦q➙✶➪➌♠✇➃✑➥❅♣✝➃❅➙✝➥❅➃❅➠❞➃❜➹✦➵Ï♦q➅✇➃❅➅✇➥❅➂➭r➇➦➄➠◗➃❅➅④♥✍➃✳➥❅♦q➠

K
➷

➾→♦❸➆✇➃❜➴ ➙✝➃➇Ý❿➃❅➅④♥✤➝➇♦✇Ý✖♥✍♣✍r➇➟☞r➇➦➄➫☞r➇♣❂➥❅♦q➠➢r➚➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦⑧r➇➵✇♣✝♦➞➹✦➂➄➠✫r➇➆☞r❀➆☞r➚➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃☎➆✇➃⑨➃❅♣✝♣✝♦✻➆✇➃✫➟✇➂➶♥
➵☞r➇♣✍r❊♦❀➥➞r➇➙✝♦❀➅✇♦Û➪➌♠☞r➇➦Ñ➙✝➃✂♠✦♥✍➂➄➦➄➂✚✘➞r➇➠➧➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✑➵✇♠✇♣✍r➇➠◗➃❅➅④♥✍➃◗r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➇➙❅➷✏➾✖r➇♣✍r❀♠✇➠❍➙✝➂➄➙➛♥✍➃❅➠✫rÛ➲ ↕ ➽Û❧
➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✟➃❅➠ ➥➞r➇➅☞r➇➦Ï❧✞✝✠✟❂➻ ♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦✑♦✟➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✧➽✻➽✑✏✦➨✶Ý☞r✏➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦◗➵☞r➇♣✍r✟r✏➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✧➆✇➃
➃❅♣✝♣✝♦✂♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦☎➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✧➵✇♠✇♣✍r➇➠◗➃❅➅④♥✍➃✑r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➇➙✡➯ ✡ à✥✏ ☞ s

Pbk
≃ Q

(
√

2γb −
1

4
F
(

2γb,
K − 1

Gp

)

)

,
✒ ✏✇➷ á✠✩ ✲

➃❅➠ ➪➌♠✇➃

F(x, y) ,

(

√

x(1 +
√

y)2 + 1 −
√

x(1 −√
y)2 + 1

)2

,
✒ ✏✇➷ ✏④Þ ✲

➃
γb

➯☎r⑨♣✝➃❅➦➭r➇➜➞➝➇♦✫➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦◗➆✇♦❊➙✝➂➄➙➛♥✍➃❅➠✫r✦➷✷❧ ➨❿➪✕➷ ✒ ✏✇➷ á✠✩ ✲ ➯ Ù ☎➇➦➄➂➄➆☞r✂➵☞r➇♣✍r
K < Gp

Ý ♦❊➪➌♠✇➃✟➙✝➂➄➩q➅✇➂✽✼☞➥➞r
➪➌♠✇➃✧♦✑➅✄✵✇➠◗➃❅♣✝♦✏➆✇➃✓♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❐➆✇➃ Ù ➃✛➙✝➃❅♣❐➠✫r➇➂➄♦q♣Ñ➪➌♠✇➃✧♦✑➩④r➇➅✇➫✇♦✑➆✇➃✧➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦✏➆✇♦✑➙✝➂➄➙➛♥✍➃❅➠✫r✦Ý➌➥❅♦q➅✇➆✇➂➄➜➞➝➇♦
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♣✝➃❅➙✝➵Ï➃❅➂➶♥✤r➇➆☞r☎➅☞r➇➙✓➙✝➂➄➠✟♠✇➦➭r➇➜✪✍❸➃❅➙✩♣✝➃➞r➇➦➄➂✚✘➞r➇➆☞r➇➙❅➷
❧ ➤✖➂➄➩✇➷ ✏✇➷➶ß➏á⑨r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r❊r✫➆✇➂➶Ó⑤➃❅♣✝➃❅➅✇➜➞r✫➅✇♦⑨➥✁☎➇➦➄➥❅♠✇➦➄♦◗➆☞r✫➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃❂➆✇➃✟➃❅♣✝♣✝♦⑨➪➌♠☞r➇➅✇➆✇♦⑨♠✇➙✍r➇➆☞r➇➙✳r➇➙

➃❜➹✦➵✇♣✝➃❅➙✝➙✎✍❸➃❅➙✳r➇➅☞r➇➦➄➘➶♥✍➂➄➥➞r✟➃❜➹✇r②♥✤r ✒ ✏✇➷ á✠✒ ✲ ➃✏r◗➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦❊➵☞r➇♣✍r✂➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✷➵✇♠✇♣✍r➇➠◗➃❅➅④♥✍➃✏r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➇➙ ✒ ✏✇➷ á✠✩ ✲ ➷
❧✛➙✓➥❅♠✇♣ Ù r➇➙✧➙✍➝➇♦✂➵☞r➇♣✍r➇➠◗➃✯♥✍♣✝➂✚✘➞r➇➆☞r➇➙✶➵Ï➃❅➦➄♦✂➩④r➇➅✇➫✇♦✂➆✇➃❂➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦

Gp

Ý☞♦◗➪➌♠✇➃✑r➇➦➶♥✍➃❅♣✍r☎♦☎♥✤r➇➠✫r➇➅✇➫✇♦✂➆☞r➇➙
➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙❅➷✡❧✭➥❅♠✇♣ Ù r✂➵☞r➇♣✍r

Gp = 16
Ó⑤♦q➂❇r✂➪➌♠✇➃❂➠✫r➇➂➄➙✶➙✝➃❂➆✇➂➄➙➛♥✤r➇➅✇➥❅➂➄♦q♠❀➆☞r✂➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦⑨r➇➅☞r➇➦➄➘➶♥✍➂➄➥➞r✏➃❜➹✇r②♥✤r✦Ý

➵Ï♦q➂➄➙✧➙✝➂➄➠✟♠✇➦➄♦q♠❸➴ ➙✝➃❂♦⑨➙✝➂➄➙➛♥✍➃❅➠✫r◗➥❅♦q➠
10

♠✇➙✝♠✆☎➇♣✝➂➄♦q➙❅Ý Ù r➇➦➄♦q♣✓➠✟♠✇➂➶♥✍♦◗➵✇♣✝♦➞➹✦➂➄➠◗♦✫➆✇➃
Gp

➷✧❧✛➦➄➯❅➠❞➆✇➂➄➙✝➙✝♦✇Ý ➪➌♠☞r➇➅④♥✍♦
➠◗➃❅➅✇♦q♣✛♦✫♥✤r➇➠✫r➇➅✇➫✇♦❊r✫➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r❊➵✇➂➄♦q♣✧➯☎r❊r➇➵✇♣✝♦➞➹✦➂➄➠✫r➇➜➞➝➇♦✫➆☞r✫➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✫➆✇➃✟➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦✫r➇➥❅➃❅➙✝➙✝♦❀➵Ï♦q♣
♠✇➠✫r Ù r➇♣✝➂ ☎ Ù ➃❅➦❇r➇➦➄➃➞r②♥ ✦q♣✝➂➭r✏➩④r➇♠✇➙✝➙✝➂➭r➇➅☞r✦➷

❧ ➤✖➂➄➩✇➷ ✏✇➷➶ß✓✏➚➂➄➦➄♠✇➙➛♥✍♣✍rÛr➚➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃☎➆✇➃✫➃❅♣✝♣✝♦➚➆✇➃✫➟✇➂➶♥✏➆✇➃✫♠✇➠❤➙✝➂➄➙➛♥✍➃❅➠✫rÛ♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦❀♦➚➆✇➃✯♥✍➃❅➥✯♥✍♦q♣
➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ Ý☞♦q♠✦♥✍♣✝♦◗♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦☎♦✂➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✓➃❂♠✇➠ ♥✍➃❅♣✝➥❅➃❅➂➄♣✝♦◗♠✇➙✍r➇➅✇➆✇♦❊➽✻➽✑✏✦➨✶Ý☞♥✍♦❸➆✇♦q➙✓➃❅➦➄➃❅➙
➃❅➠❤➥➞r➇➅☞r➇➦❐❧✞✝✠✟❂➻✑➷ ➁ ➙✏➃❅➙✝➪➌♠✇➃❅➠✫r➇➙✟➥❅♦q➠●➽➚➺ ↕ ➅☞r➚♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦▲r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇♣✍r➇➠●r➇➙✏➠◗➃❅➅✇♦q♣✝➃❅➙✑♥✤r⑩➹✇r➇➙✏➆✇➃
➃❅♣✝♣✝♦➳➆✇➃Û➟✇➂➶♥➞➷❻➨✶Ý❿➥❅♦q➠◗♦➳♦➸➽✻➽✑✏✦➨ ➦➄➃ Ù r▲➃❅➠ ➥❅♦q➅④♥✤r➳♦➳➅✇➘ Ù ➃❅➦✶➆✇➃❀♣✝♠✇➘➄➆✇♦➳➃❊➥❅♦q➠◗♦⑧r➇➙◗r➇➠◗➵✇➦➄➂➶♥✍♠✇➆✇➃❅➙✟➆✇♦q➙
➙✝➂➄➅☞r➇➂➄➙✷➆✇➃☎♥✍♦❸➆✇♦q➙✳♦q➙❂♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✳➙✍➝➇♦❀➵Ï➃❅♣➛Ó⑤➃❅➂➶♥✤r➇➠◗➃❅➅④♥✍➃☎➃❅➙➛♥✍➂➄➠✫r➇➆☞r➇➙❅Ý❇♦❀➙✝➃❅♠⑧➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦➚➯☎➠◗➃❅➦➄➫✇♦q♣✷➪➌♠✇➃✂♦
➆✇♦❀➆✇➃✯♥✍➃❅➥✯♥✍♦q♣❂➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅➷✏❧ ➥❅♠✇♣ Ù r⑨♥✍➃✙✦q♣✝➂➄➥➞r⑨➆☞r❊➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✏➆✇➃☎➃❅♣✝♣✝♦❀➆✇➃✂➟✇➂➶♥✳➆✇♦➚➽✻➽✑✏✦➨
Ó⑤♦q➂❙➥➞r➇➦➄➥❅♠✇➦➭r➇➆☞r☎r②♥✍♣✍r Ù ➯❅➙✧➆☞r☎➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦⑨➵☞r➇♣✍r☎➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✧➵✇♠✇♣✍r➇➠◗➃❅➅④♥✍➃✑r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➇➙❅➷
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✍✏✎✒✑✔✓✖✕✘✗ ✟✫✛✒✢✟�✜✣ ✤ ✎✁� ✦✩✕✄✦✩★ ✆ ✗✚★✫✷ ✲ ✠✡✴✭✲✩✓✖✴✭✷ ✬✫✗✺✱✖✕✄✷ ✄✻✗☞✄✖✎✒✴✒✎✭✬✫✗✮✬✖✦ ✬✖✦✯✦✩✕☛✕✄✷ ✬✖✦ ✄✖✎✒✳✞✱✻✗✡✕✘✗ ✷ ✬✖✦✩✳✄✦✰✲✩✳✄✷✮✕ ✁ ✁✁� ✍ ✦✩✿ ✲ ✗✡★✻✗✡✴
☛✁�✄✂ ✠ ✛✡✞ ✓✖✕✝✆✔✗✮✪✞✗✡★✻✗✡✴ ✂✒✳☛✎✭✲ ✗✚✦✄✂✫✗✡✳✘✗✺✦ ✗✡✱✖✕✄✷☎✂✜✎✒✿ ✗✮✬✫✗✜✛ ✞ ✗✮✪✄✷✚✪✄✂✒★✫✲✩✕✄✷✮★✫✷ ✎ 10 ✓✫✪☛✓✡✠✡✕☛✎✭✷✔✪ ✛
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✍✏✎✒✑✔✓✖✕✘✗ ✟✫✛✒✢ ✟✫✣✂✁✥✕✄✷ ✄✻✗☞✄✖✎✒✴✒✎✭✬✫✗✮✬✖✦ ✬✖✦ ✦✩✕☛✕✄✷ ✬✖✦ ✄✖✎✒✳ ✱✻✗✡✕✘✗ ✷✔✪ ✬✖✦✩✳✄✦✰✲✩✳✄✷✮✕✄✦✰✪ ✞ ✁ ✍ ✎ ✬✖✦✰✪✄✲✰✷✮✕☛✕✄✦✩✴✹✗✮✲✩✎✭✷✮★✻✗✮✬✖✷✮✕✞✦ ✁ ✁✁� ✍ ✎ ✦✩✿
✲ ✗✡★✻✗✡✴ ☛✁�✄✂ ✠ ✛✡✞ ✗✮✪✄✷✚✪✄✂✒★✫✲✩✕✄✷✮★✫✷ ✎ Gp = 32

✦
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✓✫✪☛✓✡✠✡✕☛✎✭✷✔✪ ✛

�✎✟✁�✎✟ ✞ � ✖ ✙✛✖✘✭✮✙✛✚ ✯ ✂ ✂✄✂✠✣ ✭ ✚✕✔ � ✖✘✜ ✠ ✓☞✏✑✖✘✭✑✡☛✔✗✖✘✏✕✙✛✚ ☎ ✓✄✂✠★✪✖ ✡ ✌☞✩ ☞ ★✪✓☞✏✑✚
➻✧➃❅➙➛♥✤r⑨➙✝♠✇➟✇➙✝➃❅➜➞➝➇♦✇Ý→r➇➅☞r➇➦➄➂➄➙✍r⑩➴ ➙✝➃✑♦❊➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦❊➆✇♦❊➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✑➽✻➽✑✏✦➨✒➃❅➠❍♠✇➠❍r➇➠✟➟✇➂➄➃❅➅④♥✍➃✏➥❅♦q➠❍➆✇➃❅➙Ô➴

Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❙➷✟❧ ➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦➚➵☞r➇♣✍r❀r❊➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✟➆✇➃✂➃❅♣✝♣✝♦❀➆✇➃✂➟✇➂➶♥❂➥❅♦q➠❨➥❅♦q➅④♥✍♣✝♦q➦➄➃☎➂➄➆✇➃➞r➇➦
➆✇➃❂➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r☎♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦✏➙✝➃❅➪✷✶✣✤❅➅✇➥❅➂➭r➇➙✧➵✇♠✇♣✍r➇➠◗➃❅➅④♥✍➃✑r➇➦➄➃➞r②♥ ✦q♣✝➂➭r➇➙❅Ý✦➥❅♦q➅✇➆✇➂➄➥❅➂➄♦q➅☞r➇➆☞r➇➙✶r➇♦✂➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇Ý☞➯
➆☞r➇➆☞r☎➵Ï♦q♣ ✡ à✥✏ ☞ s
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)

.
✒ ✏✇➷ ✏✇ß ✲

↕ ➃❅➙✝➥❅♦q➅✇➆✇➂➄➥❅➂➄♦q➅☞r➇➅✇➆✇♦②➴ ➙✝➃ ✒ ✏✇➷ ✏✇ß ✲ Ý✇➵☞r➇♣✍r☎♦q➟✦♥✍➃❅♣✓r✂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦✂➆✇➃❂➟✇➂➶♥✓➠◗➯❅➆✇➂➭r✦Ý❸♥✍➃❅➠◗♦q➙❅s

Pbk
=

1

2

(

1 −
√

γb

γb + 1

)

,
✒ ✏✇➷ ✏➌à ✲

➃❅➠ ➪➌♠✇➃✏r☎♣✝➃❅➦➭r➇➜➞➝➇♦☎➙✝➂➄➅☞r➇➦ ➴ ♣✝♠✇➘➄➆✇♦✟➠◗➯❅➆✇➂➭r
γb

➯❂➆☞r➇➆☞r☎➵Ï♦q♣❅s

γ̄b = E[α2]
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8
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2
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,
K − 1
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.
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➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦❻➽✻➽✑✏✦➨ ➃▲➥❅♦q➠ ➙✝➂➄➅☞r➇➂➄➙✫♥✍♣✍r➇➅✇➙✝➠◗➂➶♥✍➂➄➆✇♦q➙✫r②♥✍♣✍r Ù ➯❅➙❀➆✇➃➳♠✇➠ ➥➞r➇➅☞r➇➦✷➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦
➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷

↕ ➃✳➂➄➅✇➘➄➥❅➂➄♦✇Ý④♥✍➃❅➠◗♦q➙✶r✏➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦◗➵☞r➇♣✍r☎r✟➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✧➆✇➃✷➃❅♣✝♣✝♦☎➆✇➃✳➟✇➂➶♥✩➥❅♦q➅✇➆✇➂➄➥❅➂➄♦q➅☞r➇➆☞r✟r➇♦☎➆✇➃❅➙ Ù r➇➅❸➴
➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇Ý✇➃❜➹✦➵✇♣✝➃❅➙✝➙✍r✫➵Ï♦q♣ ✡ à✥✏ ☞ s
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



✒ ✏✇➷ ✏✠✏ ✲

➨❿➅④♥✤➝➇♦✇Ý✖➃❅➦➄➂➄➠◗➂➄➅☞r➇♣✝➃❅➠◗♦q➙✷rÛ➃❅➙➛♥✤r②♥✍➘➄➙➛♥✍➂➄➥➞r❀➆✇♦➚➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✻➵☞r➇♣✍rÛ♦q➟✦♥✍➃❅♣✝➠◗♦q➙✑rÛ➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃☎➆✇➃
➃❅♣✝♣✝♦✂➆✇➃✑➟✇➂➶♥✶➠◗➯❅➆✇➂➭r✦Ý✦➆☞r✂➠◗➃❅➙✝➠✫r✟Ó⑤♦q♣✝➠✫r✟➪➌♠✇➃✳Ó⑤♦q➂ Ó⑤➃❅➂➶♥✍♦✂➵☞r➇♣✍r☎♦✂➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✓➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣❅Ý✇➂➄➙➛♥✍♦✂➯➇s
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)
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➯❂➆☞r➇➆✇♦✂➵Ï♦q♣❅s
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➅☞r◗♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✇➷ ↕ ♠☞r➇➙✛➥❅♦q➅ ✼☞➩q♠✇♣✍r➇➜✪✍❸➃❅➙✧Ó⑤♦q♣✍r➇➠ ➙✝➂➄➠✟♠✇➦➭r➇➆☞r➇➙❅Ý☞♠✇➠✫r✂➵☞r➇♣✍r◗♠✇➠❞➥➞r➇➅☞r➇➦★➥❅♦q➠➧➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦
✡✧r➞Ö❸➦➄➃❅➂➄➩q➫⑨➃

L
♣✍r➇➠◗♦q➙✩➆✇➃✳➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃✳➃✳♦q♠✦♥✍♣✍r✟➵☞r➇♣✍r✟♠✇➠ ➥➞r➇➅☞r➇➦❙➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦◗➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

L
➷

❧✛➙✓➥❅♠✇♣ Ù r➇➙✓➆✇➃❂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✷➆✇➃❂➃❅♣✝♣✝♦✂➆✇➃❂➟✇➂➶♥ Ù ➃❅♣✝➙✝♠✇➙
Eb/N0

➆✇➃✑r➇➠✟➟Ï♦q➙✶♦q➙✓➥➞r➇➙✝♦q➙✧r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇➠❞➥❅♦q➠☎➴
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➵Ï♦q♣➛♥✤r➇➠◗➃❅➅④♥✍♦✛➙✝➂➄➠◗➂➄➦➭r➇♣✝➃❅➙❅Ý⑩➥❅♦q➠◗➵✇♣✝♦ Ù r➇➅✇➆✇♦✷r Ù r➇➦➄➂➄➆☞r➇➆✇➃❼➆☞r✛➃❜➹✦➵✇♣✝➃❅➙✝➙✍➝➇♦✳♦q➟✦♥✍➂➄➆☞r✦➷ ➁ ➙✖➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦q➙→♠✦♥✍➂➄➦➄➂✚✘➞r➇➆✇♦q➙
➅☞r➇➙✓➙✝➂➄➠✟♠✇➦➭r➇➜✪✍❸➃❅➙✡Ó⑤♦q♣✍r➇➠ÛsÑ➩④r➇➅✇➫✇♦✂➆✇➃❂➵✇♣✝♦❸➥❅➃❅➙✝➙✍r➇➠◗➃❅➅④♥✍♦◗➂➄➩q♠☞r➇➦❇r

32
➃

10
♠✇➙✝♠✆☎➇♣✝➂➄♦q➙✶➆✇➃❂➠◗➃❅➙✝➠✫r☎➵Ï♦➇♥ ✤❅➅✇➥❅➂➭r✦➷

❧●➤✖➂➄➩✇➷ ✏✇➷➶ß✖✩ ➂➄➦➄♠✇➙➛♥✍♣✍r✘r ➃❅➪➌♠✇➂ Ù r➇➦✚✤❅➅✇➥❅➂➭r ➃❅➅④♥✍♣✝➃⑧♦q➙Û➙✝➂➄➙➛♥✍➃❅➠✫r➇➙Û➥❅♦q➠❯➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫✒➃
➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃

L = m ∗ d
➃▲♦q➙❊➙✝➂➄➙➛♥✍➃❅➠✫r➇➙❊➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✣➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➃▲➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃➳➆✇➃
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✠ ✗✁� ✴✭✦✩✎✒✑✔✾ ✪✄✦✩✴✭✦✩✳☛✎ ✆ ✷✚✷✮✓ ✠✧✗☞☛✔✗✡✑✽✗✡✿✺✎✍✌

m
✛ ✞ ✗✮✪✄✷✚✪✄✂✒★✫✲✩✕✄✷✮★✫✷ ✎ Gp = 32

✦
K = 10

✛
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Rayleigh L=4
Rayleigh L=6
Nakagami m=2 L=2
Nakagami m=2 L=3
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✠ ✗✁� ✴✭✦✩✎✒✑✔✾ ✷✮✓ ✠✧✗☞☛✔✗✡✑✽✗✡✿✺✎✍✌

m
✦✞✿ �✖✴✒✳☛✎✒✱✖✴✭✷✔✪ ✱✁✦✩✕✄✲✩✓✖✕✄✪✄✷✔✪ ✛ ✞ ✗✮✪✄✷ ✪✄✂✒★✫✲✩✕✄✷✮★✫✷ ✎ Gp = 32
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❧➢➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r ➵Ï♦q♣Û➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦ r➇➥❅➃❅➙✝➙✝♦✱➦➄➂➄➠◗➂➶♥✤r➑r✘➵Ï➃❅♣➛Ó⑤♦q♣✝➠✫r➇➅✇➥❅➃⑧➃➸r✘➥➞r➇➵☞r➇➥❅➂➄➆☞r➇➆✇➃⑧➆✇➃⑧➙✝➂➄➙➛♥✍➃❅➠✫r➇➙
➲ ↕ ➽Û❧❲➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➂➄➙✛➃✏r✂➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦⑨➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✂r➇➵☞r➇♣✝➃❅➥❅➃✑➥❅♦q➠◗♦◗♠✇➠✫r✂➵✇♣✝♦q➠◗➂➄➙✝➙✝♦q♣✍r☎♥✍➯❅➥❅➅✇➂➄➥➞r◗➵☞r➇♣✍r
♣✝➃❅➆✇♠✣✘❅➂➄♣✖♦✛➃✯Ó⑤➃❅➂➶♥✍♦✷➆☞r✷➽Û❧✛➼✤➷q➨❿➠ Ù ➂➄➙➛♥✤r✛➆✇♦q➙✖➟Ï➃❅➅✇➃✯Ó⑤➘➄➥❅➂➄♦q➙★♥✍♣✍r ✘❅➂➄➆✇♦q➙✖➵Ï➃❅➦➭r✧➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✳➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➏♦✷➵✇♣✝➂➄➅✇➥❅➂ ➴
➵☞r➇➦☞♦q➟✄✂✝➃✯♥✍➂ Ù ♦✏r❂➪➌♠✇➃✧➙✝➃✧➵✇♣✝♦q➵ ✟q➙❼➃❅➙➛♥✍➃✓♥✍♣✍r➇➟☞r➇➦➄➫✇♦✷Ó⑤♦q➂✕r➇➅☞r➇➦➄➂➄➙✍r➇♣Ñ♠✇➠ ➙✝➂➄➙➛♥✍➃❅➠✫r✏➲ ↕ ➽Û❧✒➙✝➘➄➅✇➥❅♣✝♦q➅✇♦✑♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦
➽➚➺ ↕ ➅☞r✂♣✝➃❅➥❅➃❅➵Ï➜➞➝➇♦✇➷
➨❿➙➛♥✍➃✛♥✍♣✍r➇➟☞r➇➦➄➫✇♦☎r Ù r➇➦➄➂➄♦q♠◗♦☎➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦☎➆✇♦q➙✩➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✓➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦ ➃✷➆✇♦q➙✩➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✓➠✟♠✇➦➶♥✍➂➄♠❸➴

➙✝♠✆☎➇♣✝➂➄♦◗➦➄➂➄➅✇➃➞r➇♣✝➃❅➙✓➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✶➃✟➽✻➽✑✏✦➨❮➃❅➠❞➆✇➂➶Ó⑤➃❅♣✝➃❅➅④♥✍➃❅➙✛➠◗➃❅➂➄♦q➙✶➆✇➃✑➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦✇➷✡❧❲r Ù r➇➦➄➂➭r➇➜➞➝➇♦
➆✇➃❂➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦◗Ó⑤♦q➂❙Ó⑤➃❅➂➶♥✤r✟➃❅➠ ♥✍➃❅♣✝➠◗♦q➙✶➆✇➃✑➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✛➆✇➃❂➃❅♣✝♣✝♦◗➆✇➃✑➟✇➂➶♥✓➠◗➯❅➆✇➂➭r✟➃❅➠ ➥➞r➇➅☞r➇➂➄➙✓❧✞✝✠✟❂➻
➃✫➃❅➠➢➥➞r➇➅☞r➇➂➄➙✏➥❅♦q➠❤➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✇➷➳➲✡♦q➠◗♦➚➙✝➃⑨♦q➟✇➙✝➃❅♣ Ù ♦q♠❙Ý❿➥➞r➇➅☞r➇➂➄➙ Ù r➇♣✝➂➭r➇➅④♥✍➃❅➙✏➅✇♦➚♥✍➃❅➠◗➵Ï♦✇Ý✖➥❅♦q➠◗♦➚♦q➙
➥➞r➇➅☞r➇➂➄➙☎➆✇➃✾✡✧r➞Ö❸➦➄➃❅➂➄➩q➫❻➃Û➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
Ý❿➵✇♣✝♦❸➆✇♠✣✘❅➃❅➠❉♠✇➠✫r▲➥❅♦q➅✇➙✝➂➄➆✇➃❅♣✥☎ Ù ➃❅➦✓➆✇➃❅➩q♣✍r➇➆☞r➇➜➞➝➇♦⑧➅✇♦⑧➙✝➂➄➙➛♥✍➃❅➠✫r▲➆✇➃

➥❅♦q➠✟♠✇➅✇➂➄➥➞r➇➜➞➝➇♦✂➆✇➂➄➩q➂➶♥✤r➇➦ ➷
➤☞♦q♣✍r➇➠❲➆✇➃❅➙✝➃❅➅ Ù ♦q➦ Ù ➂➄➆☞r➇➙✡➃❜➹✦➵✇♣✝➃❅➙✝➙✎✍❸➃❅➙✶r➇➅☞r➇➦➄➘➶♥✍➂➄➥➞r➇➙Ñ➵☞r➇♣✍r✑r❂➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✩➆✇➃✧➃❅♣✝♣✝♦✑➆✇➃✧➟✇➂➶♥❼➆✇♦✑➆✇➃✯♥✍➃❅➥✯♥✍♦q♣

➆✇➃❅➙✝➥❅♦q♣✝♣✝➃❅➦➭r➇➥❅➂➄♦q➅☞r➇➆✇♦q♣✷➃✂➆✇♦❀➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✏➽✻➽✑✏✦➨ ➃❅➠❨➥➞r➇➅☞r➇➦Ñ➥❅♦q➠❨➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦➚➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
m
➷✟➲✡♦q➠

♦✫➵✇♣✝♦q➵ ✦q➙✝➂➶♥✍♦◗➆✇➃✑➥❅♦q➠◗➵✇♣✝♦ Ù r➇♣✧r Ù r➇➦➄➂➄➆☞r➇➆✇➃❂➆☞r➇➙✧➃❜➹✦➵✇♣✝➃❅➙✝➙✎✍❸➃❅➙❅Ý Ó⑤♦q♣✍r➇➠ Ó⑤➃❅➂➶♥✤r➇➙✧➙✝➂➄➠✟♠✇➦➭r➇➜✪✍❸➃❅➙✓➃✑♦q➙✧♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦q➙
r➇➵✇♣✝➃❅➙✝➃❅➅④♥✤r➇♣✍r➇➠❞➟Ï♦④r☎➥❅♦q➅✇➥❅♦q♣✝➆ ☎➇➅✇➥❅➂➭r✦➷
➁ ➟✇➙✝➃❅♣ Ù ♦q♠❸➴ ➙✝➃➇Ý❿r➇➂➄➅✇➆☞r✦Ý★➪➌♠✇➃✫♦➚➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦➚➆✇♦q➙✏➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✏➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦❊➃❅➠ ➥➞r➇➅☞r➇➂➄➙✑➥❅♦q➠ ➆✇➃❅➙Ô➴

Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅✦♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫⑨➥❅♦q➠
L
➠✶✵✇➦➶♥✍➂➄➵✇➦➄♦q➙❐➵Ï➃❅♣✝➥❅♠✇♣✝➙✝♦q➙✶➯✳➃❅➪➌♠✇➂ Ù r➇➦➄➃❅➅④♥✍➃✳r➇♦☎➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✂➃❅➠ ♠✇➠ ➥➞r➇➅☞r➇➦

➥❅♦q➠❯➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✱➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
L
Ý✧➵☞r➇♣✍r ➙✝➂➄➅☞r➇➂➄➙❊➥❅♦q➠✟➟✇➂➄➅☞r➇➆✇♦q➙❀➙✝➃❅➩q♠✇➅✇➆✇♦✣♦✘➥❅♣✝➂➶♥✍➯❅♣✝➂➄♦ ➆✇➃⑧➠ ☎⑩➹✦➂➄➠✫r

♣✍r ✘➞➝➇♦✇➷Ñ➨❿➙➛♥✍➃✩♣✝➃❅➙✝♠✇➦➶♥✤r➇➆✇♦✷♣✝➃✯Ó⑤♦q♣✝➜➞r✷➪➌♠☞➝➇♦ Ù ➃❅♣✝➙✥☎②♥✍➂➄➦❸➯✶r✷➠◗♦❸➆✇➃❅➦➭r➇➩q➃❅➠✚➆✇♦✷➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✳➵Ï♦q♣✖♠✇➠ Ù r➇♣✝➂ ☎ Ù ➃❅➦
➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
Ýq➵Ï♦q➂➄➙❼➵Ï♦❸➆✇➃❜➴ ➙✝➃✛r Ù r➇➦➄➂➭r➇♣❿♦✏➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✏➆✇♦✏➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✡➆✇➃❅➙✝➃ ✂✍r➇➆✇♦✟➃❅➠ ➆✇➂ Ù ➃❅♣✝➙✝♦q➙✩r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙

➆✇➃❂➵✇♣✝♦q➵☞r➇➩④r➇➜➞➝➇♦✇Ý✇➥❅♦q➠ ♦q♠❀➙✝➃❅➠❞➆✇➂ Ù ➃❅♣✝➙✝➂➄➆☞r➇➆✇➃➇Ý✕r➇➵Ï➃❅➅☞r➇➙✧r➇➦➶♥✍➃❅♣✍r➇➅✇➆✇♦☎♦ Ù r➇➦➄♦q♣✩➆✇♦◗➵☞r➇♣✆☎➇➠◗➃✯♥✍♣✝♦
m
➷

❧✛➦➄➯❅➠ ➆✇➂➄➙✝➙✝♦✇ÝÏ➵☞r➇♣✍r◗r②♥✍➂➄➅✇➩q➂➄♣✩♦✫♦q➟✄✂✝➃✯♥✍➂ Ù ♦✫➵✇♣✝♦q➵Ï♦q➙➛♥✍♦✇Ý✕♦q♠✦♥✍♣✝♦q➙✓♥✍♣✍r➇➟☞r➇➦➄➫✇♦q➙✩Ó⑤♦q♣✍r➇➠❞➆✇➃❅➙✝➃❅➅ Ù ♦q➦ Ù ➂➄➆✇♦q➙❅ÝÏ➵☞r➇➙Ô➴
➙✍r➇➅✇➆✇♦⑧➵Ï➃❅➦➄♦➳➃❅➙➛♥✍♠✇➆✇♦➸➆✇♦⑧➥❅♦q➠◗➵Ï♦q♣➛♥✤r➇➠◗➃❅➅④♥✍♦➳➆✇♦➳➆✇➃✯♥✍➃❅➥✯♥✍♦q♣◗➥❅♦q➅ Ù ➃❅➅✇➥❅➂➄♦q➅☞r➇➦✓➃❅➠❉➆✇➂ Ù ➃❅♣✝➙✝♦q➙✫r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙❅Ý ✂✥☎

✔➇á



�✂✁☎✄✁� ✄ ✄✔☎ ✞ ✁ ✌ �

r➇➠◗➵✇➦➭r➇➠◗➃❅➅④♥✍➃✧➥❅♦q➅✇➫✇➃❅➥❅➂➄➆✇♦✇Ý❸➵Ï➃❅➦➭r✏➙✝➂➄➠✟♠✇➦➭r➇➜➞➝➇♦✑➆☞r➇➙✡➥❅♠✇♣ Ù r➇➙✩➆✇➃✷➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✓➆✇➃✛➃❅♣✝♣✝♦✟➥❅♦q➠✸➃✛➙✝➃❅➠✸➆✇➂ Ù ➃❅♣Ô➴
➙✝➂➄➆☞r➇➆✇➃✟➃✟➵Ï➃❅➦➭r✫➂➄➠◗➵✇➦➄➃❅➠◗➃❅➅④♥✤r➇➜➞➝➇♦✫➆✇♦❀r➇➦➄➩q♦q♣✝➂➶♥✍➠◗♦✂➥❅♦q➠◗➵✇♠✦♥✤r➇➥❅➂➄♦q➅☞r➇➦→➆✇➃✟➩q➃❅♣✍r➇➜➞➝➇♦❊➆✇➃✟➅✄✵✇➠◗➃❅♣✝♦q➙✳r➇➦➄➃➞r②♥ ✦q♣✝➂➄♦q➙
➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➘➄➆✇♦q➙✩➆✇➃✑r➇➥❅♦q♣✝➆✇♦✂➥❅♦q➠❞r☎Ó⑤♠✇➅✇➜➞➝➇♦◗➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷

✁☎✄ ✂ ✒ ❝Ñ❚ ✂Û❚❂❁❅▼❊◆✏❄✆☎⑨❛⑨❘→❛⑨❝✖◆✏❄

➾❿♣✝♦q➵ ✍❸➃❅➠☎➴ ➙✝➃➇Ý✕r➇➪➌♠✇➂ ÝÏr➇➦➄➩q♠✇➠✫r➇➙✩➙✝♠✇➩q➃❅➙➛♥✥✍❸➃❅➙✷➵☞r➇♣✍r☎Ó⑤♠✦♥✍♠✇♣✝♦q➙✓♥✍♣✍r➇➟☞r➇➦➄➫✇♦q➙❅Ý☞➥❅♦q➠❞♦◗♦q➟✄✂✝➃✯♥✍➂ Ù ♦✫➆✇➃✑➆☞r➇♣✓➥❅♦q➅❸➴
♥✍➂➄➅➌♠✇➂➄➆☞r➇➆✇➃✷r➇♦☎r➇➙✝➙✝♠✇➅④♥✍♦◗r➇➟Ï♦q♣✝➆☞r➇➆✇♦✟➵Ï♦q♣✡➃❅➙➛♥✤r✟➆✇➂➄➙✝➙✝➃❅♣➛♥✤r➇➜➞➝➇♦✇➷❼➺✧➠✫r✏➆✇➂➄♣✝➃❅➜➞➝➇♦☎r✟➙✝➃❅♣✩➙✝➃❅➩q♠✇➂➄➆☞r✏➯❂r✏♦q➟✦♥✍➃❅➅✇➜➞➝➇♦
➆✇➃✓➃❜➹✦➵✇♣✝➃❅➙✝➙✎✍❸➃❅➙✡➵☞r➇♣✍r✑r✳➵✇♣✝♦q➟☞r➇➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✡➆✇➃✧➃❅♣✝♣✝♦❂➆✇♦q➙❼➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙❐➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✷➦➄➂➄➅✇➃➞r➇♣✝➃❅➙❿➵☞r➇♣✍r✳➙✝➂➄➙➛♥✍➃❅➠✫r➇➙
r➇➙✝➙✝➘➄➅✇➥❅♣✝♦q➅✇♦q➙✛➃❅➠✾r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙✛➥❅♦q➠➧➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦⑨➠◗♦❸➆✇➃❅➦➭r➇➆✇♦✂➵Ï➃❅➦➭r◗➆✇➂➄➙➛♥✍♣✝➂➄➟✇♠✇➂➄➜➞➝➇♦◗➆✇➃✟➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
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➁ ♠✦♥✍♣✍r✏➙✝♠✇➩q➃❅➙➛♥✤➝➇♦☎➙✝➃❅♣✝➂➭r✏r Ù r➇➦➄➂➭r➇♣❼♦✟➆✇➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦☎➆✇➃✷➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✶➅☞➝➇♦✏➦➄➂➄➅✇➃➞r➇♣✝➃❅➙❅Ý➌♥✤r➇➂➄➙✡➥❅♦q➠◗♦✏♦q➙✡➆✇➃✷➠✶✵✇➦➶♥✍➂ ➴
➵✇➦➄♦q➙❿➃❅➙➛♥ ☎➇➩q➂➄♦q➙Ñ➃✓♦q➙❿➆✇➃✶➥➞r➇➅✇➥❅➃❅➦➭r➇➠◗➃❅➅④♥✍♦q➙❼➙✝♠✇➥❅➃❅➙✝➙✝➂ Ù ♦q➙❅Ý❸➃❅➠ r➇➠✟➟✇➂➄➃❅➅④♥✍➃❅➙❿➥❅♦q➠ ➆✇➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦✑➻✛r✌☞②r➇➩④r➇➠◗➂ ➴

m
➷❼➺✧➠✫r✳♥✍➃❅♣✝➥❅➃❅➂➄♣✍r❂➵Ï♦q➙✝➙✝➂➄➟✇➂➄➦➄➂➄➆☞r➇➆✇➃✶➙✝➃❅♣✝➂➭r✏r✑r Ù r➇➦➄➂➭r➇➜➞➝➇♦❂➆✇♦q➙❐➆✇➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙✩♠✦♥✍➂➄➦➄➂✚✘➞r➇➅✇➆✇♦❂♦q♠✦♥✍♣✍r➇➙❐➠◗♦❸➆✇♠✇➦➭r➇➜✪✍❸➃❅➙❅Ý

✂✥☎✂➪➌♠✇➃✑♦◗♥✍♣✍r➇➟☞r➇➦➄➫✇♦✂➆✇➃❅➙➛♥✤r◗➆✇➂➄➙✝➙✝➃❅♣➛♥✤r➇➜➞➝➇♦✂Ó⑤♦❸➥➞r➇➦➄➂✚✘❅♦q♠❀r➇➵Ï➃❅➅☞r➇➙✛r✂➠◗♦❸➆✇♠✇➦➭r➇➜➞➝➇♦✂➟✇➂➄➅✆☎➇♣✝➂➭r✦➷❼❧✛➦➄➯❅➠ ➆✇➂➄➙✝➙✝♦✇Ý✕➙✝➃❅♣✝➂➭r
➂➄➅④♥✍➃❅♣✝➃❅➙✝➙✍r➇➅④♥✍➃❂➃❅➠◗➵✇♣✝➃❅➩④r➇♣❅Ý ✂✝♠✇➅④♥✤r➇➠◗➃❅➅④♥✍➃✳➥❅♦q➠ r✟➆✇➃✯♥✍➃❅➥❅➜➞➝➇♦✂➠✟♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦✇Ý➌♦q♠✦♥✍♣✍r➇➙✩♥✍➯❅➥❅➅✇➂➄➥➞r➇➙✩➅✇♦☎➥❅♦q➠✟➟☞r②♥✍➃
➡☎➂➄➅④♥✍➃❅♣➛Ó⑤➃❅♣✪✤❅➅✇➥❅➂➭r✦Ý✦♥✤r➇➂➄➙✶➥❅♦q➠◗♦◗r➇➅④♥✍➃❅➅☞r➇➙✧r➇➆☞r➇➵✦♥✤r②♥✍➂ Ù r➇➙✶➃❂➥❅♦❸➆✇➂✽✼☞➥➞r➇➜➞➝➇♦✇➷



✁ ☛✁� ✁ ☛✜✒✄✁✄✂✆☎✄✂ ☎

✡ ß✌☞ ✛✦➷✞✏Ï➷✜✖✡➦➄♦q➩q➫❙Ý ✬ ➷✜✢✛r➇➅✣✘❅♦✇Ý ✍ ✏✛✕✗✬ ✠✭❄✜✒ ✢ ✖✩✢ ✬✎✤✭☞ ✕ ✰✱✖✧✦✬✛✝✆✩☞ ✢ ✘ ✆ ✤✌✖✟✠ ✼ ✖✴☞ ✢ ✔☎✔ ✕✺✪✄✢ ✖✴☞ ✍ ✕✗✬✥✢ ✔ ✢✑✆✑✆✳✓ ✢✩☞✆☎✮✰✱✬ ❅✱✕✗✖✫✪ Ý
ß➏r✦➷☞➃❅➆❙➷➶Ý ✛➇♦q➫✇➅✿✝ ➂➄➦➄➃✯Ö✞✝ ✏❸♦q➅✇➙❅ÝÏà➇ÞqÞ④à❸➷

✡ à✒☞ ✡❂➷ ✏➌♥✍➃❅➃❅➦➄➃➇Ý ✓✣✰❇✽✪✕☎✔ ✢✠✟ ✤ ✠✌✕ ✰ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý ß➏r✦➷✇➃❅➆❙➷➶Ý ✛➇♦q➫✇➅✿✝ ➂➄➦➄➃✯Ö✡✝ ✏❸♦q➅✇➙❅Ý❇ß✖✩✠✩✠✑✦➷

✡ á ☞ ✏Ï➷✫✺❼➃❅♣✝➆✇♠❙Ý ✓✑✙ ✔✯☞ ✕✗✙ ✆ ✢ ✬ ✁✶✢✩☞ ✢ ✰ ☞ ✕ ✰✱✖ Ý❙ß➏r✦➷✇➃❅➆❙➷➶ÝÏ➲✩r➇➠✟➟✇♣✝➂➄➩q➃❂➺✧➅✇➂ Ù ➃❅♣✝➙✝➂➶♥ Ö❀➾❿♣✝➃❅➙✝➙❅Ý★ß✖✩✠✩✠✒✦➷
✡ ✏ ☞ ✛✦➷ ✟☎➷✕➾❿♣✝♦④r✌☞➌➂➄➙❅Ý ✁ ✕✺✪✌✕✌☞✔✤ ✔ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý ✏④r✦➷✇➃❅➆❙Ý✕➻✧➃ ✸ Ü❐♦q♣✎☞❊➽Û➥ ✟✳♣✍r✁✸✩➴ ✢✧➂➄➦➄➦ Ý☞à➇ÞqÞqÞ✦➷
✡ ✔✒☞✏➽⑧➷ ↕ ➷✇Ü✡r➇➥❅♦q♠✇➟❙Ý ✵ ✰✱✙✛✖✟✠ ✤✭☞ ✕ ✰✱✖ ✆ ✰✿✦ ✓✣✰❇✽✪✕☎✔ ✢✠✟ ✤ ✠✌✕ ✰✚✭✮✖✫✪✌✕✗✖✩✢ ✢ ✬✯✕✗✖✫✪ Ý☞➲ ✡✶➲✛➷✕➾❿♣✝➃❅➙✝➙❅Ý→ß✖✩✠✩qá✦➷

✡ ✑ ☞ ✏Ï➷ ✢✛r➞Ö✛☞➌➂➄➅❙Ý✤✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✦✬✛✝✆✩☞ ✢ ✘ ✆ Ý ✛➇♦q➫✇➅ ✝ ➂➄➦➄➃✯Ö✡✝ ✏❸♦q➅✇➙❅ÝÏáqr✦➷✇➃❅➆❙➷➶Ý❇ß✖✩✠✩✦✏✇➷

✡ ✎✒☞✏➽⑧➷✡➻✛r✌☞②r➇➩④r➇➠◗➂ Ý � Ú✶➫✇➃Û➠☎➴ ↕ ➂➄➙➛♥✍♣✝➂➄➟✇♠✦♥✍➂➄♦q➅⑧➴✟❧ ✟✳➃❅➅✇➃❅♣✍r➇➦✧➤☞♦q♣✝➠✟♠✇➦➭r▲♦➇Ó✷➼ ➅④♥✍➃❅➅✇➙✝➂➶♥ Ö ↕ ➂➄➙➛♥✍♣✝➂➄➟✇♠✦♥✍➂➄♦q➅ ♦➇Ó
✡✧r➇➵✇➂➄➆Û➤✕r➇➆✇➂➄➅✇➩ ✘ Ý❸➂➄➅ ✏➌♥✤r②♥✍➂➄➙➛♥✍➂➄➥➞r➇➦❇➽Û➃✯♥✍➫✇♦❸➆✇➙✓➂➄➅✿✡✧r➇➆✇➂➄♦✶✝➑r Ù ➃✏➾❿♣✝♦q➵☞r➇➩④r②♥✍➂➄♦q➅❙Ý✄✝✭➷ ✟☎➷✣✢✧♦☞☛ ➠✫r➇➅❙Ý☞➨❿➆
➁ ➹❸Ó⑤♦q♣✝➆❙Ý✕➾→➃❅♣✝➩④r➇➠◗♦q➅Û➾❿♣✝➃❅➙✝➙❅Ý★ß✖✩✠✑qÞ✦➷

✡ ✒ ☞ ✏Ï➷✇➽Û♦q➙✝➫☞r Ù ➂ Ý � ➽Û♠✇➦➶♥✍➂ ➴ ♠✇➙✝➃❅♣ ↕ ➃✯♥✍➃❅➥✯♥✍➂➄♦q➅✫Ó⑤♦q♣ ↕ ✏④➴➛➲ ↕ ➽Û❧✭➲✡♦q➠◗➠✟♠✇➅✇➂➄➥➞r②♥✍➂➄♦q➅✇➙ ✘ Ý✷✼ ✭ ✭ ✭ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭❄
☞ ✕ ✰✱✖ ✆☛✓ ✤ ✪ ✤✍✌✪✕✗✖✩✢ Ý✇➵✇➵⑧ß⑩à✥✏②➴✤ß➏á✠✑✦Ý ➁ ➥✯♥✑ß✖✩✠✩✠✑✦➷

✡ ✩ ☞ ✛✦➷ ✬ ♠✇♦✇Ý ✛✦➷✏✎ ➃❅➂➄➆✇➦➄➃❅♣❅Ý ✏Ï➷Ï➽Û➥ ✬ r➇♠✇➩q➫✇➦➄➂➄➅❙Ý � ➾→➃❅♣➛Ó⑤♦q♣✝➠✫r➇➅✇➥❅➃❂❧✛➅☞r➇➦➶Ö❸➙✝➂➄➙✓♦➇Ó❼➲✡♦q➠◗➵☞r➇➥✯♥✓❧✛➅④♥✍➃❅➅✇➅☞r◗❧✛♣✝♣✍r➞Ö❸➙
✝ ➂➶♥✍➫➑➽✾✡✶➲❲➂➄➅➑➲✡♦q♣✝♣✝➃❅➦➭r②♥✍➃❅➆➸➻✛r✌☞②r➇➩④r➇➠◗➂❿➤✕r➇➆✇➂➄➅✇➩➚➲✡➫☞r➇➅✇➅✇➃❅➦➄➙ ✘ Ý ✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒✒✑ ✢✲✏✡✒ ✍ ✢ ✰ ✏✛✖✩✰✂✔ ✰ ✪✭✛ Ý
Ù ♦q➦ ➷ ✔➇Þ✦Ý✇➅✇♦✇➷➶ßqÝ✇➵✇➵✻à✦✑✌✎✑➴➛à ✎ ✎❸Ý ✛qr➇➅❙➷Ïà➇ÞqÞ✦ßq➷

✡ ß➏Þ ☞✏➽⑧➷ ✬ r②♥ Ù r⑩➴Ôr➇➫✇♦✇Ý � ❧✶➆ Ù r➇➅✇➥❅➃❅➆✑✡✓➃❅➥❅➃❅➂ Ù ➃❅♣✝➙✓Ó⑤♦q♣ ✝ ➂➄➆✇➃❅➟☞r➇➅✇➆➚➲ ↕ ➽Û❧ ✏➌Ö❸➙➛♥✍➃❅➠◗➙ ✘ Ý ✓✔✓ ✁ ✓ Ý❇ß✖✩✠✩✠✒✦➷

✡ ßqß✌☞☛✝✭➷Ï➲✛➷✦Ü☎➷ ✬ ➃❅➃➇Ý ✓✣✰❇✽✪✕☎✔ ✢ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ ✭✮✖✫✪✌✕✗✖✩✢ ✢ ✬✯✕✗✖✫✪ à➇r✦➷✇➃❅➆❙ÝÏ➽Û➥ ✟✳♣✍r✁✸✩➴ ✢✧➂➄➦➄➦ ÝÏß✖✩✠✩✌✎❸➷
✡ ß⑩à✒☞☛✝✭➷ ✖✛➷ ↕ r Ù ➃❅➅✇➵Ï♦q♣➛♥➞Ý ✛➇♣❅➷➶Ý � ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➶♥ Ö✫r➇➅✇➆✾✡✧r➇➅✇➆✇♦q➠❞➾❿♣✝♦❸➥❅➃❅➙✝➙✝➃❅➙ ✘ Ý✕➼ ➅④♥✍➃❅♣✝➅☞r②♥✍➂➄♦q➅☞r➇➦✞✏➌♥✍♠✇➆✇➃❅➅④♥✷➨❿➆✇➂ ➴

♥✍➂➄♦q➅❙Ý✕➽Û➥ ✟✳♣✍r✁✸✩➴ ✢✧➂➄➦➄➦ ÝÏß✖✩✌✎➇Þ✦➷
✡ ß➏á ☞ ✡❂➷ ✬ ♠✇➵☞r➇➙❅Ý ✏Ï➷ ✺❼➃❅♣✝➆✇♠❙Ý � ➻✧➃➞r➇♣Ô➴ Ó➔r➇♣ ✡✓➂➄➙✝➂➄➙➛♥✤r➇➅✇➥❅➃✳♦➇Ó❿➽Û♠✇➦➶♥✍➂➄♠✇➙✝➃❅♣ ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✝➙✓➂➄➅❀❧✛➙✝➂➄➅✇➥✤➫✇♣✝♦q➅✇♦q♠✇➙✛➲✡➫☞r➇➅❸➴

➅✇➃❅➦➄➙ ✘ Ý ✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý Ù ♦q➦ ➷ á✠✒✦Ý✦➅✇♦✇➷ ✏✇Ý☞➵✇➵ ✏✘✩✠✑⑩➴ ✔➇Þ✠✒✦Ý❸❧✛➵✇♣❅➷❇ß✖✩✠✩qÞ✦➷

✔✠✔
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✡ ß✓✏ ☞ ✡❂➷ ✬ ♠✇➵☞r➇➙❅Ý ✏Ï➷ ✺❼➃❅♣✝➆✇♠❙Ý � ✬ ➂➄➅✇➃➞r➇♣→➽Û♠✇➦➶♥✍➂➄♠✇➙✝➃❅♣ ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✝➙✖Ó⑤♦q♣ ✏➌Ö❸➅✇➥✤➫✇♣✝♦q➅✇♦q♠✇➙❼➲✡♦❸➆✇➃❜➴ ↕ ➂ Ù ➂➄➙✝➂➄♦q➅✏➽Û♠✇➦➶♥✍➂➄➵✇➦➄➃
❧✶➥❅➥❅➃❅➙✝➙✳➲✡➫☞r➇➅✇➅✇➃❅➦➄➙ ✘ Ý ✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒ ✼ ✖❃✦✁✰ ✒ ✍ ✏✆✢ ✰✱✬✜✛ Ý Ù ♦q➦ ➷ á✘✔❸Ý✇➅✇♦✇➷➶ßqÝ✇➵✇➵⑧ß⑩à➇á⑩➴✤ß➏á✠✑✦Ý ✛qr➇➅❙➷❇ß✖✩✠✒✠✩✦➷

✡ ß✕✔✒☞ ✢✑➷✱✺✟➷q➾→♦❸♦q♣❅Ý✄✏Ï➷✱✺❼➃❅♣✝➆✇♠❙Ý � ➾❿♣✝♦q➟☞r➇➟✇➂➄➦➄➂➶♥ Ö❂♦➇ÓÏ➨❿♣✝♣✝♦q♣Ñ➂➄➅✂➽✻➽✑✏✦➨➑➽Û♠✇➦➶♥✍➂➄♠✇➙✝➃❅♣ ↕ ➃✯♥✍➃❅➥✯♥✍➂➄♦q➅ ✘ Ý✷✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒
✼ ✖❃✦✁✰ ✒ ✍ ✏✆✢ ✰✱✬✜✛ Ý Ù ♦q➦ ➷ ✏④á✦Ý✇➅✇♦✇➷ á✦Ý☞➵✇➵ ✒✘✔✦✒⑩➴ ✒✌✎❸ßqÝ☞➽➚r➞Öq➷★ß✖✩✠✩✌✎❸➷

✡ ß✖✑ ☞ ✙✟➷ ✬ ➂➄♠❙Ý ✎✖➷ ✎❙r➇➅✇➩✇Ý❼➨✶➷★Ü✡r➇➅✇➩✇Ý � Ú✶➫✇♣✝♦q♠✇➩q➫✇➵✇♠✦♥☎❧✛➅☞r➇➦➶Ö❸➙✝➂➄➙✟♦➇Ó✷➲ ↕ ➽Û❧ ✏➌Ö❸➙➛♥✍➃❅➠◗➙✂➺✧➙✝➂➄➅✇➩⑧➽Û♠✇➦➶♥✍➂➄♠✇➙✝➃❅♣
✡✓➃❅➥❅➃❅➂ Ù ➃❅♣✝➙ ✘ Ý ✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý Ù ♦q➦ ➷ ✏✘✩✦Ý✇➅✇♦✇➷ ✎❸Ý✇➵✇➵⑧ßqß✖✩④à➏➴✤ß⑩à➇Þ④à❸Ý✣✛➇♠✇➦→à➇ÞqÞ✦ßq➷

✡ ß ✎✒☞ ✬ ➷✓➽Û➂➄➦➄➙➛♥✍➃❅➂➄➅❙Ý ✏Ï➷✓➽Û➂➄➦➄➦➄➃❅♣❅Ý✧➽⑧➷ ✢✧♦q➅✇➂➄➩✇Ý � ➾→➃❅♣➛Ó⑤♦q♣✝➠✫r➇➅✇➥❅➃✻❧✛➅☞r➇➦➶Ö❸➙✝➂➄➙⑨♦➇Ó✟➽✻➽✑✏✦➨✜✡✓➃❅➥❅➃❅➂ Ù ➃❅♣⑨Ó⑤♦q♣ ↕ ✏④➴
➲ ↕ ➽Û❧ ➂➄➅✫➤☞♣✝➃❅➪➌♠✇➃❅➅✇➥✯Ö④➴ ✏❸➃❅➦➄➃❅➥✯♥✍➂ Ù ➃✷➤✕r➇➆✇➂➄➅✇➩✏➲✡➫☞r➇➅✇➅✇➃❅➦➄➙ ✘ Ý ✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý Ù ♦q➦ ➷ ✏✘✒✦Ý
➅✇♦✇➷➶ßqßqÝ☞➵✇➵⑧ß✖✩✦ß✖✩⑩➴✤ß✖✩④à✦✩✦Ý✦➻✧♦ Ù ➷Ïà➇ÞqÞqÞ✦➷

✡ ß✖✒ ☞ ✎✖➷✁✎ ♦q➅☞r➇♣❅Ý ↕ ➷✜✖✡♣✍r➇➆✦ÖqÝ � ✏❸♠✇➟Ï♦q➵✦♥✍➂➄➠✫r➇➦→➽Û♠✇➦➶♥✍➂➄♠✇➙✝➃❅♣ ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✛Ó⑤♦q♣✷➤☞♣✝➃❅➪➌♠✇➃❅➅✇➥✯Ö④➴ ✏❸➃❅➦➄➃❅➥✯♥✍➂ Ù ➃✶✡✧r➞Ö❸➦➄➃❅➂➄➩q➫
➤✕r➇➆✇➂➄➅✇➩☛✏➌Ö❸➅✇➥✤➫✇♣✝♦q➅✇♦q♠✇➙✡➲ ↕ ➽Û❧ ➲✡➫☞r➇➅✇➅✇➃❅➦➄➙ ✘ Ý✷✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý Ù ♦q➦ ➷ ✏④á✦Ý➇➅✇♦✇➷ àqÒ➇á④Ò✥✏✇Ý
➵✇➵⑧ß✕✔✥✏②➴✤ß✕✔ ✎❸Ý✇➤☞➃❅➟❙➷ Òq➽➚r➇♣❅➷ Ò②❧✛➵✇♣❅➷❇ß✖✩✠✩✘✔❸➷

✡ ß✖✩ ☞ ✎✖➷ ✎ ♦q➅☞r➇♣❅Ý ↕ ➷★✖✡♣✍r➇➆✦ÖqÝ � ✬ ➂➄➅✇➃➞r➇♣✑➽Û♠✇➦➶♥✍➂➄➵☞r②♥✍➫❸➴ ↕ ➃❅➥❅♦q♣✝♣✝➃❅➦➭r②♥✍➂➄➅✇➩ ✡✓➃❅➥❅➃❅➂ Ù ➃❅♣✝➙✑Ó⑤♦q♣✑➲ ↕ ➽Û❧ ➤☞♣✝➃❅➪➌♠✇➃❅➅✇➥✯Ö④➴
✏❸➃❅➦➄➃✯♥✍➂ Ù ➃✩➤✕r➇➆✇➂➄➅✇➩✷➲✡➫☞r➇➅✇➅✇➃❅➦➄➙ ✘ Ý❊✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý Ù ♦q➦ ➷ ✏✠✏✇Ý②➅✇♦✇➷ ✑✦Ý➇➵✇➵ ✑✘✔➇Þ⑩➴ ✑✘✔➇á✦Ý ✛➇♠✇➅❙➷
ß✖✩✠✩✠✑✦➷

✡ à➇Þ ☞✑➨✶➷❸❧✛➦ ➴ ✢✧♠✇➙✝➙✍r➇➂➄➅✇➂ Ý➌➼✤➷ ✏✦r➞Öq➃❅➆❙Ý � ➾→➃❅♣➛Ó⑤♦q♣✝➠✫r➇➅✇➥❅➃✓♦➇Ó❙♥✍➫✇➃ ↕ ➃❅➥❅♦q♣✝♣✝➃❅➦➭r②♥✍♦q♣✹✡✓➃❅➥❅➃❅➂ Ù ➃❅♣❐Ó⑤♦q♣ ↕ ✏④➴➛➲ ↕ ➽Û❧✭➽Û♦②➴
➟✇➂➄➦➄➃✹✡✧r➇➆✇➂➄♦ ✏➌Ö❸➙➛♥✍➃❅➠✰➨❿➠◗➵✇➦➄♦➏Ö❸➂➄➅✇➩ ✡✓❧✷Õ❂➨▲r➇➅✇➆ ↕ ➂ Ù ➃❅♣✝➙✝➂➶♥ Ö❂Ú✶➫✇♣✝♦q♠✇➩q➫✟➻✛r✌☞②r➇➩④r➇➠◗➂④➤✕r➇➆✇➂➄➅✇➩✛➲✡➫☞r➇➅✇➅✇➃❅➦ ✘ Ý
✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý Ù ♦q➦ ➷ ✔➇Þ✦Ý✇➅✇♦✇➷➶ß➏Þ✦Ý✇➵✇➵⑧ß✕✔✦✑✠✑⑩➴✤ß✕✔ ✎➇Þ✦Ý ➁ ➥✯♥➞➷Ïà➇ÞqÞ④à❸➷

✡ à❸ß✌☞ ✏Ï➷❸❧✛➟✇➟☞r➇➙❅Ý❸❧✏➷ ✏❸➫✇➃❅➂ ☞➌➫❙Ý � ❧✒➩q➃❅♦q➠◗➃✯♥✍♣✝➂➄➥✶Ú✶➫✇➃❅♦q♣➛Ö◗♦➇Ó★➻✛r✌☞②r➇➩④r➇➠◗➂☞➤✕r➇➆✇➂➄➅✇➩✏➽Û♠✇➦➶♥✍➂➄➵☞r②♥✍➫⑨➽Û♦q➟✇➂➄➦➄➃ ✡✧r➇➆✇➂➄♦
➲✡➫☞r➇➅✇➅✇➃❅➦ ✸✓➂➶♥✍➫❮➾❿➫④Ö❸➙✝➂➄➥➞r➇➦✷➼ ➅④♥✍➃❅♣✝➵✇♣✝➃✯♥✤r②♥✍➂➄♦q➅✇➙ ✘ Ý ✼ ✭ ✭ ✭ ✍✫✬✎✤✌✖ ✆✌✒ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý✩➵✇➵ ✑qá✌✎➏➴ ✑✦✏✇ßqÝ
ß✖✩✠✩✠✑✦➷

✡ àqà✒☞✑Õ☎➷ÏÜ✳➂➄➵❙Ý Ú✳➷❇➻✧➩✇Ý � ❧❲➙✝➂➄➠✟♠✇➦➭r②♥✍➂➄♦q➅▲➽Û♦❸➆✇➃❅➦✖Ó⑤♦q♣✳➻✛r✌☞②r➇➩④r➇➠◗➂ ➴
m
➤✕r➇➆✇➂➄➅✇➩❀➲✡➫☞r➇➅✇➅✇➃❅➦➄➙❅Ý❇➠✡✠✸ß ✘ Ý✘✼ ✭ ✭ ✭

✍✫✬✎✤✌✖ ✆✌✒ ✮ ✰✱✘✚✘✚✙✛✖✆✕ ✰ ✤✭☞ ✕ ✰✱✖ ✆ Ý Ù ♦q➦ ➷ ✏✘✒✦Ý✇➅✇♦✇➷ à❸Ý✇➵✇➵✻à❸ß✓✏②➴➛à❸ßqßqÝ✇➤☞➃❅➟❙➷✕à➇ÞqÞqÞ✦➷
✡ à➇á ☞✏➽⑧➷ ↕ ➷❼Ü✡r➇➥❅♦q♠✇➟❙Ý ✛✦➷✹✺❐r➇♣✝➩④r➇➙ � ✟✳♠✇➂➭r⑧➆✇♦➑♠✇➙✝♠✆☎➇♣✝➂➄♦❻➆✇♦ ➲✡➃ ✏✫✏✫✏❸➂➄Ú❞➴◗➲✡➃❅➦➄➦➄♠✇➦➭r➇♣✴✏❸➵✇♣✝➃➞r➇➆ ✏❸➵Ï➃❅➥✯♥✍♣✝♠✇➠

✏❸➂➄➠✟♠✇➦➭r②♥✍➂➄♦q➅⑨Ú→♦❸♦q➦➄➟Ï♦➞➹ ✘ ➷

✡ à✥✏ ☞ ✟☎➷➏➤☞♣✍r➇➂➄➆✇➃❅➅✇♣✍r➇➂➄➥✤➫❙Ý � ❧✛➅✆☎➇➦➄➂➄➙✝➃Ñ➆✇➃ ↕ ➃❅➙✝➃❅➠◗➵Ï➃❅➅✇➫✇♦✧➆✇➃ ↕ ➃✯♥✍➃❅➥✯♥✍♦q♣✝➃❅➙Ñ➽Û♠✇➦➶♥✍➂➄♠✇➙✝♠✆☎➇♣✝➂➄♦q➙ ✬ ➂➄➅✇➃➞r➇♣✝➃❅➙❇➃❅➠✭➲✩r➇➅☞r➇➦
➥❅♦q➠ ↕ ➃❅➙ Ù r➇➅✇➃❅➥❅➂➄➠◗➃❅➅④♥✍♦ ✡✧r➞Ö❸➦➄➃❅➂➄➩q➫ ✘ Ý ↕ ➂➄➙✝➙✝➃❅♣➛♥✤r➇➜➞➝➇♦☎➆✇➃✷➠◗➃❅➙➛♥✍♣✍r➇➆✇♦☎➤Ñ➨❼➨❐➲❮➺✛➻✧➼➛➲✡❧✳➽➚➾→Ý✇❧✛➩q♦✇➷✇à➇ÞqÞ④à❸➷


